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пеDе<еIе==KE л8F, уGе5=уN 8 6Eпо<о74телL=уN 8=DD4EтDуктуDу 6 EуIеEт6уNIе< 
пDот86о7D4до6о< Fе=тDе К'!��О 6 D49о=е �64лол8дд8= �4лE8.  45отK по 5л47оуEтDо9Eт6у 5удут 
6клNG4тL EтDо8телLEт6о 7д4=89-у5е68I 8 EопутEт6уNI8E о5Jекто6, т4к8E к4к куE=O 8 Eтоло64O, 
пD4GеG=4O, Eкл4д, <47478=K, E4у=4, Eепт8к8, уGе5=Kе 8 4д<8=8EтD4т86=Kе 7д4=8O, 6=утDе==8е 
доDо78, =4де6=ое 6одоE=456е=8е 8 MлектDоE=456е=8е, EпоDт86=4O плоI4дк4 8 87Dо64O 
плоI4дк4, 4 т4к6е 74купку <етеоDоло78GеEк8E D4д4Dо6. 

3. �Dоект т4к6е 5удет 6клNG4тL улуGHе=8е о5Jекто6 8=DD4EтDуктуDK EоF84лL=KE уEлу7 6 
5л87ле64I8E Eел4E д64<о4т4 (7оEуд4DEт6е==ое 4д<8=8EтD4т86=ое о5Jед8=е=8е =4 уDо6=е Eел4) 
�ол8 �4D 6 D49о=е �64лол8дд8= �4лE8, т4к8E к4к 6оEEт4=о6ле=8е <оEт4, подJе7д=о9 доDо78 к 
пDот86о7D4до6о<у пу=кту, л8=89 MлектDопеDед4G, E4=8т4D=KE о5Jекто6 6 Hколе № 29 6 Eеле 
!4=о4т, 4 т4к6е 74купку =ео5Eод8<о7о <ед8F8=Eко7о о5оDудо64=8O длO <ед8F8=Eко7о Fе=тD4. �4 
D8Eу=ке =86е пDедEт46ле=4 к4Dт4 D4Eполо6е=8O. 

 

 8Eу=ок 0.1: К4Dт4 <еEтополо6е=8O 

4. �од7ото6к4 пеD6о=4G4лL=о9 Mколо78GеEко9 MкEпеDт87K (�11) оEуIеEт6лOетEO 6 Eоот6етEт688 E 
тDе5о64=8O<8, 87ло6е==K<8 6 �4O6ле=88 о пол8т8ке по 74I8т=K< <еD4< �784тEко7о 54=к4 
D4768т8O (�� ) (2009 7.); �ол8т8ке доEтуп4 к 8=DоD<4F88 (2019 7.); 8  уко6одEт6е по оED4=е 
окDу64NIе9 EDедK, 7доDо6LO 8 5е7оп4E=оEт8 ( уко6одEт6е по оED4=е окDу64NIе9 EDедK, 
7доDо6LO 8 5е7оп4E=оEт8) �DуппK �Eе<8D=о7о 54=к4. 

 



B. !оEтоO=8е окDу64NIе9 EDедK 

5. 'G4Eток пDот86о7D4до6о7о Fе=тD4 =4Eод8тEO 6 д64<о4те �ол8 �4D 6 D49о=е �64лол8дд8= �4лE8 
%4тло=Eко9 о5л4Eт8.  49о= D4Eполо6е= пD8<еD=о 6 135 к8ло<етD4E (к<) к N7у от �уH4=5е, 
Eтол8FK EтD4=K. �у=кт пеDеEеле=8O, <ед8F8=Eкое уGDе6де=8е, Hкол4 =4EодOтEO 6 деDе6=е 
!4=о4т, 4 <оEт — 6 деDе6=е �еE=4то5од. 'луGHе=8O л8=88 MлектDопеDед4G8 пDо6одOтEO 6долL 
EуIеEт6уNI8E доDо7, котоDKе 5удут пеDеEек4тL деDе6=8 !4=о4т 8 'Dт45у7 до EуIеEт6уNIе9 
подEт4=F88 6 '4п4е64 6долL HоEEе �4ED4т-�4лE8. 'луGHе=8е доDо78, 6едуIе9 к поEелку 6 Eеле 
!4=о4т, 5удет оEуIеEт6лOтLEO 6долL EуIеEт6уNI8E EелLEк8E доDо7 от Fе=тD4 д64<о4т4 до Eел 
�еE=4то5од 8 !4=о4т, котоDKе Eоед8=ONтEO E 46тодоDо7о9 �4ED4т-�4лE8. 

6.  49о= E4D4ктеD87уетEO =87к8< DелLеDо< 8 EDе5т4<8. �Dоект=4O плоI4дк4 =4Eод8тEO 6 дол8=е 
плоEк8E 8 у<еDе==о =4кло==KE D46=8=. !4<4O =87к4O от<етк4 6 пDоект=о9 7о=е =4Eод8тEO 6 Eеле 
�еE=4то5од =4 6KEоте 372 <етD4 =4д уDо6=е< <оDO (<=у<). !4<4O 6KEок4O от<етк4 =4Eод8тEO 6 
Eеле 'Dт45у7 =4 6KEоте 410 <етDо6 =4д уDо6=е< <оDO. �KEот4 поEеле=8O 6 Eеле !4=о4т EоEт46лOет 
397 <етDо6 =4д уDо6=е< <оDO 6 6оEтоG=о9 G4Eт8. 'G4Eток 8<еет укло= =4 N7о-74п4д =4 6KEоте 383 
<етD4 =4д уDо6=е< <оDO 8 =4 392 <етD4 =4д уDо6=е< <оDO =4 Eе6еDе. 

7. Кл8<4т 6 Dе78о=е ко=т8=е=т4лL=K9 8 74EуHл86K9. Кл8<4т D49о=4 E4D4ктеD87уетEO у<еDе==о 
Eолод=о9 78<о9 8 64Dк8< лето<. Лет=8е те<пеD4туDK <о7ут доEт874тL 45 °C, 4 78<=8е 
те<пеD4туDK <о7ут опуEк4тLEO до -20 °C. 

8. К4GеEт6о 6о7дуE4 6 пDоект=о9 7о=е 8EклNG8телL=о EоDоHее 87-74 отEутEт68O пDо<KHле==KE 
747DO7=ONI8E 6еIеEт6 8 =87ко7о уDо6=O д686е=8O тD4=EпоDт=KE EDедEт6. Од=4ко <о7ут EлуG4тLEO 
Eе7о==Kе пKлL=Kе 5уD8, оEо5е==о ко7д4 D4Eт8телL=оEтL D4EG8Iе=4 длO EледуNIе7о уDо64O. 

9. � =878==KE D49о=4E �еE=4то5од4 68тел8 деDе6=8 ук474л8, Gто 7Dу=то6Kе 6одK <о7ут 
6EтDеG4тLEO =4 7лу58=е 2 <етDо6 (<) под по6еDE=оEтLN 7е<л8. � деDе6=е 'Dт45у7 уDо6е=L 
7Dу=то6KE 6од =4Eод8тEO 7лу56е, =4 120–160 <, Gто тDе5ует от 68теле9 деDе6=8 'Dт45у7 5уDе=8O 
7лу5ок8E Eк6468= длO 745оD4 6одK. 

10. � %4тло=Eко9 о5л4Eт8 6 пеD8од E 2010 по 2020 7од пDо87оHло около 200 Eт8E89=KE 5едEт689, 
6клNG4O MкEтDе<4лL=Kе до6д8 8 E=е7оп4дK (7D4д), 74 котоDK<8 поEледо64л8 кDуп=Kе 
=46од=е=8O. �D4д, котоDK9 о5KG=о EлуG4етEO 6 Dе6D4ле-<4Dте, =4=оE8т уIеD5 поEе64<. �DоE4дк4 
7е<л8 6 EоGет4=88 E MкEтDе<4лL=о9 8=те=E86=оEтLN оE4дко6 6K7K64ет =46од=е=8O 8 MDо78N 
поG6K. �8тел8 деDе6=8 Eоо5I8л8 о пDоE4дке 7е<л8 6 'Dт45у7е 6 Dе7улLт4те G4Eто7о д686е=8O 
тO6елKE 7Dу7о68ко6 8 дDу78E тD4=EпоDт=KE EDедEт6 по подJе7д=о9 доDо7е 6 деDе6=е. �о 6Dе<O 
ко=EулLт4F89 8 8=теD6LN E Eел4<8 68тел8 Eоо5I8л8, Gто по6тоDONI8<8EO Eт8E89=K<8 
5едEт68O<8, E котоDK<8 пD8Eод8тEO Eт4лк864тLEO 6 Mто< D49о=е, O6лONтEO =46од=е=8O 8 E8лL=Kе 
6етDK. �8тел8 д64<о4т4 �ол8 �4D от<ет8л8, Gто E8лL=Kе 6етDK, оEо5е==о 78<о9, пD86одOт к 
о5DK6у л8=89 MлектDопеDед4G 6 Eел4E. 

11. �Dоект=4O теDD8тоD8O =4Eод8тEO 6 47DоMкоE8Eте<е, E4D4ктеD87уNIе9EO 
EелLEкоEо7O9Eт6е==K<8 E8Eте<4<8 E оDоH4е<K<8 п4Eот=K<8 7е<лO<8, 5о74D=K<8 п4Eот=K<8 
7е<лO<8, E4д4<8, леE=K<8 <4EE864<8 8 уE4дL54<8. �4 теDD8тоD88 =ет леEо6. �4 оE=о6е 87уGе=8O 
6тоD8G=KE д4==KE, =45лNде=8O 74 пDоект=K<8 уG4Eтк4<8 8 8=DоD<4F88, полуGе==о9 E по<оILN 
Ко<плекE=о7о 8=EтDу<е=т4 оFе=к8 58оD47=оо5D478O, =е 876еEт=о о Dедк8E 8л8 =4EодOI8EEO под 



у7Dо7о9 8EGе7=о6е=8O 68д4E DлоDK 8 D4у=K 8л8 оED4=Oе<KE теDD8тоD8OE, котоDKе <о7ут 5KтL 
74тDо=утK пDоекто<. �Eе пDоект=Kе уG4Eтк8 =4EодOтEO 6 EуIеEт6уNIе<, E8лL=о 87<е=е==о< 
EелLEкоEо7O9Eт6е==о< л4=дH4Dте. �485олее 646=о9 оED4=Oе<о9 теDD8тоD8е9, котоD4O 
=4Eод8тEO 5л86е 6Eе7о к уG4Eтку, O6лOетEO пD8Dод=K9 74по6ед=8к &87Dо64O 54лк4, 
D4Eполо6е==K9 6 уEтLе Dек8 �4EH, Gто пD8<еD=о 6 20 к< к N7у от пDоект=о9 теDD8тоD88. 

12. !о7л4E=о Eт4т8Eт8ке =4 O=64DL 2023 7од4, =4Eеле=8е D49о=4 �64лол8дд8= �4лE8 EоEт46лOло 
215 500 Gело6ек, 4 =4Eеле=8е д64<о4т4 �ол8 �4D ('7у=) — 25 071 Gело6ек. �4Eеле=8е 
до<оEо7O9Eт6 6 �ол8 �4Dе EоEт46лOло 4 266 до<оEо7O9Eт6. �4 теDD8тоD88 пDоект4 =4Eеле=8е 
EоEт46лOло 6 756 Gело6ек. ОE=о6=K< 74=Oт8е< 8л8 8EтоG=8ко< доEод4 <еEт=KE 68теле9 6 �ол8 
�4Dе O6лOетEO 7е<ледел8е 8/8л8 EелLEкое Eо7O9Eт6о, 6 оE=о6=о< EоEтоOIее 87 Eлопк4, пHе=8FK, 
кукуDу7K, <оDко68 8 о6оIе9. �E EелLEкоEо7O9Eт6е==4O пDодукF8O пDод4етEO =4 DK=ке 8л8 6долL 
пD8доDо6=KE лотко6. �EтL Eе<L8, у котоDKE еEтL DодEт6е==8к8 (6 оE=о6=о< 7л46K до<оEо7O9Eт6), 
котоDKе D45от4Nт 6  оEE88 8 отпD46лONт де=е6=Kе пеDе6одK длO Eе<L8. '4Eто 6е=I8=K 
оEт4NтEO уE46864тL 74 EелLEкоEо7O9Eт6е==о9 DеD<о9. 13. �Eе Eел4 8 д64<о4тK 6 D49о=е 
�64лол8дд8= �4лE8 оE64Gе=K EуIеEт6уNIе9 E8Eте<о9 MлектDоE=456е=8O, котоD4O 
о5еEпеG864етEO GеDе7 D4EпDедел8телL=Kе л8=88 10 к� от подEт4=F88 35 к�, D4Eполо6е==о9 6 
'7у=-2.  4EпDедел8телL=4O л8=8O подклNG4етEO к поEелку К'!8�О. Л8=8O EтD4д4ет от пеDе5ое6 6 
под4Gе MлектDоM=еD788, оEо5е==о 78<о9. 

14. � !4=о4те 8 пD8ле74NI8E Eел4E �еE=4то5од, 'Dт45у7 8 $уD<4=о6 6од4 доEтуп=4 GеDе7 
<478EтD4лL=K9 тDу5опDо6од «�4кHEк89 <е6D49о==K9 к4=4л» (��К). �од4 под4етEO GеDе7 
=4EоE=уN Eт4=F8N по6KHе=8O д46ле=8O. �Eе<8D=K9 54=к 5удет D47D454тK64тL пDоект EелLEко7о 
6одоE=456е=8O 8 E4=8т4D88 6 Mто< D49о=е 6о 6тоDо9 поло68=е 2022 7од4. О68д4етEO, Gто пDоект 
�Eе<8D=о7о 54=к4 улуGH8т доEтуп=оEтL 6одоE=456е=8O длO Eел 8 6Eе7о D49о=4. 

15. ОE=о6=K<8 745оле64=8O<8 8 64ло54<8 68теле9 Eел4 O6лONтEO 6KEокое кDо6O=ое д46ле=8е, 
д845ет, пDоEтуд4, д84DеO 8 6елудоG=о-к8HеG=Kе 745оле64=8O. � Eеле !4=о4т еEтL <ед8F8=Eк89 
Fе=тD длO ок474=8O =еотло6=о9 <ед8F8=Eко9 по<оI8. � <ед8F8=Eко< Fе=тDе еEтL од8= 6D4G-

4куHеDк4 8 11 <едEеEтеD. &е=тD ок47K64ет пеD6уN по<оIL, пDо6од8т 64кF8=4F8N, пDо6од8т 
<ед8F8=Eк89 оE<отD 5еDе<е==KE 6е=I8= 8 пDедл474ет 68телO< деDе6=8 5еEпл4т=Kе лек4DEт64. 
� Eеле �D46д4 еEтL =е5олLHо9 <ед8F8=Eк89 Fе=тD E д6у<O ко<=4т4<8 толLко длO ок474=8O 
пеD6о9 по<оI8. � о5о8E <ед8F8=Eк8E Fе=тD4E оGе=L о7D4=8Gе==ое кол8GеEт6о <ед8F8=Eко7о 
о5оDудо64=8O. �4кF8=K ED4=OтEO толLко 6 о5KG=KE до<4H=8E Eолод8лL=8к4E 6=утD8 
<ед8F8=Eк8E Fе=тDо6. � <ед8F8=Eк8E Fе=тD4E =ет <4H8= EкоDо9 по<оI8 8л8 тD4=EпоDт=KE 
EDедEт6, Gто5K доEт468тL п4F8е=то6 6 5олL=8Fу 6 Fе=тDе 7оDод4, котоD4O =4Eод8тEO пD8<еD=о 6 
20-24 к<. 'то к4E4етEO ут8л874F88 <ед8F8=Eк8E отEодо6, <ед8F8=Eк8е Fе=тDK E6874Nт отEодK 
(8EполL7о64==Kе HпD8FK, 64ту 8 т. д.), 4 74те< 74к4пK64Nт оEт4тк8 6 O<е. 

16. &у4летK 6 до<4E, Hкол4E 8 <ед8F8=Eк8E Fе=тD4E 6 деDе6=OE EпDоект8Dо64=K E 6K7Dе5=K<8 
O<4<8. � �D46де еEтL D49о=K E о5I8<8 8л8 о5I8<8 ту4лет4<8. � D49о=е еEтL EпеF84лL=K9 
ко<<у=4лL=K9 EеD68E=K9 отдел, котоDK9 пDедоEт46лOет уEлу78, E6O74==Kе Eо E5оDо< 8 
ут8л874F8е9 т6еDдKE отEодо6, 4 т4к6е ут8л874F8е9 EтоG=KE 6од. К4=4л874F8о==Kе л8=88 
оE64тK64Nт Fе=тD D49о=4 �64лол8дд8= �4лE8, =о =е �ол8 �4D. Ко<<у=4лL=ое оG8Eт=ое 
EооDу6е=8е к4=4л874F88 D49о=4 =4Eод8тEO 6 д64<о4те %4ле64Dд, =о о=о 5олLHе =е 
Dу=кF8о=8Dует (=ет =4EоEо6 8 о5оDудо64=8O), 4 к4=4л874F8о==Kе л8=88 5Kл8 отклNGе=K. �оDод 



8EполL7ует 464D89=уN/6Dе<е==уN 6K7Dе5=уN O<у, D4Eполо6е==уN пD8<еD=о 6 300 < от 
ко<<у=4лL=о7о оG8Eт=о7о EооDу6е=8O к4=4л874F88.  49о= =4G4л E то7о, Gто о68д4етEO, Gто 
улуGHе=8е 8 74<е=4 к4=4л874F8о==KE л8=89 5удут 746еDHе=K к 2022 7оду.  49о= пл4=8Dует 
поEтDо8тL =о6ое оG8Eт=ое EооDу6е=8е к4=4л874F88 =4 <еEте Eт4Dо7о EооDу6е=8O 74 EGет EDедEт6 
D49о=4 (2022). 17. � =4EтоOIее 6Dе<O 6 деDе6=OE �ол8-�4D4 отEутEт6ует E8Eте<4 E5оD4 т6еDдKE 
отEодо6. �о<оEо7O9Eт64 6 деDе6=OE пD4кт8куNт ко<поEт8Dо64=8е, 6Kк4пK64O O<K длO отEодо6 6 
E6о8E E4д4E. �8Iе6Kе отEодK Eо58D4NтEO отделL=о 8 Eк4D<л864NтEO Eкоту, 4 пл4Eт8к, 54=к8 87-

под кD4Eк8 8 дDу78е ко=те9=еDK пDод4NтEO 6 <47478=K Eт4DLе6I8ко6. ОEт46H8еEO отEодK 
E6874NтEO 6 O<4E =4 74д=е< д6оDе 68теле9 деDе6=8. 

18. �Dоект =е ок46ет =8к4ко7о 6о7де9Eт68O =4 D878GеEк8е кулLтуD=Kе о5JектK. �долL доDо78, 
6едуIе9 к <еEту поEеле=8O 6 пDот86о7D4до6о< Fе=тDе, =4Eод8тEO кл4д58Iе. Кл4д58Iе 
D4Eполо6е=о пD8<еD=о 6 250 < от 6оDот пDот86о7D4до6о7о Fе=тD4. 

C. �о7де9Eт68е =4 окDу64NIуN EDеду 8 пл4= упD46ле=8O окDу64NIе9 EDедо9 

19. О68д4етEO, Gто пDоект пD8=еEет полL7у 74 EGет улуGHе=8O EоF84лL=KE уEлу7 длO 
пеDе<еIе==KE Eе<е9, поEтD4д46H8E от Eт8E89=KE 5едEт689 8 к4т4EтDоD. �Dоект =4пD46ле= =4 
улуGHе=8е <ед8F8=Eк8E уEлу7, E4=8т4D88 8 ут8л874F88 отEодо6, MлектD8GеEт64 8 доDо6=о7о 
доEтуп4 к поEеле=8N 8 5л87ле64I8< деDе6=O<. �о7де9Eт68е =4 окDу64NIуN EDеду 
поло68телL=ое 87-74 5олее MDDект86=о7о упD46ле=8O 5Kто6K<8 EтоG=K<8 6од4<8, т6еDдK<8 
отEод4<8 8 отEод4<8 7дD46ооED4=е=8O 5л47од4DO поддеD6ке, ок47K64е<о9 пDоекто<. 
�еDопD8Oт8O пD86едут к пDедот6D4Iе=8N 747DO7=е=8O 6одK 8 6о7дуE4, 747DO7=е=8O 7Dу=то6KE 
6од 8 улуGHе=8N 7доDо6LO 8 E4=8т4D88. 

20. �Dедл474е<Kе <еDK по E<O7Gе=8N поEледEт689 5Kл8 87ло6е=K 6 IEE длO DеHе=8O 6опDоEо6 
6о7де9Eт68O ко<по=е=то6 пDоект4, 6 G4Eт=оEт8, =4 (i) упD46ле=8е т6еDдK<8 отEод4<8 6 пу=кте 
пеDеEеле=8O; (ii) E4=8т4D8N 6 пу=кте пеDеEеле=8O; (iii) E4=8т4D8N 6 Hколе № 29; (iv) отEодK 
7дD46ооED4=е=8O; 8 (v) л8=8N MлектDопеDед4G8, 6л8ONIуN =4 EелLEкоEо7O9Eт6е==Kе 7е<л8, 
дDе=46=Kе 8 8DD874F8о==Kе к4=4лK, G4Eт=Kе 8 7оEуд4DEт6е==Kе 7е<л8, 4 т4к6е уDо649 8 
деDе6LO. 

21. !тDо8телL=Kе D45отK 5удут о7D4=8Gе=K 8 5удут пDо6од8тLEO 6 пDедел4E EуIеEт6уNIе7о 
ко<плекE4 длO пеDеEеле=8O 8 HколK. �ео5Eод8<оEт8 6 кDуп=о<4EHт45=о9 до5KGе EтDо8телL=KE 
<4теD84ло6 =е 6о7=8к=ет, поEколLку кDуп=о<4EHт45=KE EтDо8телL=KE D45от =е 5удет, 4 

5олLH8=Eт6о <4теD84ло6 <о6=о пD8о5DеEт8 6 <еEт=KE ко<<еDGеEк8E 8EтоG=8к4E. !тDо8телL=Kе 
D45отK по 6оEEт4=о6ле=8N <оEт4, EтDо8телLEт6у подJе7д=KE путе9 8 уEт4=о6ке 
D4EпDедел8телL=KE л8=89 <о7ут пD86еEт8 к т4к8< =еудо5Eт64<, к4к Hу<, пKлL 8 MDо78O поG6K, 4 
т4к6е к 6Dе<е==о<у о7D4=8Gе=8N доEтуп4. �о7ут 5KтL по6Dе6де=K 4лLтеD=4т86=Kе деDе6е=Eк8е 
доDо78, 8EполL7уе<Kе EтDо8телL=K<8 7Dу7о68к4<8, пок4 <оEт, D4EпDедел8телL=4O л8=8O 8 
уG4Eток подJе7д=KE доDо7 улуGH4NтEO. 22. �еDоOт=о, Gто EтDо8телL=K9 л47еDL 5удет D4Eполо6е= 
=4 теDD8тоD88 пDот86о7D4до6о7о ко<плекE4. Ко<плекE о7оDо6е= 8 уко<плекто64= EотDуд=8к4<8 
Eлу65K 5е7оп4E=оEт8 8 D4Eполо6е= 6д4л8 от 68лKE D49о=о6. О68д4етEO, Gто <еEт=ое Eоо5IеEт6о 
5удет 8EпKтK64тL <8=8<4лL=Kе =еудо5Eт64 87-74 Hу<4 от D45отK EтDо8телL=о7о л47еDO. 
�Dо5ле<K, E6O74==Kе E <8Dо< 8 поDOдко<, <о7ут 6о7=8к=утL 87-74 пD8EутEт68O 8 6748<оде9Eт68O 
D45оG8E 87 дDу78E D49о=о6 E <еEт=K<8 68телO<8. �одDOдG8к дол6е= 5удет отд464тL пD8оD8тет 



<еEт=K< 68телO< пD8 =49<е D45оG8E 8 =47=4G8тL EотDуд=8к4 по E6O7O< E о5IеEт6е==оEтLN (CLO), 
котоDK9 5удет кооDд8=8Dо64тL D45оту E <еEт=K<8 6л4EтO<8 Eуку<4т4, 68телO<8 деDе6=8 8 
7Dуппо9 по Dе4л874F88 пDоект4 (� �) К'!8�О. 

23. �E5еEто6Kе кDо6елL=Kе л8EтK 5Kл8 о5=4Dу6е=K =4 EуIеEт6уNIе< ту4лете HколK 8 6 
7д4=8OE, котоDKе 5удут E=еEе=K =4 пDот86о7D4до6о9 плоI4дке К'!8�О. 1т8 4E5еEто6Kе л8EтK 
5удут уд4ле=K пD8 EтDо8телLEт6е =о6KE о5Jекто6. �E5еEто6Kе кDо6елL=Kе л8EтK 74кDепле=K 6 
5ето=е, =о EуIеEт6уNIее EоEтоO=8е ук47K64ет =4 EколK 8 D4Eп4д, котоDKе <о7ут 6KE6о5од8тL 
4E5еEто6Kе 6олок=4 6о 6Dе<O пDоFеEE4 уд4ле=8O. %отO кол8GеEт6о =е O6лOетEO 7=4G8телL=K<, 
=епD468лL=ое о5D4Iе=8е <о6ет пD86еEт8 к по6KHе==о<у D8Eку 6дKE4=8O 4E5еEто6KE 6олоко=, 
Gто <о6ет под6еD7=утL 6о7де9Eт68N D45оG8E 8 лNде9 6 5л87ле64I8E D49о=4E. 'то5K E=878тL 
D8Eк длO 7доDо6LO 87-74 уд4ле=8O 4E5еEто6о9 кDKH8, =ео5Eод8<о 5удет D47D45от4тL пл4= 
упD46ле=8O 4E5еEто< 6 D4<к4E пл4=4 упD46ле=8O окDу64NIе9 EDедо9 длO ко=кDет=о7о уG4Eтк4 
(�'О!К'). 

24. !тDо8телL=Kе D45отK 6 Hколе <о7ут =4DуH8тL Eод 74=Oт89, поMто<у 6Eе D45отK 6о7ле HколK 
дол6=K 5KтL 74пл4=8Dо64=K =4 HколL=Kе к4=8кулK 8л8 пD47д=8к8. 

25. �4 о5Jекте пеDеEеле=8O Eток 5удет Eтек4тL =4 окDу64NI8е откDKтKе теDD8тоD88 74 
пDедел4<8 пDот86о7D4до6о7о ко<плекE4, 6едуI8е к оDоE8телL=о<у к4=4лу. �4 подJе7д=KE 
доDо74E 8 <оEту еEтL EетL оDоE8телL=KE к4=4ло6, котоDKе <о7ут 5KтL 74тDо=утK Eтоко< поG6K. 1то 
<о6ет пD86еEт8 к кD4ткоEDоG=K< поEледEт68O< 6 68де по6KHе==о9 <ут=оEт8, Eток4 EтоG=KE 6од, 
E6O74==KE Eо EтDо8телLEт6о<, 8 747DO7=е=8O 87-74 =епD468лL=о7о о5D4Iе=8O E <4теD84л4<8. 
�еDK по пDедот6D4Iе=8N MDо788 поG6K 6клNGе=K 6 пл4= упD46ле=8O окDу64NIе9 EDедо9 
(�'О!). 

26. � Eоот6етEт688 E �4O6ле=8е< о пол8т8ке по 74I8т=K< <еD4< ��  (2009 7.) 8 =4 оE=о6е 
пDо6еDк8 ко<по=е=то6 8 <еDопD8Oт89 пDоект4 пDоект кл4EE8D8F8DуетEO к4к к4те7оD8O B по 
оED4=е окDу64NIе9 EDедK. �лO пDедл474е<о7о пDоект4 допол=8телL=о7о D8=4=E8Dо64=8O 5Kл8 
под7ото6ле=K �11 8 �'О!. �'О! оп8EK64ет <еDK по E<O7Gе=8N поEледEт689 длO 
пDедот6D4Iе=8O 8л8 <8=8<874F88 =е5л47опD8Oт=KE 6о7де9Eт689 =4 Mт4пе под7ото6к8 к 
EтDо8телLEт6у, Mт4пе EтDо8телLEт64 8 6о 6Dе<O MкEплу4т4F88 о5Jекто6; тDе5о64=8O к <о=8тоD8=7у 
8 отGет=оEт8; от6етEт6е==ое подD47деле=8е, котоDое 5удет Dе4л87о6K64тL 8 ко=тDол8Dо64тL 
<еDK по E<O7Gе=8N поEледEт689; 8 8EтоG=8к D8=4=E8Dо64=8O. � D4<к4E =4дле64Iе9 8=6е=еD=о9 
пD4кт8к8 6 �'О! 6клNGе=K т4к8е <еDK, к4к оED4=4 тDуд4 8 теE=8к4 5е7оп4E=оEт8, упD46ле=8е 
<4теD84л4<8, упD46ле=8е отEод4<8 8 7Dу=то<, 5е7оп4E=оEтL, 6K6еEк8, пDедот6D4Iе=8е пKл8, 
E=86е=8е Hу<4 8 т. д. �'О! 5удет 6клNGе= 6 те=деD=уN доку<е=т4F8N 8 ко=тD4ктK =4 
EтDо8телL=Kе D45отK. 

27. � � К'!8�О потDе5ует от EтDо8телL=о7о подDOдG8к4 D47D45от4тL SSEMP =4 оE=о6е EMP до 
=4G4л4 EтDо8телL=KE D45от. �'О!К' пDедEт468т <етодK, по котоDK< подDOдG8к 5удет 
Dе4л87о6K64тL <еDK по E<O7Gе=8N поEледEт689 6 �'О!, 6клNG4O ко=кDет=Kе Dуко6одOI8е 
пD8=F8пK по (i) пл4=у Dе478Dо64=8O =4 D47л86K (ii) пл4=у упD46ле=8O 8 ко=тDолO 74 пKлLN; (iii) 
пл4=у упD46ле=8O Hу<о<; (iv) пл4=у упD46ле=8O отEод4<8 8 7Dу=то<, 6клNG4O пл4= упD46ле=8O 
оп4E=K<8 отEод4<8/<4теD84л4<8; (v) пл4=у упD46ле=8O 4E5еEто<, (vi) пл4=у упD46ле=8O 
EтDо8телL=K< л47еDе<; (vii) пл4=у упD46ле=8O доDо6=K< д686е=8е<; (viii) <еD4< пDоD8л4кт8к8 8 
ко=тDолO длO упD46ле=8O 58оD47=оо5D478е<; (ix) пDоFедуDе EлуG49=KE =4Eодок; 8 (x) пл4=у 



упD46ле=8O оED4=о9 тDуд4 8 теE=8ко9 5е7оп4E=оEт8 пD8 коDо=468DуE=о9 5оле7=8 (COVID-19) 8 
пл4=у Dе478Dо64=8O =4 GDе76KG49=Kе E8ту4F88. �=DоD<4F8O, к4E4NI4OEO ко=кDет=о7о уG4Eтк4, 6 
SSEMP 5удет опDеделOтL 74ко==Kе 8EтоG=8к8 <4теD84ло6, <етодK упD46ле=8O <4теD84л4<8, 
EодеD64I8<8 4E5еEт, <еEтополо6е=8е, о5O74==оEт8, 7D4D8к 8/8л8 6Dе<е==Kе D4<к8 8 5Nд6ет 
длO Dе4л874F88 <еD по E<O7Gе=8N поEледEт689, ук474==KE 6 �'О!. �'О!К' 5удет о5=о6лOтLEO по 
<еDе Dе4л874F88 пDоект4. 28. �4 Mт4пе MкEплу4т4F88 6о7де9Eт68O 5удут E6O74=K E упD46ле=8е< 
D4Eт8телL=оEтLN длO D4EпDедел8телL=о9 л8=88, упD46ле=8е< т6еDдK<8 отEод4<8, упD46ле=8е< 
EтоG=K<8 6од4<8, упD46ле=8е< <ед8F8=Eк8<8 отEод4<8, 4 т4к6е 7доDо6Lе< 8 5е7оп4E=оEтLN 
=4Eеле=8O 87-74 поте=F84лL=KE оп4E=оEте9 D4EпDедел8телL=о9 л8=88, т. е. поD46е=8O 
MлектD8GеEк8< токо<. �еDK по E<O7Gе=8N поEледEт689 87ло6е=K 6 �'О!. 

D. Ко=EулLт4F88 E 748=теDеEо64==K<8 EтоDо=4<8 

29. Ко=EулLт4F88 E Eел4<8 пDо6од8л8EL 23–24 8N=O 2022 7од4 6 д64<о4те �ол8 �4D, D49о=е 
�64лол8дд8= �4лE8, длO D4EпDоEтD4=е=8O 8=DоD<4F88 о пDоекте 8 е7о о68д4е<KE поEледEт68OE, 
4 т4к6е длO E5оD4 8=DоD<4F88 о5 Mколо78GеEк8E пDо5ле<4E 6 Eоо5IеEт6е. �Kл8 пDо6еде=K 
6K5оDоG=Kе 8=теD6LN E <еEт=K<8 68телO<8 8 6EтDеG8 E D49о==K< оD8Eо< длO E5оD4 
допол=8телL=о9 8=DоD<4F88 о пDо5ле<4E Eоо5IеEт64. �Kл4 пDо6еде=4 6EтDеG4 E Ко<8тето< по 
оED4=е окDу64NIе9 EDедK длO о5Eу6де=8O тDе5о64=89 Mколо78GеEко9 оFе=к8 пDедл474е<о7о 
допол=8телL=о7о D8=4=E8Dо64=8O. � Fело<, 6о7D46е=89 пDот86 пDедл474е<о7о пDоект4 =е 5Kло. 
�48=теDеEо64==Kе EтоDо=K пDедEт468л8 пDедло6е=8O длO 6о7<о6=о7о 6клNGе=8O 6 пDоект, 
т4к8е к4к 6оEEт4=о6ле=8е Hкол, ул8G=ое оE6еIе=8е, о7D46де=8е Hкол, Eт4д8о=4 8л8 87Dо6о9 
плоI4дк8 8 т. д. К'!8�О поOE=8л, Gто пDедло6е=8O 5удут оFе=864тLEO длO опDеделе=8O теE, 
котоDKе <о7ут 5KтL пDоD8=4=E8Dо64=K 6 D4<к4E пDоект4. 

E. �еE4=87< D4EE<отDе=8O 64ло5 

30. �еE4=87< D4EE<отDе=8O 64ло5 (� �) длO пDоект4 5Kл D47D45от4= длO Eоде9Eт68O 
D47DеHе=8N пDо5ле< 8 64ло5 74тDо=утKE лNде9 =4 Mколо78GеEк8е 4EпектK пDоект4. &оGко9 6Eод4 
64ло5 6 деDе6=8 O6лONтEO 7л46 деDе6е=L, котоDKе 74те< <о7ут до6еEт8 Mт8 пDо5ле<K до 
E6еде=8O К'!8�О 8/8л8 � �. � D4<к4E EуIеEт6уNIе9 E8Eте<K упD46ле=8O 64ло54<8 К'!8�О 

поEтD4д46Hее л8Fо 8л8 7л464 деDе6=8 <о7ут под4тL 64ло5у л85о (i) =4пDO<уN по76о=86 по 
=о<еDу 7оDOGе9 л8=88 К'!8�О (+992 37 227-95-09; +992 37 223-13-11; 8л8 +992 37 236-94-74); (ii) 

поEет86 оD8E К'!8�О 6 �уH4=5е; (iii) GеDе7 EтD4=8Fу К'!8�О 6 Facebook 8 EтD4=8Fу Telegram; 8л8 
(iv) GеDе7 D49о==о7о пDедEт468телO К'!8�О. � � пDоект4 5удет пD8<е=OтL EуIеEт6уNIуN 
E8Eте<у 64ло5 К'!8�О, =о т4к6е пDедоEт468т о7D4=8Gе==K9 по 6Dе<е=8 8 пDо7D4G=K9 <еE4=87< 
длO 6KD46е=8O 8 DеHе=8O пDо5ле<, E6O74==KE E пDоекто< 8л8 EоF84лL=KE 8 Mколо78GеEк8E 
пDо5ле<. 31. �о<8<о EуIеEт6уNIе9 E8Eте<K 64ло5 К'!8�О, поEтD4д46Hее л8Fо т4к6е <о6ет 
под4тL 64ло5у =4пDO<уN 6 �&Л 8л8 подDOдG8ку GеDе7 C!О. � D4<к4E � � 5удут 66еде=K 
<еE4=87<K D47DеHе=8O 64ло5 E уG4Eт8е< деDе6=8 8л8 Eуку<4т4. �Kл8 опDеделе=K 8<е=4 8 
ко=т4кт=Kе =о<еD4 пDедEт468теле9 д64<о4то6 6 ко<8тете � � пDоект4. � � пDо8=DоD<8Dует 
Eоо5IеEт6о о � � 8 EпоEо54E Eоо5Iе=8O о пDо5ле<4E 8 64ло54E Eоо5IеEт64 6 К'!8�О 8 ко<8тет 
� �. Ко=т4кт=K9 =о<еD телеDо=4 � �/К'!8�О 8 C!О подDOдG8к4 5удет Eлу68тL 7оDOGе9 л8=8е9 
длO 64ло5 8 5удет D47<еIе= =4 доEк4E о5JO6ле=89 =4 EтDо8телL=KE плоI4дк4E пDоект4. 

F. �=Eт8туF8о=4лL=K9 поте=F84л длO упD46ле=8O окDу64NIе9 EDедо9 



32. К'!8�О O6лOетEO 8Eпол=8телL=K< 47е=тEт6о< пDоект4. �Dупп4 Dе4л874F88 пDоект4 (� �) 5удет 
о5еEпеG864тL упD46ле=8е пDоекто< 8 =4д7оD. �-= .Eупо6 �уE4<<4дуEуD, Dуко6од8телL отдел4 
EтDо8телLEт64 - К'!8�О, 5Kл =47=4Gе= EпеF84л8Eто< по оED4=е окDу64NIе9 EDедK (К'!8�О-!1). 

�-= �уE4<<4дуEуD поEет8л о7=4ко<8телL=K9 тDе=8=7 ��  ��� (2009, &Dе5о64=8O по оED4=е 
окDу64NIе9 EDедK), котоDK9 EоEтоOлEO 6 8N=е 2022 7од4 8 5Kл пDо6еде= <е6ду=4Dод=K< 
ко=EулLт4=то<, =4=OтK< ��  длO пеD6о=4G4лL=о9 под7ото6к8 отGет4 �11 (7-64 'еDD8  86еD4). �лO 
укDепле=8O Mколо78GеEко9 MкEпеDт87K 7-64 !уE49ло �4D85о64 5Kл4 =4=Oт4 PIG 6 к4GеEт6е 
EпеF84л8Eт4 по оED4=е окDу64NIе9 EDедK 2 октO5DO 2023 7од4. 

33. К'!8�О-!1 5удет поддеD6864тLEO EпеF84л8Eто< по <о=8тоD8=7у 8 оFе=ке (MО) (7-64  уEHо=4 
�о78<7од4) PIG, котоD4O 5удет ко=тDол8Dо64тL 6Kпол=е=8е пDоект4 8 7ото68тL к64Dт4лL=Kе 
отGетK о Eоде Dе4л874F88 пDоект4. К'!8�О-!1 5удет 7ото68тL полу7одо6Kе отGетK по 
<о=8тоD8=7у окDу64NIе9 EDедK (�О�О!) 8 пDедоEт46лOтL 8=DоD<4F8N EпеF84л8Eту по 
<о=8тоD8=7у 8 оFе=ке о EоEтоO=88 Dе4л874F88 <еD по оED4=е окDу64NIе9 EDедK длO 
к64Dт4лL=KE отGето6. 

34. BETS Consulting Services Ltd., �4=7л4деH 6 4EEоF84F88 E LLC Panasia Ltd., &4д68к8Eт4= 5Kл4 
6K5D4=4 6 к4GеEт6е ко=EулLт4=т4 по подDе7улLт4ту 4b 6 к4GеEт6е ко=EулLт4=т4 по Dе4л874F88 
пDоект4 (К �). Ко=EулLт4F8о==Kе уEлу78 К � =4G4л8EL E 02 октO5DO 2023 7од4. 

35. PIC 5удет ок47K64тL поддеD6ку К'!8�О 8 � � 6 4д<8=8EтD8Dо64=88 8 упD46ле=88 пDоекто<, 
74купк4E, <о=8тоD8=7е 8 отGет=оEт8. � К � еEтL <е6ду=4Dод=K9 EпеF84л8Eт по окDу64NIе9 
EDеде (К �-�!ОО!, 4 Gело6еко-<еEOF4) 8 =4F8о=4лL=K9 EпеF84л8Eт по окDу64NIе9 EDеде (К �-

�!ОО!, 12 Gело6еко-<еEOFе6). 

36. �Dодол68телL=оEтL ко=тD4кт4 =4 ко=EулLт4F8о==Kе уEлу78 К � EоEт46лOет 4,5 7од4 (54 
<еEOF4), 6клNG4O 3 пеDекDK64NI8EEO Mт4п4: (i) под7ото6к4 дет4лL=KE пDоекто6 8 EтDо8телL=KE 
GеDте6е9; (ii) пDо6еде=8е тоD7о6 8 74купк4 D45от, то64Dо6 8 уEлу7; 8 (iii) =4д7оD 74 EтDо8телLEт6о< 
8 упD46ле=8е ко=тD4кт4<8. 

37. !тDо8телL=K9 подDOдG8к дол6е= 5удет D47D45от4тL �О�О! 8 =47=4G8тL Hт4т=о7о EотDуд=8к4 
по оED4=е окDу64NIе9 EDедK 8 Hт4т=о7о EотDуд=8к4 по оED4=е тDуд4 8 теE=8ке 5е7оп4E=оEт8 длO 
<о=8тоD8=74 8 о5еEпеGе=8O Dе4л874F88 <еD по E<O7Gе=8N поEледEт689, 87ло6е==KE 6 EMP, =4 
Mт4пе EтDо8телLEт64. 

G. �4клNGе=8е 

38. �Dедл474е<ое допол=8телL=ое D8=4=E8Dо64=8е 5удет EпоEо5Eт6о64тL улуGHе=8N 68лLO длO 
пеDе<еIе==KE Eе<е9, 4 т4к6е улуGHе=8N 8=DD4EтDуктуDK EоF84лL=KE уEлу7 6 5л87ле64I8E 
деDе6=OE. О68д4етEO, Gто пDоект улуGH8т =4де6=оEтL MлектDоE=456е=8O, E4=8т4D88 6 Hкол4E, 
уEлу7 <ед8F8=Eк8E Fе=тDо6 8 подJе7д=KE путе9. �4 оE=о64=88 Mто9 оFе=к8 дел4етEO 6K6од, Gто 
пDоект пD86едет к 7=4G8телL=K< поло68телL=K< EоF84лL=о-Mко=о<8GеEк8< 6K7од4<. 

39. О68д4етEO, Gто пDоект =е ок46ет 7=4G8телL=о7о =е74т86=о7о 6о7де9Eт68O =4 окDу64NIуN 
EDеду. �оте=F84лL=Kе =е74т86=Kе 6о7де9Eт68O =4 окDу64NIуN EDеду O6лONтEO =е5олLH8<8 8 
лок4л87о64==K<8 8 <о7ут 5KтL E<O7Gе=K 74 EGет EоDоHе7о пDоект8Dо64=8O 8 Dе4л874F88 <еD по 
E<O7Gе=8N поEледEт689. 



40. �4 оE=о64=88 оFе=к8 ко<по=е=то6 8 <еDопD8Oт89 пDоект4 пDоект кл4EE8D8F8DуетEO к4к 
К4те7оD8O B по окDу64NIе9 EDеде 6 Eоот6етEт688 E �4O6ле=8е< ��  о пол8т8ке по 74I8т=K< 
<еD4< (2009). �ет ко<по=е=то6, котоDKе 5удут пеDеEек4тL Mколо78GеEк8 8л8 кулLтуD=о 
Gу6Eт68телL=Kе D49о=K. !лед 8=DD4EтDуктуDK =е6ел8к 8 о7D4=8Gе= о7D4=8Gе==о9 о5л4EтLN. 
�е5л47опD8Oт=ое 6о7де9Eт68е <о6ет 5KтL E=86е=о до пD8е<ле<о7о уDо6=O 74 EGет Dе4л874F88 
пD4кт8GеEк8E <еD по E<O7Gе=8N поEледEт689, E6O74==KE E <е6ду=4Dод=о пD87=4==K<8 
пеDедо6K<8 8=6е=еD=K<8 8 EтDо8телL=K<8 пD4кт8к4<8. 41. �D4кт8к8 8 E8Eте<4 упD46ле=8O 
отEод4<8 6 D49о=е пDоект4 дол6=K 5KтL D4EE<отDе=K 8 улуGHе=K. 

42. 1тот о5=о6ле==K9 �1О 6<еEте E �1' под7ото6ле= 6 Eоот6етEт688 E �4O6ле=8е< ��  о пол8т8ке 
по 74I8т=K< <еD4< (2009) длO пDоекто6 к4те7оD88 B. 1тот о5=о6ле==K9 �1О 5удет пеDе6еде= =4 
DуEEк89 8 т4д68кEк89 O7Kк8 8 опу5л8ко64= =4 6е5-E49т4E ��  8 К'!8�О. 

43. �од6одO 8то7, <о6=о Eк474тL, Gто �Dоект пD86едет к 7=4G8телL=K< поло68телL=K< 
Mколо78GеEк8< 8 EоF84лL=K< 6K7од4< 8 <о6ет 8<етL =е7=4G8телL=Kе отD8F4телL=Kе 
6о7де9Eт68O 6 пеD8од EтDо8телLEт64. 1т8 отD8F4телL=Kе 6о7де9Eт68O 5удут ко=тDол8Dо64тLEO 8 
E<O7G4тLEO =4 Mт4пе EтDо8телLEт64. �46еDHе=8е Mто7о о5=о6ле==о7о �1О пол=оEтLN Eоот6етEт6ует 
=4F8о=4лL=K< (&4д68к8Eт4=) 8 тDе5о64=8O< �� . �оEле 746еDHе=8O пDедEтDо8телL=KE D45от 8 
EтDо8телLEт64 �Dоект4 поEлепDоект=4O Mколо78GеEк4O оFе=к4 5удет поддеD6864тL уEто9G86оEтL 8 
EоED4=е=8е 58оD47=оо5D478O 6 7о=е пDоект4. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



I. �������� 

44. Ко<8тет по GDе76KG49=K< E8ту4F8O< 8 7D46д4=Eко9 о5оDо=е (К'!8�О) Dе4л87ует 
�4F8о=4лL=K9 пDоект по упD46ле=8N D8Eк4<8 Eт8E89=KE 5едEт689. �Dоект D8=4=E8DуетEO 
�784тEк8< 54=ко< D4768т8O (�� ) длO поддеD6к8 уE8л89 пD468телLEт64 по EокD4Iе=8N 
Mко=о<8GеEк8E потеDL 87-74 Eт8E89=KE 5едEт689 8 6=едDе=8O упD46ле=8O D8Eк4<8 Eт8E89=KE 
5едEт689 (' !�) 6 пл4=8Dо64=8е D4768т8O. �Dоект Eоот6етEт6ует �4F8о=4лL=о9 EтD4те788 
D4768т8O (2016–2030 77.) 8 !Dед=еEDоG=о9 пDо7D4<<е D4768т8O (2016–2020 77.). 

45. �D468телLEт6о GеDе7 К'!8�О 74пDоE8ло допол=8телL=ое D8=4=E8Dо64=8е длO D4EH8Dе=8O 
<4EHт45о6 пDоект4 74 EGет D4768т8O 8=DD4EтDуктуD=KE о5Jекто6, о5уGе=8O по 6оEEт4=о6ле=8N 
EDедEт6 к EуIеEт6о64=8N 8 по6KHе=8O поте=F84л4 по8Eко6о-Eп4E4телL=KE 7Dупп. � D4<к4E Mто7о 
D4EH8Dе==о7о <4EHт454 К'!8�О Eо7д4Eт уEто9G86ое 68лLе длO пеDе<еIе==KE л8F, 4 т4к6е 
8=DD4EтDуктуDу о5уGе=8O 8 поддеD6к8 длO улуGHе=8O Dе478Dо64=8O =4 Eт8E89=Kе 5едEт68O 6 
Dе78о=е. �у=кт пеDеEеле=8O 5удет Eо7д4= =4 EуIеEт6уNIе< пDот86о7D4до6о< уG4Eтке К'!8�О 6 
D49о=е �64лол8дд8= �4лE8.  4768т8е уG4Eтк4 длO луGHе7о упD46ле=8O 8 Dе478Dо64=8O =4 
Eт8E89=Kе 5едEт68O 5удет 6клNG4тL у5е68I4, Eепт8к8, уGе5=Kе 8 4д<8=8EтD4т86=Kе 7д4=8O, 
6=утDе==8е доDо78 8 =4де6=ое 6одоE=456е=8е, 8 MлектDоE=456е=8е. 

46. �лO по6KHе=8O уEто9G86оEт8 <еEт=KE Eоо5IеEт6 5удет ок474=4 поддеD6к4 EоF84лL=о9 
8=DD4EтDуктуDK 6 5л87ле64I8E деDе6=OE уG4Eтк4 К'!8�О. 1то 5удет 6клNG4тL 6 Eе5O уEто9G86Kе к 
87<е=е=8N кл8<4т4 (подJе7д=Kе) доDо78 8 улуGHе=8е л8=89 MлектDопеDед4G8. �лO д4лL=е9Hе9 
поддеD6к8 EелLEко9 74=OтоEт8 8 по6KHе=8O уEто9G86оEт8 6 D4<к4E допол=8телL=о7о 
D8=4=E8Dо64=8O 5удут D4EE<отDе=K <еDопD8Oт8O по о5уGе=8N =46Kк4<, EоF84лL=о9 8=те7D4F88 
8 по6KHе=8N уDо6=O 687=8. 1т8 <еDопD8Oт8O 5удут EоEDедотоGе=K =4 6е=I8=4E 8 
<4D78=4л878Dо64==KE 7Dупп4E. 

A. О5л4EтL пD8<е=е=8O 8 <етодоло78O оFе=к8 6о7де9Eт68O =4 окDу64NIуN EDеду 

47. �4O6ле=8е ��  о пол8т8ке по о5еEпеGе=8N 5е7оп4E=оEт8 (2009) уEт4=46л864ет тDе5о64=8O по 
о5еEпеGе=8N оED4=K окDу64NIе9 EDедK, котоDKе пD8<е=ONтEO ко 6Eе< D8=4=E8Dуе<K< ��  
пDоект4<. �Dоект от=оE8тEO к к4те7оD88 B, тDе5уNIе9 пеD6о=4G4лL=о9 Mколо78GеEко9 MкEпеDт87K 
(�11) 8 пл4=4 упD46ле=8O окDу64NIе9 EDедо9 (�'О!). �оте=F84лL=Kе =е5л47опD8Oт=Kе 
6о7де9Eт68O =4 окDу64NIуN EDеду 7468EOт от уG4Eтк4, O6лONтEO о5D4т8<K<8, 8 длO уEтD4=е=8O 
поEледEт689 <о7ут 5KтL D47D45от4=K <еDK по E<O7Gе=8N. 

48. Ко=EулLт4F88 по ко<плекE=о9 пDо6еDке 8 748=теDеEо64==K< EтоDо=4< пDо6од8л8EL E 22 
8N=O по 1 8NлO 2022 7од4 длO E5оD4 пеD68G=KE д4==KE, от=оEOI8EEO к <еEтополо6е=8N пDоект4 
8 8EEод=K< Mколо78GеEк8< уEло68O<, длO 6KO6ле=8O поте=F84лL=KE 6о7де9Eт689 8 D47D45отк8 
<еD по E<O7Gе=8N 6о7де9Eт68O =4 окDу64NIуN EDеду, котоDKе уEтD4=ONт =е5л47опD8Oт=Kе 
Mколо78GеEк8е 6о7де9Eт68O. О5Eледо64=8O уG4Eтко6 8 ко=EулLт4F88 пDо6од8л8EL длO E5оD4 
<=е=89 8 677лOдо6 <еEт=KE Eоо5IеEт6, к4E4NI8EEO уDо6=O 8E оE6едо<ле==оEт8 о пDедл474е<о< 
пDоекте, =4л8G8O 6одоE=456е=8O 8 EоEтоO=8O к4GеEт64 6одK, D4EпDоEтD4=е==KE 745оле64=89, E 
котоDK<8 Eт4лк864NтEO до<оEо7O9Eт64, пDо5ле< E MлектDоE=456е=8е<, пDо5ле< E доEтупо< к 
доDо74<, E4=8т4D88, 8E пDедпол474е<KE поло68телL=KE 8 отD8F4телL=KE 6о7де9Eт689 
пDедл474е<о7о пDоект4, 4 т4к6е пDедло6е=89 8 Dеко<е=д4F89. � ко=EулLт4F8о==KE 6EтDеG4E 
пD8=Oл8 уG4Eт8е 122 Gело6ек4, 6 то< G8Eле 75 <у6G8= 8 47 6е=I8=. �оку<е=т4F8O о5IеEт6е==KE 



ко=EулLт4F89 пD8л474етEO 6 �D8ло6е=88 A, 4 6опDоEK 8 оп4Eе=8O, котоDKе о5Eу6д4л8EL =4 Mт8E 
6EтDеG4E, пDедEт46ле=K 6  47деле VII =4EтоOIе7о отGет4 по О�О!. �о 6Dе<O о5=о6ле=8O 
=4EтоOIе7о отGет4 по О�О! <е6ду=4Dод=K9 ко=EулLт4=т поEет8л уG4Eтк8 8 пDоко=EулLт8Dо64лEO 
E <еEт=K<8 пDедEт468телO<8. ОтGетK о 6Kе7д4E =4 <еEт4 пD8л474NтEO 6 �D8ло6е=88 D. 

49. �D8 пDо6еде=88 оFе=к8 6о7де9Eт68O =4 окDу64NIуN EDеду 5Kл8 6Kпол=е=K EледуNI8е 
де9Eт68O: 

(i) �оEеIе=8е уG4Eтк4 поEеле=8O длO оE<отD4 пDот86о7D4до6о7о Fе=тD4, HколK, 
<ед8F8=Eко7о Fе=тD4, подJе7д=KE доDо7 8 тD4EEK л8=88 MлектDопеDед4G8 8 <оEт4 6 
D49о=е �64лол8дд8= �4лE8 длO оFе=к8 8 6KO6ле=8O Mколо78GеEк8E 8 EоF84лL=KE 
пDо5ле<. 

(ii) Ко=EулLт4F88 E 68телO<8 деDе6е=L !4=о4т, �D46д4, 'Dт45у7, �еE=4то5од 8 '7у= длO 
пDедEт46ле=8O пDедл474е<о7о пDоект4 8 E5оD4 8E <=е=89 8 ко<<е=т4D8е6 о пDоекте. 

(iii) �K5оDоG=Kе 8=теD6LN длO E5оD4 8=DоD<4F88 о EоEтоO=88 оE=о6=KE EоF84лL=KE 
уEлу7, т4к8E к4к 6одоE=456е=8е 8 MлектDоE=456е=8е, <ед8F8=Eк8е уEлу78 8 
D4EпDоEтD4=е==Kе 745оле64=8O, <етодK упD46ле=8O отEод4<8, Eт8E89=Kе 5едEт68O, E 
котоDK<8 Eт4лк864NтEO деDе6=8, 8E пDедпол474е<Kе поло68телL=Kе 8 отD8F4телL=Kе 
поEледEт68O пDоект4 8 пDедло6е=8O по Dе4л874F88 пDоект4. 

(iv) �EтDеG8 E Ко<8тето< по оED4=е окDу64NIе9 EDедK (КОО!) 8 D49о=о< �64лол8дд8= 
�4лE8 длO опDеделе=8O Mколо78GеEк8E тDе5о64=89, котоDKе =ео5Eод8<о уG8тK64тL пD8 
D47D45отке 8 Dе4л874F88 пDоект4. 

(v) �оEеIе=8е E64лк8 т6еDдKE ко<<у=4лL=KE отEодо6 8 оG8Eт=KE EооDу6е=89 окDу74 длO 
пDо6еDк8 Eт4туE4 8 EоEтоO=8O. 

(vi) �Dо6еDк4 уG4Eтк4 пDоект4 E 8EполL7о64=8е< Ко<плекE=о7о 8=EтDу<е=т4 оFе=к8 
58оD47=оо5D478O (�О�) длO опDеделе=8O =4л8G8O Mколо78GеEк8 уO768<KE теDD8тоD89 8 
68до6. 

(vii) �Dо6еде=8е пDо6еDк8 AWARE длO опDеделе=8O D8Eко6 87<е=е=8O кл8<4т4 6 D49о=е 
пDоект4. 

(viii) О5Eу6де=8O E К'! по 6опDоE4< 6о7де9Eт68O пDоект4, <еD по E<O7Gе=8N поEледEт689 
8 8=Eт8туF8о=4лL=KE <еE4=87<о6. 

(ix) �од7ото6к4 �11 8 пл4=4 <о=8тоD8=74 окDу64NIе9 EDедK. B. !тDуктуD4 отGет4 �11 

50. �4==K9 отGет �11 Eоот6етEт6ует DоD<4ту, пDедп8E4==о<у �4O6ле=8е< ��  о пол8т8ке 
74I8т=KE <еD (2009 7.), 8 EодеD68т EледуNI8е D47делK: 

(i)  47дел 2 – �ол8т8к4, пD46о6Kе 8 4д<8=8EтD4т86=Kе D4<к8 

(ii)  47дел 3 – Оп8E4=8е пDоект4 

(iii)  47дел 4 – Оп8E4=8е 8EEод=о9 EDедK 

(iv)  47дел 5 – О68д4е<Kе Mколо78GеEк8е 6о7де9Eт68O 8 <еDK по E<O7Gе=8N 



(v)  47дел 6 –  4EкDKт8е 8=DоD<4F88, ко=EулLт4F88 8 уG4Eт8е 

(vi)  47дел 7 – �еE4=87< D4EE<отDе=8O 64ло5 

(vii)  47дел 8 – �л4= упD46ле=8O окDу64NIе9 EDедо9 

(viii)  47дел 9 – �K6одK 8 Dеко<е=д4F88. 

 

II. �ОЛ�&�'�!К��, � ��О�/� � ������!& �&���/� !& 'К&' / 

A. �4O6ле=8е ��  о пол8т8ке 74I8т=KE <еD 

51. �4O6ле=8е ��  о пол8т8ке 74I8т=KE <еD (2009 7.) уEт4=46л864ет тDе5о64=8O по оED4=е 
окDу64NIе9 EDедK длO 6EеE пDоекто6, D8=4=E8Dуе<KE �� . �4O6ле=8е о пол8т8ке по 
о5еEпеGе=8N 5е7оп4E=оEт8 ��  (2009) пDедп8EK64ет пDоFеEE оFе=к8 6о7де9Eт68O =4 
окDу64NIуN EDеду длO о5еEпеGе=8O то7о, Gто5K пDоектK, Dе4л87уе<Kе 74 EGет кDед8то6 �� , 
5Kл8 Mколо78GеEк8 5е7оп4E=K<8; D47D45от4=K длO D45отK 6 Eоот6етEт688 E пD8<е=8<K<8 
=оD<4т86=K<8 тDе5о64=8O<8; 8 =е <о7л8 6K764тL EуIеEт6е==KE у7Dо7 длO окDу64NIе9 EDедK, 
7доDо6LO 8л8 5е7оп4E=оEт8. �4O6ле=8е о пол8т8ке по о5еEпеGе=8N 5е7оп4E=оEт8 ��  (2009) 
подкDепле=о  уко6одEт6о< по опеD4F8O< �� , �ол8т8ко9 54=к4 ( 47дел F1/BP OM, октO5DL 2013 
7.). �ол8т8к4 т4к6е EпоEо5Eт6ует пD8=Oт8N пеDедо6о9 <е6ду=4Dод=о9 пD4кт8к8, отD46е==о9 6 

 уко6одEт6е по оED4=е окDу64NIе9 EDедK, 7доDо6LO 8 5е7оп4E=оEт8 �DуппK �Eе<8D=о7о 54=к4 
( уко6одEт6о �О&&�). 

52. &Dе5о64=8O к оFе=ке 6о7де9Eт68O =4 окDу64NIуN EDеду �4O6ле=8O о пол8т8ке по 
о5еEпеGе=8N 5е7оп4E=оEт8 ��  (2009) ук47K64Nт, Gто: 

(i) �4 D4==е9 Eт4д88 под7ото6к8 пDоект4 74е<I8к/кл8е=т опDедел8т поте=F84лL=Kе пDO<Kе, 
коE6е==Kе, ку<улOт86=Kе 8 6K764==Kе 6о7де9Eт68O =4 окDу64NIуN EDеду 8 D8Eк8 длO 
D878GеEк8E, 58оло78GеEк8E, EоF84лL=о-Mко=о<8GеEк8E 8 кулLтуD=KE DеEуDEо6 8 опDедел8т 8E 
7=4G8<оEтL 8 <4EHт45 6 ко=EулLт4F88 E 748=теDеEо64==K<8 EтоDо=4<8, 6клNG4O 74тDо=утKE л8F. 
�Eл8 6KO6ле=K поте=F84лL=о =е5л47опD8Oт=Kе Mколо78GеEк8е 6о7де9Eт68O 8 D8Eк8, 
74е<I8к/кл8е=т пDо6едет Mколо78GеEкуN оFе=ку к4к <о6=о D4=LHе 6 пDоект=о< F8кле. 

(ii) �DоFеEE оFе=к8 5удет оE=о64= =4 текуIе9 8=DоD<4F88, 6клNG4O тоG=ое оп8E4=8е пDоект4 8 
Eоот6етEт6уNI8е Mколо78GеEк8е 8 EоF84лL=Kе 8EEод=Kе д4==Kе. 

(iii) �о7де9Eт68O 8 D8Eк8 5удут пDо4=4л878Dо64=K 6 ко=текEте 7о=K 6л8O=8O пDоект4. 

(iv) 1коло78GеEк8е 6о7де9Eт68O 8 D8Eк8 5удут пDо4=4л878Dо64=K =4 6EеE Eоот6етEт6уNI8E Mт4п4E 
пDоект=о7о F8кл4, 6клNG4O пDедEтDо8телLEт6о, EтDо8телLEт6о, MкEплу4т4F8N, 6K6од 87 
MкEплу4т4F88 8 <еDопD8Oт8O поEле 74кDKт8O, т4к8е к4к Dе458л8т4F8O 8л8 6оEEт4=о6ле=8е. 

(v) ОFе=к4 6KO68т поте=F84лL=Kе тD4=E7D4=8G=Kе MDDектK, 4 т4к6е 7ло54лL=Kе 6о7де9Eт68O. 

(vi) ОFе=к4 оE64тK64ет EопутEт6уNI8е о5JектK, котоDKе =е D8=4=E8DуNтEO к4к G4EтL пDоект4 
(D8=4=E8Dо64=8е <о6ет 5KтL пDедоEт46ле=о отделL=о 74е<I8ко< 8л8 тDетL8<8 л8F4<8), 8 GLO 



687=еEпоEо5=оEтL 8 EуIеEт6о64=8е 7468EOт 8EклNG8телL=о от пDоект4 8 GL8 то64DK 8л8 уEлу78 
=ео5Eод8<K длO уEпеH=о9 MкEплу4т4F88 пDоект4. 

(vii) ОFе=к4 оE64тK64ет EуIеEт6уNI8е о5JектK 8/8л8 587=еE-деOтелL=оEтL, котоDKе у6е 
EуIеEт6уNт, длO котоDKE 74е<I8к пDо6едет 4уд8т Eоот6етEт68O Mколо78GеEк8< 8/8л8 EоF84лL=K< 
=оD<4<, 6клNG4O оFе=ку =4 <еEте длO 6KO6ле=8O пDоHлKE 8л8 =4EтоOI8E пDо5ле<, E6O74==KE E 
6о7де9Eт68е< =4 окDу64NIуN EDеду, =едо5Dо6олL=K< пеDеEеле=8е< 8 коDе==K<8 =4Dод4<8. 
&елL 4уд8т4 — опDедел8тL, Eоот6етEт6о64л8 л8 де9Eт68O �4O6ле=8N о пол8т8ке по 74I8т=K< 
<еD4< ��  (2009 7.), 4 т4к6е 6KO68тL 8 DеH8тL =еDеHе==Kе 6опDоEK Eоот6етEт68O. 

53. �Dу78е тDе5о64=8O �4O6ле=8O о пол8т8ке по 74I8т=K< <еD4< ��  (2009 7.), 6клNGе==Kе 6 Mтот 
IEE, EледуNI8е: (i) Ко=EулLт4F88 8 уG4Eт8е. �4е<I8к/кл8е=т 5удет пDо6од8тL EодеD64телL=Kе 
ко=EулLт4F88 E 74тDо=утK<8 л8F4<8 8 дDу78<8 748=теDеEо64==K<8 EтоDо=4<8, 6клNG4O 
7D46д4=Eкое о5IеEт6о, 8 Eоде9Eт6о64тL 8E оEо7=4==о<у уG4Eт8N. 

(ii)  4EкDKт8е 8=DоD<4F88. 1коло78GеEк4O 8=DоD<4F8O по пDоекту 5удет пеDе6еде=4 =4 
т4д68кEк89 8 DуEEк89 O7Kк8 8 пDедоEт46ле=4 6 доEтуп=KE <еEт4E (=4пD8<еD, поле6Kе оD8EK по 
EтDо8телLEт6у пDоект4, Eо6етK о5I8=, <еEт=Kе оD74=K 6л4Eт8 8 т. д.) 6 Eоот6етEт688 E �ол8т8ко9 
доEтуп4 к 8=DоD<4F88 ��  (2019 7.) 8 �4O6ле=8е< ��  о пол8т8ке по 74I8т=K< <еD4< (2009 7.). 
ОтGетK по �1О 8 <о=8тоD8=7у 74I8т=KE <еD 5удут E6ое6Dе<е==о опу5л8ко64=K =4 6е5-E49те 
пDоект4 ��  8 К'!��О4 =4 4=7л89Eко<, DуEEко< 8 т4д68кEко< O7Kк4E. ОтGетK по �1О 5удут 
D4EкDKтK 74тDо=утK< л8F4< поEDедEт6о< кооDд8=4F8о==KE 8 ко=EулLт4F8о==KE 6EтDеG. 

(iii) �еE4=87< D4EE<отDе=8O 64ло5. �4е<I8к/кл8е=т Eо7д4Eт <еE4=87< длO полуGе=8O 8 
Eоде9Eт68O D47DеHе=8N пDо5ле<, 64ло5 8 пDете=789 74тDо=утKE л8F пDоект4 от=оE8телL=о 
Mколо78GеEк8E 8 EоF84лL=KE пок474теле9 пDоект4. 

(iv) �о=8тоD8=7 8 отGет=оEтL. �4е<I8к/кл8е=т 5удет ко=тDол8Dо64тL, 87<еDOтL Eод Dе4л874F88 
�'О! 8 пл4=4 <о=8тоD8=74, к4к то7о тDе5ует �4O6ле=8е ��  о пол8т8ке 5е7оп4E=оEт8 (2009). 54. 
!ледуO тDе5о64=8O< �4O6ле=8O ��  о пол8т8ке 5е7оп4E=оEт8 (2009), К'!8�О 8 �Dупп4 по 
Dе4л874F88 пDоект4 (� �) 5удут пD8<е=OтL теE=оло788 8 <етодK пDедот6D4Iе=8O 8 ко=тDолO 
747DO7=е=8O, Eоот6етEт6уNI8е <е6ду=4Dод=о9 пеDедо6о9 пD4кт8ке, отD46е==о9 6 
<е6ду=4Dод=о пD87=4==KE Eт4=д4Dт4E, т4к8E к4к  уко6одEт64 по оED4=е окDу64NIе9 EDедK, 
7доDо6LO 8 5е7оп4E=оEт8. �Eл8 пD468телLEт6е==Kе поEт4=о6ле=8O отл8G4NтEO от Mт8E уDо6=е9 8 
<еD, К'!8�О/� � 5удет до5864тLEO то7о, Gто O6лOетEO 5олее EтDо78<. �Eл8 <е=ее EтDо78е уDо6=8 
8л8 <еDK O6лONтEO у<еEт=K<8 E уGето< ко=кDет=KE о5EтоOтелLEт6 пDоект4, К'!8�О/� � 

пDедоEт468т пол=ое 8 подDо5=ое о5оE=о64=8е лN5KE пDедл474е<KE 4лLтеD=4т86, котоDKе 
Eоот6етEт6уNт тDе5о64=8O<, пDедEт46ле==K< 6 �4O6ле=88 ��  о пол8т8ке 5е7оп4E=оEт8 (2009). 

B. �оD<4т86=о-пD46о64O 5474 оED4=K окDу64NIе9 EDедK 6  еEпу5л8ке &4д68к8Eт4= 

55. Ко=Eт8туF8O �D468телLEт64  еEпу5л8к8 &4д68к8Eт4= 74кDеплOет пD8=F8пK оED4=K 
окDу64NIе9 EDедK. �оD<4т86=о-пD46о64O 5474 оED4=K окDу64NIе9 EDедK 8 8EполL7о64=8O 8 
EоED4=е=8O пD8Dод=KE DеEуDEо6 6 EтD4=е оE64тK64етEO 74ко=4<8 о5 оED4=е окDу64NIе9 EDедK, 
Mколо78GеEко< 4уд8те 8 <о=8тоD8=7е, 74I8те DлоDK 8 D4у=K, Mколо78GеEко9 8=DоD<4F88 8 
о5D47о64=88, к4GеEт6е поG6, 6одK 8 6о7дуE4, 58оло78GеEко9 5е7оп4E=оEт8, 7доDо6Lе 8 
5е7оп4E=оEт8 Gело6ек4, 4 т4к6е упD46ле=88 отEод4<8 8 E8<8GеEк8<8 6еIеEт64<8. 



1. ОFе=к4 6о7де9Eт68O =4 окDу64NIуN EDеду 

56. �485олее 7=4G8<K<8 74ко=4<8, E6O74==K<8 E оFе=ко9 6о7де9Eт68O =4 окDу64NIуN EDеду, 
O6лONтEO �4ко= о5 оED4=е окDу64NIе9 EDедK (2011 7.) 8 �4ко= о5 Mколо78GеEко9 MкEпеDт87е (2012 
7.). 

57. �4ко= о5 оED4=е окDу64NIе9 EDедK (2011 7.). �4ко= поддеD6864ет Mколо78GеEкуN пол8т8ку 
&4д68к8Eт4=4 по пD8оD8тет=оEт8 <еD оED4=K, оE=о64==KE =4 =4уG=KE пD8=F8п4E, длO EоED4=е=8O 
пD8DодK 8 поддеD6к8 уEто9G86о7о 8EполL7о64=8O DеEуDEо6. �4ко= пDедуE<4тD864ет <еDK по 
о5еEпеGе=8N пD46 =4Eеле=8O =4 5е7оп4E=уN 8 7доDо6уN окDу64NIуN EDеду. 

58. �4ко= т4к6е опDеделOет пол=о<оG8O 8 Dу=кF88 КОО! к4к от6етEт6е==о7о оD74=4 по 6Kд4Gе 
D47DеHе=89 =4 пDо6еде=8е оFе=ок 6о7де9Eт68O =4 окDу64NIуN EDеду. КОО! O6лOетEO 
=4F8о=4лL=K< пD8DодооED4==K< оD74=о<, от6еG4NI8< 74 D47D45отку 8 Dе4л874F8N 
7оEуд4DEт6е==о9 пол8т8к8 6 о5л4Eт8 оED4=K окDу64NIе9 EDедK, 58оло78GеEко7о D47=оо5D478O, 
Eто9к8E оD74=8GеEк8E 747DO7=8теле9, 87<е=е=8O кл8<4т4, ко=тDолO 74 D4F8о=4лL=K< 
8EполL7о64=8е< пD8Dод=KE DеEуDEо6, 78дDо<етеоDоло788 8 пDедот6D4Iе=8O пD8G8= 
6о7=8к=о6е=8O GDе76KG49=KE E8ту4F89 E =е74т86=K< 6о7де9Eт68е< =4 окDу64NIуN EDеду. 

59. �4ко= Dе7ул8Dует тDе5о64=8O к оFе=ке 6о7де9Eт68O =4 окDу64NIуN EDеду (О�О!) 8 66од8т 
ко=FепF8N оEуIеEт6ле=8O 7оEуд4DEт6о< пол=о<оG89 по 87уGе=8N 6о7де9Eт68O =4 окDу64NIуN 
EDеду пл4=8Dуе<KE пDоекто6 поEDедEт6о< пDо6еде=8O пDоFеEE4 7оEуд4DEт6е==о9 Mколо78GеEко9 
MкEпеDт87K (�11). КОО! =4 =4F8о=4лL=о<, Dе78о=4лL=о< 8 дDу78E подG8=е==KE уDо6=OE =еEет 
от6етEт6е==оEтL 74 D4EE<отDе=8е оFе=к8 6о7де9Eт68O =4 окDу64NIуN EDеду пDоекто6. �DоFеEE 
�11 дол6е= 5KтL =4уG=K<, 6Eео5Jе<лNI8< 8 о5Jект86=K< 8 дол6е= пD86од8тL к 6K6од4< 6 
Eоот6етEт688 E 74ко=о<. �11 пDедHеEт6ует пD8=Oт8N DеHе=89 о деOтелL=оEт8, котоD4O <о6ет 
ок474тL =е74т86=ое 6о7де9Eт68е =4 окDу64NIуN EDеду. �ол6=оEт=Kе л8F4 8 пDедпD8Oт8O 
о5O74=K пDедот6D4I4тL 8 уEтD4=OтL 6о7де9Eт68е =4 окDу64NIуN EDеду 8 уEт4=46л864тL 
пDоFедуDK длO DеHе=8O GDе76KG49=KE Mколо78GеEк8E E8ту4F89 8 =едопуIе=8O =4=еEе=8O 
уIеD54 окDу64NIе9 EDеде. 

60. �11 O6лOетEO пDедпоEKлко9 длO =4G4л4 лN5о9 деOтелL=оEт8, котоD4O <о6ет ок474тL 
=е5л47опD8Oт=ое 6о7де9Eт68е =4 окDу64NIуN EDеду. $8=4=E8Dо64=8е пDо7D4<< 8 пDоекто6 
допуEк4етEO толLко поEле пу5л8к4F88 поло68телL=о7о Dе7улLт4т4 8л8 74клNGе=8O пDоFеEE4 �11. 

�Dо6еде=8е О�О! O6лOетEO о5O74==оEтLN 8=8F84тоD4 пDоект4. О�О! O6лOетEO ко<по=е=то< �11, 
к4к уEт4=о6ле=о 6 �4ко=е о5 оED4=е окDу64NIе9 EDедK (2011) 8 �4ко=е о �11 (2012). 
'т6еD6де=8е дол6=о 5KтL 6Kд4=о КОО! 6 теGе=8е 30 д=е9 поEле под4G8 8=8F84тоDо< пDоект4 
отGет4 о5 оFе=ке 6о7де9Eт68O =4 окDу64NIуN EDеду. �11 <о6ет пDо6од8тLEO =4 7оEуд4DEт6е==о< 
уDо6=е �D468телLEт6о< 8 е7о Dе78о=4лL=K<8 отделе=8O<8 КОО! 6 7468E8<оEт8 от Eло6=оEт8 
пDоект4. КОО! 8<еет подD47деле=8O =4 о5л4Eт=о<, 7оDодEко< 8 D49о==о< уDо6=OE 6 68де 
отдело6 оED4=K окDу64NIе9 EDедK 6 EоEт46е Eуку<4т4 (<еEт=о9 4д<8=8EтD4F88) 6 к46до< 
7оDоде 8л8 D49о=е. �лO Mто7о пDоект4 К'!8�О/� � пDедEт468т пDоект=уN доку<е=т4F8N, 6клNG4O 
оFе=ку окDу64NIе9 EDедK 8 <еDK по E<O7Gе=8N поEледEт689, 6 КОО! =4 Fе=тD4лL=о< уDо6=е, 4 
D8=4=E8Dо64=8е пDо7D4<< 8 пDоекто6 допуEк4етEO толLко поEле 6Kд4G8 поло68телL=о7о 
74клNGе=8O 8л8 74клNGе=8O �11. 



61. !4<Kе поEлед=8е поло6е=8O по О�О!: (i) �оEт4=о6ле=8е № 1448 от 2017 7од4, котоDое 
опDеделOет пDоFедуDK О�О!; 8 (ii) �оEт4=о6ле=8е № 235 от 2013 7од4 8 �оEт4=о6ле=8е № 532 от 
2018 7од4 (�D8ло6е=8O 2 8 3), котоDKе пDедп8EK64Nт, к4к8е пDоектK подле64т О�О!. �лO 
Eоот6етEт68O Eт4=д4Dт4< О�О! пDоект=4O доку<е=т4F8O дол6=4 EодеD64тL 8=DоD<4F8N о: (i) 
Fел8 Dе4л874F88 пл4=8Dуе<о7о пDоект4, (ii) 4лLтеD=4т86=KE 64D84=т4E Dе4л874F88, (iii) д4==KE о 
EоEтоO=88 окDу64NIе9 EDедK =4 теDD8тоD88, (iv) 6о7<о6=KE =е74т86=KE поEледEт68OE 
Dе4л874F88 пDоект4 длO 7доDо6LO 8 5е7оп4E=оEт8 =4Eеле=8O, (v) 6о7де9Eт68OE =4 окDу64NIуN 
EDеду 8 пD8Dод=Kе DеEуDEK 8 (vi) <еD4E по E=86е=8N 8 пDедот6D4Iе=8N 6о7де9Eт689. 62. 
!ледуNI8е пDоектK 8 <еDопD8Oт8O подле64т о5O74телL=о<у пDоEо6де=8N пDоFедуDK 
О�О!/�11: 

(i) �DоектK 7оEуд4DEт6е==KE пDо7D4<<, пDедпл4=о6о9, пDедпDоект=о9 8 пDоект=о9 
доку<е=т4F88 по D4768т8N Mко=о<8к8. 

(ii)  е78о=4лL=Kе 8 отD4Eле6Kе пDо7D4<<K D4768т8O. 

(iii) &еDD8тоD84лL=ое 8 7D4доEтDо8телL=ое пл4=8Dо64=8е, D4768т8е 8 пDоект8Dо64=8е. 

(iv) 1коло78GеEк8е пDо7D4<<K 8 пDоектK. 

(v) !тDо8телLEт6о 8 Dеко=EтDукF8O о5Jекто6 D47л8G=о7о т8п4 =е7468E8<о от пD464 
Eо5Eт6е==оEт8. 

(vi) �DоектK =оD<4т86о6 к4GеEт64 окDу64NIе9 EDедK 8 дDу7о9 =оD<4т86=о9, 
теE=оло78GеEко9 8 <етод8GеEко9 доку<е=т4F88, Dе7л4<е=т8DуNIе9 Eо7O9Eт6е==уN 
деOтелL=оEтL; 8 

(vii) �е9Eт6уNI8е пDедпD8Oт8O 8 Eо7O9Eт6уNI8е Eу5JектK. 

63. �оEт4=о6ле=8е № 532 от 2018 7од4 EодеD68т 180 68до6 деOтелL=оEт8, E7Dупп8Dо64==KE по 
к4те7оD8O< 6о7де9Eт68O =4 окDу64NIуN EDеду (от (A) «6KEок89 D8Eк» до (D) «лок4лL=ое 
6о7де9Eт68е»). �е9Eт6уNI4O E8Eте<4 О�О! =е пDедуE<4тD864ет пDед64D8телL=о9 оFе=к8 8л8 
пDо6еDк8 пDоект4 длO пD8=Oт8O DеHе=8O о =ео5Eод8<оEт8 О�О!, 4 т4к6е опDеделе=8O о5Jе<4 
оE64тK64е<KE 6опDоEо6 8 EодеD64=8O <4теD84ло6 О�О! 6 к4GеEт6е ко=кDет=KE пDоFедуD=KE 
H47о6. 

64. �Dедл474е<K9 пDоект подп4д4ет под лок4лL=ое 6о7де9Eт68е (D) 87-74 =е5олLHо7о <4EHт454 
6о7де9Eт68O пDоект4. Од=4ко пDоект дол6е= пDо9т8 пDоFеEE �11. 1то 5удет 6клNG4тL 
пDедEт46ле=8е 6 Fе=тD4лL=K9 К1� пDоект=о9 доку<е=т4F88 8=8F84тоDо< пDоект4. 1то 
пDедEт46ле=8е т4к6е 6клNG4ет пDедл474е<Kе <еDK по E<O7Gе=8N поEледEт689 длO уEтD4=е=8O 
лN5KE 6KO6ле==KE 6о7де9Eт689 =4 окDу64NIуN EDеду. К1� 8=8F88Dует пDоFеEE �11 8 
D4EE<отD8т 6о7де9Eт68O 8 пDедл474е<Kе <еDK по E<O7Gе=8N поEледEт689. �о =4G4л4 
EтDо8телLEт64 пDоект4 =ео5Eод8<о полуG8тL одо5Dе=8е пDоект4 от К1� =4 оE=о6е пDоFеEE4 
оFе=к8 �11. �DоFеEE ут6еD6де=8O �11 дол6е= 5KтL 746еDHе= 6 теGе=8е <4кE8<4лL=о7о EDок4 6 
од8= <еEOF 8л8 30 д=е9 до =4G4л4 лN5KE EтDо8телL=KE D45от. 

65. �4ко= о5 Mколо78GеEко9 MкEпеDт87е (2012). �4ко= о5 Mколо78GеEко9 MкEпеDт87е =4пD46ле= =4 
пDедот6D4Iе=8е =е74т86=о7о 6о7де9Eт68O =4 окDу64NIуN EDеду 6 Dе7улLт4те пл4=8Dуе<о9 
деOтелL=оEт8; пDо7=о78Dо64=8е 6о7де9Eт68O от 68до6 деOтелL=оEт8, котоDKе EG8т4NтEO 



6Dед=K<8 длO окDу64NIе9 EDедK; 8 Eо7д4=8е 547 д4==KE о EоEтоO=88 окDу64NIе9 EDедK длO 
по6KHе=8O оE6едо<ле==оEт8 лNде9 о 6о7де9Eт688 =4 окDу64NIуN EDеду. 

66. �4ко= о5 оEо5о оED4=Oе<KE пD8Dод=KE теDD8тоD8OE (2011). 1тот 74ко= 74<е=8л �4ко= о5 
оEо5о оED4=Oе<KE пD8Dод=KE теDD8тоD8OE 8 о5Jект4E (1996) 8 до546лOет од=у =о6уN к4те7оD8N, 
т. е. 7оEуд4DEт6е==Kе 7ооло78GеEк8е п4Dк8, к к4те7оD8O< оEо5о оED4=Oе<KE пD8Dод=KE 
теDD8тоD89. О= т4к6е 6клNG4ет по=Oт8O 74I8т=KE (5уDеD=KE) 7о= 8 Mколо78GеEк8E коD8доDо6, 
6клNG4O пD87=4=8е теE, котоDKе 6клNGе=K 6о �Eе<8D=уN EетL 58оEDеD=KE Dе7еD64то6, 6од=о-

5олот=KE у7од89 <е6ду=4Dод=о7о 7=4Gе=8O 8 <е67оEуд4DEт6е==KE пD8Dод=KE п4Dко6 8 
Dе7еD64то6. 

2. О5IеEт6е==Kе ко=EулLт4F88 8 уG4Eт8е 

67. �4ко= о5 оED4=е окDу64NIе9 EDедK тDе5ует о5O74телL=о7о D4EкDKт8O 8 ко=EулLт4F89 по 
отGету О�О!. О5IеEт6е==оEтL 8<еет пD46о полуG4тL Mколо78GеEкуN 8=DоD<4F8N (Eт4тLO 13), 4 
т4к6е уG4Eт6о64тL 6 D47D45отке, пD8=Oт88 8 Dе4л874F88 DеHе=89, E6O74==KE E 6о7де9Eт68е< 
пDоект4 =4 окDу64NIуN EDеду. 1то доEт874етEO путе< пу5л8G=о7о 6KEтупле=8O 6о 6Dе<O 
ко=EулLт4F89 по пDоект4<, 6клNG4O E<O7Gе=8е 6о7де9Eт68O =4 окDу64NIуN EDеду. Ко<<е=т4D88 
8 пDедло6е=8O о5IеEт6е==оEт8 дол6=K 5KтL D4EE<отDе=K. �=8F84тоD пDоект4 8 оD74=874F8O, 
под7ото686H4O О�О!, о5O74=K пDо6еEт8 пу5л8G=Kе ко=EулLт4F88 E <еEт=K< пD468телLEт6о< 8 
74тDо=утK<8 Eоо5IеEт64<8 до под4G8 О�О! 6 КОО!. 

68. �олее подDо5=4O 8=DоD<4F8O 8 пDоFедуDK о5IеEт6е==KE ко=EулLт4F89 87ло6е=K 6 
�оEт4=о6ле=88 № 532 (2017). �4 D47=KE Mт4п4E О�О! =ео5Eод8<о пDо6од8тL ко=EулLт4F88 E 
о5IеEт6е==оEтLN 8л8 74тDо=утK<8 Eоо5IеEт64<8 6 DоD<е 6EтDеG 8 опDоEо6 длO отD46е=8O 8E 
<=е=89 о пDO<о< 8 коE6е==о< 6о7де9Eт688 пDоект4 =4 окDу64NIуN EDеду. ОтGет о5 О�О! 
дол6е= 5KтL пDедEт46ле= =4 <еEт=о< о5IеEт6е==о< Eо5D4=88 поEле 746еDHе=8O отGет4. 

3. �о=8тоD8=7 окDу64NIе9 EDедK 

69. �Dоект 5удет ко=тDол8Dо64тLEO КОО! D49о=4, к4к Mто пDедуE<отDе=о 6 EледуNI8E 74ко=4E: 

70. �4ко= о <о=8тоD8=7е окDу64NIе9 EDедK (№ 707 от 25 <4Dт4 2011 7.). �4EтоOI89 �4ко= 
опDеделOет пD46о6Kе оE=о6K 7оEуд4DEт6е==о9 пол8т8к8 6 о5л4Eт8 оED4=K окDу64NIе9 EDедK 8 
=4пD46ле= =4 о5еEпеGе=8е уEто9G86о7о EоF84лL=о-Mко=о<8GеEко7о D4768т8O, 74D4=т88 пD46 
Gело6ек4 =4 7доDо6уN 8 5л47опD8Oт=уN окDу64NIуN EDеду, укDепле=8е 74ко==оEт8, 
пDедот6D4Iе=8е =е74т86=о7о 6о7де9Eт68O Eо7O9Eт6е==о9 8 8=о9 деOтелL=оEт8 =4 окDу64NIуN 
EDеду, оD74=874F8N D4F8о=4лL=о7о 8EполL7о64=8O пD8Dод=KE DеEуDEо6 8 о5еEпеGе=8е 
Mколо78GеEко9 5е7оп4E=оEт8. �о=8тоD8=7 д4==о7о пDоект4 5удет оEуIеEт6лOтLEO 7Dуппо9 
Dе4л874F88 пDоект4 КОО!К  (� �), ко=E4лт8=7о6о9 D8D<о9, КОО! D49о=4, 4 т4к6е 
о5IеEт6е==оEтLN GеDе7 <еE4=87< D4EE<отDе=8O 64ло5 (� �). �4ко= о <о=8тоD8=7е окDу64NIе9 
EDедK опDеделOет оD74=874F8о==Kе, пD46о6Kе, Mко=о<8GеEк8е 8 EоF84лL=Kе оE=о6K 
о5еEпеGе=8O <о=8тоD8=74 окDу64NIе9 EDедK 6 EтD4=е 8 Dе7ул8Dует от=оHе=8O <е6ду оD74=4<8 
7оEуд4DEт6е==о9 6л4Eт8, оD74=4<8 E4<оупD46ле=8O поEелко6 8 Eел, о5IеEт6е==K<8 
о5Jед8=е=8O<8 8 7D46д4=4<8 =4 теDD8тоD88. 

71. 1коло78GеEк89 <о=8тоD8=7 оEуIеEт6лOетEO 6 FелOE: (i) =45лNде=8O 74 EоEтоO=8е< 
окDу64NIе9 EDедK 8 8EтоG=8к4<8 4=тDопо7е==о7о 6о7де9Eт68O =4 окDу64NIуN EDеду; (ii) 



пDо7=о78Dо64=8O 87<е=е=89 EоEтоO=8O окDу64NIе9 EDедK; 8 (iii) о5еEпеGе=8O доEто6еD=о9 
8=DоD<4F88 о =е5л47опD8Oт=KE Mколо78GеEк8E 6о7де9Eт68OE.  е7улOD=K9 Mколо78GеEк89 
<о=8тоD8=7 8 E5оD д4==KE пDо6одOтEO длO оFе=к8 EоEтоO=8O 8 Dу=кF8о=4лL=о9 FелоEт=оEт8 
еEтеEт6е==KE MкоE8Eте< 8 7доDо6LO =4Eеле=8O. �7<е=е=8O уEло689 8 пDо7D4<<K 
D47D454тK64NтEO длO E<O7Gе=8O поEледEт689 =е5л47опD8Oт=KE Mколо78GеEк8E 6о7де9Eт689. 
!оEтоO=8е окDу64NIе9 EDедK дол6=о 5KтL D4EкDKто о5IеEт6е==оEт8. 

72. �4ко= о5 Mколо78GеEко< 4уд8те (№ 785, 26 дек45DO 2011 7.). � Mто< 74ко=е 87ло6е=K 
пD8=F8пK 8 поDOдок пDо6еде=8O Mколо78GеEко7о 4уд8т4 длO пDедот6D4Iе=8O 6Dед=о7о 
6о7де9Eт68O =4 окDу64NIуN EDеду, 687=L 8 7доDо6Lе =4Eеле=8O. Ко=FепF88 оE=о64=K =4 
уEто9G86оEт8 длO о5еEпеGе=8O 54л4=E4 EоF84лL=KE 8 Mко=о<8GеEк8E потDе5=оEте9 8 EоED4=е=8O 
5л47опD8Oт=о9 пD8Dод=о9 EDедK. 1коло78GеEк89 4уд8т =ео5Eод8< длO 4=4л874 Eоот6етEт68O 
деOтелL=оEт8 де9Eт6уNIе<у 74ко=од4телLEт6у 8 =оD<4т86=K< 4кт4< 6 о5л4Eт8 оED4=K 
окDу64NIе9 EDедK 8 пD8DодополL7о64=8O. 73. 1коло78GеEк89 4уд8тоD дол6е= 8<етL EеDт8D8к4т 
ко<пете=т=оEт8 (поEле Eд4G8 к64л8D8к4F8о==о7о Mк74<е=4) от упол=о<оGе==о7о 
7оEуд4DEт6е==о7о оD74=4. 1коло78GеEк4O 4уд8тоDEк4O оD74=874F8O т4к6е <о6ет 8<етL л8Fе=78N 
=4 пDо6еде=8е Mколо78GеEко7о 4уд8т4. 

74. &елLN Mколо78GеEко7о 4уд8т4 O6лOетEO: (i) по<оIL пDедпD8Oт8O< 6 D47D45отке Mколо78GеEко9 
пол8т8к8; (ii) опDеделе=8е пD8оD8тето6 EтD4те788 8 пл4=о6 де9Eт689, котоDKе поддеD6864Nт 
Dе4л874F8N уEт4=о6ле==KE Mколо78GеEк8E 74ко=о6 8 =оD<4т86=KE 4кто6; 8 (iii) Eо7д4=8е 
<еE4=87<4 длO <о=8тоD8=74 8 о5еEпеGе=8O MDDект86=о7о Dе7ул8Dо64=8O 6 о5л4Eт8 
Mколо78GеEко7о <е=ед6<е=т4. 

4. 1коло78GеEк8е D47DеHе=8O 

75. �4ко= о D47DеHе=8OE (2011 7.) опDеделOет о5I8е пD468л4 6Kд4G8 D47л8G=KE D47DеHе=89 8 
D47DеH8телL=Kе пол=о<оG8O D47л8G=KE оD74=о6. !о7л4E=о 74ко=у, КОО! 6Kд4ет D47DеHе=8O =4 
EледуNIее: 

(i)  47DеHе=8O =4 6K5DоEK 747DO7=ONI8E 6еIеEт6 6 4т<оEDеDу. 

(ii) �EполL7о64=8е DлоDK 8 D4у=K. 

(iii) ЛеEополL7о64=8е. 

(iv) �<поDт 8 MкEпоDт отEодо6 длO по6тоD=о7о 8EполL7о64=8O. 

(v) О5D47о64=8е, 8EполL7о64=8е, у=8Gто6е=8е 8 ут8л874F8O отEодо6. 

(vi)  476едк4, E5оD 8л8 до5KG4 поле7=KE 8Eкоп4е<KE (748<Eт6о64=8е) 8л8 EтDо8телLEт6о 
под7е<=KE EооDу6е=89, =е E6O74==KE E до5KGе9 поле7=KE 8Eкоп4е<KE. 

(vii)  47DеHе=8е =4 8EполL7о64=8е пD8Dод=KE DеEуDEо6 6 пDедел4E опDеделе==о9 
теDD8тоD88 8 пеD8од4 6Dе<е=8 (=4пD8<еD, до5KG4 под7е<=KE 8л8 по6еDE=оEт=KE 6од). 

76.  47DеHе=8O =4 6K5DоEK 8л8 E5DоEK о5KG=о 6Kд4NтEO EDоко< =4 од8= 7од 8 ук47K64Nт 
пDеделL=о допуEт8<уN ко=Fе=тD4F8N 8 пDеделL=о допуEт8<K9 о5Jе< 747DO7=ONI8E 6еIеEт6 6 
6K5D4EK64е<KE 6еIеEт64E. 



77. �86е пD86еде= Eп8Eок D47DеHе=89 8 л8Fе=789, котоDKе тDе5уNтEO пD8 Dе4л874F88 пDоект4: 

&45л8F4 II.1: !п8Eок тDе5уе<KE D47DеHе=89 8 л8Fе=789 

 47DеHе=8е/л8Fе=78O ОD74=, 6Kд46H89 
D47DеHе=8O 

�D4D8к 6Kд4G8 ОD74=, 6Kд46H89 
D47DеHе=8O 

!F48<S CDB9>F<DB64A<S: F9IA<>B-Q>BAB@<K9E>B9 B5BEAB64A<9 CDB9>F4 < ���! 

�0:;NG8B5;L=K9 >BG5B ?> "�"% #@>5:B=0O 
4>:C<5=B0F8O 

#> 7025@H5=88 �-- 
?@>5:B0 ?5@54 
2K?CA:>< 

?@83;0H5=8O : 
CG0AB8N 2 B>@30E 8 
?5@54 =0G0;>< 
AB@>8B5;LAB20 

�""% F5=B@0;L=K9 C@>25=L 
 

�""% F5=B@0;L=K9 C@>25=L 

$07@5H5=85 =0 CB8;870F8N 
0A15AB>A>45@60I8E <0B5@80;>2 =0 <5AB=>< 
?>;83>=5 

�> =0G0;0 
AB@>8B5;LAB20 

)G>G@аF (<5AB=0O 2;0ABL) 

�8F5=78O =0 >ACI5AB2;5=85 2840 
45OB5;L=>AB8 

�> =0G0;0 
AB@>8B5;LAB20 

 8=8AB5@AB2> 
?@><KH;5==>AB8 8 =>2KE 
B5E=>;>389 $5A?C1;8:8 

&0468:8AB0= 

ЭF4C EFDB<F9?PEF64: !FDB<F9?PAO= CB8DS8K<> 

$07@5H5=85 =0 8A?>;L7>20=85 75<5;L=>3> 
CG0AB:0 4;O AB@>8B5;LAB20 20EB>2>3> 
?>A5;:0, 0AD0;LB>15B>==>3> 8 15B>==>3> 
702>4>2, 0 B0:65 @07@01>B:8 :0@L5@>2 ?> 
4>1KG5 3@C=B0 4;O ?>43>B>2:8 AB@>8B5;L=KE 
<0B5@80;>2 (3@0289, ?5A>:, I515=L) 8 
2K5<:8 3@C=B0 4;O 4>@>6=>3> ?>:@KB8O. 

�> =0G0;0 
AB@>8B5;LAB20 

)G>G@аF 

$07@5H5=85 =0 A?5F80;L=>5 
2>4>?>;L7>20=85 ЭF4C EFDB<F9?PEF64: 

!FDB<F9?PAO= 
CB8DS8K<> 

*5=B@0;L=K9 C@>25=L �""%, 
&0468:35>;>38O (B5E=8G5A:0O 

2>40),  8=8AB5@AB2> 
74@02>>E@0=5=8O 8 

A>F80;L=>9 70I8BK =0A5;5=8O 
(?8BL520O 2>40) 

$07@5H5=85 =0 2K@C1:C 45@52L52 8 
:CAB0@=8:>2 

�> =0G0;0 
AB@>8B5;LAB20 

$09>= �""%, )C:C<0B 

$07@5H5=85 =0 2K1@>AK 2@54=KE 25I5AB2 2 
0B<>AD5@=K9 2>74CE AB0F8>=0@=K<8 8 
?5@54286=K<8 8AB>G=8:0<8 

!0 AB0488 
AB@>8B5;LAB20 

$09>= �""%, )C:C<0B 

$07@5H5=85 =0 A1@>A 2@54=KE 25I5AB2 2 
2>4=K5 >1J5:BK 

!0 AB0488 
AB@>8B5;LAB20 

$09>= �""%, )C:C<0B 

$07@5H5=85 =0 >B2>4 75<5;L 4;O 
2@5<5==>3> A:;048@>20=8O AB@>8B5;L=KE 
>BE>4>2 (=5:>=48F8>==K9 3@C=B, AB0@K9 
0AD0;LB, 45<>=B8@>20==K5 
65;57>15B>==K5 8745;8O 8 B.?.) 

!0 AB0488 
AB@>8B5;LAB20 

$09>= �""%, )C:C<0B 

 $07@5H5=85 =0 2K2>7 AB@>8B5;L=>3> 
<CA>@0 4;O A:;048@>20=8O 2 A?5F80;L=> 
>B2545==KE <5AB0E (?>;83>=0E) 

#> B@51>20=8N )G>G@аF 

КОО! - Ко<8тет по оED4=е окDу64NIе9 EDедK, О�О! - ОFе=к4 6о7де9Eт68O =4 окDу64NIуN EDеду, �11 - 
�оEуд4DEт6е==4O Mколо78GеEк4O MкEпеDт874. 

 

 



5. !4=8т4D8O 

78. �7<е=е=8O 2011 7од4 6 �4ко= «О5 о5еEпеGе=88 E4=8т4D=о-Mп8де<8оло78GеEко9 5е7оп4E=оEт8 
=4Eеле=8O» (2003) 66ел8 по=Oт8е E4=8т4D=о-Mп8де<8оло78GеEко9 MкEпеDт87K, котоD4O пDо6еDOет 
Eоот6етEт68е пDоект=о9 доку<е=т4F88 8 Eо7O9Eт6е==KE о5Jекто6 7оEуд4DEт6е==K< E4=8т4D=о-

Mп8де<8оло78GеEк8< пD468л4< 8 =оD<4т864<, 4 т4к6е уE8л8л8 поло6е=8O о E4=8т4D=о-

7878е=8GеEк8E, пDот86оMп8де<8GеEк8E 8 8=DоD<4F8о==KE <еDопD8Oт8OE. 

79. �8=8EтеDEт6о 7дD46ооED4=е=8O 8 EоF84лL=о9 74I8тK =4Eеле=8O (�оEт4=о6ле=8е 
�D468телLEт64 № 148 2014 7од4) O6лOетEO Fе=тD4лL=K< оD74=о< 8Eпол=8телL=о9 6л4Eт8, 
оEуIеEт6лONI8< 7оEуд4DEт6е==уN пол8т8ку 6 EDеDе о5IеEт6е==о7о 7дD46ооED4=е=8O 8 
EоF84лL=о9 74I8тK. �8=8EтеDEт6о 87д4ет E4=8т4D=Kе =оD<K, пD468л4 8 7878е=8GеEк8е 
=оD<4т86K. 

80. �Dоект пDедуE<4тD864ет Dеко=EтDукF8N HколL=KE ту4лето6 8 ут8л874F8N <ед8F8=Eк8E 
отEодо6, поMто<у D45отK дол6=K 6Kпол=OтLEO E Eо5лNде=8е< E4=8т4D=о-7878е=8GеEк8E, 
пDот86оMп8де<8GеEк8E =оD<. 

6. 1коло78GеEк8е Eт4=д4DтK 

81. !т4=д4DтK оE64тK64Nт к4GеEт6о 6о7дуE4, 6одK, Hу<, 685D4F8N, <47=8т=Kе полO 8 дDу78е 
D878GеEк8е D4ктоDK, 4 т4к6е оEт4тоG=Kе EледK E8<8GеEк8E 6еIеEт6 8 58оло78GеEк8 6Dед=KE 
<8кDо5о6 6 пDодукт4E п8т4=8O. �Eл8 пDеделK пDе6KHе=K, пD8<е=ONтEO 4д<8=8EтD4т86=Kе 8 
D8=4=Eо6Kе E4=кF88. �еEколLко <8=8EтеDEт6 опDеделONт Eт4=д4DтK к4GеEт64 окDу64NIе9 
EDедK, к46дое Eо E6ое9 EDеDо9 от6етEт6е==оEт8. �4пD8<еD, �8=8EтеDEт6о 7дD46ооED4=е=8O 
уEт4=о68ло допуEт8<Kе уDо6=8 Hу<4, 685D4F88, <47=8т=KE поле9 8 дDу78E D878GеEк8E D4ктоDо6. 

82. !т4=д4DтK к4GеEт64 окDу64NIе9 EDедK оE=о64=K =4 �оEуд4DEт6е==о< Eт4=д4Dте (�О!&), 
!тDо8телL=KE =оD<4E (!�8�) 8 !4=8т4D=KE пD468л4E 8 =оD<4E (!4=�8�). �О!& от=оE8тEO к =45оDу 
теE=8GеEк8E Eт4=д4Dто6, поддеD6864е<KE �6Dо4784тEк8< Eо6ето< по Eт4=д4Dт874F88, 

<етеоDоло788 8 EеDт8D8к4F88, Dе78о=4лL=о9 оD74=874F8е9 по Eт4=д4Dт874F88, де9Eт6уNIе9 под 
M78до9 !одDу6еEт64 �е7468E8<KE �оEуд4DEт6. !�8� оE64тK64ет EтDо8телL=Kе =оD<K длO 7д4=89 
8 дDу78E EооDу6е=89, 4 !4=�8� — E4=8т4D=Kе =оD<K. 

83. �4ко= «О п8тLе6о9 6оде 8 п8тLе6о< 6одоE=456е=88» (2010 7.) D4EпDоEтD4=OетEO =4 
7оEуд4DEт6е==Kе 8 G4Eт=Kе Fе=тD4л87о64==Kе 8 =еFе=тD4л87о64==Kе E8Eте<K п8тLе6о7о 
6одоE=456е=8O 8 пDедуE<4тD864ет 7оEуд4DEт6е==уN поддеD6ку D4768т8O 8 Dу=кF8о=8Dо64=8O 
E8Eте< п8тLе6о7о 6одоE=456е=8O поEDедEт6о< =4ло7оо5ло6е=8O, лL7отK, кDед8тK 8 дDу78е 
лL7отK. �еEт=Kе оD74=K 6л4Eт8 8 6л4делLFK E8Eте< 6одоE=456е=8O о5O74=K 6 EлуG4е пеDеDK64 6 
6одоE=456е=88 пD8=8<4тL <еDK по о5еEпеGе=8N п8тLе6о9 6одо9 E 8EполL7о64=8е< Dе7еD6=KE 

8EтоG=8ко6 8 E8Eте< 8л8 поEт46ко9 6одK 6 F8EтеD=4E. �4ко= 6клNG4ет тDе5о64=8O к 7о=4< 
E4=8т4D=о9 оED4=K длO 6EеE 8EтоG=8ко6 8 E8Eте< п8тLе6о7о 6одоE=456е=8O. 

84. �оD<4т86K по п8тLе6о9 6оде, E5DоE4< 6 6оду, Hу<у 8 к4GеEт6у 6о7дуE4, пD8<е=8<Kе к 
пDоекту, пDедEт46ле=K 6 �D8ло6е=88 B. 

�О!& от=оE8тEO к <е6ду=4Dод=K< теE=8GеEк8< Eт4=д4Dт4<, поддеD6864е<K< &4д68к8Eт4=о<, �D<е=8е9, К8D787Eко9  еEпу5л8ко9, 
'75ек8Eт4=о<, �Dу78е9 8 &уDк<е=8Eт4=о<. !�8� от=оE8тEO к пD468л4< 8 =оD<4< 6Kпол=е=8O EтDо8телL=KE D45от 8 EтDо8телL=K< 
=оD<4<. !4=�8� от=оE8тEO к E4=8т4D=K< пD468л4< 8 =оD<4<. 



 

7. �доDо6Lе 8 5е7оп4E=оEтL 

85. �доDо6Lе 8 5е7оп4E=оEтL =4Eеле=8O. КодекE о 7дD46ооED4=е=88 (30 <4O 2017 7., № 1413) 
74<е=8л �4ко= о E4=8т4D=о-Mп8де<8оло78GеEко< 5л47ополуG88 =4Eеле=8O (2003 7.), �4ко= о 
пDот86оде9Eт688 ��'-8=DекF88 (2017 7.) 8 �4ко= о5 оED4=е 7доDо6LO =4Eеле=8O (2003 7.). КодекE 
о 7дD46ооED4=е=88 Dе7ул8Dует о5IеEт6е==ое 7дD46ооED4=е=8е 8 =4пD46ле= =4 Dе4л874F8N 
ко=Eт8туF8о==KE пD46 8 оED4=у 7доDо6LO 7D46д4=. �л464 17 КодекE4 поE6OIе=4 E4=8т4D=о-

Mп8де<8оло78GеEко9 5е7оп4E=оEт8, 6 котоDо9 87ло6е=K тDе5о64=8O к 8EтоG=8к4< 
6одоE=456е=8O, п8тLе6о<у 6одоE=456е=8N, 68лK< 7д4=8O< 8 4т<оEDеD=о<у 6о7дуEу 68лKE 
теDD8тоD89, пDо<KHле==K< о5Jект4<, поG64<, 6еде=8N до<4H=е7о Eо7O9Eт64, E5оDу, 
8EполL7о64=8N, тD4=EпоDт8Dо6ке, ED4=е=8N 8 ут8л874F88 пDо<KHле==KE 8 5Kто6KE отEодо6. 
1т8 тDе5о64=8O дол6=K Eо5лNд4тLEO пDоекто< пD8 EтDо8телLEт6е 7д4=89 у5е68I4 8 дDу78E 
о5Jекто6. 
86.  45оG4O E8л4 8 уEло68O тDуд4. &4д68к8Eт4= O6лOетEO Gле=о< �е6ду=4Dод=о9 оD74=874F88 
тDуд4 (�О&) E 1993 7од4 8 D4т8D8F8Dо64л 49 ко=6е=F89, к4E4NI8EEO 74I8тK пD46 тDудOI8EEO. 
!о7л4E=о Ко=Eт8туF88  еEпу5л8к8 &4д68к8Eт4=, к46дK9 8<еет пD46о =4 5е7оп4E=K9 тDуд (Eт4тLO 
35), пD46о =4 отдKE (Eт4тLO 37), оED4=у 7доDо6LO (Eт4тLO 38), EоF84лL=ое о5еEпеGе=8е 6 Eт4DоEт8, 6 
EлуG4е 5оле7=8, 8=64л8д=оEт8, потеD8 коD<8лLF4 8 дDу78E EлуG4OE, пDедуE<отDе==KE 74ко=о< 
(Eт4тLO 39). 
87. &Dудо6о9 кодекE (пD8=Oт 12 <4O 1997 7од4) уEт4=46л864ет оE=о6=Kе пD8=F8пK 
7оEуд4DEт6е==о9 пол8т8к8 6 о5л4Eт8 упD46ле=8O тDудо<, пDедоEт46лOет 74D4=т88 пD46 7D46д4= 8 
=4пD46ле= =4 о5еEпеGе=8е 74ко==KE 8=теDеEо6 D45от=8ко6, D45отод4теле9 8 7оEуд4DEт64. 
�D8=F8пK оED4=K тDуд4 6клNG4Nт 6 Eе5O D45оGуN EDеду, от6еG4NIуN тDе5о64=8O< 5е7оп4E=оEт8 
8 оED4=K тDуд4, доEтуп к 8=DоD<4F88 по оED4=е тDуд4. 
88. �4ко= о5 оED4=е тDуд4 (5е7оп4E=оEт8) (№ 517 от 19 <4O 2009 7., Dед. от 1 467уEт4 2012 7.) 
уEт4=46л864ет пD464 D45от=8ко6 =4 оED4=у тDуд4 пD8 6Kпол=е=88 8<8 D45от, о5O74телL=ое 
EоF84лL=ое EтD4Eо64=8е от =еEG4Eт=KE EлуG4е6 =4 пDо876одEт6е 8 пDоDеEE8о=4лL=KE 
745оле64=89 8 8=KE тD46<, E6O74==KE E 6Kпол=е=8е< D45от, лL7отK 8 ко<пе=E4F88 D45от=8к4<, 
74=OтK< =4 D45от4E E 6Dед=K<8 8 оп4E=K<8 уEло68O<8 тDуд4. О= т4к6е Eоде9Eт6ует D47D45отке 8 
6=едDе=8N теE=оло789 оED4=K тDуд4 8 EDедEт6 74I8тK. &еE=8GеEк8е Eт4=д4DтK, =оD<K 8 пD468л4 
по оED4=е тDуд4 87ло6е=K 6 �О!&4E: !8Eте<4E Eт4=д4Dто6 оED4=K тDуд4, 6клNG4NI8E !4=�8�; 
!тDо8телL=KE =оD<4E 8 пD468л4E (!�8�); �оEуд4DEт6е==KE Eт4=д4Dт4E E8Eте< оED4=K тDуд4 (�О!& 
О�&); �оD<4E EодеD64=8O 6Dед=KE 6еIеEт6 (пDеделL=о допуEт8<KE ко=Fе=тD4F8OE 8 уDо6=OE); 
1коло78GеEко< <е=ед6<е=те, оFе=ке MDDект86=оEт8 (!&  & �О!&   14031-2010). 

89. !о7л4E=о Eт4тLе 8 &Dудо6о7о кодекE4, пD8=уд8телL=K9 тDуд 74пDеIе=. &Dудо6о9 кодекE т4к6е 
уEт4=46л864ет <8=8<4лL=K9 6о7D4Eт длO пD8е<4 =4 D45оту 6 15 лет. � =екотоDKE EлуG4OE, т4к8E 
к4к пDоDеEE8о=4лL=ое о5уGе=8е 8 ле7к4O D45от4, <о6ет 5KтL D47DеHе= пD8е< =4 D45оту 14-

лет=8E дете9 (Eт4тLO 174 &Dудо6о7о кодекE4). !уIеEт6уNт т4к6е о7D4=8Gе=8O по т8пу D45отK 8 
пDодол68телL=оEт8 D45оGе7о 6Dе<е=8, котоDKе допуEт8<K длO D45от=8ко6 <оло6е 18 лет. 
�D8<еDK о7D4=8Gе=89 тDуд4 6клNG4Nт: (i) л8F4 6 6о7D4Eте от 14 до 15 лет =е <о7ут D45от4тL 5олее 
24 G4Eо6 6 =еделN, 4 л8F4 <оло6е 18 лет =е <о7ут D45от4тL 5олее 35 G4Eо6 6 =еделN; 8 (ii) 6 
теGе=8е уGе5=о7о 7од4 <4кE8<4лL=ое кол8GеEт6о G4Eо6 EоEт46лOет поло68=у Mто7о, 12 8 17,5 G4Eо6 
Eоот6етEт6е==о. 1т8 о7D4=8Gе=8O Eоот6етEт6уNт Ко=6е=F88 �О& о <8=8<4лL=о< 6о7D4Eте. КDо<е 
то7о, �4ко= о5 от6етEт6е==оEт8 Dод8теле9 74 6оEп8т4=8е 8 о5D47о64=8е дете9 (2011 7.) 6о7л474ет 



=4 Dод8теле9 от6етEт6е==оEтL 74 то, Gто5K 8E дет8 =е 5Kл8 74=OтK =4 тO6ело9 8 оп4E=о9 D45оте 8 
поEеI4л8 Hколу. 

 

C. �е6ду=4Dод=Kе до7о6оDK 8 ко=6е=F88 по оED4=е окDу64NIе9 EDедK 

90.  еEпу5л8к4 &4д68к8Eт4= O6лOетEO уG4Eт=8ко< <=о78E <е6ду=4Dод=KE пD8DодооED4==KE 
ко=6е=F89 8 до7о6оDо6, т4к8E к4к: 

(i) �е=Eк4O ко=6е=F8O о5 оED4=е о7о=о6о7о EлоO (1996 7.) 
(ii) �о=Dе4лLEк89 пDотокол по 6еIеEт64<, D47DуH4NI8< о7о=о6K9 Eло9 (1998 7.) 
(iii) Ко=6е=F8O ОD74=874F88 О5Jед8=е==KE �4F89 по 5оDL5е E опуEтK=864=8е< (1997 7.) 
(iv) Ко=6е=F8O ОD74=874F88 О5Jед8=е==KE �4F89 о 58оло78GеEко< D47=оо5D4788 (1997 7.) 
(v)  4<E4DEк4O ко=6е=F8O (2000 7.) 
(vi) �о==Eк4O ко=6е=F8O о5 оED4=е <87D8DуNI8E 68до6 д8к8E 686от=KE (2001 7.) 
(vii)  4<оG=4O ко=6е=F8O ОD74=874F88 О5Jед8=е==KE �4F89 о5 87<е=е=88 кл8<4т4 (1998 
7.) 
(viii) Ко=6е=F8O о <е6ду=4Dод=о9 тоD7о6ле 68д4<8 д8ко9 D4у=K 8 DлоDK, =4EодOI8<8EO 
под у7Dо7о9 8EGе7=о6е=8O (2016 7.) 
(ix) Ко=6е=F8O ОD74=874F88 О5Jед8=е==KE �4F89 по 6опDоE4< о5D47о64=8O, =4ук8 8 
кулLтуDK о5 оED4=е 6Eе<8D=о7о кулLтуD=о7о 8 пD8Dод=о7о =4Eлед8O (1992 7.) 
(x) �47елLEк4O ко=6е=F8O о ко=тDоле 74 тD4=E7D4=8G=о9 пеDе6о7ко9 Оп4E=Kе отEодK 8 8E 
ут8л874F8O (2016). 

 

III. О��!���� � О�К&� 

A. �DедKEтоD8O 8 о5оE=о64=8е 

91. КDед8т ��  6 D47<еDе 10 <8лл8о=о6 долл4Dо6 !(� 6 D4<к4E �4F8о=4лL=о7о пDоект4 по 
упD46ле=8N D8Eк4<8 Eт8E89=KE 5едEт689 5Kл одо5Dе= 28 Eе=тO5DO 2018 7од4. �D4=то6ое 
Eо7л4Hе=8е 5Kло подп8E4=о 9 октO5DO 2018 7од4, 4 пDоект 5Kл о5JO6ле= 6Eтуп86H8< 6 E8лу 25 

O=64DO 2019 7од4. �Dоект=Kе D45отK 5Kл8 746еDHе=K 6 дек45Dе 2024 7од4. &ел8 пDоект4 
74клNG4л8EL 6 EледуNIе<: (i) поддеD64тL уE8л8O пD468телLEт64 по EокD4Iе=8N Mко=о<8GеEк8E 
потеDL 87-74 Eт8E89=KE 5едEт689 8 6клNG8тL упD46ле=8е D8Eк4<8 Eт8E89=KE 5едEт689 6 
пл4=8Dо64=8е D4768т8O, 8 (ii) 74ло68тL оE=о6у длO Eо7д4=8O уEто9G86о7о 8=Eт8туF8о=4лL=о7о 8 
D8=4=Eо6о7о <еE4=87<4, котоDK9 по76ол8т &4д68к8Eт4=у MDDект86=о 5оDотLEO Eо Eт8E89=K<8 
5едEт68O<8 6 дол7оEDоG=о9 пеDEпект86е. 
92. %4тло=Eк4O о5л4EтL, 7D4=8G4I4O E �D74=8Eт4=о<, пеDе68л4 5олее 200 Eт8E89=KE 5едEт689 E 
2010 по 2020 7од, 6клNG4O MкEтDе<4лL=Kе до6д8 8 E=е7оп4дK, 6K7646H8е кDуп=Kе =46од=е=8O. 
1кEтDе<4лL=Kе по7од=Kе O6ле=8O 8 по6KHе=8е те<пеD4туDK Eт4л8 пD8G8=о9 6Dе<е==о7о 8 
поEтоO==о7о пеDе<еIе=8O лNде9. &4к6е D4Eтет 6еDоOт=оEтL то7о, Gто пеDе<еIе==Kе л8F4 
пеDе9дут 6 &4д68к8Eт4=. 'пD46ле=8е �еDEо6=о7о ко<8EE4D4 ОО� по дел4< 5е6е=Fе6 ('�К� ОО�) 
оFе=864ет от 6000 до 12 000 =о6KE пD85K6H8E 6 2022 7оду. 
93. � =4EтоOIее 6Dе<O EтD4=4 =е 7ото64 пD8=OтL допол=8телL=KE пеDе<еIе==KE л8F 8 EпD468тLEO 
E поEледEт68O<8 D4EтуIе7о G8Eл4 Eт8E89=KE 5едEт689. �оEуд4DEт6е==Kе уEлу78 6 EелLEко9 
<еEт=оEт8 <8=8<4лL=K. 'Dо6е=L 5е7D45от8FK 8 5ед=оEт8 уEудH4етEO 87-74 7=4G8телL=о7о 
EокD4Iе=8O де=е6=KE пеDе6одо6 87  оEE88, Gто Eо7д4ет допол=8телL=уN =47Dу7ку =4 5олее 
5ед=Kе до<оEо7O9Eт64. ОтEутEт68е =4дле64I8E DRM, о5Jекто6 8 уEлу7 длO ок474=8O поддеD6к8 
пеDе<еIе==K< л8F4< 8 пD8=8<4NI8< Eоо5IеEт64< пD86едет к еIе 5олее 6KEоко<у уDо6=N 



уO768<оEт8, 5ед=оEт8 8 пDодо6олLEт6е==о9 5е7оп4E=оEт8, Gто =епDопоDF8о=4лL=о по6л8Oет =4 
5ед=KE EелLEк8E 68теле9. 
94. К'!8�О 74пDоE8л поддеD6ку ��  6 D4<к4E �4F8о=4лL=о7о пDоект4 по упD46ле=8N D8Eк4<8 
Eт8E89=KE 5едEт689 длO д4лL=е9Hе7о по6KHе=8O поте=F84л4 47е=тEт64 по 5олее MDDект86=о<у 
Dе478Dо64=8N =4 Eт8E89=Kе 5едEт68O 8 упD46ле=8N 8<8, 4 т4к6е длO то7о, Gто5K К'!8�О <о7 
Dе478Dо64тL =4 6о7DоEHее G8Eло пеDе<еIе==KE л8F. 
95. �Dот86о7D4до64O плоI4дк4 К'!8�О 6 D49о=е �64лол8дд8= �4лE8 5Kл4 6K5D4=4 К'!8�О длO 
Eо7д4=8O 5олее поEтоO==KE о5Jекто6 Dе478Dо64=8O =4 Eт8E89=Kе 5едEт68O 8 упD46ле=8O 8<8. 
О=4 т4к6е 5удет пD8=8<4тL пеDе<еIе==KE л8F 8 поддеD6864тL <еEт=Kе о5I8=K 6 8E 7ото6=оEт8 
к Eт8E89=K< 5едEт68O<. 
B.  е7улLт4тK пDоект4 

96. �Dоект 8<ел тD8 Dе7улLт4т4: (i) ' !� 5удет 6клNGе= 6 пDоFеEE пл4=8Dо64=8O D4768т8O 
пD468телLEт64, 6клNG4O EоF84лL=K9 EектоD; (ii) 5удет уE8ле= поте=F84л пD468телLEт64 8 уO768<KE 
Eоо5IеEт6 по упD46ле=8N оп4E=оEтO<8 8 <8=8<874F88 потеDL; 8 (iii) 5удет D47D45от4=4 
доDо6=4O к4Dт4 длO 8=6еEт8F89 8 уEто9G86о7о D8=4=E8Dо64=8O. �опол=8телL=ое 
D8=4=E8Dо64=8е D4EH8D8т EDеDу Dе7улLт4то6 1 8 2 74 EGет укDепле=8O поте=F84л4 К'!8�О по 
' !� 8 пDедоEт46ле=8O о5уGе=8O 8 о5оDудо64=8O. 
97. Од8= допол=8телL=K9 Dе7улLт4т до546ле= 6 к4GеEт6е Dе7улLт4т4 4 «'Eто9G86оEтL 8 EDедEт64 к 
EуIеEт6о64=8N пеDе<еIе==KE л8F 8 <еEт=KE Eоо5IеEт6 улуGHе=K». К'!8�О Eо7д4Eт уEто9G86ое 
68лLе длO пеDе<еIе==KE л8F, о5еEпеG8т =4D4I864=8е поте=F84л4 длO по6KHе=8O уEто9G86оEт8 
к D8Eку 5едEт689 8 улуGH8т 8=DD4EтDуктуDу длO Dе478Dо64=8O =4 5едEт68O 6 Dе78о=е. 1то 5удет 
Eо7д4=о =4 EуIеEт6уNIе< уG4Eтке пDот86о7D4до6о7о 5лок4 К'!8�О 6 D49о=е �64лол8дд8= �4лE8. 
О= 5удет Dе478Dо64тL =4 кD8т8GеEк89 пDо5ел путе< D47D45отк8: (i) уEто9G86KE к Eт8E89=K< 
5едEт68O< у5е68I E подEодOI8< 6одоE=456е=8е< 8 отделL=K<8 <у6Eк8<8 8 6е=Eк8<8 
ту4лет4<8 8 7о=4<8 длO <KтLO; (ii) Eепт8ко6 длO 5е7оп4E=о9 ут8л874F88 отEодо6, (iii) уEто9G86KE к 
кл8<4ту 7д4=89 длO уGе5=KE 8 4д<8=8EтD4т86=KE Fеле9; (iv) улуGHе==KE 8 уEто9G86KE к кл8<4ту 
6=утDе==8E доDо7/тDоп8=ок; 8 (v) =4де6=KE 8 5е7оп4E=KE 8EтоG=8ко6 п8тLе6о9 6одK 8 
6=утDе==е7о MлектDоE=456е=8O. 1т8 о5JектK улуGH4т упD46ле=8е Eт8E89=K<8 5едEт68O<8 8 
пDедоEт46Oт подEодOI8е по<еIе=8O длO пеDе<еIе==KE л8F. 
C. Ко<по=е=тK пDоект4 8 <еEтополо6е=8е 

98. Ко<по=е=тK пDоект4 D4Eполо6е=K =4 6оEтоке HоEEе �оEт4D-�4лE8 6 D49о=е �64лол8дд8= 
�4лE8. � EледуNI8E D47дел4E пDедEт46ле=K ко<по=е=тK, котоDKе 5Kл8 опDеделе=K К'!8�О длO 
допол=8телL=о7о D8=4=E8Dо64=8O. 



 
 8Eу=ок III.1:  4Eполо6е=8е ко<по=е=то6 пDоект4 

'G4Eток К'!8�О у6е Dу=кF8о=8Dует E EуIеEт6уNIе9 8=DD4EтDуктуDо9. � 7468E8<оEт8 от EтDуктуD=о7о EоEтоO=8O 8=DD4EтDуктуD4 5удет 
л85о 6оEEт4=о6ле=4, л85о Dеко=EтDу8Dо64=4. 
1. 'Eто9G86ое поEеле=8е длO 6Dе<е==о7о 68лLO =4 уG4Eтке К'!8�О 

99. 'G4Eток пеDеEеле=8O 6 D49о=е �64лол8дд8= �4лE8 (%4тло=Eк4O о5л4EтL) пDедEт46лOет Eо5о9 
7оEуд4DEт6е==K9 уG4Eток 7е<л8 плоI4дLN 6,5 7ект4D4 (74), котоDK9 5Kл Eо7д4= 6 1970-E 7од4E к4к 
пDот86о7D4до6K9 Fе=тD. �4 уG4Eтке 5Kло пDедоEт46ле=о п4л4тоG=ое 68лLе длO 100 до<оEо7O9Eт6 
пD8 поддеD6ке '�К� ОО�, �е6ду=4Dод=о7о Dо=д4 ОО� по ок474=8N GDе76KG49=о9 по<оI8 
детO< (.��!�$) 8 !ет8 D4768т8O �74 %4=4. $8=4=E8Dо64=8е ��  5удет 6клNG4тL EтDо8телLEт6о 
поEтоO==KE 68лKE о5Jекто6 =4 уG4Eтке пеDеEеле=8O, 6клNG4O улуGHе=8е т4к8E о5Jекто6, к4к 
подJе7д=Kе пут8, л8=88 MлектDопеDед4G, 6одоE=456е=8е 8 E4=8т4D8O, куE=O, EпоDт86=4O 
плоI4дк4, 4 т4к6е уGе5=Kе 8 о5D47о64телL=Kе по<еIе=8O. 
100. 'G8тK64O =еопDеделе==оEтL от=оE8телL=о кол8GеEт64 пеDе<еIе==KE л8F, допол=8телL=ое 
D8=4=E8Dо64=8е Eледует 785ко<у 8 4д4пт86=о<у подEоду. �=DD4EтDуктуD4, котоD4O 5удет 
Eо7д4=4 =4 уG4Eтке К'!8�О, 5удет Eлу68тL =еEколLк8< FелO<. � <4ло6еDоOт=о< EлуG4е отEутEт68O 
пеDе<еIе==KE л8F 8л8 6 пеD8од <е=LHе7о кол8GеEт64 пеDе<еIе==KE л8F, <еEто 8 о5JектK 
5удут 8EполL7о64тLEO длO Fеле9 о5уGе=8O, 87уGе=8O 8 D4768т8O. К'!8�О E<о6ет о5уG8тL E6о9 
пеDEо=4л 8 ко<4=дK длO луGHе7о Dе478Dо64=8O =4 Eт8E89=Kе 5едEт68O 8 упD46ле=8O 8<8 6 



Dе78о=е. &4к6е еEтL 6о7<о6=оEтL пDо9т8 куDEK о5уGе=8O =4 до<у длO д4лL=е9Hе7о по6KHе=8O 
7ото6=оEт8 к Eт8E89=K< 5едEт68O< 8 уEто9G86оEт8 Eоо5IеEт6. 
101. �Dедл474е<Kе о5JектK, котоDKе 5удут Dе4л87о64=K 6 D4<к4E пDоект4 допол=8телL=о7о 
D8=4=E8Dо64=8O от �� , пеDеG8Eле=K 6 &45л8Fе III.1. 
&45л8F4 III.1: ОD8е=т8Dо6оG=K9 Eп8Eок о5Jекто6 длO D47л8G=KE D47 пDоект4 

$4;4 2 $4;4 3 

(i) ,5ABL 42CEMB06=KE 740=89-C1568I 

(ii) �CE=O 8 AB>;>20O 

(iii) !>2>5 04<8=8AB@0B82=>5 740=85 

(iv) 'G51=K5 ?><5I5=8O/:;0AAK 

(v) �A?><>30B5;L=K5 740=8O 8 A>>@C65=8O 
(A:;04, <03078=K, ?@0G5G=0O, A0C=0 8 B. 4.) 
(vi) 1,4 :< 2=CB@5==8E 8 2=5H=8E ?>4J574=KE 
?CB59 8 4@5=06 

(vii) !>20O ;8=8O M;5:B@>?5@540G8 (10 :�) 
?@>BO65==>ABLN 5,8 :< >B ?>4AB0=F88 4> 
?>A5;:0 8 70<5=0 B@0=AD>@<0B>@0 
<>I=>ABLN 400 :�� 

(viii) "4=0 A:2068=0 8 =0A>A=0O AB0=F8O 4;O 
2>4>A=0165=8O 

(ix) %?>@B82=0O ?;>I04:0 8 83@>20O ?;>I04:0 

(x) �0:C?:0 <5B5>@>;>38G5A:8E @040@>2 

(xi) !>2K5 >D8A=K5 ?><5I5=8O 

(i) ,5ABL 42CEMB06=KE 740=89-C1568I 

(ii) �A?><>30B5;L=K5 740=8O 8 A>>@C65=8O 
(A:;04, <03078=K, ?@0G5G=0O, A0C=0 8 B. 4.) 
(iii) 0,4 :< 2=CB@5==8E ?>4J574=KE ?CB59 8 
4@5=06 

(iv) "48= :>;>45F 8 =0A>A=0O AB0=F8O 4;O 
2>4>A=0165=8O 

(v) %?>@B82=0O ?;>I04:0 8 83@>20O ?;>I04:0 

 

:< - :8;><5B@, kV - :8;>2>;LB, kVA 3 :8;>2>;LB-0<?5@ 
 

102. �лO пDоект4 5Kл D47D45от4= тDеEMт4п=K9 7е=еD4лL=K9 пл4=, 4 8<е==о: $474 1, $474 2 8 $474 
3. �Dедл474е<K9 поMт4п=K9 пл4= пDоект4 пок474= =4  8Eу=ке III.2,  8Eу=ке III.3 8  8Eу=ке III.4. 
 47D45отк4 $47K 3 по6леGет 74 Eо5о9 де<о=т46 EуIеEт6уNI8E 6Dе<е==KE п4л4ток. К'! 
пDо8=DоD<8Dо64л '�К� ОО� 8 дDу78E до=оDо6, Gто 6Dе<е==Kе п4л4тк8 =е 5удут де<о=т8Dо64=K 
до теE поD, пок4 =е 5удут поEтDое=K 7д4=8O $47K 2. Ко<4=д4 � � под7ото68л4 7е=еD4лL=K9 пл4=, 
котоDK9 о5Jед8=8л $47K 2 8 3. �е=еD4лL=K9 пл4= 5Kл пDедEт46ле= �Dуппе по Dе4л874F88 
пDоект4 (PIG) 13 =оO5DO 2023 7од4. �оле6о9 6878т 5Kл оD74=87о64= 15 =оO5DO 2023 7од4 длO 
о5JOE=е=8O пDедл474е<о7о 7е=еD4лL=о7о пл4=4 8 6=еEе=8O пDедл474е<KE 87<е=е=89. �Dотокол 
поле6о7о 6878т4 пD86еде= 6 �D8ло6е=88 E. 
103. Ко<4=д4 � � под7ото68л4 7е=еD4лL=K9 пл4= 7о=K у5е68I4, о5Jед8=ONI89 оEо5е==оEт8 
$47K 2 8 $47K 3, 4 т4к6е 6клNG4NI89 74<еG4=8O 8 Dеко<е=д4F88 по Dе7улLт4т4< поEеIе=8O 
о5Jект4 6 =оO5Dе 2023 7од4. �4 D8Eу=ке III.5 пок474= ут6еD6де==K9 7е=еD4лL=K9 пл4= 
пDедл474е<о7о уEто9G86о7о поEеле=8O длO 6Dе<е==о7о 68лLO. 



 
 8Eу=ок III.2: �л4= уG4Eтк4 поEеле=8O =4 Mт4пе 1 – '�К� ОО�, AKAH, .��!�$, IRC 

 

 

 
 8Eу=ок III.3: �л4= D4768т8O уG4Eтк4 - $474 2 



 
 8Eу=ок III.4: �л4= D4768т8O уG4Eтк4 - $474 3

 
 8Eу=ок III.5: 'т6еD6де==K9 7е=еD4лL=K9 пл4= — уEто9G86ое поEеле=8е длO 6Dе<е==о7о 68лLO 

 

 

 

 

 

 

 



2. �=еH=8е о5JектK 

104. �=еH=8е о5JектK 5удут оE64тK64тL улуGHе=8е о5Jекто6 8=DD4EтDуктуDK EоF84лL=KE уEлу7 6 
5л87ле64I8E деDе6=OE д64<о4т4 (7оEуд4DEт6е==ое 4д<8=8EтD4т86=ое о5Jед8=е=8е =4 уDо6=е 
деDе6=8) �ол8 �4D 6 D49о=е �64лол8дд8= �4лE8. 1т8 6=еH=8е о5JектK 6клNG4Nт подJе7д=Kе 
пут8, 6оEEт4=о6ле=8е <оEт4, л8=88 MлектDопеDед4G, HколL=Kе E4=8т4D=Kе о5JектK 8 74купку 
=ео5Eод8<о7о <ед8F8=Eко7о 6Eпо<о74телL=о7о о5оDудо64=8O, т4ко7о к4к 46токл46, Eолод8лL=4O 
уEт4=о6к4 длO 64кF8=, <уEоDоE6874телL=4O пеGL, ко=д8F8о=еD, теD<о<етDK, 6еEK 8 
EопутEт6уNIее <ед8F8=Eкое 6Eпо<о74телL=ое о5оDудо64=8е. �=еH=8е о5JектK, 8E 
<еEтополо6е=8е 8 оD8е=т8Dо6оG=Kе E4D4ктеD8Eт8к8 Mт8E о5Jекто6 пок474=K 6 &45л8Fе III.2. 
&45л8F4 III.2: �=еH=8е о5JектK 

No. �A9LA<9 
>B@CBA9AFO 

 4ECB?B:9A<9 
E9?9A<S 

!C9J<H<>4J<< 

1.  #>4J574=K5 ?CB8 "B B@0AAK �>EB0@-
�0;E8, 254CI59 : 
A5;C %0=>0B 8 
?@>B82>3@04>2><C 
?C=:BC 

▪ 940 < / 0.9 :< 4;8=0 

▪ 6 < H8@8=0 

2.  $5:>=AB@C:F8O 
<>AB0 

A5;5=85  5E=0B>1>4 ▪ 12 < 4;8=0 

▪ 5 < H8@8=0 

3.  �AB>G=8: ?8B0=8O +0?0520 3 %0=>0B 5.8 :< 4;8=0 ;8=88 @0A?@545;5=8O 

4.  %0=8B0@=K5 C7;K 
2 H:>;5 №29 

A5;5=85 %0=>0B, 
460<>0B �>;8 �0@ 

 

5.  �0:C?:0 
>1>@C4>20=8O 
4;O F5=B@0 
74>@>2LO 

A5;5=85 %0=>0B, 
460<>0B �>;8 �0@ 

  =>3>DC=:F8>=0;L=K9 
M;5:B@>E8@C@38G5A:89 35=5@0B>@ 

 )>;>48;L=8: 4;O 20:F8= 

 �2B>:;02 
 &5@<><5B@ 

 #C;LA>:A8<5B@ 

 )>;>48;L=8: 4;O <548F8=A:8E 
AC<>: 

  548F8=A:0O :CH5B:0 

 �5AK 4;O 2725H820=8O 45B59 

 �5AK 4;O 2725H820=8O 27@>A;KE 
  548F8=A:89 BC0;5B 
  548F8=A:85 ;>B:8 

 !01>@ 4;O :;87<K 

 �>=48F8>=5@ 

 !>CB1C: 
 #@8=B5@ 

 �3;>@57 
 �>@>1:0 4;O >BE>4>2 
  CA>@>A6830B5;L M;5:B@8G5A:89 5 
:3 

к< - к8ло<етD, < - <етD. 

 

 



IV. О��!���� ОК '��.)�� ! ��/ (�!%О��/� ����/�) 
A. �о=4 6л8O=8O пDоект4 

105. �л8O=8е пDоект4 6клNG4ет лок4л87о64==Kе 6о7де9Eт68O 74 пDедел4<8 уG4Eтк4 пеDеEеле=8O 
плоI4дLN 6,5 74, 6о7=8к4NI8е 6 Dе7улLт4те EтDо8телL=KE D45от, т4к8E к4к Hу<, пKлL, Eток поG6K 
8 74кDKт8е подJе7д=KE путе9 87-74 D45от по улуGHе=8N доDо78. � FелOE уEт4=о6ле=8O 8EEод=KE 
Mколо78GеEк8E уEло689 8 оFе=к8 поте=F84лL=KE 6о7де9Eт689 =4 окDу64NIуN EDеду 7о=4 6л8O=8O 
лок4лL=KE 6о7де9Eт689 подJе7д=KE путе9 8 л8=88 MлектDопеDед4G8 EоEт46лOет 100 < от 
Fе=тD4лL=о9 л8=88, 6 то 6Dе<O к4к 7о=4 6л8O=8O 6о7де9Eт689 уG4Eтк4 поEеле=8O EоEт46лOет 
D4д8уE 1 к<. О5I4O плоI4дL 6 100 74 5Kл4 пDо6еDе=4 длO 6KO6ле=8O поте=F84лL=KE 
6о7де9Eт689: 
(i) 'у6Eт68телL=KE пD8Dод=KE Mколо78GеEк8E DеFептоDо6, т4к8E к4к 6одое<K, 58оD47=оо5D478е 8 
<еEт4 о58т4=8O д8к8E 686от=KE. 
(ii) 'у6Eт68телL=KE Gело6еGеEк8E DеFептоDо6, т4к8E к4к до<оEо7O9Eт64, HколK 8 <ед8F8=Eк8е 
Fе=тDK. 
(iii) КулLтуD=KE 8 8EтоD8GеEк8E о5Jекто6, т4к8E к4к ED4<, кл4д58Iе. 
(iv) �оте=F84лL=KE пDо5ле< Eо 7доDо6Lе< 8 5е7оп4E=оEтLN. 
106. !о7л4E=о �4O6ле=8N ��  о пол8т8ке 5е7оп4E=оEт8 (2009 7.), о5л4EтL 6л8O=8O пDоект4 
оE64тK64ет: 
(i) �еD68G=уN плоI4дку пDоект4 8 E6O74==Kе E =е9 о5JектK, котоDKе 74е<I8к/кл8е=т 
D47D454тK64ет длO ко=тDолO. �еD68G=4O плоI4дк4 пDоект4 длO Mто7о пDоект4 6клNG4ет 6 Eе5O 
плоI4дку длO пеDеEеле=8O, подJе7д=Kе пут8, по6Dе6де==K9 <оEт, <ед8F8=Eк8е Fе=тDK, HколK 
8 полоEу от6од4 (RoW) D4EпDедел8телL=о9 л8=88. 
(ii) !6O74==Kе о5JектK опDеделONтEO к4к о5JектK, котоDKе =е D8=4=E8DуNтEO к4к G4EтL пDоект4, 
=о GLO 687=еEпоEо5=оEтL 8 EуIеEт6о64=8е 7468EOт 8EклNG8телL=о от пDоект4. � D4<к4E пDоект4 
=е опDеделе=K E6O74==Kе о5JектK. !уIеEт6уNI4O подEт4=F8O, к котоDо9 5удет подклNGе=4 
пDедл474е<4O D4EпDедел8телL=4O л8=8O, 6 =4EтоOIее 6Dе<O о5Eлу6864ет дDу78е деDе6=8 6 
D49о=е. 
(iii) !уIеEт6уNI8е о5JектK опDеделONтEO к4к о5JектK, котоDKе у6е EуIеEт6уNт, длO котоDKE 
74е<I8к пDо6едет Mколо78GеEк89 4уд8т, 6клNG4O оFе=ку =4 <еEте, Gто5K 6KO68тL пDоHлKе 8л8 
=4EтоOI8е пDо5ле<K, E6O74==Kе E 6о7де9Eт68е< =4 окDу64NIуN EDеду. �Eе EуIеEт6уNI8е 
о5JектK, 7де =ео5Eод8<K улуGHе=8O, 5Kл8 D4EE<отDе=K. 
(iv) 1DDектK от ку<улOт86=о7о 6о7де9Eт68O от д4лL=е9Hе7о 74пл4=8Dо64==о7о D4768т8O пDоект4, 
дDу78е 8EтоG=8к8 4=4ло78G=о7о 6о7де9Eт68O. Ку<улOт86=Kе 6о7де9Eт68O =е о68д4NтEO, поEколLку 
6 Mто< D49о=е =ет 4=4ло78G=KE пDоекто6 8л8 8E =е пл4=8DуетEO Dе4л87о64тL. 

(v) 1DDектK от =е74пл4=8Dо64==KE, =о пDедEк47уе<KE D47D45оток, 6K764==KE пDоекто<, котоDKе 
<о7ут пDо87о9т8 по76е 8л8 6 дDу7о< <еEте. � Dе7улLт4те пDоект4 о68д4етEO, Gто EтDо8телLEт6о 8 
D4768т8е <еEт4 пеDеEеле=8O 8 6Eпо<о74телL=KE о5Jекто6 6 деDе6=OE пD86едут к д4лL=е9Hе<у 
D4768т8N 65л878 пDоект=о9 7о=K. 
107.  49о= 8EEледо64=8O пDоект4 D4д8уEо< 1 к< 6клNG4ет около 200 до<оEо7O9Eт6. КлNGе6K<8 
оEо5е==оEтO<8 6 пDедел4E Mто7о D49о=4 O6лONтEO еEтеEт6е==K9 к4=4л, 8дуI89 E 74п4д4 =4 6оEток 
к N7у от уG4Eтк4 пDоект4, кл4д58Iе (�47оD4т !4=о4т), Hкол4, <ед8F8=Eк89 Fе=тD 8 5олее пOт8 
DDукто6KE E4до6, 6Eе о=8 EG8т4NтEO Gу6Eт68телL=K<8 DеF8п8е=т4<8. � D4д8уEе 1 к< от 
пDот86о7D4до6о7о Fе=тD4 =ет <еEт о58т4=8O д8к8E 686от=KE. 



�4 D8Eу=ке IV.1 пDедEт46ле=4 к4Dт4 Mт8E Gу6Eт68телL=KE DеF8п8е=то6 6окDу7 уG4Eтк4 
пDот86о7D4до6о7о пDоект4. 

 
 8Eу=ок IV.1: К4Dт4 Gу6Eт68телL=KE DеFептоDо6 8EEледуе<о9 о5л4Eт8 

 

B. �ео7D4D8GеEкое поло6е=8е 

108. �Dоект=4O плоI4дк4 7ео7D4D8GеEк8 D4Eполо6е=4 <е6ду 37o 38’ 59.20” 8 37o 39’ 35.54” 
Eе6еD=о9 H8DотK 8 68o 36’ 41.11” 8 68o 39’01.68” 6оEтоG=о9 дол7отK 6 D49о=е �64лол8дд8= 
�4лE8 %4тло=Eко9 о5л4Eт8  еEпу5л8к8 &4д68к8Eт4=.  49о= �64лол8дд8= �4лE8 D4Eполо6е= 6 135 
к< к N7у от �уH4=5е.  49о= 74=8<4ет плоI4дL 1142 к<2 8 4д<8=8EтD4т86=о D47деле= =4 д64 
7оDод4: (i) �4лE 8 (ii) �ул8Eто=, 8 HеEтL д64<о4то6: (i) '7у=/�ол8 �4D, (ii) %4ле64Dд, (iii) К4л8=8=, (iv) 
�4д4=8Oт, (v) �46о5од, (vii) �еE=4то5од. �4 D8Eу=ке 3 пDедEт46ле=4 плоI4дк4 пDоект4 8 D49о= 
�64лол8дд8= �4лE8. 
109. Ко<по=е=тK пDоект4 =4EодOтEO 6 д64<о4те '7у=, 8<е=уе<о< д64<о4то< �ол8 �4D. �у=кт 
пеDеEеле=8O, <ед8F8=Eкое уGDе6де=8е 8 Hкол4 № 29 =4EодOтEO 6 деDе6=е !4=о4т, 4 
по6Dе6де==K9 <оEт — 6 д64<о4те �еE=4то5од. 'луGHе=8O л8=88 MлектDопеDед4G8 5удут 
пDо6од8тLEO 6долL EуIеEт6уNI8E доDо7, пеDеEек4NI8E деDе6=8 !4=о4т 8 'Dт45у7, доEт874O 
MлектDоподEт4=F88 6 '4п4е64 =4 HоEEе �4ED4т-�4лE8. 'луGHе=8O доDо78, 6едуIе9 к пу=кту 
пеDеEеле=8O 6 !4=о4те, пDо6одOтEO 6долL EуIеEт6уNI8E EелLEк8E доDо7 деDе6е=L �еE=4то5од 8 
!4=о4т 8 Eоед8=ONтEO E HоEEе �4ED4т-�4лE8. 
 

 
 

 

 

 

 

 

 

 

 

 

 

�64<о4тK — Mто 4д<8=8EтD4т86=Kе ед8=8FK тDетLе7о уDо6=O, 4=4ло78G=Kе ко<<у=4< 8л8 <у=8F8п4л8тет4<. 



 

 8Eу=ок IV.1: 'G4Eток пDоект4 8 D49о= �64лол8дд8= �4лE8 

 

C. $878GеEк8е DеEуDEK 

1. &опо7D4D8O, 7еоло78O 8 поG6K 

110. &опо7D4D8O. �Dоект=4O плоI4дк4 =4Eод8тEO 6 &4д68кEко9 котло68=е 6 N7о-74п4д=о9 G4Eт8 
&4д68к8Eт4=4, котоD4O =4Eод8тEO к N7у от 6KEоко7оDLO �8EE4Dо-�л4O 8 к 74п4ду от �4<8D4.  49о= 
E4D4ктеD87уетEO =87ко9 6KEото9 E =е6KEок8<8 EDе5т4<8. !4<4O 6KEок4O тоGк4 6 D49о=е 
=4Eод8тEO =4 Eе6еDо-6оEтоке, котоDK9 поEтепе==о EпуEк4етEO к пD46о<у 5еDе7у �O=д64 8 
�<уд4DL8. 
111. �Dоект=4O плоI4дк4 =4Eод8тEO 6 дол8=е <е6ду <=о7оG8Eле==K<8 =87к8<8 EDе5т4<8, E 
плоEк8<8 8 у<еDе==о =4кло==K<8 D46=8=4<8. !4<4O =87к4O тоGк4 6 пDоект=о9 7о=е =4Eод8тEO 6 
Eеле �еE=4то5од =4 6KEоте 372 <етD4 =4д уDо6=е< <оDO (<.=.у.<.). !4<4O 6KEок4O тоGк4 6 410 
<етDо6 =4д уDо6=е< <оDO =4Eод8тEO 6 Eеле 'Dт45у7. �оEтоG=4O G4EтL <еEт4 пеDеEеле=8O 6 Eеле 
!4=о4т =4Eод8тEO =4 6KEоте 397 <етDо6 =4д уDо6=е< <оDO 8 8<еет укло= =4 N7о-74п4д (383 <етD4 
=4д уDо6=е< <оDO) 8 Eе6еD (392 <етD4 =4д уDо6=е< <оDO). 
112. �еоло78O. &4д68кEк4O депDеEE8O O6лOетEO Eе6еD=о9 G4EтLN �D74=о-&4д68кEко9 депDеEE88, 
котоD4O D476864л4EL E по7д=е7о п4лео7оO. � 7ео<оDDоло78GеEко< от=оHе=88 D49о= от=оE8телL=о 
=е6KEок89 (от 600 до 2300 <), E 6ееDоо5D47=K< DOдо< 7оD, Eло6е==KE <ело6K<8, =ео7е=о6K<8 8 
Gет6еDт8G=K<8 отло6е=8O<8. О=8 87Dе74=K Eк4лL=K<8 6KEод4<8 E H8Dоко D4EпDоEтD4=е==K<8 
кD4E=K<8 пеEG4=8к4<8, 876еEт=Oк4<8 8 78пEо6K<8 6KEод4<8 6долL EDе5то6. 



113.  49о= пDоект4 =4Eод8тEO 6 пDед7оDLOE, котоDKе пDедEт46лONт Eо5о9 т8п8G=Kе Eол<8EтKе 
D46=8=K, 6 котоDKе DуEл4 Dек 6Dе74NтEO =4 7лу58=у от 400 до 500 <. 
114. �оG6K.  49о= 8<еет пDе8<уIеEт6е==о леEEо6Kе поG6K, 4 6 =екотоDKE D49о=4E 6EтDеG4NтEO 
74Eоле==Kе <елко7е<8EтKе поG6K 8л8 плK6у=K. �Dед7оD=Kе D49о=K G4Eто EоEтоOт 87 
78пEо=оE=KE 8 Eоле=оE=KE к4DEто6.  49о= 74ле74ет =4 4ллN684лL=KE 74леG=8к4E, пеEк4E, EупеEOE 8 
Eу7л8=к4E. �о 6Dе<O E8лL=KE до6де9 65л878 пDоект=о9 теDD8тоD88 пDо8EEодOт Eел8 8 D47<K6 
5еDе7о6 Dек. 
2. Кл8<4т 
115. Кл8<4т 6 Dе78о=е ко=т8=е=т4лL=K9 8 74EуHл86K9. Кл8<4т E4D4ктеD87уетEO у<еDе==о 
Eолод=о9 78<о9 8 64Dк8< лето<. Лет=8е те<пеD4туDK <о7ут доEт874тL 45 °C, 4 78<=8е 
те<пеD4туDK <о7ут опуEк4тLEO до -20 °C. 
116. Лето 6 Dе78о=е 64Dкое 8 EуEое. !Dед=8е те<пеD4туDK 6 8Nле коле5лNтEO от 31 °C до 33 °C. 
О58л8е Eол=F4 8 тепл4 по76олOет 6KD4I864тL теплолN586Kе кулLтуDK. !елLEкое Eо7O9Eт6о 
6едетEO =4 оDоH4е<KE 7е<лOE. �4Dк8е лет=8е пеD8одK E<е=ONтEO тепло9 8 пDодол68телL=о9 
оEе=LN E поEтепе==K< по=86е=8е< те<пеD4туD. � Dе78о=е 6Kп4д4ет до 250 <8лл8<етDо6 
оE4дко6 6 7од, 6 оE=о6=о< 6 78<=8е 8 6еEе==8е <еEOFK. 
117. ОE4дк8 EоEтоOт 87 до6дO 8 <окDо7о E=е74. !=е6=K9 покDо6 Dедко пDе6KH4ет 10 E4=т8<етDо6 
(E<), оGе=L 5KEтDо т4ет 8 =е =4к4пл864етEO. !4<K9 EуEо9 пеD8од — E 8N=O по октO5DL. !=е7оп4дK 
EлуG4NтEO E EеDед8=K дек45DO до EеDед8=K Dе6D4лO, 4 до6д8 — E <4Dт4 до EеDед8=K <4O. 
3. К4GеEт6о окDу64NIе7о 6о7дуE4 

118. К4GеEт6о 6о7дуE4 6 D49о=е пDоект4 8EклNG8телL=о EоDоHее 87-74 отEутEт68O пDо<KHле==KE 
747DO7=ONI8E 6еIеEт6 8 =87ко7о уDо6=O д686е=8O тD4=EпоDт=KE EDедEт6. Од=4ко <о7ут 6о7=8к4тL 
Eе7о==Kе пKлL=Kе 5уD8, оEо5е==о т4<, 7де D4Eт8телL=оEтL 5Kл4 D4EG8Iе=4. �KлL 5удет 6K7K64тL 
5еEпоко9Eт6о 6 лет=8е <еEOFK 6о 6Dе<O EтDо8телLEт64 пDоект4. 
119. �=EтDу<е=т4лL=KE д4==KE о к4GеEт6е 6о7дуE4 длO D49о=4 �64лол8дд8= �4лE8 =ет. 
�EтоG=8к4<8 6K5DоEо6 O6лONтEO: (i) 6K5DоEK д6874теле9 тD4=EпоDт=KE EDедEт6; 8 (ii) пKлL, 6 то< 
G8Eле от д686е=8O тD4=EпоDт=KE EDедEт6. ОE=о6=Kе 6K5DоEK от E7оD4=8O топл864 6 д6874телOE 
тD4=EпоDт=KE EDедEт6 6клNG4Nт окE8дK 47от4, окE8д у7леDод4, летуG8е оD74=8GеEк8е Eоед8=е=8O, 
д8окE8д у7леDод4 8 т6еDдKе G4Eт8FK. 
4. �о6еDE=оEт=Kе 8 7Dу=то6Kе 6одK 

120. �о6еDE=оEт=Kе 6одK: �Dоект=4O теDD8тоD8O =4Eод8тEO 6 54EEе9=е Dек8 �4EH. �4EH 
=4Eод8тEO 6 74п4д=о9 G4Eт8 D49о=4.  ек4 �4EH 8<еет дл8=у 524 к< 8 EG8т4етEO 6тоDо9 поEле д6уE 
7л46=KE Dек &е=тD4лL=о9 �788 �<уд4DL8 8 !KDд4DL8. !Dед=89 7одо6о9 D4EEод 6одK 6 Dеке 
пDе6KH4ет 600 <3/E, 4 е7о п8к <о6ет пDе6KH4тL 1400 <3/E. 
121.  ек4 �4EH =еEет доEт4тоG=о 6одK длO оDоHе=8O, поEколLку о=4 п8т4етEO т4O=8е< 
лед=8ко6KE E=е7о6 8 E8лL=K<8 до6дO<8 6 пDед7оDLOE 8 7оD4E 6 пеD8од E <4O по Eе=тO5DL. 
'Dо6е=L 6одK <о6ет 7=4G8телL=о по6KH4тLEO 6о 6Dе<O п46одко6 =4 Dек4E �4EH 8 �O=д6. 
122. �EтоG=8к4<8 оDоHе=8O 6 %4тло=Eко9 о5л4Eт8 O6лONтEO �4EH, К4D8D=874=, КK7KлEу 8 дDу78е 
5олее <елк8е пD8ток8. Около 220 000 74 оDоH4е<KE 7е<елL оE6ое=о 6 54EEе9=е Dек8 �4EH 6 
=86=е9 G4Eт8, 8 около 85% 6одK, 7458D4е<о9 87 Dек8, 8EполL7уетEO длO оDоHе=8O. 
123. К4GеEт6о 6одK по6еDE=оEт=о7о Eток4 6 6еDEо6LOE Dек8 �4EH 8 ее пD8ток4E опDеделOетEO 
<8=еD4л4<8, у6лек4е<K<8 по6еDE=оEт=K< Eтоко< 8 ледо6K< покDо6о<, 6етDо6K< пеDе=оEо< 
пKл8 8 4т<оEDеD=KE 747DO7=ONI8E 6еIеEт6 6 6оду, 4 т4к6е отло6е=8O<8, о5D47уNI8<8EO 6о 
6Dе<O Eеле9, 8 лN5K<8 дDу78<8 747DO7=ONI8<8 ко<по=е=т4<8, у6лек4е<K<8 6 6оду. 



124. !о7л4E=о 8=декEу 747DO7=е=8O 6одK, к4GеEт6о 6одK 6 6еDE=е< теGе=88 Dек8 �4EH 6о 6EеE 
тоGк4E <о=8тоD8=74 6 Fело< Eоот6етEт6ует I кл4EEу (оGе=L G8Eт4O 6од4), 4 6 =86=е< теGе=88 — II 

кл4EEу (G8Eт4O). �4кE8<4лL=4O ко=Fе=тD4F8O 747DO7=ONI8E 6еIеEт6 6 Dеке от<еG4етEO 6 4пDеле-

467уEте, ко7д4 6едетEO 8=те=E86=ое оDоHе=8е. 
125. �Dу=то6Kе 6одK: � =878==KE D49о=4E �еE=4то5од4 68тел8 деDе6=8 от<ет8л8, Gто 7Dу=то6Kе 
6одK <о6=о =49т8 =4 7лу58=е 2 < под по6еDE=оEтLN 7е<л8. � деDе6=е 'Dт45у7 уDо6е=L 7Dу=то6KE 
6од =4Eод8тEO =4 7лу58=е от 120 до 160 <, Gто тDе5ует от 68теле9 деDе6=8 'Dт45у7 5уDе=8O 
7лу5ок8E Eк6468= длO 876леGе=8O 6одK. 126. �лоEо9 дDе=46 8 поEтоO==ое 745ол4G864=8е поG6K 
пD86одOт к по6KHе=8N уDо6=O Eол8. �Dу=то6Kе 6одK 6о <=о78E D49о=4E Eоло=о64тKе E 6KEок8< 
EодеD64=8е< EулLD4то6. �8тел8 деDе6е=L !4=о4т 8 �еE=4то5од D4EEк474л8, Gто о=8 8EполL7уNт 
Eк6468=K E DуG=K<8 =4EоE4<8. 
5. �D8Dод=Kе оп4E=оEт8 

127. �4Dе78EтD8Dо64==Kе 5едEт68O 6 &4д68к8Eт4=е 6 2021 7оду 6клNG4л8 153 л468=K, 42 
к4<=еп4д4, 40 уD474=о6, 33 7е<летDOEе=8O, 19 =46од=е=89/по6KHе=8O уDо6=O 6одK 6 
6одоED4=8л8I4E, 8 EлуG4е6 пDол86=KE до6де9, 7 опол7=е9 8 1 EлуG49 MDо788 поG6K E 
о5DуHе=8е<. Кол8GеEт6о 5едEт689 6 2021 7оду 5Kло =4 68,5% 5олLHе, Gе< 6 2020 7оду. 
�4Dе78EтD8Dо64==Kе Eо5Kт8O отD464Nт уO768<оEтL EтD4=K к 87<е=е=8N кл8<4т4. 
128. � %4тло=Eко9 о5л4Eт8 6 пеD8од E 2010 по 2020 7од пDо87оHло 5олее 200 Eт8E89=KE 5едEт689, 
6клNG4O MкEтDе<4лL=Kе до6д8 8 E=е7оп4дK (7D4д), 74 котоDK<8 поEледо64л8 кDуп=Kе 
=46од=е=8O. О5I8е Mко=о<8GеEк8е потеD8 от Eт8E89=KE 5едEт689 EоEт46лONт 1,8 <лDд долл4Dо6 
!(� 74 15-лет=89 пеD8од, 74тDо=у6 5олее 7 <8лл8о=о6 Gело6ек. ! DоEто< те<пеD4туDK 8 5олее 
G4EтK<8 MкEтDе<4лL=K<8 по7од=K<8 O6ле=8O<8, Mко=о<8GеEк8е потеD8 87-74 Eт8E89=KE 
5едEт689, к4к пDо7=о78DуетEO, уEу7у5OтEO 6 5л8649H8е 7одK, 8 6Eе 5олLHе лNде9 5удут 6Dе<е==о 
8л8 поEтоO==о пеDе<еIе=K. 
129. �е<летDOEе=8O. &4д68к8Eт4= =4Eод8тEO 6 4кт86=о9 Eе9E<8GеEко9 7о=е (D8Eу=ок IV.2). �8тел8 
деDе6е=L 65л878 <еEт4 пDоект4 от<ет8л8, Gто о=8 Dедко Gу6Eт6уNт 8=те=E86=оEтL 7е<летDOEе=8O. 
�4 Eе6еDе 8 6оEтоке %4тло=Eко9 о5л4Eт8 еEтL л8=88 D47ло<о6, котоDKе пDедпол474Nт, Gто D49о= 
пDоект4 <о6ет 5KтL под6еD6е= 7е<летDOEе=8O< <47=8тудо9 от 5,8 до 6,6 по Hк4ле  8EтеD4. &4к4O 
8=те=E86=оEтL 7е<летDOEе=89 <о6ет 6K764тL допол=8телL=уN =47Dу7ку =4 ко=EтDукF88 8 
пD86еEт8 к D47DуHе=8N кD8т8GеEк8 646=KE ко=EтDукF89. 
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 8Eу=ок IV.2: К4Dт4 7е<летDOEе=89 &4д68к8Eт4=4 

 

�EтоG=8к: О5Iее Eе9E<8GеEкое D49о=8Dо64=8е теDD8тоD88 &4д68к8Eт4=4. �4уG=K9 Dед4ктоD !.%. 
�е7<4туллое6, �6тоDK: �.�. �454е6, �.�. КоHл4о6, К.�. �8D7ое6. �KпуIе= 6 1979 7оду. �о64O 
пу5л8к4F8O &�!!.2004 

 

130. �4==Kе AWARE, оE=о64==Kе =4 о5D45от4==KE д4==KE �е6ду=4Dод=о7о Fе=тD4 G8Eле==KE 
<етодо6 6 8=6е=еD88 8 INGENIAR Ltda (GAR15), E68детелLEт6уNт о то<, Gто пDоект =4Eод8тEO 6 
Dе78о=е E 6KEок8< D8Eко< E тоGк8 7Dе=8O Eе9E<8GеEко9 оп4E=оEт8 E п8ко6K< уEкоDе=8е< 7Dу=т4 
(PGA) >31 E</E 8 пеD8одо< по6тоDOе<оEт8 250 лет. �е<летDOEе=8е т4ко9 E8лK пD86едет к 
у<еDе==K< 8л8 тO6елK< D47DуHе=8O<. Од=4ко 68тел8 деDе6=8 Eоо5I8л8, Gто у =8E Dедко 
EлуG4NтEO 7е<летDOEе=8O. 
131. �DоE4дк4 7е<л8 8 MDо78O поG6K. &еDD8тоD88, 74=OтKе леEEо6K<8 поG64<8, под6еD6е=K 
пDоE4дке 7е<л8. �о 6Dе<O E8лL=KE до6де9 <о6ет 6о7=8к=утL E8лL=4O Eеле64O 4кт86=оEтL 87-74 
=46од=е=89, котоDKе =4=оEOт уIеD5 п4Eот=K< 7е<лO< 8 до<4<. КDо<е то7о, MкEтDе<4лL=4O 
8=те=E86=оEтL оE4дко6 8 G4Eтот4 =46од=е=89 <о7ут 6K764тL MDо78N поG6K 6долL DуEел Dек 87-74 
о5=46е==KE поG6. �8тел8 деDе6=8 Eоо5I8л8 о пDоE4дке 7е<л8 6 'Dт45у7е 6 Dе7улLт4те G4Eто7о 
д686е=8O тO6елKE 7Dу7о68ко6 8 дDу78E тD4=EпоDт=KE EDедEт6 по подJе7д=о9 доDо7е 6 деDе6=е. 
132. Опол7=8. 'Eло68O опол7=е9 6 Dе78о=е E8лL=о D47л8G4NтEO. Опол7=8 пDо8EEодOт 6 
7468E8<оEт8 от <еE4=87<4 6о7де9Eт68O 8 E4D4ктеD4 7оD=KE поDод. Опол7=8 <о7ут 8<етL 
7=4G8телL=Kе о5Jе<K <4теD84л4 (опол7=8/DуGL8, Eтупе=G4тKе опол7=8 8 Eло6=Kе опол7=8) 8л8 
5KтL =е7=4G8телL=K<8 опол7=O<8 (по6еDE=оEт=Kе 8л8 лок4л87о64==Kе опол7=8). !еле6Kе 
поток8, по6еDE=оEт=Kе опол7=8 8 опол7=8/DуGL8 пDо8EEодOт т4<, 7де Eкло=K дол8=K EоEтоOт 87 
леEEо6KE поG6 8 =4EKIе=K дл8телL=K<8 оE4дк4<8. 1то о5KG=о пDо8EEод8т =4 кDутKE Eкло=4E 6 



30 7D4дуEо6 8 5олее 8 пD86од8т к пеDе<еIе=8N EлоO поG6K толI8=о9 до 1 <. Опол7=8 поG6K 
пDо8EEодOт =4 Eкло=4E <е=ее 30 7D4дуEо6 8 пD86одOт к пеDе<еIе=8N <4EE толI8=о9 до 3-5 <. 
Опол7=8 5Kл8 E6O74=K E 7е<летDOEе=8O<8 8 8=те=E86=K<8 оE4дк4<8 6 теGе=8е дл8телL=о7о 
пеD8од4. 
133. &еDD8тоD8O пDоект4 от=оE8телL=о Dо6=4O E 6о76KHе==K<8 уG4Eтк4<8 6 'Dт45у7е. 
$оD<8Dо64=8е поG6K <о6ет пDедEт46лOтL поте=F84лL=K9 D8Eк опол7=е9. �Dо6еDк4 AWARE 
пок474л4, Gто D49о= пDоект4 от=оE8тEO к к4те7оD88 E 6KEок8< D8Eко< Eе9E<8GеEко7о опол7=O. 
ОтGет по пDоекту AWARE Eо7д4= 27.06.2022 03:44. 
 

134. �46од=е=8е. �Dоект =4Eод8тEO 6 Dе78о=е, котоDK9 6 =ед46=е< пDоHло< пеDе6864л 
по6тоDONI8еEO кDуп=Kе =46од=е=8O. � пеD8од E 1985 по 2016 7од 6 Dе78о=е пDо87оHло по 
кD49=е9 <еDе од=о 7=4G8телL=ое кDуп=о<4EHт45=ое =46од=е=8е, Eо7л4E=о д4==K< AWARE 8 
поEто5D45отк8 д4==KE �4Dт<утEко9 о5EеD64тоD88 =46од=е=89 пD8 '=86еDE8тете КолоD4до. 
�46од=е=8O< 8 EелO< EпоEо5Eт6уNт т4к8е D4ктоDK, к4к GDе76KG49=о Eло6=Kе уEло68O DелLеD4, 
кDутKе Eкло=K, пDол86=Kе до6д8 6 7оD4E 8 =4л8G8е о5ло<оG=о7о <4теD84л4 =4 Eкло=4E 7оD. 
 49о= пDоект4 8<еет =87куN 8л8 у<еDе==уN 6оEпD88<G86оEтL к EелO<, =о 6=е74п=Kе =46од=е=8O 
8 Eел8, 6K764==Kе пDол86=K<8 до6дO<8, о5KG=K 6 дол8=4E. 135. �46од=е=8O 5Kл8 упо<O=утK 
68телO<8 деDе6=8 6о 6Dе<O ко=EулLт4F89 E 748=теDеEо64==K<8 EтоDо=4<8. �8телL 'Dт45у74 
пDоко<<е=т8Dо64л, Gто п46одко6Kе 6одK доEт874Nт 6KEотK до од=о7о <етD4 6 7од 6 до6дл86Kе 
<еEOFK, Gто =4=еEло уIеD5 е7о 745оDу 8 8<уIеEт6у. �8телL Eк474л, Gто Mто E6O74=о E 
=едоEт4тоG=о9 пDопуEк=о9 EпоEо5=оEтLN доDо6=о9 6одопDопуEк=о9 тDу5K 6о7ле е7о до<4 длO 
пDопуEк4 по6еDE=оEт=о7о Eток4. 
136. !=е7 (7D4д). �Dоект =4Eод8тEO 6 Dе78о=е, 7де 7D4д =45лNд4етEO G4Eто 8 <о6ет уE8л8тLEO 6 
5удуIе<. !8лL=Kе по7од=Kе 5уD8 E 7D4до< о5KG=о EлуG4NтEO 6 Dе6D4ле-<4Dте 8 =4=оEOт уIеD5 
поEе64<. 
137. !8лL=Kе 6етDK. Лето< =4 6Eе9 теDD8тоD88 &4д68к8Eт4=4 ODко 6KD46е=4 7оD=о-дол8==4O 
F8DкулOF8O. �оD=Kе 8л8 Eтоко6Kе 6етDK пDео5л4д4Nт толLко 6 6KEоко7оD=KE D49о=4E. !8лL=Kе 
6етDK EлуG4NтEO 8 78<о9, 87-74 Gе7о -2°C оIуI4NтEO к4к 10°C. 
138. ! =оO5DO по 4пDелL =45лNд4NтEO пKлL=Kе 5уD8 87-74 74EуHл86оEт8 Dе78о=4 87-74 E8лL=KE 
6етDо6. �KлL=Kе 5уD8 D4EпDеделе=K =еD46=о<еD=о 8 6 оE=о6=о< =45лNд4NтEO 6 N6=KE 
пуEтK=OE 8 полупуEтK=OE, оEо5е==о 6 (44Dту7е. �485олLH4O G4Eтот4 поO6ле=8O дK<к8 
=45лNд4етEO 6 EуEо9 лет=89 8 оEе==89 пеD8од. �=о78е 68тел8 д64<о4т4 �ол8 �4D от<ет8л8, Gто 
E8лL=Kе 6етDK, оEо5е==о 78<о9, пD86одOт к о5DK6у л8=89 MлектDопеDед4G 6 Eел4E. 
D. 1коло78GеEк8е DеEуDEK 

139. &еDD8тоD8O &4д68к8Eт4=4 8<еет 5о74тое 58оD47=оо5D478е, EоEтоOIее 87 около 23 000 68до6 
DлоDK 8 D4у=K, 1900 87 котоDKE O6лONтEO M=де<8к4<8. � EтD4=е =4EG8тK64етEO около 348 68до6 
поEтоO==KE 8 пеDелет=KE пт8F, EотO 74 поEлед=8е пол6ек4 8E G8Eло Dе7ко EокD4т8лоEL 87-74 
87<е=е=89 EDедK о58т4=8O 8 747DO7=е=8O окDу64NIе9 EDедK. �8к Eе6еD=о9 <87D4F88 
пD8Eод8тEO =4 4пDелL, 4 N6=о9 — =4 октO5DL 8 =оO5DL. 
 

 

 

 

ОтGет пDоект4 AWARE, Eо7д4==K9 27.06.2022 03:44 

ОтGет пDоект4 AWARE, Eо7д4==K9 27.06.2022 03:44 

!.$. �5дулл4е6 8 �.�. !окол8к.2019. ОE=о6=Kе E4D4ктеD8Eт8к8 пKлL=KE 5уDL 8 8E D4д84F8о==о7о 6о7де9Eт68O: E 4кFе=то< =4 
&4д68к8Eт4=. �уD=4л 8EEледо64=89 4т<оEDеD=KE =4ук. &о< 2, 6KпуEк 2 



�4F8о=4лL=K9 Fе=тD по 58оD47=оо5D478N 8 58о5е7оп4E=оEт8  еEпу5л8к8 &4д68к8Eт4=. 2014. 
�OтK9 =4F8о=4лL=K9 отGет по EоED4=е=8N 58оD47=оо5D478O  еEпу5л8к8 &4д68к8Eт4=. �уH4=5е. 
140. �Dоект=4O теDD8тоD8O =4Eод8тEO 6 47DоMкоE8Eте<е, котоD4O E4D4ктеD87уетEO 
EелLEкоEо7O9Eт6е==K<8 E8Eте<4<8 E оDоH4е<о9 п4H=е9, 5о74D=о9 п4H=е9, E4д4<8, леE=K<8 
<4EE864<8 8 пD8уE4де5=K<8 уG4Eтк4<8. �4 теDD8тоD88 =ет леEо6. � поEлед=8е 7одK плоI4дL 
EелLEкоEо7O9Eт6е==KE MкоE8Eте< D4EH8D8л4EL, оEо5е==о 74 EGет оE6ое=8O 5о74D=KE 8 оDоH4е<KE 
7е<елL, котоDKе 6<еEте E п4Eт58I4<8 EоEт46лONт 5олее 4 <л= 74, Gто EоEт46лOет 3,5% теDD8тоD88 
EтD4=K. 
141. &еDD8тоD8N D49о=4 �64лол8дд8= �4лE8 <о6=о оE4D4ктеD87о64тL к4к полупуEтK=N =4 
т8п8G=KE EеDо7е<4E. 1то 6 оE=о6=о< Dо6=4O 7е<лO, котоD4O у6е 5Kл4 D4Eп4E4=4.  4Eт8телL=оEтL 
Eкуд=4O, пDедEт46ле=4 EолO=ко9, поед4е<о9 Eкото< 78<о9, 8 G4Eт8G=о поло=8O<8. �еEт=Kе 
еEтеEт6е==Kе коD<о6Kе у7одLO 8 Dе78о=4лL=Kе п4Eт58I4 87D4Nт EкDо<=уN DолL, =4 <=о78E 
уG4Eтк4E 6Eе еIе EоED4=OетEO еEтеEт6е==4O тD464, пDедEт46ле==4O <=о7олет=8<8 тD464<8 8 
=екотоDK<8 MDе<еD4<8, 8 MDе<еDо8д4<8. 
142. �4 оE=о64=88 =45лNде=8O 74 пDоект=K<8 уG4Eтк4<8 8 87уGе=8O 6тоD8G=KE д4==KE 8 
8=DоD<4F88 87 IBAT =ет 876еEт=KE Dедк8E 8л8 =4EодOI8EEO под у7Dо7о9 8EGе7=о6е=8O 68до6 
DлоDK 8 D4у=K 8л8 оED4=Oе<KE теDD8тоD89, котоDKе 5удут 74тDо=утK пDоекто<. �Eе пDоект=Kе 
уG4Eтк8 =4EодOтEO 6 EуIеEт6уNIе<, E8лL=о 87<е=е==о< EелLEкоEо7O9Eт6е==о< л4=дH4Dте. 
�485олее 646=о9 оED4=Oе<о9 теDD8тоD8е9, 5л8649Hе9 к уG4Eтку, O6лOетEO пD8Dод=K9 
74по6ед=8к &87Dо64O 54лк4, D4Eполо6е==K9 6 уEтLе Dек8 �4EH, Gто пD8<еD=о 6 20 к< от 
пDоект=о9 теDD8тоD88. 
143. �D8Dод=K9 74по6ед=8к «&87Dо64O 54лк4» пDедEт46лOет Eо5о9 4ллN684лL=уN D46=8=у 
дл8=о9 40 к<, 7де у=8к4лL=Kе MкоE8Eте<K поддеD6864NтEO DеG=K<8 отло6е=8O<8 Dек8 �4EH. 
�D8Dод=K9 74по6ед=8к O6лOетEO клNGе6о9 теDD8тоD8е9 58оD47=оо5D478O, котоD4O оE64тK64ет 
плоI4дL 68 092 74 8 6клNG4ет G4EтL дол8=K �4EH4 к Eе6еDу от Eл8O=8O Dек �4EH 8 �O=д6. 1то 
646=4O оD=8толо78GеEк4O теDD8тоD8O (IBA), оEо5е==о 6 G4Eт8 дол8=K �4EH4, D4Eполо6е==о9 =4 
6KEоте 325 < =4д уDо6=е< <оDO. �4 IBA еEтL =еEколLко <еEтоо58т4=89: по9<е==Kе леE4, 
пDеE=о6од=Kе 6одое<K 8 5олот4, полупуEтK=8, т4кKDK 8 Eоло=G4к8. �4 D8Eу=ке IV.3 
пDедEт46ле=4 к4Dт4 уG4Eтк4 пDоект4 8 5л8649H8E оED4=Oе<KE теDD8тоD89. 
144. � &87Dо6о9 54лке Dе4л87уNтEO пDо7D4<<K по EоED4=е=8N 6=утDе==8E 6одое<о6 8 Eт4D8F. 
�D8Dод=K9 74по6ед=8к O6лOетEO EDедо9 о58т4=8O длO оEт46H8EEO туD4=Eк8E т87Dо6 (Panthera 
tigris virgata). �4по6ед=8к т4к6е поддеD6864ет популOF88 E=е6=о7о 54DE4 (Pathera uncia) 8 5уDо7о 
<ед6едO (Ursus arctos). 
145. �Iе од=о9 оED4=Oе<о9 теDD8тоD8е9 O6лOетEO �4=74D8=Eк89 <4EE86, котоDK9 D4Eполо6е= 
пD8<еD=о 6 63 к< к 6оEтоку от пDоект=о9 теDD8тоD88. �4=74D8=Eк89 <4EE86 O6лOетEO IBA E 
Fе=тDо< 6 7оDе �4=74D4 8 оE64тK64ет 40 000 74 поло78E Eол<о6, 5о74то покDKтKE D4Eт8телL=оEтLN 
6еE=о9. �еDе6Lе6 =ет. �4EE86 8EполL7о64лEO к4к оEе==8е 8 78<=8е п4Eт58I4. �4 Mто9 IBA 5Kл 
74Dе78EтD8Dо64= 54ло54= (Flaco cherrug), =4EодOI89EO под у7Dо7о9 8EGе7=о6е=8O 68д пт8F. 
 
 

 

 

 

�4Dт=еDEт6о по клNGе6K< теDD8тоD8O< 58оD47=оо5D478O. �=DоD<4F8о==K9 5Nллете=L по клNGе6K< теDD8тоD8O< 58оD47=оо5D478O 
2022 7од4: пD8Dод=K9 74по6ед=8к «&87Dо64O 54лк4». �76леGе=о 87 �Eе<8D=о9 547K д4==KE клNGе6KE теDD8тоD89 58оD47=оо5D478O 
(д4т4 о5D4Iе=8O: 26 8N=O 2022 7.) 



 

 8Eу=ок IV.3: ОED4=Oе<Kе теDD8тоD88 
�EтоG=8к: Ко<плекE=K9 8=EтDу<е=т оFе=к8 58оD47=оо5D478O 

 

E. !оF84лL=о-Mко=о<8GеEк89 пDоD8лL 

1. �4Eеле=8е 

146. %4тло=Eк4O о5л4EтL, 7D4=8G4I4O E �D74=8Eт4=о<, O6лOетEO E4<K< 7уEто=4Eеле==K< Dе78о=о< 
&4д68к8Eт4=4. !о7л4E=о Eт4т8Eт8GеEк8< д4==K< =4 O=64DL 2023 7од4, =4Eеле=8е D49о=4 
�64лол8дд8= �4лE8 EоEт46лOло 215 500 Gело6ек, 4 =4Eеле=8е д64<о4т4 �ол8 �4D ('7у=) — 25 071 

Gело6ек. �4Eеле=8е до<оEо7O9Eт6 6 �ол8 �4Dе EоEт46лOло 4 266 до<оEо7O9Eт6. !Dед=89 
е6е7од=K9 пD8DоEт =4Eеле=8O 74 поEлед=8е деEOтL лет (E 2010 по 2020 7од) EоEт46лOет 2,5%. � 
пDоект=о9 7о=е G8Eле==оEтL =4Eеле=8O EоEт46лOл4 6 756 Gело6ек =4 оE=о6е 8=DоD<4F88 87 
=4F8о=4лL=о9 Eт4т8Eт8к8/п4EпоDто6 деDе6е=L, к4к пок474=о 6 т45л8Fе IV.1. 
&45л8F4 IV.1: �4Eеле=8е по Eеле=8O< 

!9?9A<
9 

�4E9?9A
<9 

�G:K<A
O 

�9AM<
AO 

КB?-6B 
8B@B6?489?P

J96 

�DB:<64RF 6 
8B@B6?489A

<SI (6 
ED98A9@) 

 5E=0B>1
>4 

1,160 604 556 203 5.7 

%0=>0B 3,036 1,522 1,514 543 5.6 

(C@<0=>2
0 

1,010 516 494 203 5.0 

'@B01C7 1,550 806 744 280 5.5 

�FB7B 6,756 3,448 3,308 1,229 5.45 

�EтоG=8к: �4F8о=4лL=4O Eт4т8Eт8к4/п4EпоDт4 Eеле=89 

 

 



2. О5D47о64=8е 

147. � Eеле !4=о4т еEтL =4G4лL=4O 8 EDед=OO Hкол4 № 29, 4 6 Eеле �D46д4 — Hкол4 № 28. 
�д4=8е HколK № 29 6клNG4ет 22 кл4EE=KE ко<=4тK 8 од=о Eкл4дEкое 7д4=8е, поEтDое==ое 
6 1984 7оду. �д4=8O E4D4ктеD87уNтEO 5ето==K<8 пл8т4<8 E =екотоDK<8 Eте=4<8 87 
о5о66е==о7о к8Dп8G4, деDе6O==K<8 пол4<8 8 4E5еEто6о9 кDKHе9. ! 1984 7од4 7д4=8е 
HколK =е под6еD74лоEL =8к4ко9 Dеко=EтDукF88 8л8 Dе<о=ту. (кол4 № 28 6 Eеле �D46д4 
5Kл4 поEтDое=4 6 1961 7оду. � =е9 13 кл4EE=KE ко<=4т, 4 т4к6е =еEколLко допол=8телL=KE 
кл4EEо6, котоDKе EтDоOтEO пD8 поддеD6ке <еEт=о7о пDедпD8=8<4телO. &у4летK 6 о5е8E 
Hкол4E =4EодOтEO 6 плоEо< EоEтоO=88 8 уEт4Dел8. �о=4 пD87ото6ле=8O п8I8 6 Hкол4E =е 
Eоот6етEт6ует E4=8т4D=K< =оD<4< 8 под6еD6е=4 74D46е=8N пеDе=оEG8к4<8. 

3. �4=Oт8е 8 8EтоG=8к8 доEод4 

148. ОE=о6=K< 74=Oт8е< 8л8 8EтоG=8ко< доEод4 <еEт=KE 68теле9 6 �ол8 �4Dе O6лOетEO 
DеD<еDEт6о/EелLEкое Eо7O9Eт6о, 6 пеD6уN оGеDедL Eлопок, лук, <оDко6L, пHе=8F4, кукуDу74, 
о6оI8 8 лNFеD=4. !елLEкоEо7O9Eт6е==4O пDодукF8O пDод4етEO =4 DK=ке 8л8 E пD8л46ко6 
6долL доDо78. �EтL Eе<L8, у котоDKE еEтL DодEт6е==8к8 (6 оE=о6=о< 7л46K до<оEо7O9Eт6), 
котоDKе D45от4Nт 6  оEE88 8 отпD46лONт де=е6=Kе пеDе6одK Eе<Lе. �е=I8=K оEт4NтEO 
уE46864тL 74 EелLEкоEо7O9Eт6е==о9 DеD<о9. 

4. 1лектDоE=456е=8е 8 6одоE=456е=8е 

149. 1лектDоE=456е=8е. � деDе6=OE 8 д64<о4т4E D49о=4 �64лол8дд8= �4лE8 8<еетEO 
EуIеEт6уNI4O E8Eте<4 MлектDоE=456е=8O, котоD4O о5еEпеG864етEO D4EпDедел8телL=K<8 
л8=8O<8 10 к� от подEт4=F88 35 к�, D4Eполо6е==о9 6 '7у=-2.  4EпDедел8телL=4O л8=8O 
подклNG4етEO к <еEту пеDеEеле=8O &1!К�. Л8=8O EтD4д4ет от пеDе5ое6 6 под4Gе 
MлектDоM=еD788, оEо5е==о 78<о9. 

150. �Dедл474е<4O D4EпDедел8телL=4O л8=8O 10 к� 5удет пDоEод8тL от EуIеEт6уNIе9 
подEт4=F88 110/10 к� 6 Eеле '4п4е6 до <еEт4 пеDеEеле=8O &1!К�, оE64тK64O дл8=у около 
5,8 к<. Л8=8O пDо9дет 6долL подJе7д=KE доDо7 к Eелу, 6едуI8E к <еEту пеDеEеле=8O. 1то 
о5еEпеG8т поEтоO==ое 8 Eт458лL=ое MлектDоE=456е=8е Hкол 8 <ед8F8=Eк8E Fе=тDо6 6 
деDе6=OE. 

151. �одоE=456е=8е. !уIеEт6уNIее 6одооG8Eт=ое EооDу6е=8е E о5D4т=K< оE<оEо< (RO) 
о5еEпеG864ет 6одоE=456е=8е длO пу=кт4 пеDеEеле=8O. �EтоG=8ко< 6одK O6лOетEO Eк6468=4 
E подк4G864NI8< =4EоEо<, уEт4=о6ле==K< =4 7лу58=е 120 < 8 Eоед8=е==K< тDу5о9 E 
6еDE=8< Dе7еD6у4Dо< (OHT). �4копле==4O 6од4 87 6еDE=е7о Dе7еD6у4D4 пDоEод8т GеDе7 
D8лLтD о5D4т=о7о оE<оE4 длO оG8Eтк8, пDе6де Gе< поEтуп8тL 6 D4EпDедел8телL=Kе пу=ктK. 
1то 6одооG8Eт=ое EооDу6е=8е =ео5Eод8<о D4EH8D8тL 8 уEо6еDHе=Eт6о64тL, Gто5K 
удо6лет6оD8тL потDе5=оEт8 пDедл474е<о7о пDоект4 6 6оде. К'!8�О пл4=8Dует уEт4=о68тL 

допол=8телL=уN Eк6468=у 6 допол=е=8е к EуIеEт6уNIе9 Eк6468=е. 

 



 

$ото IV 1: OHT, пеDед4NI89 тDу5опDо6од 8 уEт4=о6к4 о5D4т=о7о оE<оE4 (6 <4ло< 
по<еIе=88) (27.11.2023) 

 

152. !8Eте<4 6одоE=456е=8O �4EHEко7о D49о=4 5Kл4 поEтDое=4 по пDоекту 8 тDе5о64=8O< 
�уH4=58=Eко7о D8л84л4 «К476одок4=4лпDоект», «&4д68к78пDоEелLEо7EтDо9» 8 
«&4д68к78пDоEтDо9» 6 1970-1990-E 7од4E. ОE=о6=4O G4EтL 5Kл4 поEтDое=4 6 1970-E 7од4E. 
�одоE=456е=8е д64<о4то6 '7у= 8 �46о5од оEуIеEт6лOетEO 74 EGет �4EHEко9 E8Eте<K 
6одоE=456е=8O, 4 D49о==K9 Fе=тD 8 оEт4лL=Kе д64<о4тK E=4564NтEO 74 EGет Eк6468= 
7Dу=то6KE 6од 6 '7у=-1 8 подJе<=о9 Eт4=F88 =4 =4EоE=о9 Eт4=F88 6 '7у=-2. �EтоG=8к4<8 
6одоE=456е=8O O6лONтEO �4EHEк89 <е6D49о==K9 к4=4л (��К) 8 7Dу=то6Kе 6одK. 153. �о 
6Dе<O поле6о7о 6878т4 6 HколK 8 <ед8F8=Eк8е пу=ктK 5Kло о5=4Dу6е=о, Gто 8E 
6одоE=456е=8е оEуIеEт6лOетEO 74 EGет 7Dу=то6KE 6од. �4 теDD8тоD88 HколK 8<еетEO 11-

<етDо6K9 тDу5G4тK9 колодеF E DуG=K< =4EоEо<, котоDK9 8EполL7уетEO длO 6одоE=456е=8O 
HколK. &4к6е 8<еетEO тDу5опDо6од=4O EетL E =4поD=K< 54ко<, 74пол=Oе<K< по7Dу6=K< 
=4EоEо<. 

 
$ото IV 2:  уG=о9 тDу5G4тK9 колодеF (7лу58=4 11 <) 

IV 3:  уG=о9 тDу5G4тK9 колодеF E 6еDE=8< Dе7еD6у4Dо< 

ПDи<еча=ие: ВEе фотогDафии Eдела=ы 12.12.2023. 
 

154. � !4=о4те 8 пD8ле74NI8E Eел4E �еE=4то5од, 'Dт45у7 8 $уD<4=о6 6од4 доEтуп=4 GеDе7 
<478EтD4лL=K9 тDу5опDо6од ��К. �од4 под4етEO =4EоE=о9 Eт4=F8е9 по6KHе=8O д46ле=8O. 
 4EEтоO=8е от 6одо745оD4 6 '7у=-1 до 6тоDо9 =4EоE=о9 Eт4=F88 6 '7у=-2 EоEт46лOет 3 к<, 4 от '7у=-

2 до плоI4дк8 укDKт8O (пDот86о7D4до6о7о Fе=тD4) — 3,8 к<. 
155. �Eе<8D=K9 54=к 5удет Dе4л87о6K64тL пDоект EелLEко7о 6одоE=456е=8O 8 E4=8т4D88 6 Mто< 
D49о=е 6о 6тоDо9 поло68=е 2022 7од4. О68д4етEO, Gто пDоект улуGH8т доEтуп=оEтL 
6одоE=456е=8O длO Eел 8 6Eе7о D49о=4. 
 

 



5. �дD46ооED4=е=8е 

156. � деDе6=е !4=о4т еEтL <ед8F8=Eк89 Fе=тD длO ок474=8O =еотло6=о9 <ед8F8=Eко9 по<оI8. 
� <ед8F8=Eко< Fе=тDе еEтL од8= 6D4G/4куHеDк4 8 11 <едEеEтеD. &е=тD ок47K64ет пеD6уN 
по<оIL, пDо6од8т 64кF8=4F8N, пDо6од8т <ед8F8=Eк89 оE<отD 5еDе<е==KE 6е=I8= 8 
пDедл474ет 68телO< деDе6=8 5еEпл4т=Kе лек4DEт64. � деDе6=е �D46д4 т4к6е еEтL =е5олLHо9 
<ед8F8=Eк89 Fе=тD E д6у<O ко<=4т4<8 длO ок474=8O пеD6о9 по<оI8. 
157. � о5о8E <ед8F8=Eк8E Fе=тD4E еEтL о7D4=8Gе==ое <ед8F8=Eкое о5оDудо64=8е, т4кое к4к 
6еEK, Eолод8лL=8к 8 теD<о<етD. �4кF8=K ED4=OтEO толLко 6 о5KG=KE до<4H=8E Eолод8лL=8к4E. 
�ет <4H8= EкоDо9 по<оI8 8л8 тD4=EпоDт=KE EDедEт6 длO пеDе6о7к8 п4F8е=то6 6 5олL=8Fу 6 
Fе=тDе 7оDод4, котоDK9 =4Eод8тEO 6 20-24 к<. �8тел8 деDе6=8 от<ет8л8, Gто о=8 6о7Oт п4F8е=то6 
6 5олL=8Fу, 6еDт6уO де=L78 =4 тD4=EпоDт, 4 =екотоDKе 8EполL7уNт 6елоE8педK. 
158. 'то к4E4етEO упD46ле=8O <ед8F8=Eк8<8 отEод4<8, <ед8F8=Eк8е Fе=тDK E6874Nт отEодK 
(8EполL7о64==Kе HпD8FK, 64ту 8 т. д.), 4 74те< 74к4пK64Nт оEт4тк8 6 O<е. �8тел8 деDе6=8 
74пDоE8л8 поддеD6ку 6 пD8о5Dете=88 <4H8=K EкоDо9 по<оI8, то=о<етD4 8 дDу7о7о 
о5оDудо64=8O, 46токл464 длO де78=DекF88/EтеD8л874F88, Eолод8лL=8к4, подEодOIе7о длO 
ED4=е=8O 64кF8=, ко=д8F8о=еD4 длO ко<=4т 8 дDу7о7о 6Eпо<о74телL=о7о о5оDудо64=8O длO 
улуGHе=8O <ед8F8=Eк8E уGDе6де=89. �Dоект пDедоEт468л �ед8F8=Eко<у Fе=тDу 
<уEоDоE6874телL=уN пеGL 8 46токл46 длO E6874=8O <ед8F8=Eк8E отEодо6. 159. �о Eло64< 
<едEеEтDK 8 пеDEо=4л4 <ед8F8=Eк8E Fе=тDо6, оE=о6=K<8 745оле64=8O<8 8 64ло54<8 68теле9 
деDе6=8 O6лONтEO 6KEокое кDо6O=ое д46ле=8е, д845ет, пDоEтуд4, д84DеO 8 6елудоG=о-к8HеG=Kе 
745оле64=8O. 

 
 54F5=B@ 2 %0=>0B5 

 
 CA>@>A6830B5;L 4;O >BE>4>2 

 
/<0 4;O A>665==KE >AB0B:>2 

 
(>B> Error! No text of specified style 

in document.-1: %>AB>O=85 
<54F5=B@0 2 %0=>0B (12/12/2023) 

(BFB Error! No text of specified style in 
document.-2: 'AичFB6иF5?P @GEBDа 

(12/12/2023) 

 



 
$ото IV 7: �уEоDоE6874телL=4O пеGL, пDедоEт46ле==4O �ед8F8=Eко<у Fе=тDу 6 D4<к4E пDоект4 
(12.12.2023) 

 

6. 'д4ле=8е EтоG=KE 6од 

160. �оEеле=8е. �оEеле=8е 8<еет Dу=кF8о=8DуNIее оG8Eт=ое EооDу6е=8е 8л8 Eепт8к е<коEтLN 
200 <3. �о<еIе=8е =4Eод8тEO 6 Eе6еD=о9 G4Eт8 ко<плекE4 около 745оD4 8 подJе7д=о9 доDо78 к 
поEеле=8N. �о<еIе=8е <о6ет пD8=8<4тL EтоG=Kе 6одK 87 ту4лето6 8 6Dе<е==о9 п4л4тоG=о9 
7о=K. 

  
$ото IV 8: !уIеEт6уNI4O E8Eте<4 упD46ле=8O к4=4л874F8е9 – �о=4 пеDеEеле=8O (27/11/23) 
 

161. �еDе6=8. &у4летK 6 до<4E, Hкол4E 8 <ед8F8=Eк8E Fе=тD4E 6 деDе6=OE EпDоект8Dо64=K к4к 
6K7Dе5=Kе O<K. � �D46де еEтL D49о=K E о5I8<8 8л8 о5I8<8 ту4лет4<8. � к46до< до<е 6 
!4=о4те еEтL ту4лет E 6K7Dе5=о9 O<о9, котоD4O 6Kтек4ет =4 EелLEкоEо7O9Eт6е==Kе у7одLO 8л8 
E4дK до<оEо7O9Eт6. � �D46де еEтL до<оEо7O9Eт64 E =4EоE4<8 длO отк4Gк8 EодеD68<о7о 
6K7Dе5=о9 O<K 8л8 6K7Dе5=о9 O<K, котоDое о=8 Eл864Nт 6 E6о9 E4д длO ко=д8F8о=8Dо64=8O 
поG6K. 
162. Ко<<у=4лL=Kе уEлу78. � D49о=е еEтL ко<<у=4лL=ое подD47деле=8е, котоDое пDедоEт46лOет 
уEлу78, E6O74==Kе Eо E5оDо< 8 ут8л874F8е9 т6еDдKE отEодо6, 4 т4к6е ут8л874F8е9 EтоG=KE 6од 87 
D49о==о7о Fе=тD4, =о =е оE64тK64ет д64<о4т �ол8 �4D. Ко<<у=4лL=ое оG8Eт=ое EооDу6е=8е 
D49о=4 =4Eод8тEO 6 д64<о4те %4ле64Dд =4 7оEуд4DEт6е==о9 7е<ле плоI4дLN 20 74. !ооDу6е=8е 
5олLHе =е Dу=кF8о=8Dует (=ет =4EоEо6 8 о5оDудо64=8O), 4 к4=4л874F8о==Kе л8=88 5Kл8 
пеDеDе74=K. �Kло о5=4Dу6е=о, Gто EооDу6е=8е 5Kло поEтDое=о 6 1950-E 7од4E 6 Eо6етEкое 6Dе<O. 
!тоG=Kе 6одK 87 Fе=тD4 7оDод4 E4<отеко< поEтуп4Nт 6 464D89=уN/6Dе<е==уN 6K7Dе5=уN O<у, 
D4Eполо6е==уN пD8<еD=о 6 300 < от ко<<у=4лL=KE оG8Eт=KE EооDу6е=89. �4 Dото IV 9 пок474=о 
EоEтоO=8е ко<<у=4лL=KE оG8Eт=KE EооDу6е=89. 



163.  49о= 8=8F88Dо64л пDоект по улуGHе=8N 8 74<е=е к4=4л874F8о==о9 л8=88 длO D49о==о7о 
Fе=тD4 6 2018 7оду.  49о= пл4=8Dует поEтDо8тL =о6Kе оG8Eт=Kе EооDу6е=8O =4 <еEте Eт4DKE 6 
2022 7оду E 5Nд6ето< 6 D47<еDе 9 <л= Eо<о=8 87 D49о==KE EDедEт6. 

 

$ото IV 9: Ко<<у=4лL=Kе оG8Eт=Kе EооDу6е=8O EтоG=KE 6од — D49о= �64лол8дд8= �4лE8 (23 
8N=O 2022 7.) 
164. 'то к4E4етEO E5оD4 Eепт8ко6, то 8<еNтEO тD4=EпоDтеDK Eепт8ко6, котоDKе отк4G864Nт отEодK 
87 Eепт8ко6 по <еDе 8E 74пол=е=8O 8 6K6о7Oт Eепт8к8 =4 ко<<у=4лL=Kе E64лк8, D4Eполо6е==Kе 
=4 пол87о=е т6еDдKE отEодо6 %4ле64Dд. 
 

7. 'пD46ле=8е т6еDдK<8 отEод4<8 

165. � пу=кте пеDеEеле=8O 6 пDот86о7D4до6о< Fе=тDе К'!��О 8<еетEO 6Kделе==4O 7о=4 
EоDт8Dо6к8 отEодо6, 6 котоDо9 уEт4=о6ле=о Eе<L <ет4лл8GеEк8E <уEоD=KE ко=те9=еDо6. � 
=4EтоOIее 6Dе<O 6 деDе6=OE д64<о4т4 �ол8 �4D отEутEт6ует E8Eте<4 E5оD4 т6еDдKE отEодо6. 
�о<оEо7O9Eт64 6 деDе6=OE пD4кт8куNт ко<поEт8Dо64=8е, 6Kк4пK64O O<K длO отEодо6 6 E6о8E 
E4д4E. �8Iе6Kе отEодK Eо58D4NтEO отделL=о 8 Eк4D<л864NтEO Eкоту, 4 пл4Eт8к, 54=к8 87-под 
кD4Eк8 8 дDу78е ко=те9=еDK пDод4NтEO 6 <47478=4E Eт4DLе6I8ко6. ОEт46H8еEO отEодK E6874NтEO. 
�4 Dото IV 10 пок474=о EоEтоO=8е <уEоD=KE 54ко6 6 пDот86о7D4до6о< Fе=тDе 8 5л87ле64I8E 
деDе6=OE. 



 

$ото IV 10: �уEоD=Kе 54к8 6 пDот86о7D4до6о< Fе=тDе 8 5л87ле64I8E деDе6=OE (23 8N=O 2022 7.) 
166. � 5л87ле64I8E деDе6=OE 8 7о=е пеDеEеле=8O пDоект4 5Kл8 о5=4Dу6е=K 74<уEоDе==Kе 
т6еDдKе отEодK. �4 теDD8тоD88 пDоект4 =ет Eоот6етEт6уNI8E о5Jекто6 по пеDеD45отке отEодо6. 
ОGе68д=о, Gто =4 Mт4п4E EтDо8телLEт64 8 MкEплу4т4F88 <еEт=K< 6л4EтO< =ео5Eод8<о 5удет 
у6ел8G8тL тD4=EпоDт=Kе EDедEт64 длO поддеD6к8 упD46ле=8O отEод4<8 пDоект4. �еEт=K9 
4д<8=8EтD4тоD Eо58D4ет отEодK E по<оILN <уEоDо6о74 !о5D4==Kе отEодK E5D4EK64NтEO =4 
6Kделе==уN теDD8тоD8N E64лк8. !уIеEт6уNIе9 E8Eте<K EоDт8Dо6к8 отEодо6 =ет. �ео5Eод8<о 
пD4кт8ко64тL EоDт8Dо6ку отEодо6 у 8EтоG=8к4 8 =4к4пл864тL пеDеD454тK64е<Kе отEодK =4 
пол87о=е 6 6Kделе==KE <еEт4E, котоDKе <о6=о 5Kло 5K пDод4тL пеDеD454тK64NIе9 
пDо<KHле==оEт8. �еEт=о<у 4д<8=8EтD4тоDу по=4до58тEO подEодOIее тD4=EпоDт=ое EDедEт6о 
длO поддеD6к8 EоDт8Dо6к8 отEодо6. �46=о от<ет8тL, Gто <еEт=K9 4д<8=8EтD4тоD 8<еет 
6о7<о6=оEтL упD46лOтL ут8л874F8е9 4E5еEтоEодеD64I8E <4теD84ло6 (ACM) 6 D4<к4E E6ое9 
EуIеEт6уNIе9 E8Eте<K упD46ле=8O отEод4<8. 167. � Fе=тDе пDот86о7D4д=о< Fе=тDе =ео5Eод8< 
Eо6Dе<е==K9 87<елLG8телL <ед8F8=Eк8E отEодо6 8л8 MлектD8GеEк89 <уEоDоE6874телL длO 
о5D45отк8 <ед8F8=Eк8E отEодо6 пD8<еD=о длO 1000 Gело6ек (около 200 до<оEо7O9Eт6). 1то 
пDедоEт468т подDOдG8ку =еEколLко 64D84=то6 6K5оD4 =485олее MDDект86=о7о DеHе=8O длO =у6д 
Fе=тD4 по упD46ле=8N <ед8F8=Eк8<8 отEод4<8. �D8<еD теE=8GеEк8E E4D4ктеD8Eт8к 
87<елLG8телO <ед8F8=Eк8E отEодо6 пок474= =86е =4 Dото iv.11. �ед46=о (30 O=64DO 2024 7.) о= 
5Kл Dеко<е=до64= длO пDоект4 USAID по уEто9G86оEт8 <еEт=о9 E8Eте<K 7дD46ооED4=е=8O (LHSS) 6 
EотDуд=8GеEт6е E  еEпу5л8к4=Eк8< Fе=тDо< 8<<у=опDоD8л4кт8к8 &4д68к8Eт4=4 (RCIP) 8 
�Eе<8D=K< 54=ко<. 



 

$ото IV 11: &еE=8GеEк8е E4D4ктеD8Eт8к8 87<елLG8телO <ед8F8=Eк8E отEодо6 



(BтB IV 11: 'CDав?5Aи5 BтхB4а@и (27/11/23) 

168. � D49о=е еEтL д64 <уEоDо6о74, котоDKе Eо58D4Nт т6еDдKе отEодK толLко 87 Fе=тD4 7оDод4. 
 49о= упD46лOет E64лко9 плоI4дLN 2,7 74 6 д64<о4те %4ле64Dд, котоDK9 =4Eод8тEO 6 20 к< от 
пDоект=о9 плоI4дк8 6 д64<о4те �ол8 �4D. �4 E64лку поEтуп4Nт 6Eе 68дK отEодо6, т4к8е к4к 
5Kто6Kе, ко<<еDGеEк8е 8 пDо<KHле==Kе отEодK. �4 Dото IV 12 пок474=о EоEтоO=8е E64лк8 
т6еDдKE отEодо6 6 д64<о4те %4ле64Dд. 

 



$ото IV 12: ОткDKт4O E64лк4 – �64<о4т %4ле64Dд (29 8N=O 2022 7.) 

169. !64лк4 Halevard Jamoat пDедEт46лOет Eо5о9 7Dу5уN E64лку длO т6еDдKE отEодо6 8 
отEодо6 Eепт8ко6. �E5еEтоEодеD64I8е <4теD84лK (ACM), 4 т4к6е MлектDо==Kе 8 оп4E=Kе 
отEодK откDKто E5D4EK64NтEO =4 E64лку. �4 E64лке =45лNд4лоEL E6874=8е отEодо6, 
котоDое пDо876од8лоEL =еоD8F84лL=K<8 <еEт=K<8 E5оDI8к4<8 отEодо6. �4д 
е6ед=е6=о E5D4EK64е<K<8 отEод4<8 отEутEт6ует поG6е==K9 покDо6. %отO =4 E64лке 
е6ед=е6=о пDо8EEод8т уплот=е=8е отEодо6, отEодK =е лок4л87уNтEO 8 6о 6Dе<O E8лL=о7о 
до6дO <о7ут пеDе<еI4тLEO 6 5л87ле64I8е по6еDE=оEт=Kе 6одое<K 8 =4Eеле==Kе 
пу=ктK. !64лк8 =е о5оDудо64=K 6еE4<8, пDо<K6оG=K<8 EооDу6е=8O<8, <еE4=8GеEко9 
<4EтеDEко9, пDо6ектоD4<8, EетLN 8 к4<еDо9 длO E5оD4 D8лLтD4т4, EооDу6е=8O<8 длO 
оG8Eтк8 D8лLтD4т4, 747оот6од=о9 тDу5о9 8 т. д. 

 

 8Eу=ок IV.4: !пут=8ко6K9 E=8<ок — <еEтополо6е=8е пол87о=4 (H8Dот4: 37°32'58.49"N, 
дол7от4: 68°41'12.15"E) 

 

�E5еEтоEодеD64I8е <4теD84лK 6K5D4EK64NтEO =4 E64лку Оп4E=Kе MлектD8GеEк8е отEодK 



  
�4 E64лке о5=4Dу6е= од8= MкEк464тоD 

�4 E64лк4E 6 оE=о6=о< EодеD64тEO пл4Eт8ко6Kе отEодK 

 

  

  
 

  
         ОтEодK E64ле=K 6долL о5оG8=K доDо78                    !6874=8е отEодо6 =4 пол87о=е 

$ото IV 13: $ото7D4D88 - �ол87о= д64<о4т %4ле64Dд (12.12.2023) 

 

170. !о7л4E=о =4F8о=4лL=K< пD468л4<, EтDо8телL=Kе отEодK 8 <уEоD =е <о7ут 5KтL E5DоHе=K =4 
пол87о= %4ле64Dд. �оMто<у пол87о= дол6е= 5KтL D47D45от4= длO ут8л874F88 ACM 8 дDу78E 
т6еDдKE отEодо6, 4 теDD8тоD8O пол87о=4 5удет D47D45от4=4 длO D47делL=о7о ED4=е=8O отEодо6. 
8. КулLтуD=Kе DеEуDEK 

171. �Dоект =е 74тDо=ет кулLтуD=Kе о5JектK, т4к8е к4к ED4<K. �долL доDо78, 6едуIе9 к <еEту 
пеDеEеле=8O, =4Eод8тEO кл4д58Iе. Кл4д58Iе D4Eполо6е=о 6 250 < от 6оDот пол87о=4. 
 

 

 



V. О������О� �О����!&��� �� ОК '��.)'. ! ��' � �� / �О !�/�'���. 

A. 1коло78GеEк8е пDе8<уIеEт64 пDоект4 

173. О68д4етEO, Gто пDоект пD8=еEет 6K7одK 6 Dе7улLт4те улуGHе=8O EоF84лL=KE уEлу7 длO 
пеDе<еIе==KE Eе<е9 поEеле=Fе6, поEтD4д46H8E от Eт8E89=KE 5едEт689. �Dоект =4пD46ле= =4 
улуGHе=8е <ед8F8=Eк8E уEлу7, E4=8т4D88 8 ут8л874F88 отEодо6, MлектD8GеEт64 8 доDо6=о7о 
доEтуп4 к <еEту пеDеEеле=8O 8 5л87ле64I8< деDе6=O<. 1коло78GеEк8е поEледEт68O 
поло68телL=K 87-74 5олее MDDект86=о7о упD46ле=8O 5Kто6K<8 EтоG=K<8 6од4<8, т6еDдK<8 
отEод4<8 8 отEод4<8 7дD46ооED4=е=8O 5л47од4DO поддеD6ке, ок47K64е<о9 пDоекто<. 
�еDопD8Oт8O дол6=K пD86еEт8 к пDедот6D4Iе=8N 747DO7=е=8O 6одK 8 6о7дуE4, 4 т4к6е 
7Dу=то6KE 6од, 4 т4к6е к улуGHе=8N 7доDо6LO 8 E4=8т4D88. 
B. 1коло78GеEк8е поEледEт68O 

174. 1коло78GеEк8е поEледEт68O оFе=864л8EL E уGето< 6EеE Mт4по6 пDоект4. �Kл8 D4EE<отDе=K 
поте=F84лL=Kе ку<улOт86=Kе 8 6K764==Kе 6о7де9Eт68O от 74пл4=8Dо64==о9 74EтDо9к8 8 уEло689 
=4 <еEте. 
175.  4768т8е о5Jекто6 =4 <еEте пеDеEеле=8O 8 улуGHе=8е HколK 8 <ед8F8=Eко7о Fе=тD4 5удет 
оEуIеEт6лOтLEO =4 теDD8тоD88 EуIеEт6уNI8E 7оEуд4DEт6е==KE о5Jекто6. �о7ут 5KтL 6о7де9Eт68O 
=4 7е<лN 6долL D4EпDедел8телL=о9 л8=88 MлектDопеDед4G8, 6долL подJе7д=KE путе9 8 6о 6Dе<O 
6оEEт4=о6ле=8O по6Dе6де==о7о <оEт4. О68д4етEO, Gто 6о7де9Eт68O 5удут =е7=4G8телL=K<8, 
поEколLку о=8 5удут оEуIеEт6лOтLEO 6 пDедел4E EуIеEт6уNIе9 полоEK от6од4 доDо78. Од=4ко 
доEтуп <еEт=KE 68теле9 <о6ет 5KтL 6Dе<е==о о7D4=8Gе= 6 пеD8од EтDо8телLEт64. �о7де9Eт68е 
5удет 6 оE=о6=о< пDоO6лOтLEO 6о 6Dе<O EтDо8телLEт64 8, к4к пDедпол474етEO, 5удет 
кD4ткоEDоG=K<, лок4л87о64==K< 8 упD46лOе<K<. �е5л47опD8Oт=Kе 6о7де9Eт68O 5удут 
ко=тDол8Dо64тLEO поEDедEт6о< =4дле64Iе7о пл4=8Dо64=8O 8 упD46ле=8O. 
176. � пDедел4E пDоект=о9 7о=K =ет оED4=Oе<KE теDD8тоD89 8л8 клNGе6KE теDD8тоD89 
58оD47=оо5D478O, котоDKе 5удут 74тDо=утK. 
177. �о7де9Eт68O =4 окDу64NIуN EDеду 8 пDедл474е<Kе <еDK по E<O7Gе=8N поEледEт689, 
о5Eу6д4е<Kе 6 EледуNI8E D47дел4E, D47деле=K =4 те, котоDKе <о7ут 6о7=8к=утL =4 Mт4пе 
пDоект8Dо64=8O 8 пл4=8Dо64=8O, Mт4пе EтDо8телLEт64 8 Mт4пе MкEплу4т4F88. 
1. $474 пDоект8Dо64=8O 8 пл4=8Dо64=8O 

178. �оте=F84лL=ое =е5л47опD8Oт=ое 6о7де9Eт68е =4 окDу64NIуN EDеду =4 Mт4пе 
пDоект8Dо64=8O 8 пл4=8Dо64=8O E6O74=о E оFе=ко9 текуIе7о EоEтоO=8O окDу64NIе9 EDедK 
подJе7д=KE доDо7 8 <оEт4; E4=8т4D8е9 8 ут8л874F8е9 отEодо6 6 EуIеEт6уNIе< пу=кте 
пеDеEеле=8O, Hколе 8 <ед8F8=Eко< Fе=тDе; 4 т4к6е 6KD46=864=8е< 8 D4Eполо6е=8е< опоD 
л8=89 MлектDопеDед4G длO D4EпDедел8телL=KE л8=89. 
179. �оте=F84лL=ое =е5л47опD8Oт=ое 6о7де9Eт68е 5удет пDедот6D4Iе=о 8л8 E6еде=о к 
<8=8<у<у 6 пDоFеEEе дет4лL=о7о пDоект8Dо64=8O пDоект4 путе< пл4=8Dо64=8O: (i) D47D45отк8 
E8Eте<K ут8л874F88 отEодо6 длO пу=кт4 пеDеEеле=8O; (ii) тI4телL=о7о 6K5оD4 тD4EEK тD4EEK 
л8=88 MлектDопеDед4G; (iii) 8=те7D4F88 клNGе6KE <еD, т4к8E к4к E5оD <уEоD4, E8Eте<4 ут8л874F88 
<ед8F8=Eк8E отEодо6, уEтDо9Eт64 длO <KтLO Dук 8 HколL=Kе ту4летK; (iv) Dе4л874F88 <еD по 
E<O7Gе=8N 6о7де9Eт68O =4 окDу64NIуN EDеду длO 6KO6ле==KE 6о7де9Eт689; 8 (v) о5еEпеGе=8O 
7ото6=оEт8 пDоект4 E тоGк8 7Dе=8O упD46ле=8O окDу64NIе9 EDедо9 8 Eоот6етEт68O тDе5о64=8O<. 
a) 'пD46ле=8е т6еDдK<8 отEод4<8 =4 пу=кте пеDеEеле=8O 8 6 5л87ле64I8E деDе6=OE 

180. � =4EтоOIее 6Dе<O D49о==4O E8Eте<4 E5оD4 т6еDдKE отEодо6 =е 6клNG4ет д64<о4т �ол8 �4D 
8 деDе6=8. %отO =4 <еEте пеDеEеле=8O 8<еNтEO <уEоD=Kе ко=те9=еDK длO EоDт8Dо6к8 отEодо6, 



E8Eте<4 E5оD4 т6еDдKE отEодо6 дол6=4 5удет DеH4тL пDо5ле<у =4копле=8O отEодо6 =4 о5Jекте 
пеDеEеле=8O, Gто <о6ет пD86еEт8 к пDо5ле<4< E E4=8т4D8е9. �Dедл474е<Kе <еDK по E<O7Gе=8N 
поEледEт689 длO D4EE<отDе=8O: 

(i) �клNG8тL 74купку <уEоDо6о74, котоDK9 5удет Eо58D4тL EоDт8Dо64==Kе т6еDдKе отEодK 
87 о5Jект4 пеDеEеле=8O, котоDKе 5удут тD4=EпоDт8Dо64тLEO 6 ко<<у=4лL=уN 7о=у 
ут8л874F88 т6еDдKE отEодо6 6 д64<о4те %4ле64Dд. 
(ii) �Dо6еEт8 о5уGе=8е пеDEо=4л4 по пеDеEеле=8N по EоDт8Dо6ке 8 упD46ле=8N т6еDдK<8 
отEод4<8. 

b) !4=8т4D8O =4 о5Jекте поEеле=8O 

181. !уIеEт6уNIее оG8Eт=ое EооDу6е=8е =4 о5Jекте пеDеEеле=8O 8<еет <оI=оEтL 200 <3 8 
доEт4тоG=о длO оG8Eтк8 5Kто6KE EтоG=KE 6од 87 6Dе<е==KE п4л4ток (Mт4п 1). �о 6Dе<O Mт4п4 2 8 
Mт4п4 3 <оI=оEт8 EуIеEт6уNIе7о оG8Eт=о7о EооDу6е=8O 5удет =едоEт4тоG=о, 8 о=о 5удет 
D4EH8Dе=о. �4кло==K9 DелLеD уG4Eтк4 $47K 2 потDе5ует уEт4=о6к8 подJе<=о9 Eт4=F88 8 
EтDо8телLEт64 к4=4л874F8о==о9 л8=88 длO от6од4 EтоG=KE 6од 6 Eе6еD=уN G4EтL ко<плекE4, 7де 
=4Eод8тEO EуIеEт6уNIее оG8Eт=ое EооDу6е=8е. �о 6Dе<O дет4лL=о7о пDоект8Dо64=8O 
пDедл474NтEO EледуNI8е <еDK: 
(i) ОFе=8тL EкоDоEтL о5D47о64=8O EтоG=KE 6од длO $47K 2 8 $47K 3 8 подт6еDд8тL, доEт4тоGе= л8 
EуIеEт6уNI89 Eепт8к длO D47<еIе=8O 5Kто6KE EтоG=KE 6од 87 7д4=89 длO пеDеEеле=8O 8 о5I8E 
7о=, т4к8E к4к куE=O, Eтоло64O, 4д<8=8EтD4т86=Kе 8 пD4GеG=Kе. 
(ii) !пDоект8Dо64тL отделL=ое 8л8 D4EH8Dе==ое оG8Eт=ое EооDу6е=8е длO уEт4=о6к8 6о 6Dе<O 
$47K 2, еEл8 оFе=к4 пок46ет =едоEт4тоG=уN <оI=оEтL длO око=G4телL=о7о о5Jект4 длO 
пеDеEеле=8O. 
c) !4=8т4D8O 6 Hколе № 29 

182. (кол4 № 29 6 !4=о4те тDе5ует <одеD=874F88 ту4лето6 E доEтупо< к доEт4тоG=о<у 
кол8GеEт6у 6одK 8 EDедEт6 длO <KтLO Dук, 4 т4к6е EпDоект8Dо64==KE 6K7Dе5=KE O<. 'G4I8еEO 
EDед=е9 HколK № 29 дол6=K пеDеEод8тL доDо7у, Gто5K до5D4тLEO до ту4лет4. �о 6Dе<O 
дет4лL=о7о пDоект8Dо64=8O пDедл474NтEO EледуNI8е <еDK по E<O7Gе=8N поEледEт689: 

(i) О5еEпеG8тL 6клNGе=8е EледуNI8E о5Jекто6 6 о5Jе< пDоект4 

(ii) �о6Kе ту4летK длO HколK. 
(iii) �о6Kе EDедEт64 длO <KтLO Dук длO ту4лет4. 
(iv) !епт8к длO поддеD6к8 ту4лето6. 

d) �ед8F8=Eк8е отEодK 

183. �D4кт8к4 E6874=8O 8 74EоDо=е=8O оEт4тко6 <ед8F8=Eк8E отEодо6 (т. е. HпD8Fе6, Dл4ко=о6, 
Eлопко6KE т4<по=о6 8 747DO7=е==KE 68дк8E 8 т6еDдKE отEодо6) 6 <ед8F8=Eк8E Fе=тD4E <о6ет 
8<етL =е74т86=ое 6о7де9Eт68е =4 окDу64NIуN EDеду 87-74 6K5DоEо6 6 4т<оEDеDу, 747DO7=е=8O 
7Dу=то6KE 6од 8 7доDо6LO 68теле9 5л87ле64Iе9 теDD8тоD88. �ед8F8=Eк8е отEодK EG8т4NтEO 
оп4E=K<8 отEод4<8, котоDKе <о7ут пDедEт46лOтL =еопD46д4==K9 D8Eк 8л8 =4=еEт8 6Dед 
7доDо6LN лNде9, котоDKе ко=т4кт8DуNт 8л8 D45от4Nт E отEод4<8 8 котоDKе 686ут DOдо< E 
<уEоDоE6874телL=K< 746одо< 8 O<о9 длO ут8л874F88 отEодо6. �DедоEт46ле=8е 46токл464 длO 
<ед8F8=Eк8E Fе=тDо6 6 D4<к4E пDоект4 о5еEпеG8т де78=DекF8N <ед8F8=Eк8E отEодо6. 
�Dедл474е<Kе <еDK по E<O7Gе=8N поEледEт689 длO DеHе=8O текуIе9 пDо5ле<K упD46ле=8O 
<ед8F8=Eк8<8 отEод4<8 6 <ед8F8=Eк8E Fе=тD4E: 
(i) ОFе=8тL 8 74куп8тL 46токл46, <8кDо6ол=о6уN пеGL 8л8 дDу7ое EопутEт6уNIее о5оDудо64=8е 
длO де78=DекF88. 



(ii) 'луGH8тL текуIее EоEтоO=8е <уEоDоE6874телL=KE 746одо6 длO ко=тDолO 6K5DоEо6 6 
4т<оEDеDу 6о 6Dе<O E6874=8O отEодо6 E 8EполL7о64=8е< =едоDо78E д6уEк4<еD=KE 
<уEоDоE6874телL=KE 746одо6. 
(iii) ОFе=8тL дDу78е пD4кт8GеEк8е <етодK упD46ле=8O отEод4<8 7дD46ооED4=е=8O, т4к8е к4к 
8=к4пEулOF8O оEтDKE пDед<ето6 8 =е5олLH8E кол8GеEт6 D4D<4Fе6т8GеEк8E отEодо6 E 
поEледуNI8< 74EоDо=е=8е< =4 <еEте 6 EпеF84лL=KE OGе9к4E, =4дле64I8< о5D47о< 6KEтл4==KE 
8 74I8Iе==KE длO пDедот6D4Iе=8O 6KIел4G864=8O 6 7Dу=то6Kе 6одK. 
(iv) �Dо6еEт8 о5уGе=8е пеDEо=4л4 6 <ед8F8=Eк8E Fе=тD4E по упD46ле=8N отEод4<8 
7дD46ооED4=е=8O. 
184. �е7оп4E=ое упD46ле=8е <ед8F8=Eк8<8 отEод4<8 8<еет DеH4NIее 7=4Gе=8е длO 74I8тK 
о5IеEт6е==о7о 7доDо6LO 8 окDу64NIе9 EDедK. �от 4=4л87 =екотоDKE клNGе6KE <еD по 
E<O7Gе=8N поEледEт689: 
(i)  47деле=8е у 8EтоG=8к4 

• Оп8E4=8е:  47деле=8е отEодо6 6 <еEте 8E о5D47о64=8O =4 к4те7оD88, т4к8е к4к 8=DекF8о==Kе, 
оп4E=Kе 8 =еоп4E=Kе. 
• �Dе8<уIеEт64: E=864ет D8Eк 74D46е=8O 8 упDоI4ет о5D45отку 8 5е7оп4E=уN ут8л874F8N 
отEодо6. 
(ii) �EполL7о64=8е F6ет=KE ко=те9=еDо6 

• Оп8E4=8е: �=едDе=8е E8Eте<K F6ето6о9 код8Dо6к8 длO D47л8G=KE т8по6 отEодо6 (=4пD8<еD, 
кD4E=K9 длO 8=DекF8о==KE отEодо6, 6елтK9 длO оп4E=KE отEодо6). 
• �Dе8<уIеEт64: упDоI4ет пDоFеEE D47деле=8O 8 74D4=т8Dует, Gто о5D45отG8к8 отEодо6 <о7ут 
ле7ко 8де=т8D8F8Dо64тL 8 упD46лOтL D47л8G=K<8 т8п4<8 отEодо6. 
(iii) �6токл468Dо64=8е 

• Оп8E4=8е: �EполL7о64=8е п4Dо6о9 EтеD8л874F88 длO де78=DекF88 <ед8F8=Eк8E отEодо6. 
• �Dе8<уIеEт64: MDDект86=о у=8Gто64ет п4то7е=K, E=864ет D8Eк 74D46е=8O 8 дел4ет отEодK 
5олее 5е7оп4E=K<8 длO о5D45отк8 8 ут8л874F88. 
(iv) !6874=8е 

• Оп8E4=8е: !6874=8е <ед8F8=Eк8E отEодо6 пD8 6KEок8E те<пеD4туD4E длO у<е=LHе=8O 8E 
о5Jе<4 8 у=8Gто6е=8O п4то7е=о6. 
• �Dе8<уIеEт64: 7=4G8телL=о EокD4I4ет о5Jе< отEодо6 8 уEтD4=Oет 8=DекF8о==Kе 47е=тK. 
Од=4ко =ео5Eод8<о упD46лOтL 8<8, Gто5K <8=8<878Dо64тL 747DO7=е=8е 6о7дуE4. 
(v) %8<8GеEк4O де78=DекF8O 

• Оп8E4=8е: О5D45отк4 отEодо6 E8<8к4т4<8 длO у=8Gто6е=8O п4то7е=о6. 
• �Dе8<уIеEт64: �оле7е= длO 68дк8E отEодо6 8 опDеделе==KE т8по6 т6еDдKE отEодо6. 1то 
785к89 <етод, котоDK9 <о6=о пD8<е=OтL =4 <еEте. 
(vi) �е7оп4E=4O тD4=EпоDт8Dо6к4 

• Оп8E4=8е: 8EполL7о64=8е 5е7оп4E=KE 8 <4Dк8Dо64==KE ко=те9=еDо6 длO тD4=EпоDт8Dо6к8 
<ед8F8=Eк8E отEодо6 6 леGе5=Kе уGDе6де=8O. 
• �Dе8<уIеEт64: пDедот6D4I4ет EлуG49=ое 6о7де9Eт68е 8 о5еEпеG864ет 5е7оп4E=ое о5D4Iе=8е E 
отEод4<8 =4 пDотO6е=88 6Eе7о пDоFеEE4 ут8л874F88. 
(vii) О5уGе=8е 8 о5D47о64=8е 

• Оп8E4=8е: Dе7улOD=ое о5уGе=8е D45от=8ко6 7дD46ооED4=е=8O по =4дле64I8< <етод4< 
упD46ле=8O отEод4<8. 



• �Dе8<уIеEт64: 74D4=т8Dует, Gто 6еEL пеDEо=4л оE6едо<ле= о D8Eк4E 8 пD468лL=KE пDоFедуD4E, 
Gто E=864ет 6еDоOт=оEтL =епD468лL=о7о о5D4Iе=8O E отEод4<8. 
(viii) !о5лNде=8е =оD<4т86=KE тDе5о64=89 

• Оп8E4=8е: Eо5лNде=8е <еEт=KE, =4F8о=4лL=KE 8 <е6ду=4Dод=KE пD468л 6 от=оHе=88 
упD46ле=8O <ед8F8=Eк8<8 отEод4<8. 
• �Dе8<уIеEт64: 74D4=т8Dует, Gто <етодK упD46ле=8O отEод4<8 Eоот6етEт6уNт Eт4=д4Dт4< 
5е7оп4E=оEт8 8 тDе5о64=8O< 74ко=од4телLEт64, 74I8I4O о5IеEт6е==ое 7доDо6Lе 8 окDу64NIуN 
EDеду. 
(ix) �о=8тоD8=7 8 4уд8т 
• Оп8E4=8е: Dе7улOD=K9 <о=8тоD8=7 8 4уд8т <етодо6 упD46ле=8O отEод4<8 длO о5еEпеGе=8O 
Eоот6етEт68O 8 6KO6ле=8O о5л4Eте9 длO улуGHе=8O. 
• �Dе8<уIеEт64: по<о74ет поддеD6864тL 6KEок8е Eт4=д4DтK 5е7оп4E=оEт8 8 MDDект86=оEт8 6 
упD46ле=88 отEод4<8. 
185.  е4л874F8O Mт8E <еD по E<O7Gе=8N поEледEт689 <о6ет 7=4G8телL=о E=878тL D8Eк8, 
E6O74==Kе E <ед8F8=Eк8<8 отEод4<8. О5еEпеG864O =4дле64IуN Eе7Dе74F8N, о5D45отку 8 
ут8л874F8N, <ед8F8=Eк8е уGDе6де=8O <о7ут 74I8т8тL к4к о5IеEт6е==ое 7доDо6Lе, т4к 8 
окDу64NIуN EDеду. �оEтоO==ое о5уGе=8е 8 Eо5лNде=8е пD468л O6лONтEO клNGо< к 
поддеD64=8N 5е7оп4E=KE 8 MDDект86=KE <етодо6 упD46ле=8O отEод4<8. 
 

e) �KD46=864=8е <4DHDут4 л8=88 MлектDопеDед4G8 

186. �KD46=864=8е <4DHDут4 л8=88 MлектDопеDед4G8 5удет о7D4=8Gе=о полоEо9 от6од4 
EуIеEт6уNIе9 46то<478EтD4л8 �оEт4D-�4лE8 8 подJе7д=K<8 доDо74<8 6 деDе6=OE. 
�EполL7о64=8е EуIеEт6уNIе9 тD4EEK 8 полоEK от6од4 =е ок46ет =8к4ко7о 6л8O=8O =4 
пDодукт86=Kе EелLEкоEо7O9Eт6е==Kе 7е<л8, дDе=46=Kе 8 8DD874F8о==Kе к4=4лK, G4Eт=Kе 8 
7оEуд4DEт6е==Kе 7е<л8, 4 т4к6е EелLEкоEо7O9Eт6е==Kе кулLтуDK 8 деDе6LO, 8<еNI8е 
Mко=о<8GеEкуN Fе==оEтL. Кл8<4т8GеEк8е 8 по7од=Kе уEло68O, котоDKе <о7ут по6л8OтL =4 л8=8N, 
5удут уG8тK64тLEO пD8 дет4лL=о< пDоект8Dо64=88, Gто5K 875е64тL D49о=о6, под6еD6е==KE 
=46од=е=8O<, MDо788 8 E8лL=K< 6етD4<. 1т8 Eт8E89=Kе 5едEт68O 5Kл8 упо<O=утK 68телO<8 
деDе6=8 6о 6Dе<O ко=EулLт4F89 8 8=теD6LN к4к о5KG=Kе Eо5Kт8O, котоDKе 6K7K64Nт пеDе5о8 6 
под4Gе MлектDоM=еD788. �еDK по E<O7Gе=8N поEледEт689, котоDKе Eледует уG8тK64тL пD8 
дет4лL=о< пDоект8Dо64=88 л8=88 D4EпDеделе=8O MлектDоM=еD788: 
(i) ОFе=8тL 8EполL7о64=8е 8 <одеD=874F8N EуIеEт6уNI8E D4EпDедел8телL=KE Eтол5о6 длO 
л8=88 D4EпDеделе=8O MлектDоM=еD788, Gто5K 875е64тL =о6KE тDе5о64=89 к 7е<ле. 
(ii) КооDд8=8Dо64тL де9Eт68O E 7е<ле6л4делLF4<8 8 7л464<8 деDе6е=L пD8 6K5оDе <еEт4 длO 
Eтол5о6 8 о5еEпеG8тL =4дле64IуN 8 E6ое6Dе<е==уN ко<пе=E4F8N 74 лN5о9 от6од 7е<л8 8л8 74 
лN5о9 уIеD5 уDо64N 8 дDу78< 4кт864<. 
(iii) !6еEт8 к <8=8<у<у 6KDу5ку деDе6Lе6 =4 полоEе от6од4 D4EпDедел8телL=о9 л8=88. 
(iv) 'GеEтL уEто9G86оEтL к =46од=е=8O<, 8=те=E86=оEтL 6етD4 8 дDу78е кл8<4т8GеEк8е D4ктоDK 
пD8 пDоект8Dо64=88 D4EпDедел8телL=KE л8=89 8 Eтол5о6. 
(v) !6еEт8 к <8=8<у<у 6о7де9Eт68е =4 <еEт=Kе дDе=46=Kе к4=4лK. 
(vi) О5еEпеG8тL Eо5лNде=8е тDе5о64=89 по 6KEоте 8 6еDт8к4лL=о<у D4EEтоO=8N от EооDу6е=89 8 
деDе6Lе6 длO 5е7оп4E=оEт8 Eоо5IеEт64 8 =4де6=оEт8 л8=88. 
f) 'пD46ле=8е 4E5еEто< 



187. 'G8тK64O, Gто Eт4DKе 4E5еEто6Kе кDо6елL=Kе л8EтK 5удут уд4ле=K 87 EуIеEт6уNI8E 
HколL=KE ту4лето6 8 7д4=89, котоDKе 5удут E=еEе=K =4 <еEте пеDеEеле=8O К'!8�О, EуIеEт6ует 
поте=F84лL=K9 D8Eк 6дKE4=8O 4E5еEто6KE 6олоко= D45оG8<8 8 лNдL<8 6 5л87ле64I8E D49о=4E. 
!тD4=4 пDо876од8т 8 кDо6елL=Kе л8EтK, EодеD64I8е 4E5еEт, — Mто ED87от8л, котоDK9 6 
EоGет4=88 E Fе<е=то< EодеD68т около 11-15% 4E5еEт4. � =4EтоOIее 6Dе<O 4E5еEтоEодеD64I8е 
<4теD84лK (ACM) =е кл4EE8D8F8DуNтEO к4к оп4E=Kе отEодK 6 &4д68к8Eт4=е, 8 Mт8 <4теD84лK 
ут8л878DуNтEO =4 о5KG=KE <у=8F8п4лL=KE E64лк4E. �л8649H4O к <еEту E64лк4 =4Eод8тEO 6 
д64<о4те %4ле64Dд. 
188. �лO E=86е=8O D8Eк4 длO 7доDо6LO 87-74 уд4ле=8O 4E5еEто6о9 кDо6л8, пл4= упD46ле=8O 
4E5еEто< (�'�) 5удет =ео5Eод8< к4к G4EтL пл4=4 упD46ле=8O окDу64NIе9 EDедо9 длO 
ко=кDет=о7о уG4Eтк4 (�О�О!). �етод упD46ле=8O 4E5еEто< пDедEт46ле= 6 �D8ло6е=88 C. �'� 

5удет под7ото6ле= подDOдG8ко< к4к G4EтL �О�О! 8 до =4G4л4 лN5KE EтDо8телL=KE D45от. 
�одDOдG8к дол6е=: 
(i) О5еEпеG8тL, Gто5K �'� 5Kл под7ото6ле= 6 Eоот6етEт688 E  уко6одEт6о< ��  по =4дле64Iе9 
пD4кт8ке упD46ле=8O 8 ко=тDолO 4E5еEт4: 74I8т4 D45оG8E <еEт 8 Eоо5IеEт6 от D8Eко6 6о7де9Eт68O 
4E5еEт4 

(ii) О5еEпеG8тL одо5Dе=8е D49о=4 =4 EтDо8телLEт6о 5ето=8Dо64==о9 O<K 8 ут8л874F8N ACM =4 
E64лке 6 �64<о4те %4ле64Dд 

(iii) О5еEпеG8тL одо5Dе=8е пDоект4 =4 Fе=тD4лL=о< уDо6=е КОО!. 

189. �еDK по E<O7Gе=8N поEледEт689 упD46ле=8O 4E5еEто<, 6клNGе==Kе 6 �11/�'О!, 5удут 
=4дле64I8< о5D47о< отD46е=K 6 те=деD=о9 доку<е=т4F88 8 ко=т4кт4E =4 EтDо8телL=Kе D45отK 
6 Eоот6етEт688 E  уко6одEт6о< ��  по =4дле64Iе9 пD4кт8ке упD46ле=8O 8 ко=тDолO 4E5еEт4. 
�86е оп8E4=K пDоFедуDK, котоDKе =ео5Eод8<о 6Kпол=8тL до, 6о 6Dе<O 8 поEле уд4ле=8O ACM. 
 

• �еDед 6K6о7о< ACM 

190. ОD8F84лL=ое п8EL<о от К'!8�О 5удет =4пD46ле=о 6 Eуку<4т D49о=4 �64лол8дд8= �4лE8 E 
ук474=8е< кол8GеEт64 ACM 8 пDоFедуD, котоDKе 5удут Dе4л87о64=K длO ут8л874F88 ACM. �удет 
Eо7д4=4 D49о==4O ко<8EE8O E пDедEт468телO<8 КОО! 8 68л8I=о-ко<<у=4лL=KE Eлу65, котоD4O 
пDо6едет о5Eу6де=8O 6 D4<к4E пDоFеEE4 полуGе=8O D47DеHе=8O =4 ут8л874F8N ACM 6 O<е ACM 
=4 E64лке 6 д64<о4те %4ле64Dд.  47DеHе=8е от D49о=4 8 КОО! 5удет полуGе=о до ут8л874F88 
ACM =4 E64лке. �еDед 6K6о7о< ACM 5удут Eо5лNде=K EледуNI8е пDоFедуDK: 
(i) �олуG8те D47DеHе=8е �11 =4 пDоект от КОО! =4 Fе=тD4лL=о< уDо6=е. 
(ii) PIG пD8 поддеD6ке ко=EулLт4=т4 по Dе4л874F88 пDоект4 (К �) оFе=8т кол8GеEт6о 8 EоEтоO=8е 
кDо6елL=KE л8Eто6 ACM, котоDKе 5удут уд4ле=K 87 ту4лето6 8 куEо=L Hкол 8 6 7д4=8OE, котоDKе 
5удут E=еEе=K =4 <еEте пеDеEеле=8O К'!8�О. 

(iii) PIG оD8F84лL=о =4пD468т 6 D49о= �64лол8дд8= �4лE8 п8EL<о о пDедло6е=88 поEтDо8тL O<у 
длO ут8л874F88 ACM =4 E64лке т6еDдKE отEодо6 6 д64<о4те %4ле64Dд. � пDедло6е=88 5удет 
оп8E4= 6опDоE ут8л874F88 ACM, пDедпол474е<ое кол8GеEт6о 8 D47<еD O<K ACM. 
(iv)  49о= �64лол8дд8= �4лE8 Eо7д4Eт D49о==уN ко<8EE8N, 6 котоDуN 6о9дут пDедEт468тел8 
D49о==KE деп4Dт4<е=то6, т4к8E к4к КОО!, E4=8т4D=4O Eлу654, ко<<у=4лL=4O Eлу654 8 т. д. 
(v)  49о==4O ко<8EE8O Eо6<еEт=о E � � оFе=8т пDедл474е<ое <еEтополо6е=8е O<K ACM =4 E64лке 
6 д64<о4те %4ле64Dд. 
(vi) �оEле то7о, к4к D49о==4O ко<8EE8O опDедел8т <еEто 8 опDедел8т е7о к4к подEодOIее, 
D49о==4O ко<8EE8O 6Kд4Eт D47DеHе=8е К'!8�О =4 EтDо8телLEт6о O<K ACM. 



(vii) �оEле то7о, к4к D49о==4O ко<8EE8O D49о=4 �64лол8дд8= �4лE8 6Kд4Eт оD8F84лL=ое 
D47DеHе=8е, � � GеDе7 E6ое7о подDOдG8к4 поEтDо8т O<у ACM =4 E64лке. 
• �о 6Dе<O уд4ле=8O ACM 

191. � � пD86леGет к64л8D8F8Dо64==о7о подDOдG8к4 E опKто< D45отK E ACM. �одDOдG8к пD8 
поддеD6ке � � 8 К � пDо6едет ко=EулLт4F88, Gто5K пDо8=DоD<8Dо64тL D45оG8E 8 EоEед=8е 
Eоо5IеEт64 о поте=F84лL=KE оп4E=оEтOE 8 D8Eк4E 4E5еEт4 8 <еD4E 5е7оп4E=оEт8 пD8 D45оте E ACM 
8 6окDу7 =е7о. �D4D8к <еDопD8Oт89 8 <еDK, котоDKе =ео5Eод8<о Dе4л87о64тL длO 
пDедот6D4Iе=8O 6K5DоE4 6олоко= 4E5еEт4 6 6о7дуE, т4к6е 5удут о5Eу6д4тLEO 6о 6Dе<O 
ко=EулLт4F8о==KE 6EтDеG. 
192. �Eе ACM Eледует уд4л8тL до E=оE4 7д4=89/EооDу6е=89, Gто5K E6еEт8 к <8=8<у<у 
747DO7=е=8е 4E5еEто< оEт4лL=KE <4теD84ло6, подле64I8E E=оEу. 
193. �о 6Dе<O уд4ле=8O ACM Eо EтDо8телL=о9 плоI4дк8 подDOдG8к8 дол6=K пDедоEт468тL 
=ео5Eод8<ое о5оDудо64=8е, т4кое к4к пDедупDе6д4NI4O ле=т4/54DD8к4д4, пDоG=K9 745оD 8 
пDедупDе6д4NI8е =4дп8E8 =4 плоI4дке, 6едDо E 6одо9 8 тDOпк8, пDо7D4G=Kе 8 пDоG=Kе 
пол8Mт8ле=о6Kе л8EтK, котоDKе <о6=о 746O74тL 8 Gетко по<ет8тL к4к EодеD64I8е ACM.  45оG4O 
7о=4 5удет о7D46де=4 путе< уEт4=о6к8 54DD8к4д 8 пDедупDе6д4NI8E 7=4ко6.  45от=8к8 дол6=K 
5удут =оE8тL <4Eк8 6о 6Dе<O D45отK по уд4ле=8N ACM. 
194. �о 6Dе<O уд4ле=8O 4E5еEто6о9 кDо6л8 5удут пD8=OтK допол=8телL=Kе <еDK 
пDедоEтоDо6=оEт8, 6 то< G8Eле: 
(i) О5еEпеGLте под46ле=8е пKл8 путе< E<4G864=8O ACM до 8 6о 6Dе<O уд4ле=8O. 
(ii) �оEле то7о, к4к ACM Eт4=ет 6л46=K<, =е<едле==о Eо5еD8те 6Eе 68д8<Kе ACM 8 <уEоD ACM 6 
д64 EлоO пDоG=о9 пол8Mт8ле=о6о9 пл4Eт8ко6о9 пле=к8. 
(iii) �Eт46Lте 5олLHуN Mт8кетку 6=утDL к46до7о пл4Eт8ко6о7о л8Eт4, Gетко ук4746, Gто <4теD84л 
EодеD68т 4E5еEт 8 оп4Eе= длO 7доDо6LO Gело6ек4. 
(iv) �4де6=о 746O68те пл4Eт8ко6Kе л8EтK 8 по<еEт8те 6 <4Dк8Dо64==Kе ко=те9=еDK длO 
4E5еEто6KE отEодо6 (G8EтKе <ет4лл8GеEк8е 5оGк8) 8 74пеG4т49те к46дуN 5оGку. 
(v) �о око=G4=88 опеD4F88 оG8Eт8те 8 де74кт868Dу9те D45оGуN 7о=у путе< 6л46=о9 пDот8Dк8, 
пDе6де Gе< пок8=утL D45оGуN 7о=у. КDо<е то7о, оG8Eт8те 6Eе о5оDудо64=8е <окDK<8 тDOпк4<8 8 
по<еEт8те тDOпк8 6 пл4Eт8ко6Kе п4кетK длO ут8л874F88 6=утD8 ко=те9=еDо6 длO 4E5еEто6KE 
отEодо6. 
(vi) �еOтелL=оEтL по де74кт864F88 дол6=4 ко=тDол8Dо64тLEO К � 8 доку<е=т8Dо64тLEO. 
�ео5Eод8<о пDо6еEт8 8=EпекF88 длO пDо6еDк8 то7о, =4EколLко к4GеEт6е==о 5Kл4 оG8Iе=4 
теDD8тоD8O. 
• 'т8л874F8O ACM 

195. �оEле то7о, к4к отEодK ACM 5удут =4де6=о по<еIе=K 6 пл4Eт8ко6уN пле=ку E =4дле64I8<8 
Mт8кетк4<8, подDOдG8к оD74=87ует =е<едле==уN ут8л874F8N отEодо6 ACM 6 ут6еD6де==уN O<у 
ACM 6 �64<о4те %4ле64Dд. �Eе ко=те9=еDK ACM дол6=K 5KтL 74EоDо=е=K 6 O<е подEодOIе7о 
D47<еD4, 4 74те< покDKтK Eлое< 7л8=K толI8=о9 =е <е=ее 250 <<. /<4 5удет 8<етL 6K6еEку, 
ук47K64NIуN =4 то, Gто 6 =е9 74EоDо=е=K отEодK ACM. �оEле око=G4телL=о7о 74кDKт8O пол87о=4 
=4д O<о9 ACM 5удет уEт4=о6ле=о покDKт8е толI8=о9 =е <е=ее 2 < 6 Eоот6етEт688 E 
Dеко<е=д4F8O<8 �О&. 
196. �одDOдG8к под7ото68т отGет длO доку<е=т8Dо64=8O уд4ле=8O, тD4=EпоDт8Dо6к8 8 ут8л874F88 
ACM 8 пDедEт468т отGет 6 � �. ОтGет дол6е= 6клNG4тL Dотодоку<е=т4F8N 6EеE <еDопD8Oт89, 



6клNG4O EтDо8телLEт6о O<K, уд4ле=8е ACM, тD4=EпоDт8Dо6ку ACM 8 74EоDо=е=8е ACM 8 покDKт8е 
O<K. PIG пDедEт468т отGет 6 КОО!. 

197.  49о==K9 отдел КОО! 5удет ко=тDол8Dо64тL теDD8тоD8N, Gто5K 74D4=т8Dо64тL, Gто к4DLеD 
ACM оEт4=етEO =етDо=утK<. 
g) &оD78 8 74клNGе=8е ко=тD4кто6 

198. �еDед =4G4ло< EтDо8телLEт64 �'О! 5удет о5=о6ле=, Gто5K 74D4=т8Dо64тL, Gто уEло68O, 
ук474==Kе 6 =4F8о=4лL=о< D47DеHе=88 �11 8 дDу78E тDе5о64=8OE по 5е7оп4E=оEт8, 876еEт=K 
подDOдG8к4< 8 8=6е=еD=K< Dуко6од8телO<. �ео5Eод8<о, Gто5K Mт8 тDе5о64=8O 5Kл8 6клNGе=K 
6 те=деD=уN 8 ко=тD4кт=уN доку<е=т4F8N. 
h)  еEуDEK 8 о5уGе=8е длO 6=едDе=8O �'О! 

199. �е по7д=ее, Gе< 74 <еEOF до =4G4л4 EтDо8телLEт64, EтDо8телL=K9 подDOдG8к дол6е= 5удет 
пDоде<о=EтD8Dо64тL � � 8 EпеF84л8Eту по оED4=е окDу64NIе9 EDедK К'!8�О (К'!8�О-!ОО!), 

Gто 8<еNтEO доEт4тоG=Kе EDедEт64 8 DеEуDEK, 6клNG4O к64л8D8F8Dо64==K9 8 Hт4т=K9 пеDEо=4л, 
длO MDDект86=о7о 6=едDе=8O 8 <о=8тоD8=74 �'О!. К �-�!ОО! 8 К �-�!ОО! пDо6едут о5уGе=8е 
по под7ото6ке �О�О!, Gто5K EтDо8телL=K9 подDOдG8к <о7 подDо5=о D4EEк474тL, к4к о= 5удет 
6Kпол=OтL EтDо8телL=Kе D45отK 6 Eоот6етEт688 E �'О!. !тDо8телL=K9 подDOдG8к т4к6е =49<ет 
Hт4т=о7о EотDуд=8к4 по E6O7O< E о5IеEт6е==оEтLN (C!О), котоDK9 5удет E6O7уNI8< 76е=о< E 
Eуку<4то<, 68телO<8 деDе6=8 8 �'О!. 
i) &Dе5о64=8O до =4G4л4 EтDо8телLEт64 

200. � � 8 К � о5еEпеG4т под7ото6ку D47DеHе=89 8 тDе5о64=89 по оED4=е окDу64NIе9 EDедK до 
=4G4л4 EтDо8телL=KE D45от. 1т8 тDе5о64=8O по 7ото6=оEт8 к оED4=е окDу64NIе9 EDедK 87ло6е=K 
6 &45л8Fе V.1. 
 

&45л8F4 V.1: &Dе5о64=8O по 7ото6=оEт8 к оED4=е окDу64NIе9 EDедK до =4G4л4 EтDо8телLEт64 

�9SF9?PABEFP/"D95B64A<9 �F69FEF69AAO= 
EG5N9>F 

 

i. #-- >1=>2;O5BAO, 5A;8 AB0=>2OBAO >G5284=K<8 
=5?@542845==K5 2>7459AB28O =0 >:@C60NICN A@54C 

 �#/�$# 

ii. "4>1@5=85 �-- 1K;> ?>;CG5=> >B F5=B@0;L=>3> C@>2=O %�# 
4> 2K40G8 70O2>: 

 �#/�$# 

iii. #--, #'"% 8 CA;>28O, C:070==K5 2 =0F8>=0;L=>< 
@07@5H5=88 �--, 2:;NG5=K 2 B5=45@=CN 4>:C<5=B0F8N 8 
:>=B@0:BK. 

 �#/�$# 

iv. �>>@48=0B>@(K) ?> >E@0=5 >:@C60NI59 A@54K =07=0G05BAO 
�$# 

�$# 

v. "1CG5=85 ?>4@O4G8:>2, 8=65=5@>2 8 @01>G8E ?> #-   �#/�$# 

vi.    �>AB0B>G=>5 :>;8G5AB2> ?5@A>=0;0 8 1N465B0 4;O 
@50;870F88 #'"% 

%B@>8B5;L=K9 
?>4@O4G8: 

vii. �О�О! длO Mт4п4 EтDо8телLEт64 под7ото6ле= 8 одо5Dе= � � !тDо8телL=K9 
подDOдG8к 



viii. �!� под7ото6ле= к4к G4EтL �О�О! !тDо8телL=K9 
подDOдG8к 

ix. �Dо6еD8тL 8EтоG=8к EKDLO (т. е. 74пол=8теле9) 8 у5ед8тLEO, Gто 
о=8 полуGе=K 87 74ко==KE 8EтоG=8ко6, к4к пDедло6е=о 6 �О�О! 

 �#/�$# 

x. �47=4G8тL EотDуд=8к4 по E6O7O< E о5IеEт6е==оEтLN %B@>8B5;L=K9 
?>4@O4G8: 

xi. !о7д4тL <еE4=87< D4EE<отDе=8O 64ло5 �$#/�$# 

AMP - �л4= упD46ле=8O 4E5еEто<, �'О! - �л4= упD46ле=8O окDу64NIе9 EDедо9, КОО! - Ко<8тет по оED4=е окDу64NIе9 EDедK, �11 - 

�еD68G=4O Mколо78GеEк4O MкEпеDт874, К � - Ко=EулLт4=т по Dе4л874F88 пDоект4, PIG - �Dупп4 Dе4л874F88 пDоект4, SEE - 
�оEуд4DEт6е==4O Mколо78GеEк4O MкEпеDт874, �'О!К' - �л4= упD46ле=8O окDу64NIе9 EDедо9 длO ко=кDет=о7о уG4Eтк4 

 

j) �од7ото6ле==K9 подDOдG8ко< пл4= упD46ле=8O окDу64NIе9 EDедо9 длO ко=кDет=о7о 
уG4Eтк4 

201. � � потDе5ует от EтDо8телL=о7о подDOдG8к4 D47D45от4тL �'О!К' =4 оE=о6е �'О! до =4G4л4 
лN5KE EтDо8телL=KE D45от. �'О!К' пDедEт468т <етодK 8 пDоFедуDK то7о, к4к EтDо8телL=K9 
подDOдG8к 5удет Dе4л87о6K64тL <еDK по E<O7Gе=8N поEледEт689 6 �'О!, 6клNG4O AMP. �'О!К' 

5удет 6клNG4тL Dуко6одOI8е пD8=F8пK по упD46ле=8N 6о7де9Eт68O<8 EтDо8телLEт64; 
6одоE=456е=8е длO EтDо8телLEт64, подклNGе=8е к дDе=46у, EтоG=K< 6од4< 8 пеDеD45отке, 4 
т4к6е по6тоD=ое 8EполL7о64=8е EтоG=KE 6од; AMP длO уд4ле=8O 8 о5D4Iе=8O E 4E5еEто6K<8 
<4теD84л4<8; упD46ле=8е т6еDдK<8 отEод4<8; упD46ле=8е оп4E=K<8 отEод4<8; ко=тDолL пKл8 8 
Hу<4; 6Dе<е==K9 8 поEтоO==K9 дDе=46; EтDо8телL=Kе <4теD84лK 8 упD46ле=8е отEод4<8; 
6Kе<к4 7Dу=т4 8 6оEEт4=о6ле=8е 7е<елL; упD46ле=8е доDо6=K< д686е=8е<; оED4=4 тDуд4 8 
теE=8к4 5е7оп4E=оEт8; оED4=4 7доDо6LO 8 теE=8к4 5е7оп4E=оEт8 Eоо5IеEт64; пDоD8л4кт8к4 COVID-

19; уд4ле=8е D4Eт8телL=оEт8; пл4= Dе478Dо64=8O =4 GDе76KG49=Kе E8ту4F88; 8 пл4= 
ко<<у=8к4F89. �=DоD<4F8O, к4E4NI4OEO ко=кDет=о7о уG4Eтк4, 6 �'О!К' 5удет опDеделOтL 
74ко==Kе 8EтоG=8к8 <4теD84ло6, <етодK упD46ле=8O ACM, <еEтополо6е=8е, о5O74==оEт8, 
7D4D8к/EDок8 8 5Nд6ет длO Dе4л874F88 <еD по E<O7Gе=8N поEледEт689, ук474==KE 6 �'О!. 

�'О!К' 5удет о5=о6лOтLEO по <еDе =ео5Eод8<оEт8 по <еDе Dе4л874F88 пDоект4. 
202. �'О!К' 5удет ут6еD6де= � � =4 Mт4пе под7ото6к8 к EтDо8телLEт6у пDоект4. ЛN5Kе уEло68O, 
пDедуE<отDе==Kе 6 �11, 5удут 6клNGе=K 6 до7о6оD EтDо8телL=о7о подDOд4 8 6 �'О!К'. � � 

потDе5ует от 6K5D4==о7о EтDо8телL=о7о подDOдG8к4 =4=OтL к64л8D8F8Dо64==о7о 8 опKт=о7о 
Hт4т=о7о EотDуд=8к4 по оED4=е окDу64NIе9 EDедK, котоDK9 5удет о5уG4тL пеDEо=4л 8 пDо6од8тL 
Dе7улOD=K9 <о=8тоD8=7 <еD по оED4=е окDу64NIе9 EDедK, 7доDо6LO 8 5е7оп4E=оEт8 6 D4<к4E 
�'О!. К64л8D8F8Dо64==K9 8 Hт4т=K9 EотDуд=8к по оED4=е тDуд4 (!О&) 5удет =4=Oт 
EтDо8телL=K< подDOдG8ко< длO DеHе=8O 6опDоEо6 оED4=K тDуд4 8 теE=8к8 5е7оп4E=оEт8. 
!тDо8телL=K9 подDOдG8к дол6е= 5удет =47=4G8тL C!О, котоDK9 5удет кооDд8=8Dо64тL D45оту E 
<еEт=K<8 оD74=4<8 6л4Eт8 %уку<4т4 8 � � 8 уEт4=о68т пDотоколK E6O78 <е6ду пDоекто< 8 
Eоо5IеEт64<8. 
203. �'О!К' 8 =47=4Gе=8е к64л8D8F8Dо64==о7о EотDуд=8к4 по оED4=е окDу64NIе9 EDедK, !О& 8 
C!О 5удут пDедEт46ле=K � � 8 одо5Dе=K до =4G4л4 EтDо8телLEт64. � � 8 К'!8�О-!ОО! 5удут 
пDо6од8тL 8=EпекF88 8 ко=тDол8Dо64тL MDDект86=оEтL �'О!К' =е Dе6е од=о7о D474 6 =еделN 6 
теGе=8е Mт4п4 EтDо8телLEт64. К �-�!ОО! 5удет ок47K64тL поддеD6ку 6 <о=8тоD8=7е 8 
отGет=оEт8. К �-�!ОО! дол6е= 8<етL опKт 6 оFе=ке, уд4ле=88, упD46ле=88 8 ут8л874F88 ACM. 



О=/о=4 5удет пDо6од8тL о5уGе=8е � � 8 EтDо8телL=KE подDOдG8ко6 по 6=едDе=8N �'О!К', 

6клNG4O упD46ле=8е 4E5еEто<. 
2. 1т4п EтDо8телLEт64 

204. !тDо8телL=Kе D45отK 5удут о7D4=8Gе=K 8 5удут пDо6од8тLEO толLко 6 пDедел4E 
EуIеEт6уNIе7о ко<плекE4 длO пеDеEеле=8O 8 HколK. !тDо8телL=Kе D45отK по уEт4=о6ке л8=89 
MлектDопеDед4G8 <о7ут пD86еEт8 к 6Dе<е==K< о7D4=8Gе=8O< доEтуп4, 4 т4к6е к 6о7<о6=о<у 
по6Dе6де=8N EелLEк8E доDо7, по котоDK< <о7ут е7д8тL EтDо8телL=Kе 7Dу7о68к8. �о 
пDед64D8телL=о9 8=DоD<4F88, уEт4=о6к4 л8=89 MлектDопеDед4G8 5удет пDоEод8тL п4D4ллелL=о 
EуIеEт6уNIе9 тD4EEе л8=88 MлектDопеDед4G8 8л8 5удет 8EполL7о64тL EуIеEт6уNI8е опоD=Kе 
лок4F88 длO <одеD=874F88 л8=88. �о6ет 6о7=8к=утL =ео5Eод8<оEтL 6 8EполL7о64=88 
=е5олLH8E плоI4де9 длO E<еH864=8O Fе<е=т4 8л8 Eкл4д8Dо64=8O EтDо8телL=KE <4теD84ло6 =4 
теDD8тоD88 HколK. 
205. �ео5Eод8<оEтL 6 кDуп=о<4EHт45=о9 до5KGе EтDо8телL=KE <4теD84ло6 =е 6о7=8к=ет, 
поEколLку 5олLH8=Eт6о <4теD84ло6 доEтуп=о 87 <еEт=KE ко<<еDGеEк8E 8EтоG=8ко6. �о6ет 
потDе5о64тLEO 7о=4 ED4=е=8O длO отEодо6 ACM, ко7д4 5удут уд4ле=K 4E5еEто6Kе кDKH8 6 
EуIеEт6уNI8E HколL=KE ту4лет4E, пеDед 8E ут8л874F8е9 6 ут6еD6де==о< <еEте. 
206. �Dо5ле<K, E6O74==Kе E =еудо5Eт64<8 8л8 =епD8Oт=оEтO<8 длO окDу64NI8E теDD8тоD89 6о 
6Dе<O EтDо8телLEт64, 5удут D4EE<отDе=K 6 �'О!. О68д4е<Kе поEледEт68O EтDо8телL=KE D45от 
6клNG4Nт: 
(i) (у<о6ое D47дD46е=8е, <8D 8 поDOдок, 4 т4к6е о5D47о64=8е 5Kто6KE EтоG=KE 6од 8 т6еDдKE 
отEодо6 длO EтDо8телL=о7о л47еDO. 
(ii) �KлL 8 747DO7=е=8е 6о7дуE4 от 7е<лO=KE D45от длO 7д4=89 длO пеDеEеле=8O, от EтDо8телLEт64 
доDо7 8 от д686е=8O тD4=EпоDт=KE EDедEт6. 
(iii) �Kделе=8е 4E5еEто6KE 6олоко= пD8 уд4ле=88 4E5еEто6KE кDо6елL=KE л8Eто6. 
(iv) (у<, котоDK9 <о6ет пD8G8=8тL =еудо5Eт64 68телO<, пDо6864NI8< DOдо< Eо 
EтDо8телLEт6о< доDо78, 6клNG4O пDеDK64=8е 74=Oт89 6 Hкол4E. 
(v) 1Dо78O поG6K от Eкл4д8Dо64==KE <4теD84ло6 8 7е<лO=KE D45от. 
(vi) О5D47о64=8е EтDо8телL=о7о <уEоD4 8 отEодо6. 
(vii) О7D4=8Gе=8е доEтуп4 длO 68теле9 6о 6Dе<O Dе<о=т4 доDо7 8 уEт4=о6к8 л8=89 
MлектDопеDед4G8. 
(viii) �о6Dе6де=8е доDо7, котоDKе <о7ут 8EполL7о64тLEO EтDо8телL=K<8 тD4=EпоDт=K<8 
EDедEт64<8. 
(ix)  8Eк8 длO 7доDо6LO 8 5е7оп4E=оEт8 EтDо8теле9. 
(x) �о7де9Eт68е Hу<4 8 оп4E=KE D45оG8E 7о= =4 7доDо6Lе 8 5е7оп4E=оEтL =4Eеле=8O. 
(xi) �тоD6е=8е 6 <4теD84лL=Kе кулLтуD=Kе DеEуDEK. 
a) !о7д4=8е EтDо8телL=о7о л47еDO 

207. �4 теDD8тоD88 ко<плекE4 пеDеEеле=GеEко7о Fе=тD4 8<еетEO доEтуп=4O 7е<лO, 7де подDOдG8к 
<о6ет удо5=о Eо7д4тL EтDо8телL=K9 л47еDL, Eкл4д <4теD84ло6 8 оD8E. Ко<плекE о7оDо6е=, 
о7D46де= 8 уко<плекто64= EотDуд=8к4<8 Eлу65K 5е7оп4E=оEт8 8 D4Eполо6е= 6д4л8 от 68лKE 
до<о6. О68д4етEO, Gто D45от4 EтDо8телL=о7о л47еDO 5удет доEт46лOтL <еEт=о<у Eоо5IеEт6у 
<8=8<4лL=ое Hу<о6ое =еудо5Eт6о. �Dо5ле<K, E6O74==Kе E <8Dо< 8 поDOдко<, <о7ут 6о7=8к=утL 
87-74 пD8EутEт68O 8 6748<оде9Eт68O D45оG8E E <еEт=K< =4Eеле=8е<. 
208. 'то5K E<O7G8тL пDо5ле<K, E6O74==Kе E <8Dо< 8 поDOдко<, котоDKе <о7ут 6о7=8к=утL пD8 
D45оте EтDо8телL=о7о л47еDO, EтDо8телL=K9 подDOдG8к 5удет отд464тL пD8оD8тет 



к64л8D8F8Dо64==K< <еEт=K< 68телO< пD8 =49<е D45оG8E. КDо<е то7о, EтDо8телL=K9 подDOдG8к 
дол6е= 5удет =47=4G8тL C!О, котоDK9 5удет кооDд8=8Dо64тL D45оту E <еEт=K<8 6л4EтO<8 
%уку<4т4, 68телO<8 деDе6=8 8 � �, Gто5K о5еEпеG8тL откDKтое о5Iе=8е E Eоо5IеEт64<8 по 
7D4D8ку D45от 8 EтDо8телL=K< <еDопD8Oт8O<. 
209.  уко6одEт6о EтDо8телL=о7о л47еDO пD8деD6864етEO поло6е=89 « 47<еIе=8O D45оG8E» 
�DуппK �Eе<8D=о7о 54=к4: пDоFеEEK 8 Eт4=д4DтK 5удут 6клNG4тL пDоFедуDK 8 пD4кт8к8, 
о5еEпеG864NI8е E4=8т4D8N 8 =4дле64Iее упD46ле=8е EтоG=K<8 6од4<8, т6еDдK<8 отEод4<8, 
топл86о<, <4теD84л4<8 8 EтDо8телL=K<8 отEод4<8. �EполL7о64=8е EуIеEт6уNIе7о 
6одоE=456е=8O, ту4лето6 E Eепт8к4<8 8 E8Eте<K упD46ле=8O отEод4<8 6 7о=е пеDеEеле=8O 
потDе5ует пDед64D8телL=о7о одо5Dе=8O � �. 

b) !тDо8телL=Kе D45отK, пD86одOI8е к о5D47о64=8N пKл8 8 747DO7=е=8N 6о7дуE4 

210. !тDо8телL=Kе D45отK <о7ут пD86од8тL к о5D47о64=8N пKл8 8 <елк8E <4теD84ло6 от 
D4Eкопок 8 д686е=8O тD4=EпоDт=KE EDедEт6. Оп4E=4O пKлL, EодеD64I4O 4E5еEто6Kе 6олок=4, 
<о6ет о5D47о6K64тLEO пD8 уд4ле=88 4E5еEто6KE кDо6елL=KE л8Eто6 87 EуIеEт6уNI8E HколL=KE 
ту4лето6. �Dо5ле<K E к4GеEт6о< 6о7дуE4 <о7ут 6о7=8к=утL 87-74 Eкл4д8Dо64=8O 6Kкоп4==о7о 
7Dу=т4 8 74пол=8теле9 6 6етDе=уN по7оду. �686е=8е тD4=EпоDт=KE EDедEт6 длO доEт46к8 
<4теD84ло6 =4 <еEто EтDо8телLEт64 <о6ет пD86еEт8 к 6K5DоE4<. 'луGHе=8е подJе7д=KE путе9 к 
пDоект=о9 плоI4дке (4ED4лLто6ое доDо6=ое покDKт8е) пD86едет к о5D47о64=8N п4Dо6, 
EодеD64I8E =е5олLH8е кол8GеEт64 токE8G=KE 8 оп4E=KE E8<8GеEк8E 6еIеEт6, т4к8E к4к летуG8е 
оD74=8GеEк8е Eоед8=е=8O 8 пол84Dо<4т8GеEк8е у7ле6одоDодK. 
211. �еDK по E<O7Gе=8N 6о7де9Eт68O пKл8 8 6K5DоEо6 6клNG4Nт: 
(i) �Kлепод46ле=8е 5удет пDо6од8тLEO 6о 6Dе<O Dе<о=т4 доDо78, Gто5K <8=8<878Dо64тL 
д8Eко<DоDт длO 5л87ле64I8E 68теле9, оEо5е==о 6 EуEуN 8 6етDе=уN по7оду. 
(ii) �4п4EK 74пол=8теле9 8 пеEк4 5удут =4кDKтK пл4Eт8ко6о9 пле=ко9, 5Dе7е=то< 8л8 дDу78<8 
<4теD84л4<8, Gто5K 875е64тL 676еH864=8O 8л8 D4EEе864=8O <елк8E G4Eт8F. 
(iii) �Dо6од8тL е6ед=е6=уN у5оDку <уEоD4. 
(iv) �4пDеI4тL EолоEто9 Eод EтDо8телL=о9 теE=8к8 пD8 D477Dу7ке <4теD84ло6 =4 плоI4дке. 
(v) �Dо876одEт6о 4ED4лLт4 5удет оEуIеEт6лOтLEO =4 D4EEтоO=88 =е <е=ее 300 < по 6етDу от 
5л8649H8E 68лKE до<о6. 
c) 'д4ле=8е 4E5еEто6KE л8Eто6 

212. �E5еEто6Kе кDо6елL=Kе л8EтK 5Kл8 о5=4Dу6е=K =4 EуIеEт6уNIе< ту4лете HколK 8 =4 
7д4=8OE, котоDKе 5удут E=еEе=K =4 <еEте пеDеEеле=8O. �о 6Dе<O EтDо8телLEт64 =о6KE о5Jекто6 
4E5еEто6Kе кDо6л8 5удут уд4ле=K. �E5еEто6Kе кDо6елL=Kе л8EтK 74кDепле=K 6 5ето=е, 8 
EуIеEт6уNIее EоEтоO=8е ук47K64ет =4 EколK 8 D4Eп4д, котоDKе <о7ут 6KE6о5од8тL 4E5еEто6Kе 
6олок=4 6о 6Dе<O пDоFеEE4 уд4ле=8O. �4 Dото 5 пок474=о EоEтоO=8е 4E5еEто6KE кDо6елL=KE 
л8Eто6. %отO 8E кол8GеEт6о =е O6лOетEO 7=4G8телL=K<, =епD468лL=ое о5D4Iе=8е <о6ет пD86еEт8 
к 6KEоко<у D8Eку 6дKE4=8O 4E5еEто6KE 6олоко=, котоDKе <о7ут под6еD7=утL 6о7де9Eт68N D45оG8E 
8 лNде9 6 5л87ле64I8E D49о=4E. 'то5K E=878тL D8Eк длO 7доDо6LO 87-74 уд4ле=8O 4E5еEто6о9 
кDо6л8, AMP 5удет G4EтLN �'О!К'. �E5еEто6Kе отEодK 5удут ED4=8тLEO отделL=о от дDу78E 
отEодо6, 4 о5D4Iе=8е E =8<8 5удет оEуIеEт6лOтLEO о5уGе==K<8 D45оG8<8 под =4д7оDо< 
EтDо8телL=о7о подDOдG8к4. �удет 8EполL7о64тLEO E8Eте<4 отEле6864=8O, о5еEпеG864NI4O 
доEт46ку =4 ко=еG=K9 о5Jект ут8л874F88 8 74EоDо=е=8е. !отDуд=8к8 D49о==о7о КОО! 5удут 
у6едо<ле=K о 6K6о7е 8 тD4=EпоDт8Dо6ке 4E5еEто6KE отEодо6. 



213. �D8 уд4ле=88 4E5еEто6о9 кDKH8 5удут пD8=OтK допол=8телL=Kе <еDK пDедоEтоDо6=оEт8, 
к4к оп8E4=о 6 пDедKдуIе< D47деле 8 6 Eоот6етEт688 E  уко6одEт6о< ��  по =4дле64Iе9 
пD4кт8ке упD46ле=8O 8 ко=тDолO 4E5еEт4. 

 

$ото V 1: �E5еEтоEодеD64I8е <4теD84лK =4 кDKHе 8 Eте=4E HколL=о7о ту4лет4 8 7д4=89 длO 
пеDеEеле=Fе6, подле64I8E E=оEу (27 =оO5DO 2023 7. 8 12 дек45DO 2023 7.) 

 

d) (у< 

214. (у< <о6ет 6о7=8к4тL 6о 6Dе<O D45отK о5оDудо64=8O 8 д686е=8O тD4=EпоDт=KE EDедEт6 =4 
плоI4дке 6о 6Dе<O EтDо8телLEт64. (у<, 6K764==K9 D45ото9 теE=8к8 6 EоGет4=88 E 
тD4=EпоDт=K<8 EDедEт64<8, <о6ет 6K7K64тL =еудо5Eт64. !тDо8телL=Kе D45отK 6 Hколе <о7ут 
=4DуH4тL Eод 74=Oт89. �о<оEо7O9Eт64/Eоо5IеEт64, пDо6864NI8е 6 D4д8уEе 250 < от D45оG8E 
плоI4док 6долL доDо7 8 D4EпDедел8телL=KE л8=89, <о7ут под6еD74тLEO пDеDK68Eто<у Hу<о6о<у 
6о7де9Eт68N, пDе6KH4NIе<у пDедел �Eе<8D=о9 оD74=874F88 7дD46ооED4=е=8O 6 55 деF85ел 
Mк6864ле=т=о7о =епDеDK6=о7о уDо6=O 6 од8= G4E «A weighting» (lAeq). 
215. 'то5K 875е64тL Hу<о6о7о 6о7де9Eт68O, Dеко<е=дуNтEO EледуNI8е <еDK, 87ло6е==Kе 6 
�'О!: 
(i) �Dо6од8тL EтDо8телL=Kе D45отK 6 Hколе 6о 6Dе<O HколL=KE к4=8кул 8 пD47д=8ко6. 
(ii) !тDо7о 74пDеI4тL Hу<=Kе D45отK, т4к8е к4к дол5ле=8е 8 E6еDле=8е поEле 18:00 65л878 68лKE 
D49о=о6. 
(iii) �оEт46лOтL 7ото6Kе Eт4лL=Kе пл4Eт8=K 8 Dе74тL/877854тL 4D<4туD=уN Eт4лL до =у6=о7о 
D47<еD4, Gто5K E6еEт8 к <8=8<у<у Dе7ку =4 плоI4дке. 



(iv) !тDо8телL=Kе D45отK E 8EполL7о64=8е< тO6ело9 теE=8к8 5удут о7D4=8Gе=K пеD8одо< E 8:00 
до 18:00. 
(v) �45л47о6Dе<е==о пDедупDе6д4тL =4Eеле=8е о 6Dе<е=8 пDо6еде=8O Hу<=KE D45от. 
(vi) &Dе5о64тL от D45оG8E =оE8тL 5еDуH8. 
(vii) !о5лNд4тL Eт4=д4DтK 87<еDе=8O Hу<4, 87ло6е==Kе 6 �D8ло6е=88 B, &45л8F4 5. 
e) 1Dо78O поG6K 

216. �KDKтK9 7Dу=т <о6ет 5KтL D47<Kт 6о 6Dе<O л86=е9. Л86=е6Kе Eток8 <о7ут пеDе=оE8тL поG6у 
6 к4=4лK 8 E=864тL 6одопDопуEк=уN EпоEо5=оEтL к4=4ло6, 4 74те< EпоEо5Eт6о64тL =46од=е=8N 6о 
6Dе<O E8лL=KE до6де9. 'Dе7<еD=4O MDо78O поG6K <о6ет пD86еEт8 к 748ле=8N к4=4ло6 8 DуGLе6. 
ОEт4тк8 от 5ето=о<еH4лок 8 <о9к8 о5оDудо64=8O <о7ут 74EоD8тL к4=4лK. 
217. �4 о5Jекте пеDеEеле=8O Eток 5удет Eтек4тL =4 окDу64NI8е откDKтKе теDD8тоD88 74 
пDедел4<8 ко<плекE4 8 <о6ет поп4EтL 6 оDоE8телL=K9 к4=4л. �одJе7д=Kе пут8 8 <оEт 
пеDеEек4Nт EетL оDоE8телL=KE к4=4ло6, котоDKе <о7ут 5KтL 74тDо=утK MDо78е9 поG6K. 1то <о6ет 

пD86еEт8 к кD4ткоEDоG=K< поEледEт68O< 6 68де по6KHе==о9 <ут=оEт8, Eток4 EтоG=KE 6од, 
E6O74==KE Eо EтDо8телLEт6о<, 8 747DO7=е=8O 87-74 =епD468лL=о7о о5D4Iе=8O E <4теD84л4<8. �4 
<еEте пеDеEеле=8O 8<еNтEO ту4летK E Eепт8к4<8, котоDKе <о6=о 8EполL7о64тL длO о7D4=8Gе=8O 
EтоG=KE 6од 8 к4=4л874F88 87 л47еDO 6о 6Dе<O EтDо8телLEт64. �4 EтDо8телL=KE плоI4дк4E 74 
пDедел4<8 уG4Eтк4 5удут пDедоEт46ле=K <о58лL=Kе ту4летK длO D45оG8E. 
218. 'то5K 875е64тL 6о7де9Eт68O =4 EуIеEт6уNI8е к4=4лK 8 DуGL8, 5удут Dе4л87о64=K 
EледуNI8е <еDK: 
(i) �удет 875е74тLEO D47<еIе=8е D4EпDедел8телL=KE Eтол5о6 65л878 6одое<о6. 
(ii) �75е749те 7е<лO=KE D45от 6 до6дл86Kе пеD8одK. 
(iii) �8к4к4O <о9к4 8л8 Dе<о=т о5оDудо64=8O / теE=8к8 =е 5удут пDо876од8тLEO 6 пDедел4E 400 < 
от 6одое<4. 
(iv) !кл4д8Dу9те 6K=утK9 7Dу=т (6клNG4O 74пол=8тел8 8 пеEок) 6д4л8 от дDе=46=KE к4=4ло6 8 
6одотоко6. 
(v) О5еEпеGLте <еDK по ко=тDолN 74 оE4дк4<8, т4к8е к4к 8ло6Kе ло6уHк8, 54DLеDK 8 тD4=Hе8 =4 
Eкл4д4E 6K=уто7о 7Dу=т4 8 74пол=8теле9 / пеEк4. 
(vi) �4пDет8тL <KтLе 5ето=о<еH4лок 8 дDу78E EтDо8телL=KE <4H8= =4 плоI4дке. 
(vii) �Dо6од8тL е6ед=е6=уN у5оDку 8 под<ет4=8е EтDо8телL=о9 плоI4дк8 8 пеD8од8GеEк8 
уд4лOтL поG6у, к4<=8 8 отEодK 87 6ело5о6, дDе=46=KE к4=4ло6 8 к4=46. 
(viii) �о 6Dе<O до6де9 пDо6еDOтL дDе=46=уN E8Eте<у, Gто5K у5ед8тLEO 6 отEутEт688 74EоDо6, 8 
уд4лOтL <4теD84лK 8 отEодK, котоDKе 5Kл8 E<KтK 6 дDе=46=уN E8Eте<у л86=е6K<8 6од4<8. 
f) !тDо8телL=K9 <уEоD 8 отEодK 

219. �о7де9Eт68O, E6O74==Kе E отEод4<8, о5D47уNI8<8EO 6о 6Dе<O под7ото6к8 плоI4дк8 8 
EтDо8телLEт64, 6клNG4Nт о5D47о64=8е 8=еDт=KE отEодо6, =4пD8<еD, 6KDKтKE 7Dу=то6, 
58оD47л474е<KE отEодо6, оG8Iе==о9 D4Eт8телL=оEт8, EтDо8телL=о7о <уEоD4, отEодо6 уп4ко6к8, 
<ет4ллоло<4, 5Kто6KE отEодо6, пуEтKE ко=те9=еDо6 87-под кD4Eк8 8 отD45от4==о7о <4Eл4. 
�4копле=8е EтDо8телL=KE отEодо6 <о6ет пD86еEт8 к 747DO7=е=8N 7е<л8 8 7Dу=то6KE 6од. 
�оте=F84лL=ое 6о7де9Eт68е 5удет E<O7Gе=о E по<оILN EледуNI8E <еD, 87ло6е==KE 6 �'О!: 
(i) !о7д4тL кDKтуN 7о=у EоDт8Dо6к8 отEодо6 =4 <еEте 6д4л8 от EуIеEт6уNI8E 8EтоG=8ко6 6одK 8 
дDе=46=KE/8DD874F8о==KE к4=4ло6. 
(ii) �K6о78тL пеDеD454тK64е<Kе отEодK Eо Eкл4д4 6 EтDо8телL=о< л47еDе длO пеDепDод468 6 
<47478=K по пеDеD45отке <уEоD4. 



(iii) КооDд8=8Dо64тL E D49о==K<8 6л4EтO<8 E5оD, тD4=EпоDт8Dо6ку 8 ут8л874F8N отEодо6 =4 
E64лке 6 д64<о4те %4ле64Dд. 
(iv) �4пDеI4тL E6874=8е отEодо6. 
(v) 'пD46ле=8е 8 ED4=е=8е топл864, отD45от4==о7о <4Eл4, оп4E=KE отEодо6 5удет оEуIеEт6лOтLEO 
6 Eоот6етEт688 E О5I8<8 Dуко6одOI8<8 пD8=F8п4<8  �� по упD46ле=8N оп4E=K<8 
<4теD84л4<8. 1то 6клNG4ет 8EполL7о64=8е Eоот6етEт6уNI8E 6тоD8G=KE 74I8т=KE ко=EтDукF89, 
EпоEо5=KE удеD6864тL 5олLHее 87 110 % E4<о7о 5олLHо7о Dе7еD6у4D4 8л8 25 % о5Jед8=е==KE 
о5Jе<о6 Dе7еD6у4Dо6 6 D49о=4E E =4д7е<=K<8 Dе7еD6у4D4<8 E о5I8< о5Jе<о< ED4=е=8O, 
D46=K< 8л8 пDе6KH4NI8< 1000 л8тDо6. 
(vi) О5оDудо64=8е длO оG8Eтк8 от D47л86о6 5удет поддеD6864тLEO =4 <еEте. � EлуG4е лN5KE 
EлуG49=KE D47л86о6 5удет пDо6од8тLEO =е<едле==4O оG8Eтк4, 8 6Eе <4теD84лK длO оG8Eтк8 5удут 
ED4=8тLEO 6 5е7оп4E=о< <еEте длO д4лL=е9Hе9 ут8л874F88. 'т8л874F8O 5удет оEуIеEт6лOтLEO 
ко<п4=8е9 по упD46ле=8N отEод4<8, =4=Oто9 подDOдG8ко< по EтDо8телLEт6у. Ко<п4=8O по 
упD46ле=8N отEод4<8 дол6=4 8<етL =ео5Eод8<Kе л8Fе=788 =4 тD4=EпоDт8Dо6ку 8 ут8л874F8N 
оп4E=KE отEодо6 до то7о, к4к т4к8е отEодK 5удут 6K6е7е=K E плоI4дк8. �одDOдG8к по 
EтDо8телLEт6у 5удет ED4=8тL коп88 л8Fе=789 ко<п4=88 8 пDедоEт46лOтL <4=8DеEтK по пеDе6о7ке 
отEодо6 =4 E6ое< ке<п8=7е длO пл4=о6о9 пDо6еDк8. 
g)  е<о=т доDо7, 6оEEт4=о6ле=8е <оEто6 8 уEт4=о6к4 л8=89 MлектDопеDед4G8 

220. �одJе7д=4O доDо74 от HоEEе к <еEт4< пеDеEеле=8O =4Eод8тEO 6 плоEо< EоEтоO=88. 'G4Eтк8 
доDо78 7Dу=то6Kе 8 по6Dе6де=K. �4 о5оG8=4E доDо78 еEтL куG8 DKEло9 поG6K, котоDKе Eо7д4Nт 
пKлL=Kе уEло68O 87-74 6етD4 8 д686е=8O тD4=EпоDт=KE EDедEт6. О5оG8=/пеHеEод=KE доDо6ек 
=ет.  еко=EтDукF8O подJе7д=KE доDо7 5удет 6клNG4тL о5оG8=K/пеHеEод=Kе доDо6к8 длO 
E=86е=8O D8Eк4 длO лNде9, 8дуI8E по доDо74<, 8 пKл8. 

  
�о6Dе6де==4O 4ED4лLт8Dо64==4O доDо74                   KEл4O 7е<лO=4O поG64 =4 о5оG8=е доDо78 
 

  
�4 доDо7е =ет о5оG8=K/пеHеEод=о9 доDо6к8   �Dу=то64O доDо74 6о7ле EтDо8телL=о9 плоI4дк8 



  
                                                   �Dу=то64O доDо74 6о7ле уG4Eтк4 пDоект4 

  
�еEт=Kе де6оGк8 по доDо7е до<о9                             �ет8 87D4Nт у доDо78 

 

$ото V 2: !оEтоO=8е подJе7д=о9 доDо78 

 

221. �ED4лLт8Dо64==4O доDо74 8 подJе7д к от6ет6ле=8N =4EодOтEO 6 EоDоHе< EоEтоO=88 до <оEт4 
1, котоDK9 =4Eод8тEO =4 от6ет6ле=88 8 6 325 <етD4E от HоEEе =4 от6ет6ле=88. 

  
�еDеEеGе=8е подJе7д=о9 доDо78 к HоEEе                 �одJе7д=4O доDо74 6 EоDоHе< EоEтоO=88 

 

 

 
�о6Dе6де==K9 подEод к <оEту-1                                 �8д E5оку =4 <оEт-1 

$ото V 3: !оEтоO=8е доDо78 от HоEEе до <оEт4 1 

 

 

 



222. �оEEт4=о6ле=8е <оEт4 �еE=4то5од <о6ет о7D4=8G8тL доEтуп длO <еEт=KE 68теле9 =4 Mт4пе 
6оEEт4=о6ле=8O. �одJе7д=Kе пут8 к деDе6=е от HоEEе �4ED4т-�4лE8 E4D4ктеD87уNтEO к4к у7к8е 
7Dу=то6Kе доDо78. �EтL уG4Eтк8 доDо7 деDе6=8 E 4ED4лLто6K< покDKт8е<, =о о=8 6 плоEо< 
EоEтоO=88. !тDо8телL=Kе 7Dу7о68к8 <о7ут 8EполL7о64тL 4лLтеD=4т86=Kе доDо78 деDе6=8 длO 
доEт46к8 <4теD84ло6 =4 <еEто пеDеEеле=8O, Gто <о6ет пD86еEт8 к по6Dе6де=8N Mт8E доDо7 
деDе6=8. �4 Dото V 4 пок474=K 4лLтеD=4т86=Kе доDо78 от HоEEе �оEт4D-�4лE8, котоDKе <о7ут 
5KтL 8EполL7о64=K. 

 
 8Eу=ок V.1: �лLтеD=4т86=Kе подJе7д=Kе пут8 

 

223. �о 6Dе<O ко=EулLт4F8о==KE 6EтDеG <еEт=Kе 68тел8 от<ет8л8, Gто деDе6е=Eк8е доDо78 5Kл8 
по6Dе6де=K 5олLH8<8 7Dу7о68к4<8, ко7д4 5Kло Eо7д4=о 6Dе<е==ое поEеле=8е. �оDо6=4O 
6одопDопуEк=4O тDу54 6 'Dт45у7е о5DуH8л4EL 87-74 G4Eто7о д686е=8O 5олLHе7Dу7=KE 
46то<о58ле9, Gто тепеDL 6K7K64ет =46од=е=8O 6 5л87ле64I8E D49о=4E 6о 6Dе<O E8лL=KE 
до6де9. �еEт=Kе 68тел8 о5еEпокое=K те<, Gто EоEтоO=8е EуIеEт6уNI8E деDе6е=Eк8E доDо7 
уEудH8тEO 87-74 д686е=8O EтDо8телL=о9 теE=8к8. �еEт=Kе 68тел8 попDоE8л8 6клNG8тL 
улуGHе=8е деDе6е=Eк8E доDо7 6 пDоект. 
224. �о 6Dе<O 8то7о6о9 6EтDеG8 E К'!8�О о5Eу6д4лоEL, Gто <о6=о поEтDо8тL о5Jе7д=уN доDо7у, 
Gто5K пDедот6D4т8тL 8EполL7о64=8е тD4=EпоDт=K<8 EDедEт64<8 по6Dе6де==о7о <оEт4. Од=4ко 



<оEт 5Kл 6оEEт4=о6ле= <еEт=K< Eуку<4то<, 8, Eледо64телL=о, =ет =ео5Eод8<оEт8 6 
пDедл474е<о9 о5Jе7д=о9 доDо7е. �4 EJе7д4E E HоEEе �оEт4D-�4лE8 5удут уEт4=о6ле=K 7=4к8, 
74пDеI4NI8е 5олLH8< 8 тO6елK< тD4=EпоDт=K< EDедEт64< 8EполL7о64тL у7к8е деDе6е=Eк8е 
доDо78 6 'Dт45у7е. 
225. �л8телL=4O п4Dко6к4 EтDо8телL=о9 теE=8к8 =4 доDо74E, 8EполL7уе<KE 68телO<8 деDе6=8, 
5удет 74пDеIе=4, Gто5K 875е64тL 5лок8Dо6к8 у7к8E деDе6е=Eк8E доDо7 (Dото V-6). �D4D8к 
EтDо8телL=KE D45от 5удет Eо7л4Eо64= E <еEт=K<8 68телO<8, Gто5K уGеEтL EелLEкоEо7O9Eт6е==Kе 
D45отK 8 E5оD уDо64O, 4 т4к6е HколL=Kе к4=8кулK. 
226. �4 Mт4пе под7ото6к8 к EтDо8телLEт6у 6K5D4==K9 подDOдG8к под7ото68т отGет о5 оFе=ке 
EоEтоO=8O доDо78 длO оFе=к8 EоEтоO=8O подJе7д=KE путе9 пDоект4. 1то по<о6ет 6 Dе4л874F88 
<еD по пDедот6D4Iе=8N лN5KE пеDе5ое6 6 <еEт=о9 тD4=EпоDт=о9 E8Eте<е, 6K764==KE 
д686е=8е<, E6O74==K< E пDоекто<. ОтGет дол6е= 5KтL одо5Dе= PIC 8 PIG до =4G4л4 EтDо8телL=KE 
D45от по пDоекту. 

 

$ото V 4: !оEтоO=8е доDо7 (29 8N=O 2022 7.) 
 

h) ОED4=4 тDуд4 8 теE=8к4 5е7оп4E=оEт8 6о 6Dе<O EтDо8телLEт64 

227. !тDо8телL=Kе D45отK <о7ут ок47K64тL =е5л47опD8Oт=ое 6о7де9Eт68е =4 7доDо6Lе 8 
5е7оп4E=оEтL EтDо8телL=KE D45оG8E. �DоDеEE8о=4лL=Kе D8Eк8 6клNG4Nт MD7о=о<8GеEк8е D8Eк8, 
E6O74==Kе E пеDе=оEко9/подJе<о< тO6елKE <4теD84ло6 8 о5оDудо64=8O, 6о7де9Eт68е< 
GDе7<еD=о7о 8 поEтоO==о7о Hу<4, 6о7де9Eт68е< оп4E=KE <4теD84ло6, о7=е6K<8 D45от4<8 
(=4пD8<еD, E64Dко9), D45ото9 =4 6KEоте 8 8EполL7о64=8е< леEо6, 4 т4к6е D4EпDоEтD4=е=8е< 
8=DекF8о==KE 745оле64=89, т4к8E к4к COVID-19. !тDо8телL=K9 подDOдG8к дол6е= 5удет 
пDедпD8=OтL EледуNIее: 



(i) !о5лNд4тL &Dудо6о9 кодекE &4д68к8Eт4=4. 
(ii) �Dо6од8тL о5уGе=8е по оED4=е тDуд4 8 теE=8ке 5е7оп4E=оEт8, пDо6од8тL е6е=еделL=Kе 
8=EтDукт468 по оED4=е тDуд4 8 теE=8ке 5е7оп4E=оEт8 8 по6KH4тL оE6едо<ле==оEтL о 
пDоD8л4кт8ке 8=DекF8о==KE 745оле64=89. 
(iii) �=едDOтL  'О!К' 6 Eоот6етEт688 E Dуко6одOI8<8 пD8=F8п4<8 оED4=K тDуд4 8 теE=8к8 
5е7оп4E=оEт8. 
(iv) �47=4G8тL =4 <еEте поEтоO==о7о !��. 

(v) �47=4G8тL C!О 6 к4GеEт6е ко=т4кт=о7о л8F4 =4 <еEте длO полуGе=8O/Dе478Dо64=8O =4 64ло5K 
от Eоо5IеEт64. 
(vi) &Dе5у9те от D45оG8E =оE8тL EDедEт64 8=д868ду4лL=о9 74I8тK, т4к8е к4к к4Eк8, пеDG4тк8, 
Dе<=8 5е7оп4E=оEт8, 74I8т=Kе 5от8=к8 8 оGк8, 6 7468E8<оEт8 от 74д4G8. 
(vii)  47<еI49те 7=4к8 5е7оп4E=оEт8/=4по<8=4=8O длO D45оG8E =4 EтDо8телL=о9 плоI4дке. 
(viii) О5еEпеGLте доEт4тоG=ое оE6еIе=8е 6 EтDо8телL=о< л47еDе 6 =оG=ое 6Dе<O. 
(ix) О5еEпеGLте оE6еIе=8е, 54DD8к4дK/74I8т=Kе о7D46де=8O =4 D4Eкопк4E 8 Eкл4д4E 
74пол=8теле9. 
(x) О5еEпеGLте Eоот6етEт6уNI8е укDKт8O, пDедупDе6д4NI8е 7=4к8 8 оE6еIе=8е =4 откDKтKE 
D4Eкопк4E. 
(xi) О5еEпеGLте ту4летK длO D45оG8E =4 к46до9 EтDо8телL=о9 плоI4дке 8 о5еEпеGLте 
E6ое6Dе<е==уN ут8л874F8N EтоG=KE 6од. 
(xii) О5еEпеGLте 4птеGк8 пеD6о9 по<оI8 6 EтDо8телL=о< л47еDе длO о5еEпеGе=8O =е<едле==о9 
<ед8F8=Eко9 по<оI8 6 EлуG4е =еEG4Eт=KE EлуG4е6. 
(xiii) !о5лNд49те пDотоколK по оED4=е тDуд4 8 теE=8ке 5е7оп4E=оEт8 COVID-19. 

(xiv) �Eл8 =4 EтDо8телL=о9 плоI4дке Eоо5I4етEO о =4DуHе=88 пD468л 5е7оп4E=оEт8 8л8 оп4E=KE 
уEло68OE, 6Eе D45отK дол6=K 5KтL =е<едле==о пDекD4Iе=K до теE поD, пок4 =е 5удет пDо6еде=4 
пDо6еDк4 4дек64т=оEт8 <еD 5е7оп4E=оEт8 тDуд4 8 =е 5удут пD8=OтK коDDект8DуNI8е <еDK длO 
уEтD4=е=8O 6KO6ле==KE пDо5ело6 6 E8Eте<е о5еEпеGе=8O 5е7оп4E=оEт8 тDуд4. 
i) �доDо6Lе 8 5е7оп4E=оEтL Eоо5IеEт64 

228.  8Eк8 длO 7доDо6LO 8 5е7оп4E=оEт8 Eоо5IеEт64, E6O74==Kе Eо EтDо8телL=K<8 D45от4<8, 
6клNG4Nт =еудо5Eт64 от Hу<4, пKл8 6 6о7дуEе, <уEоD4 8 74тоDо6 =4 доDо74E, пD8ле74NI8E к 
EтDо8телL=K< плоI4дк4<. %отO пD8ток D45оGе9 E8лK =е о68д4етEO, <о7ут 6о7=8к=утL EоF84лL=Kе 
пDо5ле<K, E6O74==Kе E пD8теE=е=8O<8 8л8 7е=деD=K< =4E8л8е< 8 D4EпDоEтD4=е=8е< 8=DекF89, 
пеDед4NI8EEO поло6K< путе< (��'/!���) 8 COVID-19. �лO упD46ле=8O пDо5ле<4<8 
5е7оп4E=оEт8 8 7доDо6LO Eоо5IеEт64 5удут Dе4л87о64=K EледуNI8е <еDK по E<O7Gе=8N 
поEледEт689: 
(i) �Dо6еде=8е ко=EулLт4F89 E Eоо5IеEт64<8 по пDоекту 8 7D4D8ку D45отK. 
(ii) !о5лNде=8е уEт4=о6ле==KE 74ко=од4телLEт6о< тDудо6KE =оD< 8 пDоFедуD. 
(iii) �Dо6еде=8е тDе=8=7о6 по по6KHе=8N оE6едо<ле==оEт8 о EекEу4лL=KE до<о74телLEт64E 8 
7е=деD=о< =4E8л88 E Eоо5IеEт6о<. 
(iv) �Dо6еде=8е оE6едо<ле==оEт8 о пDоD8л4кт8ке пеDед464е<KE 8=DекF89 (��'/!���) 8 COVID-

19. 

(v) !о7д4=8е Eоо5IеEт64 � �. 

j)  е<о=т доDо78 6о7ле кл4д58I4 8 7е<лO=Kе D45отK длO 7д4=89 8 опоD MлектDопеDед4G8 

229. �е876еEт=KE <еEт D4Eполо6е=8O <4теD84лL=KE 8 кулLтуD=KE DеEуDEо6 6о7ле <еEт4 
пеDеEеле=8O =ет, 74 8EклNGе=8е< кл4д58I4, D4Eполо6е==о7о 6 250 < от <еEт4 пеDеEеле=8O. 



�Dоекто< 5удет пDедуE<отDе=о о7D46де=8е длO 74I8тK кл4д58I4 от по6Dе6де=89, котоDKе 
<о7ут 6о7=8к=утL 6о 6Dе<O Dе<о=т4 доDо78. 
230. � EлуG4е EлуG49=о7о о5=4Dу6е=8O <4теD84лL=KE кулLтуD=KE DеEуDEо6, т4к8E к4к 4DтеD4ктK 8 
Dел8к688, 6о 6Dе<O EтDо8телLEт64 5удет Dе4л87о64=4 пDоFедуD4 EлуG49=о9 =4Eодк8, котоD4O 
6клNG4ет EледуNIее: 
(i) !тDо8телL=Kе D45отK 5удут =е<едле==о оEт4=о6ле=K. 
(ii) PIG 5удет =е<едле==о пDо8=DоD<8Dо64= о EлуG49=о9 =4Eодке; 8 � � E6O6етEO E 
�8=8EтеDEт6о< кулLтуDK (MК). 

(iii) MК пDо6едет оE<отD =4 <еEте, Gто5K опDедел8тL 7=4G8<оEтL EлуG49=о9 =4Eодк8. 
(iv) MК 8 � � опDеделOт =ео5Eод8<Kе <еDK по E<O7Gе=8N поEледEт689, котоDKе <о7ут 6клNG4тL 
EтDуктуD8Dо64==Kе D4Eкопк8. 
(v) '=8Gто6е=8е, по6Dе6де=8е, поDG4 8л8 EокDKт8е <4теD84лL=KE кулLтуD=KE DеEуDEо6 5удут 
EтDо7о 74пDеIе=K. 
(vi) !тDо8телL=Kе D45отK 6о7о5=о6OтEO E D47DеHе=8O �8=8EтеDEт64 ко<<у=8к4F8о==KE 
теE=оло789. 
3. $474 MкEплу4т4F88 

231. �оEледEт68O D47K MкEплу4т4F88 8 пDо5ле<K пл4=о6о7о о5Eлу6864=8O, EледуNI8е: 
a) �4EоDе=8е доDо6=KE 6одопDопуEк=KE тDу5 

232. �лO о5еEпеGе=8O отEутEт68O отло6е=89 6 доDо6=KE 6одопDопуEк=KE тDу54E 8 дDе=46=KE 
к4=4л4E D49о==K9 ко<8тет 5удет пDо6од8тL Dе7улOD=K9 оE<отD 8 оG8Eтку 6одопDопуEк=KE тDу5 8 
к4=4ло6. 
b) О5D47о64=8е 8 ут8л874F8O отEодо6 

233. �4 о5Jекте пеDеEеле=8O 5удут о5D47о6K64тLEO т6еDдKе отEодK, т4к8е к4к 58оD47л474е<Kе 
отEодK, =е58оD47л474е<Kе 8 пеDеD454тK64е<Kе <4теD84лK. ОтEодK 5удут 6клNG4тL оп4E=Kе 
отEодK, т4к8е к4к Eло<4==Kе л4<пK, 8EполL7о64==Kе 54т4Dе8 8 дDу7ое отD45от4==ое 
MлектDоо5оDудо64=8е. �=едDе=8е E8Eте<K EоDт8Dо6к8 8 E5оD4 отEодо6 74D4=т8Dует, Gто 
=е58оD47л474е<Kе отEодK 8 оп4E=Kе отEодK =е 5удут =4к4пл864тLEO =4 о5Jекте пеDеEеле=8O. �4 
E64лке д64<о4т4 %4ле64Dд 5удет оEуIеEт6лOтLEO е6ед=е6=4O ут8л874F8O отEодо6. 
c) 'пD46ле=8е D4Eт8телL=оEтLN 6долL л8=88 MлектDопеDед4G8 

234. �долL полоEK от6од4 л8=88 MлектDопеDед4G8 5удет пDо6од8тLEO пеD8од8GеEкое 
о5Eлу6864=8е D4Eт8телL=оEт8. 1то =ео5Eод8<о длO то7о, Gто5K 6еDт8к4лL=Kе 8 7оD87о=т4лL=Kе 
747оDK Eоот6етEт6о64л8 тDе5о64=8O< 5е7оп4E=оEт8 =е <е=ее 3 <. � �'О! пDедл474NтEO 
EледуNI8е <еDK: 
(i)  е7улOD=ое о5Eлу6864=8е л8=88 MлектDопеDед4G8 путе< пDо6еDк8 747оDо6 л8=88 8 о5Dе7к8 
деDе6Lе6, =4DуH4NI8E тDе5о64=8O 5е7оп4E=оEт8. 
(ii) �EполL7о64тL DуG=Kе <етодK уEод4 74 D4Eт8телL=оEтLN 8 74пDет8тL 8EполL7о64=8е E8<8к4то6 
(7еD58F8до6/пеEт8F8до6). 
235. �Eе <еDопD8Oт8O по упD46ле=8N D4Eт8телL=оEтLN 6долL л8=88 MлектDопеDед4G8 5удут 
оEуIеEт6лOтLEO D49о=о< GеDе7 7оEуд4DEт6е==уN M=еD7око<п4=8N. К'!8�О-!ОО! пDодол68т 
ко=тDол8Dо64тL упD46ле=8е D4Eт8телL=оEтLN 8 отG8тK64тLEO пеDед ��  до теE поD, пок4 отGет о 
746еDHе=88 пDоект4 =е 5удет пDедEт46ле= 6 �� . 
 

 

 



d) 'пD46ле=8е EтоG=K<8 6од4<8 

236. �4 о5Jекте пеDеEеле=8O 5удут уEт4=о6ле=K =4дле64I8е E8Eте<K оG8Eтк8 EтоG=KE 6од 8 
Eепт8к8 длO пDедот6D4Iе=8O E5DоE4 747DO7=е==о9 6одK 6 окDу64NIуN EDеду. �D468лL=о 
EпDоект8Dо64==Kе 6K7Dе5=Kе O<K 6 Hколе пDедот6D4тOт E5DоE 747DO7=е==о9 6одK 6 дDе=46=Kе 

к4=4лK. �ео5Eод8<о о5Eлу6864=8е Eепт8ко6 путе< Dе7улOD=о9 оG8Eтк8 от Hл4<4, Gто5K 
74D4=т8Dо64тL, Gто пеDел86 =е по6л8Oет =4 пD8ле74NI8е теDD8тоD88 8 дDе=46=Kе к4=4лK. �лO 
E5оD4 Eепт8ко6 87 Eепт8ко6 потDе5уетEO кооDд8=4F8O E D49о=о<. 
e) 'пD46ле=8е <ед8F8=Eк8<8 отEод4<8 

237. &екуI4O E8Eте<4 упD46ле=8O <ед8F8=Eк8<8 отEод4<8 6 <ед8F8=Eко< Fе=тDе 5удет 
улуGHе=4, Gто5K <8=8<878Dо64тL 6K5DоEK 6 4т<оEDеDу 87 <уEоDоE6874телL=о7о 746од4 8 
EокD4т8тL 6KIел4G864=8е оп4E=KE <ед8F8=Eк8E отEодо6 6 7Dу=то6Kе 6одK. �удет пDо6од8тLEO 
Dе7улOD=K9 <о=8тоD8=7 8 о5Eлу6864=8е <уEоDоE6874телL=о7о 746од4, 46токл464 8 O<. 
f) �доDо6Lе 8 5е7оп4E=оEтL =4Eеле=8O 

238. Л8=8O MлектDопеDед4G8 <о6ет пDедEт46лOтL поте=F84лL=уN оп4E=оEтL, т4куN к4к поD46е=8е 
MлектD8GеEк8< токо< 87-74 EлуG49=о7о отк474 л8=88. �удет пDо6од8тLEO пDо7D4<<4 
8=DоD<8Dо64=8O =4Eеле=8O 8 ко=EулLт4F88 E 68телO<8. 1т8 <еDопD8Oт8O 5удут пDо6од8тLEO 6 
деDе6=OE, D4Eполо6е==KE 6долL л8=88 MлектDопеDед4G8, 8 6окDу7 =8E. �о7де9Eт68O 5удут 
E<O7Gе=K E по<оILN EледуNI8E <еD: 
(i)  4EпDоEтD4=е=8е 8=DоD<4F88 о пDоекте о поте=F84лL=KE D8Eк4E длO 7доDо6LO 8 5е7оп4E=оEт8, 
E6O74==KE E MлектD8GеEт6о<. 
(ii) !отDуд=8к8 Eлу65K 5е7оп4E=оEт8 8 8=EпекF88 5удут 74де9Eт6о64=K длO пDедот6D4Iе=8O 
E8Iе=8O л8=89 8 к45еле9, котоDое <о6ет пD86еEт8 к =еEG4Eт=о<у EлуG4N E MлектD8GеEк8< токо<. 
(iii)  е78EтD8Dо64тL =еEG4Eт=Kе EлуG48, E6O74==Kе E л8=8е9 D4EпDеделе=8O MлектDоM=еD788. 
(iv)  е78EтD8Dо64тL пDо5ле<K Eоо5IеEт64 6 Eоот6етEт688 E � �. 

 

VI.  �!К /&�� ��$О ��&��, КО�!'Л0&�&�� � ''�!&�� 

A. Ко=EулLт4F88 

239. Ко=EулLт4F88 E 748=теDеEо64==K<8 EтоDо=4<8 пDо6од8л8EL E 23 по 24 8N=O 2022 7од4 длO 
D4EпDоEтD4=е=8O 8=DоD<4F88 о пDоекте 8 е7о о68д4е<KE поEледEт68OE, 4 т4к6е длO E5оD4 
8=DоD<4F88 о Eоот6етEт6уNI8E Mколо78GеEк8E пDо5ле<4E 6 Eоо5IеEт6е. Ко=EулLт4F88 E 

748=теDеEо64==K<8 EтоDо=4<8 6клNG4л8 ко=EулLт4F8о==Kе 6EтDеG8 E Eел4<8 6 д64<о4те �ол8 
�4D, EлуG49=Kе 8=теD6LN 8 6EтDеG8 E D49о==K< оD8Eо< 8 КОО!. 
240. Ко=EулLт4F8о==Kе 6EтDеG8. Ко=EулLт4F88 E Eел4<8 пDо6од8л8EL 6 д64<о4те �ол8 �4D, 
D49о=е �64лол8дд8= �4лE8 E 23 по 24 8N=O 2022 7од4. �4 6EтDеG4E пD8EутEт6о64л8 68тел8 Eел 
!4=о4т, �еE=4то5од, $уD<4=о6, �D46д4 8 'Dт45у7. �EтDеG8 пDо6од8л8EL 6 EDед=е9 Hколе 6 Eеле 
!4=о4т, о5IеEт6е==о< 74ле 6 Eеле �D46д4 8 =4G4лL=о9 Hколе 6 Eеле 'Dт45у7. 
241. � ко=EулLт4F8о==KE 6EтDеG4E пD8=Oл8 уG4Eт8е 122 Gело6ек4, 6 то< G8Eле 75 <у6G8= 8 47 
6е=I8=. �Kл8 пDедEт46ле=K ко<по=е=тK пDоект4, 4 т4к6е уG4Eт=8к4< 5Kл4 D47JOE=е=4 FелL 
6EтDеG8 8 о5оE=о64=8е тDе5о64=89 по 74I8те окDу64NIе9 EDедK, пD8о5Dете=8N 7е<л8 8 
пеDеEеле=8N, 4 т4к6е 7е=деD. �оEле Mто7о EоEтоOлоEL откDKтое о5Eу6де=8е пDо5ле< 8 
пDедло6е=89. 
242. �о7D46е=89 по пDедло6е==о<у пDоекту =е 5Kло. 'G4Eт=8к8 6KEк474л8 =еEколLко 
пDедло6е=89 8 Dеко<е=д4F89, к4к ук474=о 6 &45л8Fе VI-1. 

 



&45л8F4 VI-1: Ко<<е=т4D88 8 пDедло6е=8O от ко=EулLт4F89 E деDе6=O<8 

!4AB4F E9?9A<9 �F69F 

(i) "3@0645=85 =0G0;L=KE 8 A@54=8E H:>; 
4;O 157>?0A=>AB8 45B59. 
(ii) �>AAB0=>2;5=85 H:>;, 0 =5 B>;L:> 
AB@>8B5;LAB2> BC0;5B>2; ?@54>AB02;5=85 
4>?>;=8B5;L=KE :;0AA=KE :><=0B. 
(iii) ';8G=>5 >A25I5=85, B0: :0: 4>@>38 
B5<=K5 =>GLN 8 =5157>?0A=K5. 
(iv) $5<>=B H:>;L=KE A8AB5< >B>?;5=8O. 
(v) %B0@K9 B@0=AD>@<0B>@ =0 C3;C 
A@54=59 H:>;K ?5@53@C605BAO 8 2K7K205B 
?5@51>8 2 ?>40G5 M;5:B@>M=5@388. �N48 
?@54;>68;8 8<5BL >B45;L=K9 
B@0=AD>@<0B>@ 4;O A>>1I5AB20 8 
>B45;L=K9 4;O H:>;K 8 <548F8=A:>3> 
F5=B@0. 
(vi) #@54>AB028BL <0H8=C A:>@>9 ?><>I8 
8;8 B@0=A?>@B=>5 A@54AB2> 4;O 4>AB02:8 
?0F85=B>2 2 1>;L=8FK 87 <548F8=A:8E 
F5=B@>2. �N48 8A?>;L7CNB A2>8 
A>1AB25==K5 45=L38 =0 15=78=, GB>1K 
>B257B8 ?0F85=B>2 2 1>;L=8FC, 8;8 8=>340 
8A?>;L7CNB 25;>A8?54. 
(vii) "15A?5G8BL >3@0645=85 :;0418I0, 
:>B>@>5 =0E>48BAO 24>;L 4>@>38, 
254CI59 : ?@>B82>3@04>2><C F5=B@C. 

#@54;>65=8O 8 @5:><5=40F88 1C4CB 
CGB5=K ?@8 45B0;L=>< 
?@>5:B8@>20=88. 
�+% @0AA<>B@8B ?@8>@8B5B=K5 
?>B@51=>AB8 45@525=L 2 A2O78 A 
F5;O<8 ?@>5:B0. 
�+% =5 <>65B 27OBL =0 A51O 
>1O70B5;LAB2> ?> @50;870F88 2A5E 
?@54;>65=89, => >F5=8B MB8 
@5:><5=40F88 8 >?@545;8B, :0:85 87 
=8E <>3CB 1KBL ?@>D8=0=A8@>20=K 2 
@0<:0E ?@>5:B0. 
�+% /�$# ?@>2545B ?>A;54CNI85 
:>=AC;LB0F88 A A>>1I5AB20<8 4;O 
>1AC645=8O >:>=G0B5;L=>3> ?@>5:B0. 
�>=AC;LB0F88 1C4CB ?@>4>;60BLAO 2 
B5G5=85 2A53> ?5@8>40 @50;870F88 
?@>5:B0. 

E9?9A<9 �D4684 BF69F К'!<�� 

(i) %B048>= 8;8 83@>20O ?;>I04:0 2 
#@0245. 
(ii) #>445@6:0 ;8F A >3@0=8G5==K<8 
2>7<>6=>ABO<8. 
(iii) �0:C?:0 >1>@C4>20=8O 4;O 
<548F8=A:>3> F5=B@0, B0: :0: 2 F5=B@5 
5ABL B>;L:> 107>2K5 B5@<><5B@K, 25AK 8 
1KB>2>9 E>;>48;L=8:. !5B =04;560I53> 
E>;>48;L=>3> E@0=8;8I0 4;O 20:F8=. 

#@54;>65=8O 8 @5:><5=40F88 1C4CB 
CGB5=K ?@8 45B0;L=>< 
?@>5:B8@>20=88. 
�+% @0AA<>B@8B ?@8>@8B5B=K5 
?>B@51=>AB8 45@525=L 2 A2O78 A 
F5;O<8 ?@>5:B0 ?> C?@02;5=8N 
AB8E89=K<8 154AB28O<8 8 
?>2KH5=8N CAB>9G82>AB8. 
�+% 1C45B ?@87=0B5;5= 70 
?>;CG5=85 8=D>@<0F88 > 
?>445@6:5, =5>1E>48<>9 4;O ;8F A 
>3@0=8G5==K<8 2>7<>6=>ABO<8 2 
45@52=5. 

E9?9A<9 #DF45G; BF69F К'!<�� 

(i) $5<>=B 2>4>?@>?CA:=>9 B@C1K =0 
4>@>35, :>B>@0O 1K;0 ?>2@5645=0 2> 
2@5<O AB@>8B5;LAB20 ?@>B82>3@04>2>3> 
F5=B@0. #>2@5645==0O 2>4>?@>?CA:=0O 
B@C10 =5 8<55B 4>AB0B>G=>9 ?@>?CA:=>9 
A?>A>1=>AB8 4;O >B2>40 AB>:>2 8 
2K7K205B 70B>?;5=85 2 MB>< @09>=5. 
(ii) "15A?5G5=85 2>4>A=0165=8O, 

#@54;>65=8O 8 @5:><5=40F88 1C4CB 
CGB5=K ?@8 45B0;L=>< 
?@>5:B8@>20=88. 
�+% @0AA<>B@8B ?@8>@8B5B=K5 
?>B@51=>AB8 45@525=L 2 A2O78 A 
F5;O<8 ?@>5:B0. 
�A5<8@=K9 10=: =0E>48BAO =0 



?>A:>;L:C B5@@8B>@8O 2 '@B01C75 
=0E>48BAO =0 2>72KH5==>AB8, 8 :>;>4FK 
=5>1E>48<> :>?0BL =0 3;C18=5 > 80 
<5B@>2; =5E20B:0 2>4K ?@82>48B : 
701>;520=8O<, A2O70==K< A 2>4>9. 
(iii) �>;LH5 :;0AA=KE :><=0B 4;O =>2>9 
H:>;K. 
(iv) �0:C?:0 >1>@C4>20=8O 4;O 
<548F8=A:>3> F5=B@0. 

?@>428=CB>9 AB0488 @50;870F88 
?@>5:B0 2>4>A=0165=8O, :>B>@K9 
>E20B8B 25AL @09>=. 
�><?>=5=B 2>4>A=0165=8O 1K; 
8A:;NG5= 87 ?@>5:B0 ��$, GB>1K 
871560BL 4C1;8@>20=8O. 

��  - �784тEк89 54=к D4768т8O, К'!8�О - Ко<8тет по GDе76KG49=K< E8ту4F8O< 8 7D46д4=Eко9 о5оDо=е, 
� � - �Dупп4 по Dе4л874F88 пDоекто6 

 

243. �EтDеG4 E Ко<8тето< по оED4=е окDу64NIе9 EDедK. 28 8N=O 2022 7од4 EоEтоOл4EL 6EтDеG4 E 
КОО! длO о5Eу6де=8O тDе5о64=89 О�О! длO пDедл474е<о7о допол=8телL=о7о D8=4=E8Dо64=8O, 
пDоFедуD О�О!, 4 т4к6е Mколо78GеEк8E 8 EтDо8телL=KE D47DеHе=89, котоDKе потDе5уNтEO до 
Dе4л874F88 пDоект4. 
244. �DедEт468телL КОО! 7-64 !од4тE49Dо64 (4Eло от<ет8л4, Gто 6 Eуку<4т4E еEтL от6етEт6е==Kе 
EотDуд=8к8 К'!8�О. К'!8�О =ео5Eод8<о 5удет полуG8тL одо5Dе=8е �11 от Fе=тD4лL=о7о уDо6=O 
КОО! длO пDоект4. � т4к6е D47DеHе=8O =4 ут8л874F8N ACM =4 ко<<у=4лL=о9 E64лке т6еDдKE 
отEодо6 6 д64<о4те %4ле64Dд 8 =4 EтDо8телL=Kе D45отK, т4к8е к4к 8EполL7о64=8е 7е<л8 длO 
EтDо8телLEт64 л47еDO, 6Kе<к4 доDо6=о7о покDKт8O, уд4ле=8е деDе6Lе6, E5DоE отEодо6, 
6Dе<е==ое ED4=е=8е EтDо8телL=KE отEодо6, уд4ле=8е EтDо8телL=KE отEодо6 8 т. д. �оEле 
полуGе=8O D47DеHе=8O �11 от Fе=тD4лL=о7о уDо6=O КОО! К'!8�О =4п8Hет 8л8 пDо8=DоD<8Dует 
Eуку<4т о <еDопD8Oт8OE пDоект4, 7D4D8ке Dе4л874F88 8 дDу78E дет4лOE. � к46до< D49о=е еEтL 
Eоот6етEт6уNI8е ко<8тетK E пеDEо=4ло<, пDедEт46лONI8< КОО!, E4=8т4D8N, 7дD46ооED4=е=8е, 
EтDо8телLEт6о, о5D47о64=8е, тD4=EпоDт 8 дDу78е отD4Eле6Kе ко<8тетK. �опDоEK пDоект4 5удут 
о5Eу6д4тLEO EотDуд=8к4<8 Mт8E ко<8тето6 6 %уку<4те. �одDо5=4O 8=DоD<4F8O о пDоекте 8 
Dе7N<е отGет4 �11 =4 т4д68кEко< O7Kке дол6=K 5KтL пDедEт46ле=K 6 %уку<4т, котоDK9 
D4EE<отD8т 8 д4Eт Dеко<е=д4F88, еEл8 тDе5уетEO допол=8телL=4O 8=DоD<4F8O. �олуGе=8е 
одо5Dе=8O �11 =4 EтDо8телL=Kе D45отK 749<ет од8= <еEOF. &олLко поEле полуGе=8O одо5Dе=8O 
�11 пDоект <о6ет 5KтL пDодол6е=. 
245. 'то к4E4етEO <о=8тоD8=74, %уку<4т 5удет пDо6од8тL <о=8тоD8=7 е6е<еEOG=о 8 7ото68тL отGет 
E 8EполL7о64=8е< H45ло=4 %уку<4т4. �ет =ео5Eод8<оEт8 6 пDедEт46ле=88 К'!8�О отGето6 о 
<о=8тоD8=7е 6 %уку<4т КОО!. 

246. � EтD4=е 74пDеIе=о 8EполL7о64=8е 4E5еEт4 87 !оед8=е==KE (т4то6 8 �6Dопе9Eко7о !оN74. 
�E5еEто6Kе 87дел8O, 8EполL7уе<Kе 6 &4д68к8Eт4=е, пDедEт46лONт Eо5о9 Fе<е=т=K9 4E5еEт 
<еEт=о7о пDо876одEт64. !тDо8телL=K9 подDOдG8к дол6е= 5удет 8<етL пл4= упD46ле=8O отEод4<8 
4E5еEт4. 
247. �EтDеG4 6 %уку<4те D49о=4 �64лол8дд8= �4лE8. �EтDеG4 EоEтоOл4EL 6 %уку<4те D49о=4 
�64лол8дд8= �4лE8 29 8N=O 2022 7од4. �4 =е9 пD8EутEт6о64л8 74<еEт8телL пDедEед4телO D49о=4, 
=4G4лL=8к 7D46д4=Eко9 о5оDо=K, 74<еEт8телL =4G4лL=8к4 7D46д4=Eко9 о5оDо=K 8 пDедEт468тел8 
К'!8�О. �4 6EтDеGе о5Eу6д4л8EL EледуNI8е 6опDоEK: 
(i) �Kло 5K поле7=о, еEл8 5K пDоект <о7 пDедоEт468тL ко=те9=еDK длO т6еDдKE отEодо6 длO 
деDе6е=L. 



� D49о=е еEтL E64лк4 6 д64<о4те %4ле64Dд, 7де ут8л878DуNтEO т6еDдKе 5Kто6Kе отEодK. 'G4Eток 
=4Eод8тEO 6 12 к< от Fе=тD4 D49о=4 8 6 18-21 к< от д64<о4т4 �ол8 �4D 8 пDот86о7D4до6о7о Fе=тD4 
К'!8�О. 

(ii) �лоI4дL E64лк8 EоEт46лOет 4 74. 
(iii) 'то к4E4етEO о5оDудо64=8O, 6 D49о=е еEтL д64 <уEоDо6о74, од8= Eепт8ко-E5оDI8к, од8= 
46токD4=, од=4 пол864лL=4O <4H8=4, од8= 5улLдо7еD, GетKDе 7Dу7о68к4 8 од8= кD4=-по7Dу7G8к. 
(iv) �EтL Eт4Dое оG8Eт=ое EооDу6е=8е, поEтDое==ое 6 1950-E 7од4E, котоDое =е Dу=кF8о=8Dует. 
!тоG=Kе 6одK 87 Fе=тD4 7оDод4 E4<отеко< поEтуп4Nт 6 464D89=K9 Eл86=о9 колодеF. 
(v) �4<еEт8телL пDедEед4телO D49о=4 пл4=8Dует пDоект E 5Nд6ето< 6 9 <8лл8о=о6 Eо<о=8 по 
EтDо8телLEт6у =о6о7о оG8Eт=о7о EооDу6е=8O E пDо876од8телL=оEтLN 4000 <3/де=L.  49о= =4G4л 
пDокл4дку =о6о9 к4=4л874F8о==о9 Eет8 E 2018 7од4, 4 746еDHе=8е 74пл4=8Dо64=о =4 ко=еF 2022 
7од4. 
(vi) !т8E89=Kе 5едEт68O, E котоDK<8 Eт4лк864NтEO D49о= 8 деDе6=8, - Mто 7D4д 8 =46од=е=8O. �D4д 
=4=оE8т уIеD5 поEе64< 8 о5KG=о пDо8EEод8т 6 Dе6D4ле 8 <4Dте, 4 8=о7д4 пDодол64етEO до 8NлO. 
�46од=е=8O пDо8EEодOт 87-74 =едоEт4тоG=о9 пDопуEк=о9 EпоEо5=оEт8 дDе=46=KE к4=4ло6. 
�е<летDOEе=8O 6 D49о=е EлуG4NтEO оGе=L Dедко. 
(vii) �D8 под4Gе 74O6к8 =4 одо5Dе=8е D49о=4 от D49о=4 8 пDедEт468телO КОО! 6 %уку<4те К'!8�О 

=ео5Eод8<о 5удет пDедEт468тL пол=K9 п4кет дет4лL=о7о пDоект4 ко=тD4кт4. �4O6к4 5удет 
оFе=е=4 Gле=4<8 D47л8G=KE ко<8тето6 E оE<отDо< <еEт4. Одо5Dе=8е пDоект4 <о6ет 5KтL 
полуGе=о 6 теGе=8е од=о9 =едел8. Одо5Dе=8е 5удет 6клNG4тL Mколо78GеEкуN оFе=ку, поEколLку 
КОО! O6лOетEO Gле=о< ко<8тет4. 
B. �=теD6LN 

248. �Kл8 пDо6еде=K EлуG49=Kе =еDоD<4лL=Kе 8=теD6LN длO E5оD4 <=е=89 <еEт=KE 68теле9 
от=оE8телL=о EоEтоO=8O окDу64NIе9 EDедK 8 пDо5ле< пDоект4. От6етK 5Kл8 уGте=K пD8 оFе=ке 
6о7де9Eт68O =4 окDу64NIуN EDеду 8 D47D45отке �'О!. 

249. �еEт=K< 68телO< 5Kл8 74д4=K EледуNI8е 6опDоEK: 
(i) К4ко9 у 64E 8EтоG=8к 6одK? �о6ете л8 6K пDоко<<е=т8Dо64тL к4GеEт6о 6одK 8 =4поD 6одK? 
�оEтупе= л8 =4поD 6одK кDу7лоEутоG=о? �Kл8 л8 EлуG48 745оле64=89, E6O74==KE E 
=ек4GеEт6е==о9 6одо9 6 64Hе9 Eе<Lе? 

(ii) К4ко9 у 64E 8EтоG=8к MлектDоM=еD788? �о6ете л8 6K пDоко<<е=т8Dо64тL =4де6=оEтL 
MлектDоM=еD788 6 64Hе9 деDе6=е? 

(iii) �EтL л8 у 64E ту4лет =4 до<оEо7O9Eт6о? �л8 о5I89 ту4лет? 

(iv) �EтL л8 6K7Dе5=4O O<4 длO уд4ле=8O EтоG=KE 6од 87 ту4лето6? К4к 6K уд4лOете EтоG=Kе 6одK 
от пD87ото6ле=8O п8I8 8 Eт8Dк8? 

(v) К4к 6K уд4лOете <уEоD/т6еDдKе отEодK? 

(vi) 'то O6лOетEO 8EтоG=8ко< EDедEт6 к EуIеEт6о64=8N? 

(vii) К4ко6K EDедEт64 к EуIеEт6о64=8N лNде9 6 деDе6=е? 

(viii) ! к4к8<8 пDо5ле<4<8 8 745от4<8 6K Eт4лк864етеEL 6 Eоо5IеEт6е 6 пл4=е Mколо78GеEк8E 
к4т4EтDоD, т4к8E к4к кл8<4т, опол7=8, MDо78O поG6K, =46од=е=8O 8 т. д.? 

(ix) Ко7д4 5Kл4 поEлед=OO кDуп=4O Mколо78GеEк4O к4т4EтDоD4? 

(x) �=4ете л8 6K о пDедл474е<о< пDоекте 6 64Hе< D49о=е 8л8 64Hе9 деDе6=е? 

(xi) К4ко6K, по 64Hе<у <=е=8N, пDе8<уIеEт64 пDоект4 длO 64Hе7о до<оEо7O9Eт64? �лO 64Hе7о 
Eоо5IеEт64? 

(xii) К4ко6K, по 64Hе<у <=е=8N, отD8F4телL=Kе поEледEт68O пDоект4? 



250. � 8=теD6LN пD8=Oл8 уG4Eт8е: де6OтL Gело6ек 87 !4=о4т4, 6оEе<L 87 �D46дK 8 пOтL 87 
'Dт45у74. !п8Eок уG4Eт=8ко6 8 Dе7улLт4тK 8=д868ду4лL=KE 8=теD6LN пD86еде=K 6 �D8ло6е=88 �. 
�Dоект полуG8л о5Iее одо5Dе=8е 87-74 о68д4е<KE поло68телL=KE пDе8<уIеEт6 длO 
Eоо5IеEт64.  еEпо=де=тK 6KEк474л8 пDедло6е=8O 8 пDоEL5K о поддеD6ке дDу78E о5IеEт6е==KE 
уEлу7. О68д4е<Kе =е74т86=Kе поEледEт68O пDоект4 6 оE=о6=о< E6O74=K E 6Dе<е==K<8 
=4DуHе=8O<8 6о 6Dе<O EтDо8телLEт64, котоDKе, по 8E Eло64<, 5Kл8 упD46лOе<K<8. КD4ткое 
87ло6е=8е от6ето6 опDоHе==KE 6K7лOд8т EледуNI8< о5D47о<: 
(i) �4 теDD8тоD88 до<о6 еEтL колодFK (7лу58=о9 от 6 до 12 <); 6од4 8=о7д4 <ут=4O; лNд8 к8пOтOт 
6оду, Gто5K 875е64тL 5оле7=е9, 4 дDу78е покуп4Nт п8тLе6уN 6оду (100 <3 6одK 74 120 Eо<о=8). � 
'Dт45у7е 6од4 87 колодFе6 тDуд=одоEтуп=4, 8 лNд8 8EполL7уNт 6оду 87 к4=4л4 8 покуп4Nт 6оду 
длO п8тLO. � 'Dт45у7е D4EпDоEтD4=е=4 д84DеO. 
(ii) !8лL=Kе 6етDK 6л8ONт =4 л8=88 MлектDопеDед4G 8 6K7K64Nт пеDе5о8 6 под4Gе 
MлектDоM=еD788 6 !4=о4те 8 �D46де. � 'Dт45у7е у лNде9 о5I4O л8=8O MлектDопеDед4G8, 8 о=8 
Dедко Eт4лк864NтEO E пеDе5оO<8 6 под4Gе MлектDоM=еD788. 
(iii) � к46до< до<е 6 !4=о4те еEтL ту4лет E 6K7Dе5=о9 O<о9, котоD4O Eл864етEO =4 
EелLEкоEо7O9Eт6е==Kе у7одLO 8л8 6 E4д. � �D46де DеEпо=де=тK от<ет8л8, Gто EтоG=Kе 6одK 6 
6K7Dе5=о9 O<е 8л8 6K7Dе5=о9 O<е отк4G864NтEO 8 Eл864NтEO 6 8E E4д длO улуGHе=8O поG6K. � 
�D46де еEтL D49о=K E о5I8<8 8л8 о5I8<8 ту4лет4<8. �о 6Dе<O 8=теD6LN 68тел8 деDе6=8 
Eк474л8, Gто о=8 6Kл864Nт 6оду поEле Eт8Dк8 8 пD87ото6ле=8O п8I8 6 6K7Dе5=уN O<у 8л8 6 E4д. 
�лO отк4Gк8 EтоG=KE 6од 87 6K7Dе5=KE O< 8EполL7уNтEO EпеF84лL=Kе =4EоEK. 
(iv) Ко<поEт8Dо64=8е пD4кт8куетEO путе< DKтLO O< длO отEодо6 6 E4д4E; п8Iе6Kе отEодK 
Eк4D<л864NтEO Eкоту; оEт46H8еEO отEодK E6874NтEO. �л4Eт8к, 54=к8 87-под кD4Eк8 8 дDу78е 
е<коEт8 пDод4NтEO 6 <47478=K Eт4DLе6I8ко6. � деDе6=OE =ет E8Eте<K E5оD4 <уEоD4. 
(v) �EтоG=8к4<8 EDедEт6 к EуIеEт6о64=8N 8 доEод4 6 оE=о6=о< O6лONтEO EелLEкое Eо7O9Eт6о 8 
пDод464 о6оIе9 8л8 де=е6=Kе пеDе6одK от DодEт6е==8ко6, D45от4NI8E 6  оEE88. 
(vi) О5KG=о 6EтDеG4NтEO т4к8е Eт8E89=Kе 5едEт68O, к4к E8лL=Kе до6д8, Eел8, опол7=8, котоDKе 
E<K64Nт уG4Eтк8 доDо7. 
C.  4EкDKт8е 8=DоD<4F88 

251. 1тот отGет �11 5удет опу5л8ко64= =4 6е5-E49те �� . К'!8�О пеDе6едет Dе7N<е �11 =4 
т4д68кEк89 8 DуEEк89 O7Kк8 8 D47<еEт8т 8E =4 6е5-E49те К'!8�О 6 теGе=8е 2 =еделL поEле 
одо5Dе=8O доку<е=т4 �� . �=DоD<4F8O 5удет доEтуп=4 6 D49о==о< оD8Eе �64лол8дд8=4 �4лE8. 
252. � � 5удет от6еG4тL 74 у6едо<ле=8е 8 8=DоD<8Dо64=8е о5IеEт6е==оEт8 о EтDо8телL=KE 
D45от4E до =4G4л4 Dе4л874F88, пу5л8к4F8N пл4=4 Dе478Dо64=8O =4 GDе76KG49=Kе E8ту4F88, 
D4EкDKт8е <еD по упD46ле=8N 464D8O<8 8 GDе76KG49=K<8 E8ту4F8O<8, 6клNG4O GDе76KG49=Kе 
E8ту4F88 6 о5л4Eт8 оED4=K окDу64NIе9 EDедK 8 о5IеEт6е==о7о 7дD46ооED4=е=8O, E6O74==Kе E 
D47л864<8 оп4E=KE отEодо6, т4к8E к4к =еDтL, топл86о 8 т. д., 8 4=4ло78G=K<8 Eо5Kт8O<8. 
253. �оEледуNI8е ко=EулLт4F8о==Kе 6EтDеG8 5удут оD74=87о64=K � � 6 EлуG4е EеDLе7=KE 
87<е=е=89 6 ко<по=е=т4E пDоект4. 
254. PIG 5удет 7ото68тL полу7одо6Kе отGетK по <о=8тоD8=7у окDу64NIе9 EDедK (�О�О!) 8 
пDедEт46лOтL 8E К'!8�О 8 ��  длO D4EE<отDе=8O 8 D4EкDKт8O 6 теGе=8е 30 д=е9 поEле 
746еDHе=8O к46до7о пеD8од4 <о=8тоD8=74, =4G8=4O E д4тK 6Eтупле=8O пDоект4 6 E8лу до д4тK 
6KпуEк4 отGет4 ��  о 746еDHе=88 пDоект4. �О�О! 5удут пеDе6еде=K =4 т4д68кEк89 8 DуEEк89 
O7Kк8 8 опу5л8ко64=K =4 6е5-E49те К'!8�О. � теGе=8е тDеE <еEOFе6 поEле 746еDHе=8O 6EеE 



EтDо8телL=KE D45от 5удет под7ото6ле= отGет о пок474телOE Eо5лNде=8O Mколо78GеEк8E 
тDе5о64=89 пDоект4. 1тот отGет Eт4=ет G4EтLN 6кл4д4 6 о5I89 отGет о 746еDHе=88 пDоект4. 
VII. ��%�����  �!!�О& ���/ ��ЛО� 

255. � � — Mто E8Eте<4т8GеEк89 пDоFеEE полуGе=8O, пDо6еDк8 8 Eоде9Eт68O D47DеHе=8N 
пDо5ле<, 64ло5 8 =едо6олLEт6 74тDо=утKE л8F по лN5о<у 4Eпекту Dе4л874F88 пDоект4, 6клNG4O 
е7о Mколо78GеEк8е 8 EоF84лL=Kе пок474тел8. � � 5Kл D47D45от4= длO DеHе=8O пDо5ле< 
Eоо5IеEт64 8 748=теDеEо64==KE EтоDо= по пDоекту пDо7D4G=K< 8 E6ое6Dе<е==K< о5D47о<. � � 

о5Eу6д4лEO 6о 6Dе<O ко=EулLт4F8о==KE 6EтDеG E Eоо5IеEт64<8. К'!8�О =4пD468л оD8F84лL=ое 
п8EL<о 6 D49о= �64лол8дд8= �4лE8 по по6оду GRM 8 Eо7д4=8O ко<8тет4 � �. �Kл8 опDеделе=K 
8<е=4 8 ко=т4кт=Kе =о<еD4 пDедEт468теле9 д64<о4то6 6 � �. Ко<8тет � � 5удет E=о64 
пDедEт46ле= 6о 6Dе<O поEледуNI8E ко=EулLт4F89 E Eоо5IеEт64<8. 
256. �4ло5K =4 Dе4л874F8N пDоект4 <о7ут 6о7=8к=утL 6о 6Dе<O под7ото6к8 плоI4дк8, 
EтDо8телLEт64 8 уEт4=о6к8 о5оDудо64=8O, 4 т4к6е 6о 6Dе<O MкEплу4т4F88. ЛN5ое 74тDо=утое л8Fо 
<о6ет под4тL 64ло5у, еEл8 деOтелL=оEтL пDоект4 ок47K64ет п47у5=ое 6о7де9Eт68е =4 
окDу64NIуN EDеду, Eоо5IеEт6о 8л8 к4GеEт6о 687=8 лNде9. �4ло5K =4 пDоект <о7ут 6клNG4тL 
EледуNIее: 
(i) Оп4E=оEт8 длO 7доDо6LO 8 5е7оп4E=оEт8 Eоо5IеEт64 87-74 Hу<4, пKл8, отEодо6, поD46е=8O 
MлектD8GеEк8< токо<, по64Dо6, по6Dе6де=8O доDо7 87-74 G4Eто7о д686е=8O тD4=EпоDт=KE 
EDедEт6, 4 т4к6е 6опDоEK оED4=K 7доDо6LO 8 5е7оп4E=оEт8. 
(ii) �еудо5Eт64, E6O74==Kе Eо EтDо8телLEт6о<, 8 =е=4дле64Iее 6оEEт4=о6ле=8е =4DуHе==KE 
теDD8тоD89 подDOдG8ко<. 
(iii) �е5л47опD8Oт=Kе 87<е=е=8O о5D474 687=8 8 EDедEт6 к EуIеEт6о64=8N Gело6ек4 8л8 
Eоо5IеEт64, т4к8е к4к потеDO 7е<л8, уDо64O, деDе6Lе6, дDе=464 8 оDоHе=8O. 
(iv) �Dо5ле<K E <8Dо< 8 поDOдко< 6 Eоо5IеEт6е 87-74 пD8EутEт68O EтDо8телL=KE D45оG8E-

<87D4=то6. 
(v) �еEо5лNде=8е пDоекто< Mколо78GеEко9 пол8т8к8 8 дDу78E пD46о6KE о5O74телLEт6. 
257. О5KG=о 64ло5K 6 деDе6=OE под4NтEO GеDе7 Eт4DоEт деDе6=8, котоDKе 74те< <о7ут пD86леGL 
6=8<4=8е К'!8�О/� � к 64ло5е. � D4<к4E EуIеEт6уNIе9 E8Eте<K упD46ле=8O 64ло54<8 К'!8�О 

поEтD4д46Hее л8Fо 8л8 7л464 Eел4 <о7ут под4тL 64ло5у л85о (i) =4пDO<уN по76о=86 по =о<еDу 
7оDOGе9 л8=88 К'!8�О (+992 37 227-95-09; +992 37 223-13-11; 8л8 +992 37 236-94-74); (ii) поEет86 
оD8E К'!8�О 6 �уH4=5е; (iii) GеDе7 EтD4=8Fу К'!8�О 6 Facebook 8 EтD4=8Fу Telegram; 8л8 (iv) GеDе7 
D49о==о7о пDедEт468телO К'!8�О. � � пDоект4 5удет пD8<е=OтL EуIеEт6уNIуN E8Eте<у 64ло5 
К'!8�О, =о т4к6е пDедоEт468т о7D4=8Gе==K9 по 6Dе<е=8 8 пDо7D4G=K9 <еE4=87<, E по<оILN 
котоDо7о <о6=о 5удет о76уG864тL 8 DеH4тL E6O74==Kе E пDоекто< 8л8 EоF84лL=Kе 8 
Mколо78GеEк8е пDо5ле<K. 
258. К'!8�О 5удет пD8деD6864тLEO пол8т8к8 откDKтKE д6еDе9 длO пD8е<4 64ло5 =4 6EеE уDо6=OE. 
�о<8<о EуIеEт6уNIе9 E8Eте<K 64ло5 К'!8�О, поEтD4д46Hее л8Fо т4к6е <о6ет под4тL 64ло5у 
=4пDO<уN 6 � � 8 подDOдG8ку GеDе7 C!O. � GRM 5удут 66еде=K <еE4=87<K D47DеHе=8O 64ло5 E 
уG4Eт8е< деDе6=8 8л8 Eуку<4т4. 1тот путL 5удет доEтупе= длO Eо5лNде=8O 4д<8=8EтD4т86=KE <еD 
74I8тK 6 <еEт=о< Eоо5IеEт6е. �еEт=Kе л8деDK 5удут пDо8=DоD<8Dо64=K � � о � � 8 
Eоо5Iе=88 о пDо5ле<4E 8 64ло54E Eоо5IеEт64 6 К'!8�О. 

259. � � 5удет Eо7д4= =4 Mт4пе, пDедHеEт6уNIе< EтDо8телLEт6у, 74дол7о до =4G4л4 
EтDо8телLEт64. �DоFеEE � � 5удет 8=8F88Dо64= К'!8�О /� � пD8 Eоде9Eт688 К �, � � 5удет 
D47JOE=е= подDOдG8к4<, котоDKе дол6=K 5удут 6еEт8 DееEтD 64ло5 8л8 74п8EL. �Eе полуGе==Kе 



64ло5K 8 де9Eт68O, пDедпD8=OтKе длO D47DеHе=8O 64ло5, 5удут =4дле64I8< о5D47о< 
Eоо5Iе=K/6клNGе=K 6 �О�О!, пDедEт46ле==Kе 6 �� . 
260. 1ле<е=тK � � 5удут 8=те7D8Dо64=K 6 �'О!. � � 8 EтDо8телL=K9 подDOдG8к дол6=K 5удут 
ко=EулLт8Dо64тLEO E EелLEк8<8 Eт4DоEт4<8 длO пDо6еDк8 64ло5 8 опDеделе=8O =е<едле==о7о 
D47DеHе=8O 64ло5. Ко=т4кт=K9 =о<еD телеDо=4 � �/ К'!8�О 8 C!O EтDо8телL=о7о подDOдG8к4 
5удет Eлу68тL 7оDOGе9 л8=8е9 длO 64ло5. �о<еD ко=т4кт=о7о телеDо=4 5удет D47<еIе= =4 доEк4E 
о5JO6ле=89 =4 EтDо8телL=о9 плоI4дке пDоект4. 
261. �86е пDедEт46ле= пDоFеEE � �: 

(i) �оEле полуGе=8O 64ло5K GеDе7 E8Eте<у упD46ле=8O 64ло54<8 К'!8�О 64ло54 5удет 
74Dе78EтD8Dо64=4 8 =е<едле==о до6еде=4 до E6еде=8O PIG. � теGе=8е д=O � � E6O6етEO E C!O 

EтDо8телL=о7о подDOдG8к4 8 поEтD4д46H8< л8Fо<, Gто5K у7=4тL о E4D4ктеDе 64ло5K 8 EпоEо54E 
ее D47DеHе=8O. �4ло54 8 о5O74телLEт6о EтDо8телL=о7о подDOдG8к4 D47DеH8тL 64ло5у 5удут 
74доку<е=т8Dо64=K. !тDо8телL=о<у подDOдG8ку 5удет пDедоEт46ле=о Eе<L д=е9 длO D47DеHе=8O 
64ло5K. � � 8 К'!8�О 5удут отEле6864тL Eод DеHе=8O. 
(ii) �Eл8 74O68телL =е удо6лет6оDе= де9Eт68O<8, пDедпD8=OтK<8 EтDо8телL=K< подDOдG8ко<, 
64ло54 <о6ет 5KтL до6еде=4 до E6еде=8O 7л46K деDе6=8 8 дDу78E <еEт=KE л8деDо6. �л464 
деDе6=8 8 <еEт=Kе л8деDK 5удут D45от4тL =4д D47DеHе=8е< 64ло5K 6 пD8EутEт688 74O68телO, 
EтDо8телL=о7о подDOдG8к4/C!O, � � 8 К'!8�О -!ОО!. 

(iii)  4EEледо64=8е 64ло5 5удет 6клNG4тL поEеIе=8е <еEт 8 ко=EулLт4F88 E Eоот6етEт6уNI8<8 
EтоDо=4<8 (=4пD8<еD, поEтD4д46H8<8 л8F4<8, EтDо8телL=K< подDOдG8ко<, доDо6=о9 пол8F8е9 
8 т. д.). �4ло5K 5удут доку<е=т8Dо64тLEO, 8 л8G=Kе д4==Kе (8<O, 4дDеE, д4т4 64ло5K 8 т. д.) 
5удут 6клNGе=K, еEл8 =е 74пD4H864етEO 4=о=8<=оEтL.  47DеHе=8е 64ло5 дол6=о 5KтL Eдел4=о 6 
теGе=8е деEOт8 D45оG8E д=е9. 
(iv) �Eл8 64ло54 =е 5удет DеHе=4 =4 уDо6=е деDе6=8, 74O68телL <о6ет под=OтL =еDеHе==K9 
6опDоE E п8EL<е==о9 доку<е=т4F8е9 6 %уку<4т D49о=4 �64лол8дд8= �4лE8. %уку<4т D4EEледует 
64ло5у 8 E6O6етEO E поEтD4д46H8< л8Fо< по по6оду дет4ле9 64ло5K, 4 т4к6е <о6ет 6K764тL 
подDOдG8к4/C!O 8 К'!8�О /� � =4 6EтDеGу. �DоFеEE 5удет EпоEо5Eт6о64тL D47DеHе=8N 
поEDедEт6о< поEDед=8GеEт64.  47DеHе=8е 64ло5K 5удет Eдел4=о 6 теGе=8е деEOт8 D45оG8E д=е9. 
(v) �4O68телL <о6ет 8Eк4тL 4лLтеD=4т86=ое 6о7<еIе=8е GеDе7 6KHеEтоOI89 оD74= 8л8 Eуд. 
�оEтD4д46Hее л8Fо, 8<еNIее 64ло5K 8л8 64ло5K, =е 5удет =еEт8 от6етEт6е==оEт8 74 опл4ту 
4д<8=8EтD4т86=KE 8 ND8д8GеEк8E E5оDо6 пD8 под4Gе E6о8E 64ло5. 
262. �4 D8Eу=ке VII.1 пDедEт46ле=4 EтDуктуD4 � �. 

 



 

 8Eу=ок VII.1: !тDуктуD4 <еE4=87<4 D4EE<отDе=8O 64ло5 

 

 

 

 

 

 

 

 

 

 

 



VIII. �Л�� '� ��Л���/ ОК '��.)�� ! ��О�  

263. � �'О! (т45л8F4 VIII.1) оп8EK64NтEO оD74=874F8о==Kе о5O74==оEт8 по Dе4л874F88 <еD по 
E<O7Gе=8N поEледEт689 =4 Mт4пе под7ото6к8 к EтDо8телLEт6у, EтDо8телLEт64 8 MкEплу4т4F88 
о5Jекто6; Eто8<оEтL, D4EкDKт8е 8=DоD<4F88 8 пDоFеEE GRM; 4 т4к6е тDе5о64=8O к <о=8тоD8=7у 8 
отGет=оEт8. 
A. 'пD46ле=8е окDу64NIе9 EDедо9 

264. К'!8�О/� � 74D4=т8Dует, Gто PIC 8 EтDо8телL=K9 подDOдG8к 7=4Nт о5 о5O74==оEтOE �'О!, 

6клNG86 �11 8 �'О! 6 те=деD=уN 8 ко=тD4кт=уN доку<е=т4F8N. 
B. �л4= упD46ле=8O окDу64NIе9 EDедо9 подDOдG8к4 длO ко=кDет=о7о уG4Eтк4 

265. �О�О!, 6клNG4O �'�, 5удет под7ото6ле= EтDо8телL=K< подDOдG8ко< 8 пDедEт46ле= 
К'!8�О/� � длO D4EE<отDе=8O 8 ут6еD6де=8O до =4G4л4 D45от. �о 6Dе<O под7ото6к8 �О�О! 

D47делK Mто7о �11 5удут 8EполL7о64тLEO 6 к4GеEт6е оE=о6K длO опDеделе=8O 6о7де9Eт68O =4 
окDу64NIуN EDеду, <еD по E<O7Gе=8N поEледEт689 8 тDе5о64=89 к о7D4=8Gе=8N.  е4л874F8O <еD 
по E<O7Gе=8N поEледEт689 6о 6Dе<O EтDо8телLEт64 5удет от6етEт6е==оEтLN EтDо8телL=о7о 
подDOдG8к4, котоDK9 дол6е= 5удет опDедел8тL пD4кт8GеEк8е 8 подEодOI8е EDедEт64 упD46ле=8O 
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ACM - �E5еEтоEодеD64I8е <4теD84лK; ADB - �784тEк89 54=к D4768т8O; CEP - Ко<8тет по оED4=е окDу64NIе9 EDедK; К'!��О - Ко<8тет по GDе76KG49=K< E8ту4F8O< 8 7D46д4=Eко9 о5оDо=е; CLO - 
!пеF84л8Eт по E6O7O< E о5IеEт6е==оEтLN; COVID-19 - коDо=468DуE=4O 5оле7=L; EHS - ОED4=4 окDу64NIе9 EDедK, 7доDо6LO 8 5е7оп4E=оEт8; EMP - �л4= упD46ле=8O окDу64NIе9 EDедо9; GBV - 
7е=деD=ое =4E8л8е; HSO - !пеF84л8Eт по оED4=е 7доDо6LO 8 5е7оп4E=оEт8; IEE - �еD68G=4O Mколо78GеEк4O MкEпеDт874; MOC - �8=8EтеDEт6о кулLтуDK; OHS - ОED4=4 тDуд4 8 теE=8к4 5е7оп4E=оEт8; PIC - 
Ко=EулLт4=т по Dе4л874F88 пDоект4, PIG - �Dупп4 Dе4л874F88 пDоект4; RoW - �олоE4 от6од4; SEE - �оEуд4DEт6е==4O Mколо78GеEк4O MкEпеDт874; SSEMP - �л4= упD46ле=8O окDу64NIе9 EDедо9 длO 
ко=кDет=о7о уG4Eтк4. 
a �  уко6одOI8E пD8=F8п4E EHS �DуппK �Eе<8D=о7о 54=к4 ук474=о, Gто E6874=8е E ко=тDол8Dуе<K< 6о7дуEо< (т4к6е =47K64е<ое п8Dол8т8GеEк8<, 7олод=K< 6о7дуEо<, д6уEEтупе=G4тK< E6874=8е< 
8л8 <одулL=K< E6874=8е<) O6лOетEO =485олее H8Dоко 8EполL7уе<о9 теE=оло78е9 E6874=8O оп4E=KE отEодо6. Од=ок4<еD=Kе 8 54D454==Kе/к8Dп8G=Kе <уEоDоE6874телL=Kе пеG8 Eледует 
8EполL7о64тL толLко 6 к4GеEт6е кD49=е9 <еDK. 
b %уку<4т от=оE8тEO к 7оEуд4DEт6е==о<у 4д<8=8EтD4т86=о<у оD8Eу =4 Dе78о=4лL=о< 8 D49о==о< уDо6=OE. 
c �е6ду=4Dод=4O D8=4=Eо64O коDпоD4F8O. 2007.  уко6одEт6о по оED4=е окDу64NIе9 EDедK, 7доDо6LO 8 5е7оп4E=оEт8 (EHS). О5I8е Dеко<е=д4F88 по оED4=е окDу64NIе9 EDедK, 7доDо6LO 8 
5е7оп4E=оEт8. ОкDу64NI4O EDед4. 'пD46ле=8е оп4E=K<8 <4теD84л4<8. 
d �64<о4т от=оE8тEO к 7оEуд4DEт6е==о<у 4д<8=8EтD4т86=о<у о5Jед8=е=8N =4 уDо6=е деDе6=8.



 

 

C. �=Eт8туF8о=4лL=4O EтDуктуD4 

1. Ко<8тет по GDе76KG49=K< E8ту4F8O< 8 7D46д4=Eко9 о5оDо=е / �Dупп4 Dе4л874F88 пDоект4 

269. К'! O6лOетEO 8Eпол=8телL=K< 47е=тEт6о<, 4 PIG длO пеD6о=4G4лL=о7о пDоект4 5удет от6еG4тL 
74 Dе4л874F8N <еDопD8Oт89 по допол=8телL=о<у D8=4=E8Dо64=8N. 
270. К'! =47=4G8л 7-=4 .Eупо64 �уE4<<4дуEуD4, =4G4лL=8к4 отдел4 EтDо8телLEт64 К'!, 6 
к4GеEт6е К'!-��. �-= �уE4<<4дуEуD поEет8л о7=4ко<8телL=K9 тDе=8=7 по �4O6ле=8N о пол8т8ке 
5е7оп4E=оEт8 ��  (2009 7.), &Dе5о64=8O< по оED4=е окDу64NIе9 EDедK), пDо6еде==K9 6 8N=е 
2022 7. <е6ду=4Dод=K< ко=EулLт4=то< �� , =4=OтK< длO под7ото6к8 Mто7о �11 (7-64 'еDD8 
 86еD4). �лO уE8ле=8O Mколо78GеEко9 MкEпеDт87K 7-64 !уE49ло �4D85о64 5Kл4 =4=Oт4 6 к4GеEт6е 
EпеF84л8Eт4 по оED4=е окDу64NIе9 EDедK длO �DуппK Dе4л874F88 пDоект4 (� �). 

271. К'!8�О-!ОО! 5удет поддеD6864тLEO EпеF84л8Eто< по <о=8тоD8=7у 8 оFе=ке (7-64  уEHо=4 
�о78<7од4) 87 � �, котоD4O 5удет ко=тDол8Dо64тL 6Kпол=е=8е пDоект4 8 7ото68тL 
е6ек64Dт4лL=K9 отGет о Eоде Dе4л874F88 пDоект4. К'!8�О-!ОО! под7ото68т �О�О! 8 
пDедоEт468т 8=DоD<4F8N EпеF84л8Eту по <о=8тоD8=7у 8 оFе=ке о EоEтоO=88 6Kпол=е=8O <еD по 
оED4=е окDу64NIе9 EDедK длO е6ек64Dт4лL=KE отGето6 о Eоде Dе4л874F88 пDоект4, котоDKе 
5удут пDедEт46ле=K 6 �� . Ко=кDет=4O от6етEт6е==оEтL 74 Eо5лNде=8е �'О! 5удет 6о7ло6е=4 =4 
EтDо8телL=о7о подDOдG8к4, <о=8тоD8=7 котоDо7о 5удет оEуIеEт6лOтL К'!8�О-!ОО!. 

2. Ко=EулLт4=т по Dе4л874F88 пDоект4 

272. BETS Consulting Services Ltd., �4=7л4деH, Eо6<еEт=о E LLC Panasia Ltd., &4д68к8Eт4=, 6K5D4=4 6 
к4GеEт6е ко=EулLт4=т4 по подDе7улLт4ту 4b 6 к4GеEт6е ко=EулLт4=т4 по Dе4л874F88 пDоект4 (К �). 

Ко=EулLт4F8о==Kе уEлу78 К � =4G4л8EL E 02 октO5DO 2023 7од4. 
273. Ко=EулLт4=тK по Dе4л874F88 пDоект4 (К �) дол6=K ок47K64тL поддеD6ку К'! 8 � � 6 
4д<8=8EтD8Dо64=88 8 упD46ле=88 пDоекто<, 74купк4E, <о=8тоD8=7е 8 отGет=оEт8. � К � еEтL 
<е6ду=4Dод=K9 EпеF84л8Eт по оED4=е окDу64NIе9 EDедK (К �-�КОО!, 4 Gело6еко-<еEOF4) 8 
=4F8о=4лL=K9 EпеF84л8Eт по оED4=е окDу64NIе9 EDедK (К �-�КОО!, 12 Gело6еко-<еEOFе6). 274. 
�Dодол68телL=оEтL ко=тD4кт4 PIC Consultancy EоEт46лOет 4,5 7од4 (54 <еEOF4), 6клNG4O тD8 
пеDекDK64NI8EEO Mт4п4: (i) под7ото6к4 дет4лL=KE пDоекто6 8 EтDо8телL=KE GеDте6е9; (ii) 
пDо6еде=8е тоD7о6 8 74купк4 D45от, то64Dо6 8 уEлу7; 8 (iii) =4д7оD 74 EтDо8телLEт6о< 8 упD46ле=8е 
ко=тD4кт4<8. 
3. �одDOдG8к8 

275. !о7л4E=о �л4=у 74купок, EтDо8телL=K9 подDOдG8к 8 6тоDо9 ко=EулLт4=т длO 
ко=EулLт4F8о==KE уEлу7, пDедоEт46лOе<KE 6 D4<к4E улуGHе=8O упD46ле=8O D8Eк4<8 Eт8E89=KE 
5едEт689, 5удут <о58л87о64=K 6 D4<к4E допол=8телL=о7о D8=4=E8Dо64=8O. 
(i) �4кет К'!��О-CW-01: !тDо8телLEт6о 68лKE, 4д<8=8EтD4т86=KE 8 6Eпо<о74телL=KE 7д4=89 

(ii) �4кет К'!��О-CS-03: 'луGHе=8O упD46ле=8O D8Eк4<8 Eт8E89=KE 5едEт689. 
276. !тDо8телL=K9 подDOдG8к дол6е= 5удет =47=4G8тL Hт4т=о7о EотDуд=8к4 по оED4=е 
окDу64NIе9 EDедK 8 Hт4т=о7о EотDуд=8к4 по оED4=е тDуд4 8 теE=8ке 5е7оп4E=оEт8 длO ко=тDолO 
8 о5еEпеGе=8O Dе4л874F88 <еD по E<O7Gе=8N поEледEт689, 87ло6е==KE 6 �'О!, =4 Mт4пе 
EтDо8телLEт64. 
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К'!<�� (i)�5@5B =0 A51O >1ICN >B25BAB25==>ABL 70 ?;0=8@>20=85, 
C?@02;5=85 8 @50;870F8N ?@>5:B0. 

� � (i) "B25BAB25==K9 70 B5E=8G5A:85 0A?5:BK ?@>5:B8@>20=8O ?@>5:B0, 
A?5F8D8:0F88, B>@38, 45B0;L=>5 ?@>5:B8@>20=85, @50;870F8N 8 
<>=8B>@8=3 <5@ 157>?0A=>AB8, 0 B0:65 D8=0=A>2>5 C?@02;5=85. 
(ii) �>>@48=0F8O A 4@C38<8 3>AC40@AB25==K<8 CG@5645=8O<8, 
45?0@B0<5=B0<8 8 ?>4@0745;5=8O<8, <5AB=K<8 >@30=0<8 2;0AB8, 
@09>==K<8 >B45;5=8O<8, 460<>0B0<8 8 A>>1I5AB20<8 

(iii) !07=0G5=85 A?5F80;8AB0 ?> >E@0=5 >:@C60NI59 A@54K �+%, 
:>B>@K9 1C45B B5A=> A>B@C4=8G0BL A �$# 8  �# 2 >B=>H5=88 <5@ 
>E@0=K >:@C60NI59 A@54K. 
a. #@>25@:0 2A5E A>>B25BAB2CNI8E 4>:C<5=B>2, 2 G0AB=>AB8 >BG5B0 
IEE ?@>5:B0. 
b. "15A?5G5=85 =04;560I59 8=B53@0F88 2A5E <5@ 8 ?;0=>2 >E@0=K 
>:@C60NI59 A@54K 2 45B0;L=K9 ?@>5:B, :0: ?@54CA<>B@5=> 2 
IEE/EMP. 

c. "15A?5G5=85 A>>B25BAB28O ?@>5:B0 =0F8>=0;L=K< 70:>=0< 8 
?@028;0< 2 >1;0AB8 >E@0=K >:@C60NI59 A@54K. 
d. #@54>AB02;5=85 2A59 =5>1E>48<>9 8=D>@<0F88 �+% 4;O 
?>;CG5=8O >4>1@5=8O �-- 4;O ?@>5:B0 4> B>3>, :0: 1C4CB ?@83;0H5=K 
70O2:8 >B ?>4@O4G8:>2 ?> AB@>8B5;L=K< @01>B0<. 
e. #@54>AB02;5=85 2A59 =5>1E>48<>9 8=D>@<0F88 �+% 4;O 
>15A?5G5=8O A2>52@5<5==>3> ?>;CG5=8O B@51C5<KE @07@5H5=89 8 
>4>1@5=89 >B �""% 8 <5AB=KE >@30=>2 2;0AB8. 
f. '1548B5AL, GB> B5=45@=0O 8 :>=B@0:B=0O 4>:C<5=B0F8O =0 
AB@>8B5;L=K5 @01>BK 2:;NG05B 2A5 B@51>20=8O ?> >E@0=5 
>:@C60NI59 A@54K 2 A>>B25BAB288 A #--/#'"% (2:;NG0O #'�), 8 
C1548B5AL, GB> @0AE>4K =0 C?@02;5=85 >:@C60NI59 A@54>9 >B@065=K 
2 BOQ. 

g. �7CG8B5 2>7<>6=>AB8 �$# ?> C?@02;5=8N >:@C60NI59 A@54>9 8 
?@8 =5>1E>48<>AB8 ?@54;>68B5 <5@K ?> C:@5?;5=8N 
8=AB8BCF8>=0;L=>9 107K. 
h. "?@545;8B5 ?>B@51=>AB8 2 >1CG5=88 ?5@A>=0;0 ?>4@O4G8:0 8 
@07@01>B09B5 CG51=K5 <0B5@80;K 4;O ?>43>B>2:8 8 MDD5:B82=>3> 
2=54@5=8O #" "% 2> 2@5<O AB@>8B5;LAB20. 
i. �7CG8B5 8 CB>G=8B5 #" "% ?>4@O4G8:0 4> =0G0;0 AB@>8B5;L=KE 
@01>B. -B> 1C45B 2:;NG0BL @0AA<>B@5=85 #'�, ?>43>B>2;5==>3> 
?>4@O4G8:0<8. 
j. '1548B5AL, GB> #" "% 2:;NG05B ?;0= C?@02;5=8O >E@0=>9 B@C40 8 
B5E=8:>9 157>?0A=>AB8 COVID-19 8 ?;0= @5038@>20=8O =0 
G@572KG09=K5 A8BC0F88 2 A>>B25BAB288 A <564C=0@>4=>9 ?5@54>2>9 
?@0:B8:>9 8 =0F8>=0;L=K<8 B@51>20=8O<8. 
k. '254><8B5 �+% >1 87<5=5=8OE 2 >1J5<5 ?@>5:B0/<5AB>?>;>65=88, 
:>B>@K5 <>3CB ?@825AB8 : ;N1K< =5?@542845==K< 2>7459AB28O< =0 
>:@C60NICN A@54C, 8 ?@54>AB02LB5 2AN =5>1E>48<CN 8=D>@<0F8N 
4;O >1=>2;5=8O #--/#'"% 8/8;8 ?>43>B>2:8 4>?>;=8B5;L=>9 
M:>;>38G5A:>9 >F5=:8 ?> <5@5 =5>1E>48<>AB8. 
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l. "1=>28B5 ACI5AB2CNI89 >BG5B #--, 5A;8 =5?@542845==K5 
2>7459AB28O =0 >:@C60NICN A@54C AB0=CB >G5284=K<8. 
m. "15A?5G8BL =0;8G85 4>AB0B>G=KE A@54AB2 4;O =04;560I53> 
2K?>;=5=8O 2A5E A>3;0A>20==KE <5@ 2 #-'. 
n. $07@01>B0BL 8 @0A:@KBL  $� ?@>5:B0 70B@>=CBK< A>>1I5AB20< 2 
:>>@48=0F88 A �$# 8 ?>4@O4G8:><. �>=B@>;8@>20BL 8 25AB8 
A>>B25BAB2CNI85 70?8A8 ;N1KE 60;>1 8 >15A?5G820BL 8E 
MDD5:B82=>5, A2>52@5<5==>5 8 045:20B=>5 @07@5H5=85. 
o. #@>2>48BL M:>;>38G5A:89 <>=8B>@8=3 8, >A>15==> 2> 2@5<O 
AB@>8B5;LAB20 8 M:A?;C0B0F88, >15A?5G820BL 2K?>;=5=85 
?>2A54=52=>9 45OB5;L=>AB8 2 A>>B25BAB288 A #-' 8 #'"% (2:;NG0O 
#'"%) M:>;>38G5A:8 157>?0A=K< 8 CAB>9G82K< >1@07><. 
p. !0 >A=>25 @57C;LB0B>2 M:>;>38G5A:>3> <>=8B>@8=30 >F5=8BL 
MDD5:B82=>ABL @50;870F88 #'"%, >?@545;8BL :>@@5:B8@CNI85 
459AB28O ?> >E@0=5 >:@C60NI59 A@54K 4;O ?@54AB02;5=8O 2 �+%8�" 
8 ��$ 8 >15A?5G8BL 2K?>;=5=85 :>@@5:B8@CNI8E 459AB289 ?@8 
=5>1E>48<>AB8. 
q. #>43>B>28BL #" "% (2 B5G5=85 30 4=59 ?>A;5 7025@H5=8O 
?5@8>40 <>=8B>@8=30) 8 ?@54AB028BL 2 �+% 4;O ?>A;54CNI59 
?5@540G8 2 ��$ 4;O @0A:@KB8O, =0G8=0O A <><5=B0 2ABC?;5=8O 
?@>5:B0 2 A8;C 4> 2K?CA:0 "�$# ��$. 
r. %>>1I0BL > <5@0E 70I8BK >:@C60NI59 A@54K 2 565:20@B0;L=KE 
>BG5B0E > E>45 @01>B. 
s. %2>52@5<5==> A>>1I09B5 ��$ > ;N1KE =5A>>B25BAB28OE 8;8 
=0@CH5=8OE B@51>20=89 ��$ ?> 70I8B5 >:@C60NI59 A@54K. 
t. #>43>B>2LB5 >BG5B > 2K?>;=5=88 ?@>5:B0 ?> A>1;N45=8N 
M:>;>38G5A:8E =>@< (2 B5G5=85 3 <5AOF52 ?>A;5 7025@H5=8O 2A5E 
AB@>8B5;L=KE @01>B) 8 >B?@02LB5 53> 2 �+%8�" 4;O 40;L=59H59 
?5@540G8 2 ��$ 4;O @0A:@KB8O 8=D>@<0F88. 
u. �> 2@5<O M:A?;C0B0F88 ?@>5:B0 ?@>2>48B5 8=A?5:F88 =0 <5AB5 
4;O :>=B@>;O @53C;O@=>9 >G8AB:8 4>@>6=KE 2>4>?@>?CA:=KE B@C1, 
=04;560I59 A>@B8@>2:8 >BE>4>2 8 @53C;O@=>3> A1>@0 8 CB8;870F88, 
?5@8>48G5A:>3> CE>40 70 @0AB8B5;L=>ABLN 24>;L ?>;>AK >B2>40 
@0A?@545;8B5;L=>9 ;8=88 8 =04;560I53> >1A;C6820=8O >G8AB=KE 
A>>@C65=89. 

�К� (i) #>43>B>28BL 45B0;L=K9 8=65=5@=K9 ?@>5:B 8=D@0AB@C:BC@ 8 
?@>5:B=K5 A?5F8D8:0F88 4;O AB@>8B5;L=KE @01>B, B>20@>2 8 
>1>@C4>20=8O, :>B>@K5 1C4CB 70:C?;5=K. 
(ii) ":070BL B5E=8G5A:CN ?>445@6:C �+% 8 �$# 2 >B=>H5=88 70:C?>:, 
>F5=:8 70O2>:, <5@ 157>?0A=>AB8, =047>@0 70 AB@>8B5;LAB2><, 
C?@02;5=8O :>=B@0:B0<8, @50;870F88 ?@>5:B0 8 4@C38E B5E=8G5A:8E 
0A?5:B>2 ?@>5:B0. 
(iii) #@>25AB8 >F5=:C ?>B@51=>AB59 2 >1CG5=88 ?5@A>=0;0 
�A?>;=8B5;L=>3> 035=BAB20 8 4@C38E A>>B25BAB2CNI8E <8=8AB5@AB2, 
@07@01>B0BL ?@>3@0<<K >1CG5=8O 8 >@30=87>20BL/>@30=87>20BL 
>1CG5=85. 
(iv) !07=0G8BL :20;8D8F8@>20==KE A?5F80;8AB>2 ?> >E@0=5 
>:@C60NI59 A@54K (�$#-<564C=0@>4=K9 A?5F80;8AB ?> >E@0=5 
>:@C60NI59 A@54K 8 �$#-=0F8>=0;L=K9 A?5F80;8AB ?> >E@0=5 
>:@C60NI59 A@54K) 4;O >:070=8O ?><>I8 �$# 2 2K?>;=5=88 
>1O70B5;LAB2 ?> >E@0=5 >:@C60NI59 A@54K 4>?>;=8B5;L=>3> 
D8=0=A8@>20=8O 8 2 <>=8B>@8=35 @50;870F88 ?>4@O4G8:>< <5@ ?> 
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A<O3G5=8N ?>A;54AB289. 
(v) ":070BL ?>445@6:C �$# 2 >15A?5G5=88 A>1;N45=8O M:>;>38G5A:8E 8 
A>F80;L=KE <5@ 157>?0A=>AB8 2 A>>B25BAB288 A �0O2;5=85< ��$ > 
?>;8B8:5 ?> >E@0=5 >:@C60NI59 A@54K (2009 3.), 2 G0AB=>AB8, 2 
>B=>H5=88: 
- #@>25AB8 >17>@ #--, 2:;NG0O #'"%, 4;O ?>=8<0=8O B@51>20=89 ?> 
>E@0=5 >:@C60NI59 A@54K ?@>5:B0 8 ?><>GL �$# 2 >1=>2;5=88 #-- 2 
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6клNG4Nт D4EEодK =4 поEеIе=8е о5Jекто6, пеG4тL <4теD84ло6 8 дDу78е ло78Eт8GеEк8е 
<еDопD8Oт8O. � т45л8Fе VIII.3 пDедEт46ле=4 оFе=к4 D4EEодо6 EтDо8телL=KE подDOдG8ко6 =4 
упD46ле=8е окDу64NIе9 EDедо9, 4 6 т45л8Fе VIII.4 87ло6е=4 оFе=оG=4O Eто8<оEтL Dе4л874F88 
�'О! К �. 

&45л8F4 VIII.3: ОFе=оG=4O Eто8<оEтL Dе4л874F88 �'О! подDOдG8к4 

"9@4 КB?<K9EF6B 
&9A4 ;4 
98<A<JG 

($) 

�D<@9DA4S 
J9A4 ($) 

�4>9F К'!���-CW-01: !FDB<F9?PEF6B :<?OI, 48@<A<EFD4F<6AOI < 6ECB@B74F9?PAOI 
;84A<=  

#>43>B>2:0 #'"%�'  "1I0O AC<<0  5,000 

#'"%�' @50;870F8O (<5@K ?> A<O3G5=8N 
?>A;54AB289 AB@>8B5;LAB20) 

 
"1I0O AC<<0 

 50,000 

'?@02;5=85 0A15AB>< (2:;NG0O 70:C?:C 
<0B5@80;>2 8 >1>@C4>20=8O, AB@>8B5;LAB2> 
0A15AB>2>9 O<K 8 ?>;CG5=85 @07@5H5=8O) 

 
"1I0O AC<<0 

 50,000 

 >18;L=K5 BC0;5BK 4;O @01>G8E =0 :064>9 
AB@>8B5;L=>9 ?;>I04:5 

 
"1I0O AC<<0 

800 800 

�7<5@5=85 2>74CE0 8;8 HC<0 (2 A;CG05 
60;>1K) 

5 ?@8<5@>2 40/?@8<5@>2 200 

 >18;870F8O M:>;>30 36 <5AOF52 500 18,000 

 >18;870F8O <548F8=A:>3> A>B@C4=8:0 36 <5AOF52 500 18,000 

 >18;870F8O ?> @01>B5 A A>>1I5AB2>< 36 <5AOF52 500 18,000 

�4>9F К'!���-CS-03: #?GKL9A<S GCD46?9A<S D<E>4@< EF<I<=AOI 598EF6<= 

$07@01>B0BL A?5F8D8:0F88 B5=45@0 =0 70:C?:C 
<CA>@>2>70 

"4=0 548=8F0 210,000 +0ABL AB>8<>AB8 
?@>5:B0 

�4>9F К'!���-GS-04: �98<J<AE>B9 B5BDG8B64A<9 

�0:C?:0 >1>@C4>20=8O 4;O >15770@06820=8O 
<548F8=A:8E >BE>4>2 (02B>:;02, 
<8:@>2>;=>20O ?5GL 8 B.4.) 

"1I0O AC<<0  +0ABL AB>8<>AB8 
?@>5:B0 

'A>25@H5=AB2>20=85 <CA>@>A6830B5;L=>3> 
702>40 <548F8=A:8E >BE>4>2 

"1I0O AC<<0  +0ABL AB>8<>AB8 
?@>5:B0 

Total   160,000 

К'!��О — Ко<8тет по GDе76KG49=K< E8ту4F8O< 8 7D46д4=Eко9 о5оDо=е, CLO — !пеF84л8Eт по E6O7O< E 
о5IеEт6е==оEтLN, HSO — !пеF84л8Eт по оED4=е тDуд4 8 теE=8ке 5е7оп4E=оEт8, SSEMP — �л4= упD46ле=8O окDу64NIе9 
EDедо9 =4 ко=кDет=о< уG4Eтке. 
 

 

 

 



&45л8F4 VIII.4: ОFе=оG=4O Eто8<оEтL 6=едDе=8O �1� �К� 

 

"9@4 КB?<K9EF6B 
&9A4 ;4 
98<A<JG ($) 

�D<@9DA4S J9A4 ($) 

 564C=0@>4=K9 A?5F80;8AB 
?> >:@C60NI59 A@545 

4 <5AOF0 (A 
?5@5@K20<8) 

20,000 80,000 

!0F8>=0;L=K9 A?5F80;8AB ?> 
>:@C60NI59 A@545 

12 <5AOF52 (A 
?5@5@K20<8) 

2,500 30,000 

"1CG5=85 #'-, � #, "&�, 
 $� 

10 G5;>25:0 x 2 @070 500/person 10,000 

Total   120,000 

AMP — �л4= упD46ле=8O 4E5еEто<, EMP — �л4= упD46ле=8O окDу64NIе9 EDедо9, GRM — �еE4=87< D4EE<отDе=8O 
64ло5, OSH — ОED4=4 тDуд4 8 теE=8к4 5е7оп4E=оEт8 

 

. 

E. �о=8тоD8=7 8 отGет=оEтL 

278. 1коло78GеEк89 <о=8тоD8=7 O6лOетEO 646=K< 4Eпекто< упD46ле=8O окDу64NIе9 EDедо9. 
�о=8тоD8=7 6клNG4ет: (i) Dе78EтD4F8N 87<е=е=89 клNGе6KE Mколо78GеEк8E п4D4<етDо6 (по 
ED46=е=8N E 8EEод=K< уDо6=е<); 8 (ii) MDDект86=оEтL Dе4л874F88, упD46ле=8O пDоекто< 8 <еD по 
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� �ЛО����� A: �ОК'���&�&�/ О�)�!&����/% КО�!'Л0&�&�� 

A. Ко=EулLт4F8о==Kе 6EтDеG8 

Ко=EулLт4F88 E Eел4<8 пDо6од8л8EL 6 д64<о4те �ол8 �4D, D49о=е �64лол8дд8= �4лE8 E 23 по 24 
8N=O 2022 7од4. �4 6EтDеG4E пD8EутEт6о64л8 <еEт=Kе 68тел8 87 Eел !4=о4т, �еE=4то5од, 
$8D<4=о6, �D46д4 8 'Dт45у7. 
�4 ко=EулLт4F8о==KE 6EтDеG4E пD8EутEт6о64ло 122 Gело6ек4, 6 то< G8Eле 75 <у6G8= 8 47 6е=I8=. 
�Kл8 пDедEт46ле=K пDедл474е<K9 пDоект 8 е7о ко<по=е=тK, 4 т4к6е уG4Eт=8к4< 5Kл4 D47JOE=е=4 
FелL 6EтDеG8 8 о5оE=о64=8е тDе5о64=89 по 74I8те окDу64NIе9 EDедK, от6оду 7е<елL 8 
пеDеEеле=8N, 4 т4к6е 7е=деD=K< 6опDоE4<. �4те< поEледо64ло откDKтое о5Eу6де=8е пDо5ле< 8 
пDедло6е=89 уG4Eт=8ко6. � Fело<, 6о7D46е=89 пDот86 пDедл474е<о7о пDоект4 К'!8�О =ет. 
'G4Eт=8к8 6Kд68=ул8 =еEколLко пDедло6е=89 8 Dеко<е=д4F89, котоDKе 87ло6е=K 6 &45л8Fе 1. 
&45л8F4 1. Ко<<е=т4D88 8 пDедло6е=8O от Ко=EулLт4F89 E �еDе6=е9 

 

E9?9A<9 !4AB4F �F69F 

(i) "3@0645=85 =0G0;L=KE 8 A@54=8E H:>; 
4;O 157>?0A=>AB8 45B59. 
(ii) �>AAB0=>2;5=85 H:>;, 0 =5 B>;L:> 
AB@>8B5;LAB2> BC0;5B>2; ?@54>AB02;5=85 
4>?>;=8B5;L=KE :;0AA=KE :><=0B. 
(iii) ';8G=>5 >A25I5=85, B0: :0: 4>@>38 
B5<=K5 =>GLN 8 =5157>?0A=K5. 
(iv) $5<>=B H:>;L=KE A8AB5< >B>?;5=8O. 
(v) %B0@K9 B@0=AD>@<0B>@ =0 C3;C A@54=59 
H:>;K ?5@53@C605BAO 8 2K7K205B ?5@51>8 2 
?>40G5 M;5:B@>M=5@388. �N48 ?@54;>68;8 
8<5BL >B45;L=K9 B@0=AD>@<0B>@ 4;O 
A>>1I5AB20 8 >B45;L=K9 4;O H:>;K 8 
<548F8=A:>3> F5=B@0. 
(vi) #@54>AB028BL <0H8=C A:>@>9 ?><>I8 
8;8 B@0=A?>@B=>5 A@54AB2> 4;O 4>AB02:8 
?0F85=B>2 2 1>;L=8FK 87 <548F8=A:8E 
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�>=AC;LB0F88 1C4CB ?@>4>;60BLAO 2 
B5G5=85 2A53> ?5@8>40 @50;870F88 
?@>5:B0. 

E9?9A<9 �D4684 BF69F К'! 



(i) %B048>= 8;8 83@>20O ?;>I04:0 2 #@0245. 
(ii) #>445@6:0 ;8F A >3@0=8G5==K<8 
2>7<>6=>ABO<8. 
(iii) �0:C?:0 >1>@C4>20=8O 4;O <548F8=A:>3> 
F5=B@0, B0: :0: 2 F5=B@5 5ABL B>;L:> 107>2K5 
B5@<><5B@K, 25AK 8 1KB>2>9 E>;>48;L=8:. 
!5B =04;560I53> E>;>48;L=>3> E@0=8;8I0 
4;O 20:F8=. 

#@54;>65=8O 8 @5:><5=40F88 1C4CB 
CGB5=K ?@8 45B0;L=>< 
?@>5:B8@>20=88. 
�+% @0AA<>B@8B ?@8>@8B5B=K5 
?>B@51=>AB8 45@525=L 2 A2O78 A 
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�A5<8@=K9 10=: =0E>48BAO =0 
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8A:;NG5= 87 ?@>5:B0 ��$, GB>1K 
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�6. �4лE8=Eк89 D49о=, д64<о4т �ол8 �4D, Eело !4=о4т. 23.06.2022, 9:00 

 
№ Full name Organization/Occupation Gender 

1 �2;8O:C;>20 %0>40B CG8B5;L � 

2 �:046>=>2 �>9<8@7>    CG8B5;L M 

3 Ло8ко6  4E8<д6о=    CG8B5;L M 

4 �E<ол7од4 %4E4= 68B5;L M 

5 �о9<уDодо6 КуD5о=4л8 CG8B5;L  M 

6 Ло8ко6 �<о<4л8 >E@0==8: M 

7 %4E4=о6 .EуD CG8B5;L  M 

8 %уд4кло6 �. 68B5;L  M 

9 %47D4ткуло6 !4ттоD #@54A540B5;L <0E0;;K M 

10 �>1><C@>4>2 !C@C;;>  ?@54AB028B5;L 460<>0B0 M 

11 �>1>=070@>2 #0=G>8 <0E0;;0 M 

12 )>;<0B>2 �;8H5@ <0E0;;0 M 

13  0<0=>2 �CAB<C@>4 <5AB=K9 68B5;L M 

14 �>4C@>2 ,>48 68B5;L M 

15 )C409:C;>2 $02H0= CG8B5;L M 

16 )>;<0B>2 ,02:0B <0@40: M 

17 )C4>:C;>20 !078@0 C1>@I8F0 � 



18 �>81=070@7>40  8@7> 48@5:B>@ H:>;K №29 M 

19 �>1>=070@>20 '<@8=8A>  :>;E>7=8: � 
20 )0<@>520 �C;G5E@0 :>;E>7=8: � 
21 )07@0B:C;>20 %>E81G0<>; :>;E>7=8: � 
22 �8G>520 %>;;5B820 68B5;L � 
23 &09G8520 !8;CD0 :>;E>7=8: � 
24 �0<0=>20 �>=03C; :>;E>7=8: � 
25 �0@8<>20 '38;>9 :>;E>7=8: � 
26 �;8<0@4>=>20 �0E@8 CG8B5;L � 
27 �0A8<>20 #0@28=0 CG8B5;L � 
28 &03>520  CE0110B CG8B5;L � 
29 �:@0<>20 )09@8=8AA> CG8B5;L � 
30 �@>38<>20 (0@>30B CG8B5;L � 
31 &09:8520 �4>;0B CG8B5;L � 
32 &030520 �0<8@0 CG8B5;L � 
33 )C4>9:C;>2 $02H0= CG8B5;L M 

34 �>1>=070@>2 "48; CG8B5;L M 

35 �5=460520 ,0E7>40 68B5;L � 
36 &03>520 ,>8@0 68B5;L � 
37 )C4>9:C;>20 �4>;0B 68B5;L � 
38 -@30H>20  C1>@0: 4>:B>@ � 
39 �8<0B>2 �60E>=38@ ABC45=B M 

40 +5@@8 $825@0  564C=0@>4=K9 M:>;>38G5A:89 
:>=AC;LB0=B ��$ 

� 

41 (>78;>2 (>78;  5AB=K9 :>=AC;LB0=B ��$ M 

42 �B01052 �=20@ =0F8>=0;L=K9 M:A?5@B 87 !#$%� M 

43 �0<8;>20 �0@8A0 !0F8>=0;L=K9 :>=AC;LB0=B ?> 2>?@>A0< 
>E@0=K >:@C60NI59 A@54K ��$ 

� 

44 �0EB815:>20 �C;D8O  5AB=K9 35=45@=K9 :>=AC;LB0=B ��$ � 

45 &C@AC=7>40 (8@C70 !#$%� � 

 

 

 

�6. �4лE8 D49о=, д64<о4т �ол8 �4D, Eело !о<о=8 («�D46д4»). 23.06.2022; 14:00 

 
№ $�� �D74A<;4J<S/DB8 ;4ASF<= �B? 
1 ,>4852 ";8< H:>;0 28, AB>@>6 M 

2 &C@AC=>20 �0<8@0 ?@54A540B5;L <0E0;;K � 

3 �070:1052 !5<0B46>= :>;E>7=8: M 

4 �14C@0E<>=>2 �14C<0;8: :>;E>7=8: M 

5 .;4>H52 (C@:0B46>= :>;E>7=8: M 

6 )0940@>2  CE0<046>= :>;E>7=8: M 

7 �C;><>2  CE848= :>;E>7=8: M 

8 �>81=070@>2 A.  M 

9 -@30H52 A. D5@<5@ M 

10 �>B8@>2 �60E>=38@ :>;E>7=8: M 

11 )>;<0B>2 B. :>;E>7=8: M 

12 �;8<:C;>2 &CEB><8H H:>;0 28, AB>@>6 M 

13 �>1>52 �>7>@1>9 :>;E>7=8: M 

14 !071C48=>2 &0;01H> 4>:B>@ M 

15 �070:1052  C<8=46>= :>;E>7=8: M 

16 �14CA0<0B>2 �14C@0AC; :>;E>7=8: M 



17 )08B>2 %>E81E>= D5@<5@ M 

18 �0DC@>2 �4815: 68B5;L M 

19 )C4>915@30=>2 �14C<CB0;81 CG8B5;L M 

20 )0:8<>2  C@0B46>= ABC45=B M 

21 )08B>2 '<54C;> D5@<5@ M 

22 %>B81>;4852 ,0:0@ D5@<5@ M 

23 %>18@>2 %>48:46>= D5@<5@ M 

24 )08B>2 �C@E>= D5@<5@ M 

25 �>1>52 %>48:46>= D5@<5@ M 

26  0E<C46>=>2 �0<>;46>= D5@<5@ M 

27 )C4>15@3>=>2 A. ?5=A8>=5@ M 

28 )C4>915@48520 )8:>OB :>;E>7=8: � 
29 !078@>20  ><03C; :>;E>7=8: r � 
30 #>;15:>20 �51> C1>@I8F0 � 
31  0E<C46>=>20 $0=> 4><>E>7O9:0 � 
32 &>?:>;48520 �51> 4><>E>7O9:0 � 
33  0E<C46>=>20  C=8@0 H:>;0 No. 28 � 
34 +5@@8 $825@0  564C=0@>4=K9 M:>;>38G5A:89 

:>=AC;LB0=B ��$ 
� 

35 &C@AC=7>40 (8@C70 !#$%� � 
36 �0<8;>20 �0@8A0 !0F8>=0;L=K9 M:>;>38G5A:89 M:A?5@B 

��$ 
� 

37 )C4>915@30=>20 )>;840 ?@54A540B5;L A5;5=8O � 
38 �>1><C@>4>2 !C@C;;> @01>B=8: 460<>0B0 M 

39 �B01052 �=20@ !0F8>=0;L=K9 M:A?5@B >B !#$%� M 

40 (>78;>2 (>78;  5AB=K9 A>F80;L=K9 A>25B=8: ��$   
41 �0EB815:>20 �C;D8O  5AB=K9 35=45@=K9 A>25B=8: ��$ � 

 

 

�6. �4лE8 D49о=, д64<о4т �ол8 �4D, Eело 'Dт45у7. 24.06.2022; 9:30 утD4 

 

№ $�� �D74A<;4J<S/DB8 ;4ASF<= �B? 
1 .=CA>2 �:@0<46>= 3@C7G8: M 

2 �8@><8448=>2 �D7C40 :>;E>7=8: M 

3 �0<>;>2 (0BE848= 68B5;L M 

4 +0<>;>2 ,0@8DEC460 68B5;L M 

5 �C;>2 �A<>8; 68B5;L M 
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�4=A<88<A  

�8D9E �:. �4?I< D4=BA, 8:4@B4F �B?< �4D, E9?B #DF45G; 

�4F4 <AF9D6PR 24.06.2022. 

1. �0:>9 C 20A 8AB>G=8: 2>4K?  >65B5 ;8 2K 
?@>:><<5=B8@>20BL :0G5AB2> 2>4K 8 =0?>@ 
2>4K? !0?>@ 2>4K 4>ABC?5= :@C3;>ACB>G=>? 
(�K;8 ;8 2 20H59 A5<L5 A;CG08 701>;520=89, 
A2O70==KE A =5:0G5AB25==>9 2>4>9?) 

�ABL :>;>45F. �A5340 5ABL 2>40. !5B 1>;57=59. 

2. �0:>9 C 20A 8AB>G=8: M;5:B@>M=5@388? 
 >65B5 ;8 2K ?@>:><<5=B8@>20BL 
M;5:B@>A=0165=85 20H59 45@52=8? 

"1I0O ;8=8O M;5:B@>?5@540G, ?5@8>48G5A:85 
>B:;NG5=8O M;5:B@>M=5@388 

3. �ABL ;8 C 20A BC0;5B =0 A5<LN 8;8 2K 
?>;L7C5B5AL >1I8< BC0;5B><? 

&C0;5B 2 :064>< 4><5 

4. �ABL ;8 2K3@51=0O O<0 4;O A1>@0 AB>G=KE 
2>4 87 BC0;5B>2? �0: 2K A>18@05B5 AB>G=K5 
2>4K >B ?@83>B>2;5=8O ?8I8 8 AB8@:8? 

!5B, >3>@>4, O<0 

5. �0: 2K C?@02;O5B5 <CA>@></B25@4K<8 
>BE>40<8? 

/<0 2 A04C, B>, GB> <>6=> A65GL, <K A68305<, 
?8I52K5 >BE>4K 4;O A:>B0. 

6. +B> O2;O5BAO 8AB>G=8:>< A@54AB2 : 
ACI5AB2>20=8N A5<59? 

�>;E>7, @01>B0 2 $>AA88. 

7. �0:>2K A@54AB20 : ACI5AB2>20=8N 68B5;59 
45@52=8? 

$01>B0 2 :>;E>75, H:>;5, <54?C=:B5, 2K574 2 
$>AA8N =0 70@01>B:8 



8. % :0:8<8 ?@>1;5<0<8 8 701>B0<8 2K 
AB0;:8205B5AL 2 >1I5AB25 2 A2O78 A 
M:>;>38G5A:8<8 :0B0AB@>D0<8, B0:8<8 :0: 
:;8<0B, >?>;7=8, M@>78O ?>G2K, =02>4=5=8O 8 
B. 4.? 

�>7<>6=K =51>;LH85 75<;5B@OA5=8O A8;>9 4-5 
10;;>2. 

9. �>340 ?@>87>H;0 ?>A;54=OO :@C?=0O 
M:>;>38G5A:0O :0B0AB@>D0? 

!5 1K;> 

10. �=05B5 ;8 2K > ?@54;0305<>< ?@>5:B5 2 
20H5< =0A5;5==>< ?C=:B5 8;8 45@52=5? 

�0 

11. �0: 2K 4C<05B5, :0:CN ?>;L7C ?@8=5A5B 
?@>5:B 20H59 A5<L5? 20H5<C A>>1I5AB2C? 

�>=5G=>, ?>78B82=> 

12. �0:>2K, ?> 20H5<C <=5=8N, =530B82=K5 
?>A;54AB28O ?@>5:B0? 

�@5<5==K5 B@C4=>AB8 

13. �ABL ;8 C 20A ?@54;>65=8O 8 
@5:><5=40F88 ?> @50;870F88 ?@>5:B0? 

� A5;5 '@B01C7 =5B :>;>4F52, 2>40 5ABL 2 
=86=59 G0AB8 A5;0, => =5 2 25@E=59. 

 

 

 

 

 

�@S D9ECBA89AF4 КBE<@B64 �D>4@BI %4><@B6A4, @98E9EFD4, 939082770 

�8D9E �:. �4?I< D4=BA, 8:4@B4F �B?< �4D, E9?B #DF45G; 

�4F4 <AF9D6PR 24.06.2022. 

1. �0:>9 C 20A 8AB>G=8: 2>4K?  >65B5 ;8 2K 
?@>:><<5=B8@>20BL :0G5AB2> 2>4K 8 =0?>@ 
2>4K? !0?>@ 2>4K 4>ABC?5= :@C3;>ACB>G=>? 
(�K;8 ;8 2 20H59 A5<L5 A;CG08 701>;520=89, 
A2O70==KE A =5:0G5AB25==>9 2>4>9?) 

�ABL 4>< (10AA59=). 1 <0H8=0 2>4>2>7 -60 
A><>=8, 2>4K E20B05B =0 <5AOF. �01>;520=89 =5 
1K;>. 

2. �0:>9 C 20A 8AB>G=8: M;5:B@>M=5@388? 
 >65B5 ;8 2K ?@>:><<5=B8@>20BL 
M;5:B@>A=0165=85 20H59 45@52=8? 

"1I0O ;8=8O M;5:B@>?5@540G, 8=>340 
>B:;NG05BAO 78<>9, 1K20NB >1@K2K ?@>2>4>2 

3. �ABL ;8 C 20A BC0;5B =0 A5<LN 8;8 2K 
?>;L7C5B5AL >1I8< BC0;5B><? 

&C0;5B 2 :064>< 4><5 

4. �ABL ;8 2K3@51=0O O<0 4;O A1>@0 AB>G=KE 
2>4 87 BC0;5B>2? �0: 2K A>18@05B5 AB>G=K5 
2>4K >B ?@83>B>2;5=8O ?8I8 8 AB8@:8? 

�0. �K2>7 =0 <0H8=5 - 50 A><>=8. �ABL O<0 

5. �0: 2K C?@02;O5B5 <CA>@></B25@4K<8 
>BE>40<8? 

 K A:;048@C5< <CA>@ 2 <5H:0E, A>A548 
A>18@0NB 53> 8 2K2>7OB =0 A20;:C =0 <0H8=5. 

6. +B> O2;O5BAO 8AB>G=8:>< A@54AB2 : 
ACI5AB2>20=8N A5<59? 

$01>B0N <54A5AB@>9 32 3>40. �5=53 =5 E20B05B, 
AK= 2 $>AA88 @01>B0BL, A>A548 ?><>30NB 

7. �0:>2K A@54AB20 : ACI5AB2>20=8N 68B5;59 
45@52=8? 

$01>B0 2 :>;E>75, H:>;5, <54?C=:B5, <83@0F8O 2 
$>AA8N =0 70@01>B:8, 2 <03078=5 



8. % :0:8<8 ?@>1;5<0<8 8 701>B0<8 2K 
AB0;:8205B5AL 2 >1I5AB25 2 A2O78 A 
M:>;>38G5A:8<8 :0B0AB@>D0<8, B0:8<8 :0: 
:;8<0B, >?>;7=8, M@>78O ?>G2K, =02>4=5=8O 8 
B. 4.? 

=5 > G5< 15A?>:>8BLAO 

9. �>340 ?@>87>H;0 ?>A;54=OO :@C?=0O 
M:>;>38G5A:0O :0B0AB@>D0? 

!5 1K;> 

10. �=05B5 ;8 2K > ?@54;0305<>< ?@>5:B5 2 
20H5< =0A5;5==>< ?C=:B5 8;8 45@52=5? 

!5B 

11. �0: 2K 4C<05B5, :0:CN ?>;L7C ?@8=5A5B 
?@>5:B 20H59 A5<L5? 20H5<C A>>1I5AB2C? 

�>=5G=>, ?>78B82=> 

12. �0:>2K, ?> 20H5<C <=5=8N, =530B82=K5 
?>A;54AB28O ?@>5:B0? 

�@5<5==K5 B@C4=>AB8 

13. �ABL ;8 C 20A ?@54;>65=8O 8 
@5:><5=40F88 ?> @50;870F88 ?@>5:B0? 

#>1>;LH5 1K B0:8E ?@>5:B>2. &>, GB> 2K E>BO 1K 
@073>20@8205B5 A =0A5;5=85<, A?@0H8205B5 
=0A5;5=85 > 53> ?@>1;5<0E, 70AB02;O5B 20A 
GC2AB2>20BL A51O ;CGH5, A?0A81>. 

 

 

 

 

� �ЛО����� B: � ������/� 1КОЛО��'�!К�� !&���� &/ 

&45л8F4 1. �4F8о=4лL=Kе Eт4=д4DтK 

Sl. No. �4J<BA4?PAO9 EF4A84DFO (��!"O) 

1 3143142011. "E@0=0 ?@8@>4K. �>74CE. !>@<K ?@545;L=> 4>?CAB8<KE 2K1@>A>2 (#��). 29 
=>O1@O 2011 3. 

2 3143442011 "E@0=0 ?@8@>4K. �>74CE. "?@545;5=85 ?>:070B5;59 MDD5:B82=>AB8 A8AB5< 
?K;5C;02;820=8O. 29 =>O1@O 2011 3. 

3 IEC 61241-042011 -;5:B@>>1>@C4>20=85, ?@8<5=O5<>5 2 7>=0E A 3>@NG59 ?K;LN. +0ABL 0. 
"1I85 B@51>20=8O. 29 =>O1@O 2011 3. 

4 GOST 17.0.0.01-76 (%& %�� 1364-78) (2 8740=88 1987 3.) %8AB5<0 AB0=40@B>2 ?> >E@0=5 
>:@C60NI59 A@54K 8 C;CGH5=8N 8A?>;L7>20=8O ?@8@>4=KE @5AC@A>2. �@0B:>5 87;>65=85 

5 Executive summary GOST 17.0.0.04-80 (1998) "E@0=0 ?@8@>4K. -:>;>38G5A:89 ?0A?>@B 
(A5@B8D8:0B) ?@><KH;5==>3> >1J5:B0. �@0B:>5 87;>65=85 

6 GOST R IS014001-98 %8AB5<K M:>;>38G5A:>3> <5=546<5=B0. &@51>20=8O 8 @5:><5=40F88. 

7 GOST 17.0.0.02-79 (1980) "E@0=0 ?@8@>4K. "15A?5G5=85 <5B5>@>;>38G5A:>3> :>=B@>;O 
703@O7=5=8O 2>74CE0, ?>25@E=>AB=KE 2>4 8 ?>G2. 

8 GOST 17.1.1.01-77 (%& %�� 3544-82) �>4>?>;L7>20=85 8 >E@0=0 2>4. "1I85 B5@<8=K 8 
>?@545;5=8O. 

9 GOST 17.2.1.01- 76 �;0AA8D8:0F8O 2K1@>A>2 (A>AB02). 

10 GOST 12.1.014-84 (1996) "%%%. �>74CE =0 @01>G5< <5AB5.  5B>4 87<5@5=8O :>=F5=B@0F88 
703@O7=ONI8E 25I5AB2 A ?><>ILN 8=48:0B>@=KE B@C1>:. 

11 GOST 12.1.005-88 (1991) "%%%. "1I85 38385=8G5A:85 B@51>20=8O : 2>74CEC =0 @01>G8E <5AB0E. 

12 GOST 17.2.2.05-97 %B0=40@BK 8 <5B>4K 87<5@5=8O 2K1@>A>2, A>45@60I8E >B@01>B02H85 307K 
4875;L=KE 42830B5;59, B@0:B>@>2 8 A0<>E>4=KE A5;LA:>E>7O9AB25==KE <0H8=. 



13 GOST 21393-75 �875;L=K5 02B><>18;8. �K<=>ABL 2KE;>?=KE 307>2. %B0=40@BK 8 <5B>4K 
87<5@5=8O. 

14 GOST 17.2.2.03-77 �>=F5=B@0F8O >:A840 C3;5@>40 2 2KE;>?=KE 3070E 02B><>18;59 A 15=78=>2K< 
42830B5;5<. 

15 GOST 17.2.2.03-87 %B0=40@BK 8 <5B>4K 87<5@5=8O A>45@60=8O >:A840 C3;5@>40 2 2KE;>?=KE 
3070E 02B><>18;59 A 15=78=>2K<8 42830B5;O<8. 

16 GOST 17.4.2.01-81 #0@0<5B@K ?@54<5B>2 38385=K. 

17 GOST 17.4.1.02-83 )8<8G5A:0O :;0AA8D8:0F8O 4;O <>=8B>@8=30 703@O7=5=8O. 

18 GOST 12.1.003-83 (1991) "%%%. ,C<. "1I85 B@51>20=8O 157>?0A=>AB8 

19 GOST 12.1.023-80 (1996) "%%%. ,C<.  5B>4K ?>@>3>2>3> C@>2=O HC<0 4;O AB0F8>=0@=KE 
<0H8=. 

20 GOST 12.1.029-80 (1996) "%%%. %@54AB20 8 <5B>4K 70I8BK >B HC<0. �;0AA8D8:0F8O. 

21 GOST 12.1.036-81 (1996) "%%%. ,C<. �>?CAB8<K5 C@>2=8 HC<0 2 68;KE 8 >1I5AB25==KE 
740=8OE. 

22 GOST 12.1.007-76 (1999) "%%%. �@54=K5 25I5AB20. �;0AA8D8:0F8O 8 >1I85 B@51>20=8O 
157>?0A=>AB8. 

23 GOST 12.4.119-82 OSSS. $5A?8@0B>@=0O #%-.  5B>4K >F5=:8 70I8B=KE A2>9AB2 0M@>7>;59. 

24 GOST 12.4.125-83 (1985) "%%%. �>;;5:B82=0O 70I8B0 >B <5E0=8G5A:8E D0:B>@>2. 
�;0AA8D8:0F8O. 

25 SNiP 2.05.02-85 (1985) %B@>8B5;L=K5 =>@<K 8 ?@028;0 4;O 02B><>18;L=KE 4>@>3 

26 %0=8B0@=K5 ?@028;0 8 =>@<K (%0=#8=) 

27 %0=#8! 2.1.4.559-96 �>40 ?8BL520O. �8385=8G5A:85 B@51>20=8O : :0G5AB2C 2>4K 
F5=B@0;87>20==KE A8AB5< ?8BL52>3> 2>4>A=0165=8O. �>=B@>;L :0G5AB20 

28 CH 2.2.4/2.1.8.562-96 ,C< =0 @01>G8E <5AB0E, 2 68;KE 8 >1I5AB25==KE 740=8OE, 0 B0:65 2 68;KE 
@09>=0E. 

 

&45л8F4 2. �4D4<етDK п8тLе6о9 6одK 8 допуEт8<Kе =оD<K 

 

�4D4@9FDO �8-JO 
!F4A84DFO 

"48:<><EF4A4 
!F4A84DFO 

��� 
!F4A84DF 

�! 

�D<ASFO= 
EF4A84DF 
CDB9>F4 

(878G5A:>5 :0G5AB2>      

pH 4 6-9 6-9 6.5-9.5 6-9 

"1I55 :>;8G5AB2> 
@0AB2>@5==KE B25@4KE 

25I5AB2 

mg/l 1000 4  1000 

&2ё@4>ABL Mg-eqv/l 7.0 4  7.0 

 CB=>ABL EMF (forma 
sine) or mg/l 

(caoline) 

1.5 4 #@85<;5<> 
4;O 

?>B@518B5;59 
8 =5 8<55B 
0=><0;L=KE 
87<5=5=89 

1.5 

�0G5AB2> =5>@30=8G5A:>9 
E8<88 

     

Aluminum (Al) mg/l 0.5 4 0.2 0.5 

Ammonium ion (NH4) mg/l  4 0.5 0.5 

Antimony (Sb) mg/l 0.05 0.02 0.005 0.02 



Arsenic (As total) mg/l 0.05 0.01 0.01 0.01 

Barium (Ba) mg/l  0.7 4 0.7 

Beryllium (Be) mg/l  4 4  

Boron (B) mg/l  0.5 1.0 0.5 

Cadmium (Cd) mg/l 0.001 0.003 0.005 0.003 

Chloride ion (Cl‘) mg/l 350 4 250 350 

Chlorine (Cl) mg/l 0.3-0.5 (free) 0.8- 

1.2 (bounded) 

5 4 0.3-0.5 (free) 

0.8-1.2 (bounded) 

Chromium (Cr+6) (Cr+3) mg/l 0.05 0.05 0.05 0.05 

Copper (Cu) mg/l 1.0 2 2.0 1.0 

Cyanide (CN) mg/l  0.07 0.05 0.07 

Fluoride ion (F-) mg/l  1.5 1.5 1.5 

Flydrogen Sulphide (H2S) mg/l  ... ...  

Iron (Fe) mg/l 0.3 ... 0.2 0.3 

Lead (Pb total) mg/l 0.03 0.02 0.01 0.02 

Manganese (Mn) mg/l  0.4 0.05 0.4 

Mercury (Fig) mg/l  0.001 0.001 0.001 

Molybdenum (Mo) mg/l  0.07 ... 0.07 

Nickel (Ni) mg/l 0.1 0.02 0.02 0.02 

Nitrate ion (as N03) mg/l 45 50 50 45 

Nitrite ion (as N02) mg/l  3 or 0.2 ... 3 

Phosphate ion (P04
2+) mg/l 3.5 ... ... 3.5 

Selenium (Se) mg/l  0.01 0.01 0.01 

Silicon (Si) mg/l 10 .... .... 10 

Silver (Ag) mg/l  ... ...  

Sodium (Na) mg/l  ... 200 200 

Sulphate ion (S04
2+) mg/l 500 ... 250 500 

Strontium (Sr) mg/l  ... ...  

Uranium (U) mg/l  0.015 ... 0.015 

Vinyl Chloride (C2H3CI / 
H2C) 

mg/l  0.0003 0.0005 0.0003 

Zinc (Zn) mg/l 5.0 ... ... 5.0 

Petrochemicals mg/l 0.1  0.1-5 0.1 

Surfactants (anionic) mg/l 0.5  .... 0.5 

COD mg/l ....  150-400 150-400 

Permanganate oxizability mg/l 5  .... 5 

Specific 
electrical 

conductivity 

2x103
   .... 2x103

 



EU - European Union, WHO - World Health Organization.; a The most stringent quality standards will be applied under 
the project.; b SanPiN 2.1.4.1074-01.; c EU Council Directive 98/83/EC of 3rd November 1998 Sources: SanPiN 
2.1.4.1074-01 and WHO 

 

 

&45л8F4 3. 1коло78GеEк8е Eт4=д4DтK к4GеEт64 6одK 8 E5DоEо6 6 6одое<K 

 

�4D4@9FD 
�4J<BA4?PAO9 

EF4A84DFO/FD95B64A<S 
"48:<><EF4A4 

 G>B6B8EF64 CB 
BID4A9 

B>DG:4RM9= 
ED98O, ;8BDB6PS 
< 59;BC4EABEF<

b
 

�D<ASFO9 EF4A84DFO 
CDB9>F4 

pH 6.5-8.5 6-9 6.5-8.5 

BOD - 30 mg/l 30 mg/l 

COD - 125 mg/l 125 mg/l 

"1I89 07>B - 10 mg/l 10 mg/l 

"1I89 D>AD>@ - 2 mg/l 2 mg/l 

 0A;> 8 A<07:0 - 10 mg/l 10 mg/l 

"1I55 :>;8G5AB2> 
2725H5==KE G0AB8F 

- 50 mg/l 50 mg/l 

�A53> :>;8D>@<=KE 
10:B5@89 

- 400 MPN/100 ml 400MPN/100ml 

Aluminum 0.04 mg/m3 - 0.04 mg/l 

Iron (Fe) 0,1 mg/m3 - 0.1 mg/l 

Cadmium (Cd) 0.005 mg/m3 - 0.005 mg/l 

Copper (Cu) 0.001 mg/m3 - 0.001 mg/m3 

Nickel (Ni) 0.01 mg/m3 - 0.01 mg/m3 

Lead (Pb) 0.006 mg/m3 - 0.006 mg/m3 

Zinc (Zn) 0.01 mg/m3 - 0.01 mg/m3 

Chromium (Cr+6) 0.02 mg/m3 - 0.02 mg/m3 

Chromium (Cr+3) 0.07 mg/m3 - 0.07 mg/m3 

Oil and petrochemicals 0.05 mg/m3 - 0.05 mg/m3 

Arsenic (As) 0.05 mg/m3 - 0.05 mg/m3 

Calcium (Ca) 180 mg/m3 - 180 mg/m3 

Silicon 1.0 mg/m3 - 1.0 mg/m3 

BOD - biochemical oxygen demand, COD - chemical oxygen demand; MPN - most probable number. 

a Procedure of Environmental Impact Assessment accepted by Resolution No 464 of the Government of the Republic of Tajikistan 

dated 3 October 2006. 

b International Finance Corporation. Environmental, Health, and Safety Guidelines. 

 

 

 

https://www.ifc.org/wps/wcm/connect/Topics_Ext_Content/IFC_External_Corporate_Site/Sustainability-At-IFC/Policies-Standards/EHS-Guidelines


&45л8F4 4. !т4=д4DтK к4GеEт64 6о7дуE4 (�4I8т4 =4Eеле=8O [=4 о5Jект4E 6о7де9Eт68O])a 

 

�4J<BA4?PAO9 EF4A84DFO/FD95B64A<S 
!F4A84DFO "48:<><EF4A4, @7/@3 

 G>B6B8EF64 CB BID4A9 B>DG:4RM9= ED98O, ;8BDB6PS 
< 59;BC4EABEF< 

PM 0.15 �A;8 CAB0=>2;5=K, ?@8<5=ONBAO =0F8>=0;L=K5 AB0=40@BK 
:0G5AB20 2>74CE0. �A;8 =0F8>=0;L=K5 AB0=40@BK =5 
CAB0=>2;5=K, ?@8<5=ONBAO AB0=40@BK $��. 

NO 0.06 

N02 0.04 

S02 0.05 

Ammonia 0.06 WHO Standards 

Benzopyrene 0.1 WHO guidelines, μg/m3: 

Benzene 0.1 PM2.5 10 (1 yr) 

Acetone 0.35 PM2.5 25 (24 h) 

Petrol 1.5 PM10 20 (1 yr) 

V205 0.002 PM10 50 (24 h) 

Vinyl acetate 0.15 Ozone 100 (8 h) 

HCI 0.2 NO2 40 (1 yr) 

HF 0.005 NO2 200 (1 hr) 

Fe203 0.04 SO2 20 (24 h) 

HN03 0.4 SO2 500 (10 min) 

H2SO4 0.1  

Xylol 0.2  

Manganese and its oxides 0.001  

Copper oxides 0.002  

Magnesia 0.05  

Nickel oxide 0.001  

Inorganic dust (SiO270 %) 0.05  

Si02 - 70 % - 20 % 0.1  

Si02 is less than 20 % 0.15  

Lead and its compounds 0.0003  

Lead sulfur 0.001  

Hydrogen sulfide, H2S 0.008  

Turpentine 1  

Ethyl alcohol (ethanol) 5.0  

Butyl alcohol (butanol) 0.1  

Propane alcohol (propanol) 0.3  

methyl alcohol (methanol) 0.5  

Styrene 0.003  

Soot 0.05  

CO 3.0  

Phenol 0.01  

Formaldehyde 0.003  

Fluoride (HF, SiF4) 0/05  

Freon (all brands) 10  



Chromium trioxide 0.0015  

Chlorine 0.03  

ZnO 0.05  

Ethylene oxide 0.03  

a Procedure of Environmental Impact Assessment accepted by Resolution No 464 of the Government of the Republic of Tajikistan 

dated 3 October 2006. 

b Procedure of Environmental Impact Assessment accepted by Resolution No 464 of the Government of the Republic of Tajikistan 

dated 3 October 2006. 

c International Finance Corporation. Environmental, Health, and Safety Guidelines. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

a Procedure of Environmental Impact Assessment accepted by Resolution No 464 of the Government of the Republic of Tajikistan 

dated 3 October 2006. 

b Procedure of Environmental Impact Assessment accepted by Resolution No 464 of the Government of the Republic of Tajikistan 

dated 3 October 2006. 

c International Finance Corporation. Environmental, Health, and Safety Guidelines. 

https://www.ifc.org/wps/wcm/connect/Topics_Ext_Content/IFC_External_Corporate_Site/Sustainability-At-IFC/Policies-Standards/EHS-Guidelines


&45л8қ4 5 !т4=д4DтK Hу<4 a 

"9@4 

�4J<BA4?PAO9 EF4A84DFO/FD95B64A<S 
"48:<><EF4A/�DB9>F �D<ASFO9 

!F4A84DFO 

 G>B6B8EF64 EHS 

�D989?PAO9 
GDB6A< LG@4 
6 ABKAB9 
6D9@S 8?S 
;4M<FO 
K9?B69>4 

'@>25=L HC<0 2 =>G=>5 2@5<O (23:00-07:00) =5 4>;65= 
?@52KH0BL A;54CNI8E 7=0G5=89 (%0=#8! 2.2.4/2.1.8.562-96): 

(i) �=CB@8 68;KE 8 >1I5AB25==KE 740=89: 
1. #0;0BK 1>;L=8F 8 A0=0B>@852, >?5@0F8>==K5: 25 4�(�); 
2. �8;K5 :><=0BK 2 :20@B8@0E, 4><0E >B4KE0, ?0=A8>=0B0E, 
4><0E ?@5AB0@5;KE 8 8=20;84>2, A?0;L=K5 :><=0BK 2 45BA:8E 

A040E 8 H:>;0E-8=B5@=0B0E: 30 4�(�); 
3. !><5@0 2 3>AB8=8F0E 8 >1I568B8OE: 35 4�(�); 
(ii) !0 B5@@8B>@88 68;KE 8 4@C38E B5@@8B>@89: 

1. �>=K >B4KE0, =5?>A@54AB25==> ?@8<K:0NI85 : 740=8O< 
1>;L=8F 8 74@02=8F: 35 4�(�) 

2. �>=K, =5?>A@54AB25==> ?@8<K:0NI85 : 68;K< 740=8O<, 
?>;8:;8=8:0<, 0<1C;0B>@8O<, 4><0< >B4KE0, 4><0< 

?@5AB0@5;KE 8 8=20;84>2, 45BA:8< A040<, H:>;0< 8 4@C38< 
>1@07>20B5;L=K< CG@5645=8O<, 181;8>B5:0<; 45 4�(�); 

1. 3. &5@@8B>@88, =5?>A@54AB25==> ?@8<K:0NI85 : 740=8O< 
3>AB8=8F 8 >1I568B89: 50 4�(�) 

'@>25=L HC<0 =5 
4>;65= ?@52KH0BL 

A;54CNI85 C@>2=8 8;8 
?@82>48BL : 

<0:A8<0;L=><C 
C25;8G5=8N D>=>2KE 
C@>2=59 =0 3 4� 2 
1;8609H5< <5AB5 
?@85<0 70 ?@545;0<8 
CG0AB:0: !0 >B:@KB>< 

2>74CE5: 
(i) �8;K5; 

8=AB8BCF8>=0;L=K5, 
>1@07>20B5;L=K5: 
!>G=>5 2@5<O (22:00-
07:00): 45 4�(�) 

(ii) #@><KH;5==K5, 
:><<5@G5A:85: 

!>G=>5 2@5<O (22:00-
07:00): 

70 4�(�) 
�D989?PAO9 
GDB6A< LG@4 
6 8A96AB9 
6D9@S 8?S 
;4M<FO 
K9?B69>4 

'@>25=L HC<0 2 4=52=>5 2@5<O (07:00-23:00) =5 4>;65= 
?@52KH0BL A;54CNI8E =>@< (%0=#8! 2.2.4/2.1.8.562-96): 

(iii) �=CB@8 68;KE 8 >1I5AB25==KE 740=89: 
1. #0;0BK 1>;L=8F 8 A0=0B>@852, >?5@0F8>==K5: 35 4�(�); 

2. �018=5BK ?@85<0 ?>;8:;8=8:, 0<1C;0B>@89, 0?B5:, 1>;L=8F 8 
A0=0B>@852 35 4�(�). 

3. 'G51=K5 :;0AAK, CG8B5;LA:85, 0C48B>@88 H:>; 8 4@C38E 
>1@07>20B5;L=KE >@30=870F89, :>=D5@5=F-70;K, G8B0;L=K5 

70;K 40 4�(�). 
4. �8;K5 :><=0BK 2 :20@B8@0E, 4><0E >B4KE0, ?0=A8>=0B0E, 
4><0E ?@5AB0@5;KE 8 8=20;84>2, A?0;L=K5 :><=0BK 2 45BA:8E 

A040E 8 H:>;0E-8=B5@=0B0E: 40 4�(�); 
5. !><5@0 2 3>AB8=8F0E 8 >1I568B8OE: 45 4�(�); 
6. �0;K :0D5, @5AB>@0=>2, AB>;>2KE: 55 4�(�); 

7. &>@3>2K5 70;K <03078=>2, ?0AA068@A:85 70;K 0M@>?>@B>2 8 
2>:70;>2, ?@54?@8OB8O 1KB>2>3> >1A;C6820=8O: 60 4�(�); 

(iv) � 68;KE 8 4@C38E 7>=0E: 
1. �>=K >B4KE0, =5?>A@54AB25==> ?@8<K:0NI85 : 1>;L=8G=K< 

740=8O< 8 >74>@>28B5;L=K< F5=B@0<: 45 4�(�) 
2. �>=K, =5?>A@54AB25==> ?@8<K:0NI85 : 68;K< 740=8O<, 

?>;8:;8=8:0<, 0<1C;0B>@8O<, 4><0< >B4KE0, 4><0< 
?@5AB0@5;KE 8 8=20;84>2, 45BA:8< A040<, H:>;0< 8 4@C38< 
>1@07>20B5;L=K< CG@5645=8O<, 181;8>B5:0<: 55 4�(�); 

3. �>=K, =5?>A@54AB25==> ?@8<K:0NI85 : 740=8O< 3>AB8=8F 8 
>1I568B89: 60 4�(�) 

4. �>=K >B4KE0 =0 B5@@8B>@88 1>;L=8F 8 A0=0B>@852 35 4�(�) 
5. �>=K >B4KE0 =0 B5@@8B>@88 <8:@>@09>=>2 8 68;KE 7>=, 
4><0 >B4KE0, 4><0 ?@5AB0@5;KE 8 8=20;84>2, 45BA:85 
?;>I04:8 2 45BA:8E A040E, H:>;0E 8 4@C38E 
>1@07>20B5;L=KE CG@5645=8OE: 45 4�(�) 

'@>25=L HC<0 =5 
4>;65= ?@52KH0BL 

A;54CNI85 C@>2=8 8;8 
?@82>48BL : 

<0:A8<0;L=><C 
C25;8G5=8N D>=>2KE 
C@>2=59 =0 3 4� 2 
1;8609H5< <5AB5 
@0A?>;>65=8O 
?@85<=8:0 70 

?@545;0<8 CG0AB:0: !0 
>B:@KB>< 2>74CE5 

1. �8;K5; 
8=AB8BCF8>=0;L=K5, 
>1@07>20B5;L=K5.: 

�=52=>5 2@5<O (07:00-
22:00): 55 4�(�) 
2. #@><KH;5==K5, 
:><<5@G5A:85: 

4=52=>5 2@5<O (07:00-
22:00): 

70 4�(�). 



� �ЛО����� C: О� ���& ��&О�� '� ��Л���/ �!��!&О� 

1. КD4ткое оп8E4=8е D45от 
(i) 'д4ле=8е 4E5еEтоFе<е=т=KE кDо6елL=KE л8Eто6. 
(ii) �лоI4дк4 5удет о7оDо6е=4, 8 5удут 6KEт46ле=K пDедупDе6д4NI8е 7=4к8. 
(iii) �оEтуп к л8Eт4< 5удет оEуIеEт6лOтLEO по леEт=8Fе/6KHке доEтуп4. 
(iv) �Eе л8EтK 5удут по<еIе=K 6 7еD<ет8G=K9 ко=те9=еD, по 6о7<о6=оEт8 л8EтK 5удут 
под=8<4тLEO Fел8ко< поEле Dе7к8 кDепле=89. 
(v) �етод D45отK Eоот6етEт6ует тDе5о64=8O< HSE A14 по 4E5еEту. 
2. 'Eт4=о6к4 8 о5оDудо64=8е 

(i) ЛеEт=8F4/6KHк4 доEтуп4 8 DуG=Kе 8=EтDу<е=тK. 
3. Ко<4=д4 =4 плоI4дке 

(i)  уко6од8телL плоI4дк8 

(ii)  45от=8к8 

4. !DедEт64 8=д868ду4лL=о9 74I8тK (!��) 8 пеD64O по<оIL 

(i) О5O74телL=Kе тDе5о64=8O: к4Eк4, 74I8т=4O о5у6L, пеDG4тк8, E6етоотD464NI8е оGк8, <4Eк4 P3, 
ко<58=е7о=K т8п4 5/6, 74I8т4 7л47. 
(ii) �птеGк4 пеD6о9 по<оI8. 
5. О5I8е пDоFедуDK =4 о5Jекте 

(i) �Eе отEодK 6 от6еде==Kе ко=те9=еDK. 
6. �748<оде9Eт68е E дDу78<8 

(i) �еEL пеDEо=4л =4 о5Jекте дол6е= 5KтL у6едо<ле= о D45от4E по уд4ле=8N 4E5еEт4. 
(ii)  45оG4O 7о=4 оFепле=4. 
7. �етод D45отK 

(i)  45оG8е 5удут пDо8=DоD<8Dо64=K о <етоде D45от 8 E6O74==KE E =8< D8Eк4E, 8< 5удут 6DуGе=K 
коп88 A14 Asbestos Essentials 6 к4GеEт6е EпD46к8. 
(ii)  45отK =е 5удут 6Kпол=OтLEO до теE поD, пок4 о5Jе< D45от =е 5удет Eо7л4Eо64= =4 о5Jекте. 
(iii)  45оG8е пDо9дут 8=EтDукт46 по теE=8ке 5е7оп4E=оEт8 =4 о5Jекте. 
(iv) �оEле то7о, к4к 6еEL пеDEо=4л пDо9дет 8=EтDукт46 =4 о5Jекте, Dуко6од8телL о5Jект4 74G8т4ет 
<етод8GеEк8е оп8E4=8O, оE64тK64NI8е пDедEтоOI8е D45отK, Gто5K у5ед8тLEO, Gто 6Eе D45от=8к8 
по=8<4Nт 5е7оп4E=K9 <етод D45отK. �оEле то7о, к4к 6Eе D45от=8к8 по9<ут 5е7оп4E=K9 <етод 
D45отK, о=8 подп8Hут <етод, Gто5K подт6еDд8тL, Gто 5удут Eледо64тL Mт8< <етод4< 6 лN5ое 
6Dе<O. �Eл8 =ео5Eод8<о 6=еEт8 попD46к8 6 <етод8GеEк8е оп8E4=8O, Mто <о6ет Eдел4тL толLко 
<е=ед6еD о5Jект4, 8 6Eе D45от=8к8 дол6=K подп8E4тL Mто пD8ло6е=8е. 
(v) �4G4лL=8к уG4Eтк4 E=4G4л4 пDо6едет Eо5D4=8е по 8=EтDу<е=т4< длO уд4ле=8O 4E5еEто6KE 
87дел89 8 6Kд4Eт Eоот6етEт6уNI8е !��. 
(vi)  45от=8к8 E=8<ут л8EтK Fел8ко<, E=4G4л4 =4 пол поло64т пол8Mт8ле=, Gто5K по9<4тL лN5Kе 
<елк8е куEоGк8, котоDKе <о7ут уп4EтL =4 пол. 
(vii)  45от=8к8 =4G=ут E=8<4тL л8EтK E од=о7о ко=F4. �оEле то7о, к4к кDепле=8O E од=о7о л8Eт4 
5удут D47Dе74=K, опеD4тоD =4 под8у<е E=8<ет л8Eт, 4 74те< пеDед4Eт опеD4тоDу =4 7е<ле, 
котоDK9 74те< 6о7L<ет е7о 8 по<еEт8т 6 7еD<ет8G=K9 ко=те9=еD, поEле то7о, к4к л8EтK кDKH8 
5удут E=OтK, пол8Mт8ле=о6K9 л8Eт 5удет EкDуGе= 8 8EполL7о64= E=о64. 
(viii) �Eе л8EтK 5удут отпD46ле=K =4 D47DеHе==уN E64лку под пD8кDKт8е< =4кл4д=о9. 
(ix) �Eе !�� 8 пол8Mт8ле=о6K9 л8Eт 5удут ут8л878Dо64=K к4к отEодK 4E5еEт4. �Eе D4Eте=8O 
дол6=K 5KтL оG8Iе=K 6 ко=Fе д=O, 4 оEт4ток ут8л878Dо64= к4к отEодK 4E5еEт4. 



(x) �ол=K9 ко<плект !�� 5удет =4де64тLEO 6Eе7д4 пD8 E=Oт88 Fе<е=т=о-4E5еEто6о7о л8Eт4. 
 45оG4O 7о=4 дол6=4 5KтL 6Eе7д4 G8Eто9, 8 по <еDе пDод686е=8O D45отK опеD4тоD 5удет 
Eо58D4тL лN5Kе <елк8е дет4л8, котоDKе уп4л8 =4 пол. 
(xi) 'G4Eток 5удет оEт46ле= 6 G8Eто< 8 опDOт=о< EоEтоO=88, по 746еDHе=88 5удет пDо6еде= оE<отD 
уG4Eтк4 пеDед =4G4ло< лN5KE D45от по E=оEу. 
(xii) �64D89=Kе пDоFедуDK 5удут 6клNG4тL 8EполL7о64=8е <о58лL=о7о телеDо=4 длO MкEтDе==о9 
E6O78, о5уGе==KE EпеF84л8Eто6 по ок474=8N пеD6о9 по<оI8, 4птеGку пеD6о9 по<оI8 =4 <еEте, 
ко<плект длO E5оD4 D47л86о6 =4 <еEте. 
(xiii) � EлуG4е 464D88/8=F8де=т4 6Eе D45отK 5удут =е<едле==о пDекD4Iе=K. �о=4 5удет Eдел4=4 
5е7оп4E=о9, 4 Dуко6одEт6о уG4Eтк4 пDо6едет D4EEледо64=8е, 8 по 746еDHе=88 D45отK =4G=утEO 
D45отK 6 7468E8<оEт8 от Dе7улLт4то6 D4EEледо64=8O 8 EеDLе7=оEт8 464D88. �=EтDукF88 о =4G4ле 
D45от 5удут д4=K Dуко6од8теле< уG4Eтк4. 
8. �о<еD4 длO MкEтDе==о9 E6O78 

�<O: 
�о<еD: 
9. �6од=K9 8=EтDукт46 по <етод8ке 

�6од=K9 8=EтDукт46: 
�еG4т=K<8 5ук64<8 8 подп8ELN ук468те E6ое 8<O =86е, Eо7л4H4OEL Eо5лNд4тL <етод8ку, к4к 
подDо5=о оп8E4=о 6KHе. 
�еG4т4тL: 
�одп8E4тL: 
�4т4: 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



� �ЛО����� D: О&'�&/ О �О���К�% ����'�� О��О�О !��&��Л�!&� �О ОК '��.)�� 
! ��� 



 



 



 



 



 



 



 



 



 



 



 



 



 



 



 



 



 



 



 



 



� �ЛО����� E: О&'�&/ О �О���К�% � � 8 �К� �О О��О ' ���� �Л0�О�О �Л��� 

 

 



 



 



� �ЛО�����-F:  �КО�����&�� �О &���� �О� �ОК'���&�&�� ����О  �� 
!& О�&�Л0!&�О� � КО�& �К& O&M 

 

1. $878GеEк8е D45отK 6 D4<к4E �4F8о=4лL=о7о пDоект4 по упD46ле=8N Eт8E89=K<8 5едEт68O<8 
К'!8�О пDоект8DуNтEO 8=6е=еD=K< ко=EулLт4=то< (BETS), котоDK9 7ото68т те=деD=уN 
доку<е=т4F8N. !тDо8телLEт6о 5удет оEуIеEт6лOтLEO EтDо8телL=K< подDOдG8ко<, 6K5D4==K< E 
8EполL7о64=8е< пDоFеEE4 =4F8о=4лL=KE/<е6ду=4Dод=KE ко=куDE=KE тоD7о6 (�К&/�К&) 6 
Eоот6етEт688 E пD468л4<8 ��  по 74купке D45от. !т4=д4Dт=Kе те=деD=Kе доку<е=тK ��  =4 
D45отK 8<еNт опDеделе==K9 DоD<4т, Eо7л4Eо64==K9 <=о7оEтоDо==8<8 54=к4<8 D4768т8O, 8 
оE=о64=K =4 876еEт=KE Eт4=д4Dт=KE доку<е=т4E, D47D45от4==KE =4 пDотO6е=88 <=о78E лет 
�е6ду=4Dод=о9 DедеD4F8е9 8=6е=еDо6-ко=EулLт4=то6 (FIDIC). 
2. � Mто< пD8ло6е=88 EодеD64тEO Dеко<е=д4F88 по Mколо78GеEк8< те<4<, котоDKе Eледует 
D4EE<отDетL длO 6клNGе=8O 6 ко=тD4ктK по пDоекту. 3. �лO 74I8тK окDу64NIе9 EDедK, уEкоDе=8O 
поток4 6K7од 8 Eо7д4=8O 6KEокок4GеEт6е==о7о пD8<еD4 длO дDу78E пDоекто6 Dеко<е=дуетEO 
6клNG8тL 6 те=деD=уN доку<е=т4F8N EледуNI8е пу=ктK: 
a) !тDо8телL=K9 подDOдG8к дол6е= Eледо64тL �л4=у упD46ле=8O окDу64NIе9 EDедо9 (�'О!), 
6клNGе==о<у 6 Ко=тD4кт. 
b) !тDо8телL=K9 подDOдG8к дол6е= теE=о 6748<оде9Eт6о64тL 8 кооDд8=8Dо64тL де9Eт68O Eо 
EпеF84л8Eто< по оED4=е окDу64NIе9 EDедK Ко=EулLт4=т4 длO о5еEпеGе=8O Eоот6етEт68O 
пDедл474е<K< <еD4< E<O7Gе=8O 8 <о=8тоD8=74, тDе5уе<K< 6 Eоот6етEт688 E �'О!. 
c) �одDOдG8к дол6е= =47=4G8тL EотDуд=8к4 по оED4=е окDу64NIе9 EDедK, 8<еNIе7о к4к 
<8=8<у< Eтепе=L 8=6е=еD4-Mколо74 8 Eоот6етEт6уNI89 опKт. 
d) !тDо8телL=K9 подDOдG8к дол6е= о5еEпеG8тL Eо5лNде=8е тDудо6о7о 74ко=од4телLEт64 8 
Eоот6етEт6уNI8E =оD< оED4=K тDуд4 8 теE=8к8 5е7оп4E=оEт8 &4д68к8Eт4=4 8 Eт4=д4Dто6 ��  8л8 
�$К-�� 8 6о7деD64тLEO от 8EполL7о64=8O детEко7о тDуд4. 
e) !тDо8телL=K9 подDOдG8к дол6е= о5еEпеG8тL, Gто5K 6Eе D45от=8к8 5Kл8 E=456е=K 8 
8EполL7о64л8 Eоот6етEт6уNI8е EDедEт64 74I8тK =4 EтDо8телL=о9 плоI4дке. 
f) !тDо8телL=K9 подDOдG8к дол6е= Dе4л87о64тL =ео5Eод8<Kе пDо7D4<<K D878GеEко7о 
<о=8тоD8=74: 

 �о=8тоD8=7 6о7дуE4 8 Hу<4 6 EлуG4е 64ло5K. 
 'пD46ле=8е 4E5еEто< 6клNG4ет 74купку <4теD84ло6 8 о5оDудо64=8O, EтDо8телLEт6о 4E5еEто6о9 
O<K 8 полуGе=8е D47DеHе=8O. 
g) !тDо8телL=K9 подDOдG8к дол6е= D47D45от4тL КодекEK по6еде=8O 6 от=оHе=88 7е=деD=о7о 
=4E8л8O (��) 8 6еEтоко7о о5D4Iе=8O E детL<8 8 MкEплу4т4F88 (CAE) длO E<O7Gе=8O 8 Dе478Dо64=8O 
=4 �� 8 CAE 6 ко<п4=88 8 Eоо5IеEт6е. КодекEK по6еде=8O 5удут опDеделOтL о5O74==оEт8: 
(i) ко<п4=88 по Eо7д4=8N по78т86=о9 кулLтуDK длO E6ое7о D45оGе7о <еEт4 8 EотDуд=8ко6. 
(ii) <е=ед6еDо6 по о5еEпеGе=8N 6=едDе=8O Mто9 кулLтуDK. 
(iii) отделL=KE л8F по Eо5лNде=8N пD8=F8по6 Mто9 кулLтуDK 8 =еуG4Eт8N 6 �� 8/8л8 CAE. 
 

 

 

 

 

 



� �ЛО�����-G: О�)�� & ��О����/ К ��О О�0. � ���О��!�О!&�  ��О&��КО� 

1. ОE=о6=Kе E4D4ктеD8Eт8к8 тDе5о64=89 к 7доDо6LN 8 5е7оп4E=оEт8 D45от=8ко6 пDедEт46ле=K 6 
&45л8Fе A-2. 

 

&45л8F4-A2: О5I8е тDе5о64=8O к 7доDо6LN 8 5е7оп4E=оEт8 D45от=8ко6 

�DB5?9@4 "D95B64A<S 

�4>@>2L5 8 38385=0 • +8AB>B0 
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